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g]kfn ;/sf/ 

s[lif e'ld Joj:yf tyf ;xsf/L dGqfno 

e'ld;'wf/ tyf clen]v ljefu 

dfnkf]t sfof{no a]naf/L 
 

cf=a= 2075.76 sf] Go"gtd d'Nof+sg 
 

1=cd/bx uf=lj=;= 

cd/bx 1.s 

cd/bx 1.v 
2   

 s_ cd/bx 1.v cGtu{tsf] cd/bx ahf/If]q leq ls=g+= 504, 521, 

518,562, 358, 412, 568, 171, 172, 470 %f*L ;f] klZrd ls=g+= 

180 b]lv pQ/sf ky/L *fOlgof af^f]af^ 300 lkm^ leqsf hUufx? 

k|=s=?= 

12,00,000. 

 v_ dfly k|s/)f s df k/] afx]s pNn]lvt Pl/ofsf af+sL hUuf k|=s=?= 6,00,000. 

 u_ ls=g+= 470, 430, 395 %f*L ;f] pQ/ ls=g+= 713, 393, 559 %f*L 

;f] klZrd ls=g+=559, 517, 366, 279, %f*L ;f] pQ/sf dfly pNn]v 

eP afx]ssf hUuf k|=s=?= 

2,50,000. 

 #_ dfly pNn]v eP jfx]s Knl^ª hUufx? k|=s=?= 2,00,000. 

 ª_ dfly pNn]v eP jfx]s leqL jf^f]sf hUufx? k|=s=?= 1,00,000. 

 r_ dfly k|s/)fx?df k/]sf hUufx? afx]s cd/bx 1.v sf v]tLof]Uo 

hUufx? k|=s=?= 

50,000. 

cd/bx 1.u 
3   

 s_ cd/bx 1.u sf] cd/bx ahf/If]q leq kg]{ hUufx? k|=s=?= 5,00,000. 

 v_ ;f=ls=g+= 2, 3, 10, 11, 12, 47, 48, 49, 50 x'+b} blIf)f 117 

;Dd af^f]n] %'g] hUufx? 

2,00,000. 

 u_ Knl^ªsf hUufx? k|=s=?= 2,00,000. 

 #_ k|s/)f s, v df pNn]v ePjfx]s leqL jf^f]n] %'g] k|=s=?= 1,000,00. 

1   

 s_ cd/bx 1.s cGtu{tsf] cd/bx ahf/If]q leq ls=g+= 644 %f*L ;f] 

blIf)f 126, 524, 589, 134, 140, 143, 154, 278, 291 %f*L ;f] 

klZrdsf ky/LY*fOlgof af^f] af^ 300 lkm^ leqsf hUufx? k|=s=?= 

12,00,000. 

 v_ dfly k|s/)f s df k/] afx]s pNn]lvt Pl/ofsf af+sL hUuf k|=s=?= 6,00,000. 

 u_ ;f=ls=g+= 1, 2, 3, 4, 5, 35, 37, 38 x'+b} 46 ;Ddsf] ky/L *fOlgof 

af^f]n] %'g] hUufx? k|=s=?= 

4,50,000. 

 #_ k|s/)f u df kl/ ;f=ls=g+=n] ;f] af^f] %'g] xfnsf] lsQfn] g%'g] hUuf 

k|=s=?= 

2,50,000. 

 ª_ dfly pNn]v eP afx]s ls=g+= 481, 502, 30, 32, 77, 76, 324, 

238, 520,238, 417, 615, 588, 343, 429, 169, 158 ,157 ;d]t 

%f*L ;f] klZrdsf hUuf k|=s=?= 

2,50,000. 

 r_ dfly pNn]v eP afx]ssf Kn^Lªsf hUuf k|=s=?= 2,00,000. 

 %_ dfly k|s/)fx?df k/]sf hUufx? afx]s cd/bx 1.s sf leqL af^f]n] 

%'g] hUufx? k|=s=?= 

1,00,000. 

 h_ dfly k|s/)fx?df k/]sf hUufx? afx]s cd/bx 1.s sf v]tLof]Uo 

hUufx? k|=s=?= 

50,000. 
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 ª_ dfly k|s/)fx?df k/]sf hUufx? afx]s cd/bx 1.u sf v]tLof]Uo   

hUufx? k|=s=?= 

50,000. 

 

cd/bx 1.# 
4   

 s_ cd/bx 1.# sf] cd/bx ahf/If]q leq kg]{ ls=g+= 166, 167 b]lv 

blIf)f, ls=g+=312, 313, 153, 219, 253, 202, 201, 645, 209 %f*L 

;f] k"j{ ky/LY*fOlgof af^f] b]lv 300 lkm^ leqsf hUufx? k|=s=?= 

12,00,000. 

 v_ dfly k|s/)fdf pNn]v ePsf afx]s ;f=ls=g+= 262 b]lv blIf)f, 166, 

167 %f*L ;f] pQ/ ky/L *fOlgof af^f]n] %'g] hUufx? k|=s=?= 

4,50,000. 

 u_ dfly k|s/)fdf pNn]v ePsf afx]ssf Kn^Lªsf hUufx? k|=s=?= 2,00,000. 

 #_ dfly k|s/)fdf pNn]v ePsf afx]ssf leqL sRrL af^f]n] %'g] 

hUufx? k|=s=?= 

1,00,000. 

 ª_ dfly k|s/)fx?df k/]sf hUufx? afx]ssf v]tLof]Uo hUufx? k|=s=?= 50,000. 

cd/bx 1.ª 
5   

 s_ cd/bx 1.ª cGtu{t ky/L *fogLof ;*sn] %'g] af^f]sf bfof+ jfof+sf hUuf 

k|=s=?= 

3,50,000. 

 v_ dfly pNn]v eP jfx]s Knl^ªsf hUuf k|=s=?= 2,00,000.F 

 u_ k|s/)f s df kl/ ;f=ls=g+=n] af^f] %'g] xfnsf] ls=g+=n] af^f] g%'g] 

hUuf k|=s=? 

 

2,00,000.F 

 #_ ;f=ls=g+= 17, 41, 42, 45,75, 79, 81, 98 %f*L ;f] k"j{ ky/L 

*fOlgof ;*s klZrd dfly pNn]v eP afx]s sf hUuf k|=s=? 

1,50,000.F 

 ª_ dfly pNn]v eP jfx]s leqL slRr jf^f]n] %'g] hUuf k|=s=?= 1,00,000.F 

 r_ dfly k|s/)fx?df k/]sf hUufx? afx]ssf v]tLof]Uo hUufx? k|=s=?= 40,000.F 

cd/bx 1.r 
6   

 s_ ky/L *fogLof ;*sn] %'g] af^f]sf bfof+ jfof+sf hUuf k|=s=?= 3,50,000.F 

 v_ k|s/)f s df pNn]v eP jfx]s Knl^ªsf hUuf k|=s=?= 2,00,000.F 

 u_ k|s/)f s df kl/ ;f=ls=g+=n] af^f] %'g] xfnsf] ls=g+=n] af^f] g%'g] 

hUuf k|=s=? 

2,00,000.F 

 #_ dfly pNn]v eP jfx]s leqL jf^f]n] %'g] hUuf k|=s=?= 1,00,000.F 

 ª_ dfly k|s/)fx?df k/]sf hUufx? afx]ssf v]tLof]Uo hUufx? k|=s=?= 50,000.F 

cd/bx 2.s 
7   

 s_ 2.s cGtu{tsf Kn^Lªsf hUuf k|=s=?= 2,00,000.F 

 v_ 2.s sf] af^f]n] %'g] hUufx? k|=s=?= 100,000.F 

cd/bx 2.v 
8   

 s_ ;f=ls=g+= 104 sf] :s'nsf] hUuf %f*L ;f]b]lv blIf)f, af^f]b]lv klZrd, 

ls=g+= 325 b]lv pQ/, ls=g+= 149, 81, 82, 83, 84, 222 b]lv k"j{, 

ls=g+= 241, 127, 128 x'+b} 246, 247 ;Ddsf ;'uf ahf/If]qleqsf hUuf 

k|=s=?= 

5,00,000.F 

 v_ dfly pNn]v eP afx]ssf Kn^Lªsf hUuf k|=s=?= 2,00,000.F 

 u_ k|s/)f s df pNn]v eP afx]s ;'ufahf/af^ cd/bx hfg] af^f]n] %'g], 2,50,000.F 
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ls=g+= 149 %f*L, ls=g+= 77 b]lv klZrd, ls=g+= 51 ;Dd / ;f=ls=g+= 

104 sf] :s'n pQ/ ls=g+= 19 ;Dd af^f]sf bfof+ jfof+sf hUuf k|=s=?= 

 #_ k|s/)f v df pNn]v ePsf ;f=ls=g+= n] af^f] %'g] ls=sf= x'+b} k%f*L 

k/]sf hUuf k|=s=?= 

1,00,000.F 

 ª_ dfly pNn]v eP jfx]s leqL jf^f]n] %'g] hUuf k|=s=?= 1,00,000.F 

cd/bx 4.s  
9 s_ ky/L *fogLof af^f]n] %'g] ;f=ls=g+= 5 / 87 b]lv blIf)f ;f=ls=g+= 

66,68 pQ/ x;gbx ahf/ If]qsf lkr af^f]n] %'g] hUufx?sf] k|=s=?= 

12,00,000. 

 v_ k|s/)f s df pNn]v eP afx]ssf ;f] Pl/ofsf af+sL hUuf k|=s=?= 7,00,000.F 

 u_ ;f=ls=g+= 66, 68 %fl* ;f] blIf)f ls=g+= 44, 45 ;Ddsf hUufx? 

k|=s=?= 

6,00,000.F 

 #_ ;f=ls=g+= 44, 45 b]lv blIf)f gS;f l;dfgf;Dd ky/L *fOlgof ;*s 

n] %'g] hUufx? k|=s=?= 

4,00,000.F 

 ª_ dfly pNn]v eP afx]ssf Kn^Lªsf hUuf k|=s=?= 2,50,000.F 

 r_ k|s/)f u / # df pNn]v eP afx]ssf ;f=ls=g+= n] ;f] af^f] %'g] 

xfnsf] ls=g++ n] g%'g] hUuf k|=s=?= 

2,00,000.F 

 %_ cd/bx 4.s sf] cGo af^f]nfO{ %'g] hUufx? k|=s=?= 1,50,000.F 

 h_ dfly k|s/)fx?df k/]sf hUufx? afx]ssf v]tLof]Uo hUufx? k|=s=?= 50,000.F 

cd/bx 4.v 
10   

 s_ ky/L *FOlgof ;*sn] %'g] tyf ;f=ls=g+= 1,3 b]lv blIf)f ls=g+= 12 

sf] sfodL ls=g+= 121 / ;f=ls=g+= 15 sf] sfodL ls=g+= 114 / ;f=ls=g+= 

17 ;d]t If]qleqsf af^f]n] %'g] hUufx? k|=s=?= 

4,00,000.F 

 v_ Knl^ésf hUuf k|=s=?= 2,00,000.F 

 u_ s df pNn]v eP jfx]s leqL jf^f] %'g] hUuf k|=s=?= 1,50,000.F 

 #_ dfly k|s/)fx?df k/]sf hUufx? afx]ssf v]tLof]Uo hUufx? k|=s=?= 50,000.F 

cd/bx 4.u 
11   

 s_ ky/L *fogLof af^f]n] %'g] ;f=ls=g+= 5 / 7 b]lv blIf)f ls=g+= 11 

,14, 15, 16, 17 x'+b} ls=g+= 108 sf] k"j{ blIf)f cd/l;+x df=lj= -ls=g+= 

60, 62, 65, 66_ x'+b} ls=g+= 290, 458, 457, 475 sf] blIf)f ;Ldfsf 

ls=g+= 96, 97, 99 -ls=g+= 54 sf] af^f]n] %'g]_ bfof+ jfof+sf hUufx? 

k|=s=?= 

3,50,000.F 

 v_ dfly pNn]v eP afx]ssf Kn^Lªsf hUuf k|=s=?= 2,50,000.F 

 u_ -cd/l;+x df=lj=sf]_ ls=g+= 60 b]lv klZrd ls=g+= 159 ;Ddsf af^f]n] 

%'g] hUufx? k|=s=?= 

1,50,000.F 

 #_ cd/bx 4.u sf] dfly k|s/)f s df k/]sf hUufx? afx]s leqL 

af^f]nfO{ %'g] hUufx? k|=s=?= 

1,20,000.F 

 ª_ dfly k|s/)fx?df k/]sf hUufx? afx]ssf v]tLof]Uo hUufx? k|=s=?= 50,000.F 

cd/bx 4.# 
12   

 s_ 4.# cGtu{tsf Kn^Lªsf hUuf k|=s=?= 2,50,000.F 

 v_ 4# cGtu{t ky/L *fOlgof ;*sn] %'g] hUuf k|=s=?= 2,50,000.F 

 u_ 4.# sf] af^f]n] %'g] hUufx? k|=s=?= 1,00,000.F 

 

cd/bx 4.^ 
13   
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 s_ ;f=ls=g+= 3, 5, 7, 8, 10, 11 ls=g+= 7 b]lv pQ/ ls=g+= 18 b]lv 

klZrddf kg]{ hUufx?sf] k|=s=?= 

6,00,000.F 

 v_ ky/L *fogLof ;*sn] %'g] af^f]sf bfof+ jfof+sf hUuf k|=s=?= 3,00,000.F 

 u_ dfly pNn]v eP afx]ssf Kn^Lªsf hUuf k|=s=?= 2,50,000.F 

 #_ k|s/)f v df pNn]v eP afx]ssf ls=sf= x'+b} k%f*L k/]sf hUuf 

k|=s=?= 

1,50,000.F 

 ª_ 4.^ cGut{tsf leqL sRrL af^f]n] %'g] hUuf k|=s=?= 1,50,000.F 

 r_ dfly k|s/)fx?df k/]sf hUufx? afx]ssf v]tLof]Uo hUufx? k|=s=?= 50,000.F 

cd/bx 4.( 
14   

 s_ ;f=ls=g+=7 b]lv 13, 37 b]lv 40 ;Dd af^f]n] %'g] hUufx? k|=s=?= 7,00,000.F 

 v_ ;f=ls=g+= 4, 5, 6 b]lv blIf)f 32, 36 ;Ddsf hUufx? k|=s=?= 5,00,000.F 

 u_ sfodL ls=g+= 132 b]lv klZrd 163 ;Ddsf] blIf)f ;f=ls=g+= 22 b]lv 

31 ;Ddsf hUufx? k|=s=?= 

4,00,000.F 

 #_ k|s/)f s,v,u df pNn]v ePsf hUufx?sf] ;f=ls=g++ n] af^f] %'g] 

xfnsf] ls=g++ n] g%'g] hUufsf] k|=s=?= 

3,00,000.F 

 ª_ dfly pNn]v eP afx]ssf Kn^Lªsf hUuf k|=s=?= 2,50,000.F 

 r_ ls=g+= 136, 137 / 138 sf hUuf k|=s=?= 1,50,000.F 

 %_ dfly pNn]v eP afx]s leqL sRrL af^f]n] %'g] hUuf k|=s=?= 1,50,000.F 

 h_ cd/bx 4.( sf dfly k|s/)fdf k/]sf b]lv afx]ssf hUufx? k|=s=?= 60,000.F 

cd/bx  4.)f 
15   

 s_ ;f=ls=g+= 30 afx]s ;f] b]lv pQ/, gS;fsf] pQ/df kg]{ ls=g+= 50 

;Ddsf ky/L *fogLof+ af^f]n] %'g] hUuf k|=s=?= 

7,00,000.F 

 v_ 30 ;d]tb]lv blIf)f 62 ;Ddsf ky/L *fogLof af^f]n] %'g] bfof+ 

jfof+sf hUuf k|=s=?= 

5,00,000.F 

 u_ k|s/)f s,v df pNn]v ePsf ;f=ls=g+= n] af^f] %'g] xfn lsQf sf^ 

x'+b} k%f*L k/]sf hUuf k|=s=?= 

3,50,000.F 

 #_ dfly pNn]v eP afx]ssf Kn^Lªsf hUuf k|=s=?= 2,50,000.F 

 ª_ dflysf k|s/)fx?df pNn]v eP afx]ssf 4.)f cGtu{tsf af^f]n] %'g] 

hUuf k|=s=?= 

1,50,000.F 

 r_ cd/bx 4.)f cGtu{tsf dflysf k|s/)fx?df pNn]v eP afx]ssf cGo 

hUuf k|=s=? 

60,000.F 

cd/bx 5.a, 5.e, 5.em, 9.# / 9.y 
16   

 s_ cd/bx 5.a, 5.e, 5.em / 9.y cGtu{tsf ufGwL dgdf]xg ;*sn] %'g] 

;*ssf bfof+ jfof+sf hUuf k|=s=?= 

2,50,000.F 

 v_ cd/bx 5.a, 5.e, 5.em / 9.y cGtu{tsf Kn^Lªsf hUuf k|=s=?= 1,50,000.F 

 u_ dfly k|s/)fx?df k/]sf hUufx? afx]s af^f] %'g] hUufx? k|=s=?= 1,00,000.F 

cd/bx 4.ª, 4.r, 4.h, 4.em  
17   

 s_ ;'ufY;'Gb/L af^f]sf bfof+ jfof+sf hUuf k|=s=?= 2,50,000.F 

 v_ cd/bx 4.ª, 4.r, 4.h, 4.em cGtu{tsf Kn^Lªsf hUuf k|=s=?= 2,00,000.F 

 u_ dfly pNn]v ePsf afx]ssf af^f]n] %'g] hUufx?sf] k|=s=?= 1,00,000.F 

cd/bx 4.t 
18   

 s_ cd/bx 4.t cGtu{t ky/Laf^ lqj])fLrf]s x'+b} ;'Gb/Lrf]s hfg] 6,00,000.F 
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d"naf^f]n] %'g] hUUff k|=s=? 

 v_ cd/bx 4.t cGtu{tsf Kn^Lªsf hUuf k|=s=?= 2,50,000.F 

 u_ dfly k|s/)f s df kl/ ls=sf= x'+b} k%f*L k/]sf hUufx? k|=s=?= 2,50,000.F 

 #_ dfly pNn]v eP afx]s cd/bx uf=lj=;=sf] 4.t sf leqL sRrL af^f]n] %'g] 

hUufx? k|=s=?= 

1,50,000.F 

 ª_ dfly k|s/)fx?df k/]sf hUufx? afx]ssf v]tLof]Uo hUufx? k|=s=?= 50,000.F 

cd/bx 4.y 
19   

 s_ cd/bx 4y cGtu{t ky/Laf^ lqj])fLrf]s x'+b} ;'Gb/Lrf]s hfg] 

;f=ls=g+=37, 69 %f*L ;f] pQ/ d"naf^f]n] %'g] hUUff k|=s=? 

6,00,000.F 

 v_ ;f=ls=g+=37, 69 b]lv blIf)f gS;f l;dfgf ;Ddsf d"naf^f]sf hUuf 

k|=s=? 

4,50,000.F 

 u_ k|s/)f s df kl/ ;fljsn] ;f] af^f] %'g] xfnsf] lsQfn] g%'g] hUuf 

k|=s=?= 

3,00,000.F 

 #_ k|s/)f v df kl/ ;fljsn] ;f] af^f] %'g] xfnsf] lsQfn] g%'g] hUuf 

k|=s=?= 

2,50,000. 

 ª_ dfly pNn]v eP afx]s cd/bx 4y cGtu{tsf Kn^Lªsf hUuf k|=s=?= 2,50,000.F 

 r_ cd/bx 4y sf] gS;fsf] k"j{df kg]{ af^f]n] %'g] hUuf k|=s=?= 2,00,000.F 

 %_ dfly pNn]v eP afx]s cd/bx uf=lj=;=sf] 4.y sf leqL sRrL af^f]n] %'g] 

hUufx? k|=s=?= 

1,50,000.F 

 h_ dfly pNn]v eP afx]s lsQf g+= 76 sf] k}gL klZrdsf ;Dk")f{ hUuf k|=s=?= 80,000.F 

 em_ dfly k|s/)f ª df kl/ ls=sf=x'+b} k%f*L k/]sf hUufx? k|=s=?= 80,000.F 

cd/bx 4.b 
20   

 s_ cd/bx 4.b cGtu{t ky/LY*fOlgof ;*ssf] d"naf^f]n] %'g] hUUff 

k|=s=? 

3,00,000.F 

 v_ cd/bx 4.b cGtu{tsf Kn^Lªsf hUuf k|=s=?= 2,00,000.F 

 u_ dfly k|s/)f s df kl/ ls=sf=x'+b} k%f*L k/]sf hUufx? k|=s=?= 1,50,000.F 

 #_ dfly pNn]v eP afx]s cd/bx uf=lj=;=sf] 4.b sf leqL sRrLaf^f]n] %'g] 

hUufx? k|=s=?= 

1,50,000.F 

 ª_ dfly k|s/)fx?df k/]sf hUufx? afx]ssf v]tLof]Uo hUufx? k|=s=?= 50,000.F 

cd/bx 4.w 
21   

 s_ cd/bx 4.w cGtu{t Kn^Lªsf hUuf k|=s=?= 2,00,000.F 

 v_ cd/bx 4w sf] gS;fsf] klZrddf kg]{ af^f]n] %'g] hUuf k|=s=?= 1,80,000.F 

 u_ dfly pNn]v eP afx]s cd/bx uf=lj=;=sf] 4.w sf cGo af^f]n] %'g] hUufx? 

k|=s=?= 

1,00,000.F 

 #_ dfly k|s/)fx?df k/]sf hUufx? afx]ssf v]tLof]Uo hUufx? k|=s=?= 50,000.F 

 

cd/bx 4.g 
22   

 s_ cd/bx 4.g cGtu{t ky/Laf^ lkknrf]s x'+b} ;'Gb/Lrf]s hfg] 

d"naf^f]n] %'g] hUUff k|=s=? 

3,00,000. 

 v_ cd/bx 4g cGtu{tsf Kn^Lªsf hUuf k|=s=?= 2,50,000. 

 u_ dfly pNn]v eP afx]s cd/bx uf=lj=;=sf] 4.g sf leqL af^f]n] %'g] hUufx? 

k|=s=?= 

1,50,000. 

 #_ dfly k|s/)f s df kl/ ls=sf=x'+b} k%f*L k/]sf hUufx? k|=s=?= 1,50,000. 
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 ª_ dfly k|s/)fx?df k/]sf hUufx? afx]ssf v]tLof]Uo hUufx? k|=s=?= 50,000. 

cd/bx uf=lj=;= 
23   

 s_ cd/bx 7s,8v,9v cGtu{t ky/L *folgof ;*sn] %'g] bfof jfofsf  

hUUff k|=s=? 

2,00,000. 

 v_ dfly k|s/)fx?df pNn]v eP jfx]s cd/bx j*f g+=1 b]lv 9 ;Dd 

sf ky/LY*fOlgof af^f]n] %'g] hUuf k|=s=?= 

1,50,000.F 

 u_ dfly k|s/)fx?df pNn]v eP jfx]s cd/bx j*f g+=1 b]lv 9 ;Dd 

sf Knl^ªsf hUufx? k|=s=?= 

1,50,000.F 

 #_ cd/bx uf=lj=;= sf dfly pNn]v ePsf hUufx? afx]s j*f g+= 1 

b]lv 9 ;Ddsf af^f] %'g] hUufx?sf] k|=s=?= 

70,000.F 

 ª_ cd/bx uf=lj=;= j*f g+= 1 b]lv 9 ;Ddsf] dfly k|s/)fx?df pNn]v 

eP afx]ssf af+sL hUufx?sf] k|=s=?= 

30,000.F 

2= O{Gb|k'/ uf=lj=;= -xfn sf]zL x/}+rf gu/kflnsf_ 
O{Gb|k'/ uf=lj=;= j*f g+= 3.s 

1   

 s_ ;f=ls=g+= 72 b]lv pQ/ 71, 70, 30, 31, 32, 33 ;Ddsf 

gS;fsf] k"j{df kg]{ af^f]b]lv klZrd Pl/ofsf hUufx? k|=s=?= 

8,00,000. 

 v_ ;f=ls=g+= 32 %f*L ;f] pQ/ 68÷69 sf] t];f]{ af^f] blIf)f 

;f=ls=g+= 12, 13, 25, 26 %f*L ;f] k"j{ gS;fsf] k"j{df kg]{ af^f] -

33 %f*L klZrd_ / 27, 28, 29 b]lv pQ/sf 52 ;Ddsf hUufx? 

k|=s=?= 

6,00,000. 

 u_ OGb|k'/ 3.s cGtu{tsf dflysf k|s/)fx?df pNn]v eP afx]ssf 

Kn^Lªsf hUufx? k|=s=?= 

2,50,000.F 

 #_ ;f=ls=g+= 12 b]lv blIf)f 26 ;d]tb]lv klZrd 68÷69 sf] t];f]{ 

af^f] blIf)f gS;fsf] klZrd ;Ldfgf ;Ddsf hUufx? k|=s=?= 

2,00,000.F 

 ª_ ;f=ls=g+= 68÷69 sf] t];f]{ af^f] pQ/ ;f=ls=g+= 66÷67 b]lv 

klZrd 53 b]lv pQ/ ;f=ls=g+= 58, 59, 61, 63 ;d]tsf hUufx? 

k|=s=?= 

1,80,000.F 

 r_ ;f=ls=g+= 68 b]lv blIf)f dflysf k|s/)fx?df pNn]v eP 

afx]ssf ls=g+= 69, 73 x'+b} blIf)f ;Ldf ;Ddsf hUufx? k|=s=?= 

1,60,000.F 

 %_ ;f=ls=g+= 53, 55, 57, 58 %f*L ;f] klZrd gS;fsf] t];f]{ 

af^f] pQ/ gS;fsf] af^f] %'g] hUufx? k|=s=?= 

1,20,000.F 

 h_ OGb|k'/ 3.s cGtu{tsf dflysf k|s/)fx?df pNn]v eP afx]ssf 

af+sL hUufx? k|=s=?= 

75,000.F 

3= s;]gL uf=lj=;= -xfn j]njf/L s;]gL g=kf=_ 
s;]gL j*f g+= 1.s 

1   

 s_ s;]gL 1.s cGtu{t gS;fsf] blIf)f l;dfgf b]lv pQ/df 

;f=ls=g+= 63, 64 ;Dd a'wjf/] hfg] af^f]n] %'g] bfof afofsf 

hUufsf] k|=s=?= 

6,00,000.F 

 v_ k|s/)f s cGtu{t ;f=ls=g+= n] af^f] %'g] xfnsf] lsQfn] 

a'wjf/] hfg] af^f] g%'g] hUufsf] k|=s=?= 

3,50,000.F 

 u_ gSzfsf] ljrdf pQ/ blIf)f sfod ePsf] k}gL -ls=g+= 57_ sf] 

k"j{ tkm{sf hUuf k|=s=?= 

1,50,000. 
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 #_ dflysf k|s/)fx?df pNn]v eP afx]ssf Kn^Lªsf hUufx? 

k|=s=?= 

2,00,000. 

s;]gL j*f g+= 1.v 

2   

 s_ s;]gL 1.v cGtu{t gS;fsf] blIf)f l;dfgf b]lv pQ/df 

;f=ls=g+= 58, 30 ;Dd a'wjf/] hfg] af^f]n] %'g] hUufsf] k|=s=?= 

10,50,000.F 

 v_ k|s/)f s cGtu{t ;f=ls=g+= n] ;f] af^f] %'g] xfnsf] lsQfn] 

a'wjf/] hfg] af^f] g%'g] hUufsf] k|=s=?= 

7,00,000.F 

 u_ ;f=ls=g+= 58, 30 %f*L ;f] pQ/ gS;f l;dfgf;Dd a'wjf/] 

hfg] af^f]n] %'g] hUufsf] k|=s=?= 

8,00,000.F 

 #_ k|s/)f u cGtu{t ;f=ls=g+= n] ;f] af^f] %'g] xfnsf] lsQfn] 

;f]af^f] g%'g] tyf j'wjf/] hfg] jf^f] k'j{ gS;fsf] k'j{ klZrdsf] 

ls=g+= 65 b]lv blIf)fsf hUufsf] k|=s=?= 

5,50,000.F 

 ª_ dfly k|s/)fx?df pNn]v eP afx]s a'wjf/] hfg] af^f] k"j{sf 

hUuf k|=s=?= 

2,00,000.F 

 r_ dfly k|s/)fx?df pNn]v eP afx]s s;]gL 1.v cGtu{t af^f]n] %'g], 

Kn^Lª jf Kn^Lªsf nflu v/Lb x'g] hUufsf] k|=s=?= 

2,50,000.F 

s;]gL j*f g+= 1.u 

3   

 s_ ;f=ls=g+= 8, 48, 49, 50, 52, 53, 54, 63, 64, 65,  

66, 67, 68, 69, 92, 94 ;d]t sf /fhdfu{ %'g] hUufsf] 

k|=s=?= 

27,50,000.F 

 v_ ;f=ls=g+= 9, 51 / dfly k|s/)f s df pNn]v eP afx]s 

;f=ls=g+= n] /fhdfu{ %'g] xfnsf] lsQfn] /fhdfu{ g%'g] hUufsf] 

k|=s=?= 

20,00,000.F 

 u_ ;f=ls=g+= 10, 11, 12, 13 b]lv k"j{ ;f=ls=g+= 55, 60 b]lv 

klZrd ;f=ls=g+= 44, 42 b]lv blIf)f hUufsf] k|=s=?= 

13,50,000.F 

 #_ ;f=ls=g+= 54 / ;f=ls=g+= 71 sf] k}gLb]lv k"j{ ;f=ls=g+= 61 

;d]t b]lv blIf)fsf dfly k|s/)fx?df pNn]v eP afx]ssf hUuf 

k|=s=?= 

9,00,000.F 

 ª_ ;f=ls=g+= 17, 18, 19, 22, 23, 26, 27, 31, 32, 35, 37 

sf a'wjf/] hfg] af^f]n] %'g] hUufsf] k|=s=?= 

11,00,000.F 

 r_ k|s/)f ª cGtu{t ;f=ls=g+= n] a'wjf/] hfg] af^f] %'g] 

xfnsf] lsQfn] ;f] af^f] g%'g] hUufsf] k|=s=?= 

6,50,000.F 

 %_ ;f=ls=g+= 36 b]lv blIf)f ;f=ls=g+= 41 ;Dd dfly 

k|s/)fx?df pNn]v eP afx]ssf hUuf k|=s=?= 

6,00,000.F 

 h_ s;]gL 1.u sf] u|fe]n af^f], zfvf af^f]nfO{ %'g] hUuf 2,50,000. 

 em_ ;f=ls=g+= 73 sf] vf]nf b]lv klZrdsf hUufx? k|=s=? 1,00,000. 

 `_ s;]gL 1.u cGtu{t dfly pNn]v eP afx]s af^f]n] %'g], 

Kn^Lª jf Kn^Lªsf nflu v/Lb x'g] hUufsf] k|=s=?= 

3,00,000.F 

 ^_ dfly k|s/)fdf pNn]v eP afx]s 1.u sf] cGo hUuf k|=s=? 75,000. 

s;]gL j*f g+= 1.# 

4   

 s_ ;f=ls=g+= 17, 18, 19, 20 / ;f] k"j{sf /fhdfu{ %'g] 27,50,000.F 
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hUufsf] k|=s=?= 

 v_ k|s/)f s df pNn]v e} ;f=ls=g+= n] /fhdfu{ %'g] xfnsf] 

lsQfn] /fhdfu{ g%'g] hUufsf] k|=s=?= 

17,50,000.F 

 u_ ;f=ls=g+= 16, 21, 22 b]lv blIf)f ;f=ls=g+= 87 %f*L ;f] 

pQ/ d"naf^f]n] %'g] hUufsf] k|=s=?= 

11,00,000.F 

 #_ k|s/)f u df pNn]v e} ;f=ls=g+= n] ;f] af^f] %'g] xfnsf] 

lsQfn] ;f] af^f] g%'g] hUufsf] k|=s=?= 

8,00,000.F 

 ª_ ;f=ls=g+= 87 b]lv blIf)f gS;f l;dfgf ;Dd af^f] k"j{sf 

hUuf k|=s=?= 

5,50,000.F 

 r_ 1.# sf] ;f=ls=g+= 17 %f*L ;f] klZrd, nf]xf]Gb|f vf]nfsf] 

k'naf^ blIf)f xfn vf]nfdf k/]sf hUufx? k|=s=?= 

1,00,000.F 

 %_ gS;fsf] blIf)f klZrdsf] ;f=ls=g+= 5 ;d]t b]lv klZrdsf 

hUuf k|=s=?= 

1,50,000.F 

 h_ dfly k|s/)fx?df pNn]v eP afx]s s;]gL 1.# cGtu{t 

af^f]n] %'g] / Kn^Lª jf Kn^Lªsf nflu v/Lb x'g] hUufsf] 

k|=s=?= 

2,50,000.F 

 %_ dfly k|s/)fx?df pNn]v eP afx]s vf]nf b]vL k"j{YklZrdsf 

hUuf k|=s=?= 

50,000.F 

s;]gL j*f g+= 1.ª 

5   

 s_ gS;fsf] k"j{df kg]{ d"n af^f]n] %'g] hUufsf] k|=s=?= 11,00,000.F 

 v_ dfly pNn]v eP afx]s gS;fsf] k"j{klZrd 12 g+= sf] xf]nL 

k}gL b]lv blIf)f k'j{sf] hUuf k|=s=?= 

8,50,000.F 

 u_ dfly pNn]v eP afx]s ;f=ls=g+= 2 ;d]tb]lv pQ/sf] hUuf 

k|=s=?= 

6,00,000.F 

 #_ dfly pNn]lvt k|s/)fx?df k/] b]lv afx]s Knl^ªsf hUufx? 

k|=s=? 

2,50,000. 

 ª_ dfly pNn]lvt k|s/)fx?df k/] b]lv afx]s cGo v]tL of]Uo 

hUuf k|=s=?= 

1,00,000.F 

s;]gL j*f g+= 3.s 

6   

 s_ ;f=ls=g+= 1,13 b]lv k'j{ 15,17 ;Ddsf] /fhdfu{ %'g] hUuf k|=s=? 27,50,000.

F 

 v_ k|s/)f s df pNn]v e} ;f=ls=g+= n] /fhdfu{ %'g] xfnsf] 

lsQfn] /fhdfu{ g%'g] hUufsf] / ;f=ls=g+= 12, 18, 19, 33, 34 

sf hUufx?sf] k|=s=?= 

20,00,000.

F 

 u_ dfly pNn]v eP afx]s df]xg u'?ª sf] #/ cufl*sf] af^f], 

dfnkf]t sfof{no gof ejgsf] af^f] ;f=ls=g= 54 ;Dd / ls=g+= 

16 b]lv blIf)f hfg] k'Go rf}s ;Ddsf] af^f]sf bfof+ jfof+sf 

hUufx? k|=s=?= 

18,50,000.

F 

 #_ dfly pNn]lv eP afx]s ;f=ls=g+= 35 b]lv blIf)f ;f=ls=g+= 71 

%f*L ;f] pQ/, ;f=ls=g+= 74, 77 b]lv klZrd 54 %fl* blIf)f 

89, 92 ;Ddsf af^f] %'g] hUufx? k|=s=? 

9,00,000. 

 ª_ k|s/)f -#_ df pNn]v ePsf] Pl/of leqsf af^f] g%'g] hUufx? 8,00,000. 
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k|=s=? 

 r_ k|s/)f -u_ df pNn]v eO{ pQm af^f]x? g%'g] hUuf / 

;f=ls=g+= 2, 10 b]lv blIf)f ;f=ls=g+= 53, 54 ;Dd / ;f=ls=g+= 

32 b]lv blIf)f ;f=ls=g+= 51, 52 ;Ddsf] hUufx? k|=s=? 

13,00,000. 

 %_ ;f=ls=g+= 71,68 b]lv blIf)f ;f=ls=g+= 74, 79, 77, 112 %f*L 

k"j{blIf)fsf gSzf l;df ;Ddsf hUufx? k|=s=? 

4,50,000. 

 h_ ;f=ls=g+= 77, 112 ;d]t b]lv klZrd ;f=ls=g+= 93, 95 ;d]t 

b]lv blIf)f pQ/ blIf)fsf] af^f] %'g] hUufsf] k|=s=?= 

6,50,000. 

 em_ k|s/)f -h_ df pNn]v ePsf af^f] g%'g] hUuf / ;f=ls=g+= 

96, 109, 110 ;d]tsf hUufx? k|=s=? 

4,50,000. 

 `_ dfly k|s/)fx?df pNn]v eP afx]s 3s sf] u|fe]n af^f] / 

zfvf af^f] %'g] hUufx? k|=s=? 

3,00,000. 

 ^_ dfly k|s/)fx?df pNn]v eP b]lv afx]ssf 3s cGtu{tsf 

Knl^ªsf hUufx? k|=s=? 

3,00,000. 

s;]gL uf=lj=;= 3.v 

7   

 s_ 3.u sf] gSzf l;dfgf blIf)f lkr af^f]n] %'g] hUuf k|=s=?= 4,00,000. 

 v_ ;f=ls=g++= n] %'g] xfnsf] ls=g+=n] g%'g] / sRrL u|fe]n af^f]n] 

%'g] hUuf k|=s=? 

2,50,000. 

 u_ 3.v sf Kn^Lªsf hUuf k|=s=?= 2,50,000.F 

s;]gL uf=lj=;= 3.u 

8   

 s_ 3.s sf] /fwfs[i)f dlGb/ gSzf l;dfgf b]lv blIf)f 3.vsf] 

gSzf l;dfgf ;Ddsf] lkr af^f] %'g] bfof jfofsf hUufx? k|=s=?= 

6,00,000. 

 v_ dfly k|s/)f -s_ df k/L ;f=ls=g+= n] af^f] %'g] xfnsf] ls=g+= 

n] af^f] g%'g] hUuf k|=s=?= 

3,00,000. 

 u_ s;]gL 3.u sf] Knl^ªsf hUUff k|=s=?= 2,50,000. 

;fljs s;]gL xfn j]njf/L g=kf= 

9   

 s_ ;fljs s;]gL 5.v sf] s;]gL ahf/If]qsf] gx/ %'g] pQ/ 

blIf)fsf hUuf k|=s=?= 

1,20,000.F 

 v_ ;fljs j]njf/L 2.u / 4.u sf] x'nfsL dfu{ %'g] hUuf k|=s=?= 1,50,000.F 

 u_ ;fljs s;]gL 8.s, 8.v df kg]{ s[lif dfu{ %'g] bfof+jfof+sf 

hUuf k|=s=?= 

1,40,000.F 

s;]gL uf=lj=;= 4.* 

10   

 s_ s;]gL 4.* sf] gSzfsf] pQ/sf] ;f=ls=g+= 7 / 67 b]lv blIf)f 

;f=ls=g+= 34, 35 gSzfsf] blIfl)f l;df ;Ddsf] lkr af^f] bfof 

afofsf hUufx? k|=s=?= 

7,00,000. 

 v_ dfly k|s/)f -s_ df k/L ;f=ls=g+=n] af^f] %'g] xfnsf] ls=g+=n] 

af^f] g%'g] hUuf k|=s=?= 

3,00,000.F 

 u_ s;]gL 4.* sf] u|fe]n af^f] / zfvf af^f]nfO{ %'g] hUUf k|=s=?= 2,50,000.F 

 #_ s;]gL 4.* sf Kn^Lªsf hUuf k|=s=? 2,00,000. 

s;]gL uf=lj=;= 4.( 
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11   

 s_ s;]gL ;f=ls=g+= 9, 32 gSzfsf] pQ/ l;dfgf b]lv blIf)f 

l;dfgfsf] ;f=ls=g+= 63 / sfodL ls=g+= 386 ;Ddsf lkr af^f] 

bfof jfofsf hUufx? k|=s=?= 

8,50,000. 

 v_ dfly k|s/)f -s_ df k/L ;f=ls=g+= n] af^f] %'g] xfnsf] ls=g+= 

n] af^f] g%'g] hUuf k|=s=?= 

3,50,000. 

 u_ s;]gL 4.( sf] u|fe]n af^f], zfvf af^f]nfO{ %'g] hUUff k|=s=?= 2,50,000. 

 #_ s;]gL 4.( sf Kn^Lªsf hUuf k|=s=? 2,00,000. 

s;]gL uf=lj=;= 4.)f 

12   

 s_ s;]gL 4.)f sf] gSzfsf] pQ/ l;dfgfsf] ;f=ls=g+= 30 / 32 

b]lv blIf)f ;f=ls=g+= 67 -w/x/f rf}s_ ;Ddsf] lkr af^f] bfof 

afofsf hUufx? k|=s=?= 

6,00,000.F 

 v_ dfly k|s/)f -s_ df k/L ;f=ls=g+=n] af^f] %'g] xfnsf] ls=g+=n] 

af^f] g%'g] hUuf k|=s=?= 

 

3,00,000.F 

 u_ w/x/f rf}s b]lv blIf)f gSzf l;dfgf ;Ddsf] lkr af^f] %'g] 

hUuf k|=s=? 

3,50,000. 

 #_ s;]gL 4.)f sf] u|fe]n af^f] / zfvf af^f]nfO{ %'g] hUUf 

k|=s=?= 

2,50,000.F 

 ª_ s;]gL 4.)f sf Kn^Lªsf hUuf k|=s=? 2,00,000. 

s;]gL uf=lj=;= 

13 s_ s;]gL 4.& sf d"n af^f] / u|fe]n jf^f]n] %'g] hUuf k|=s=?= 2,50,000.F 

 v_ dfly k|s/)fdf pNn]v ePsf jf*{x?sf] lkr af^f]sf Kn^Lªsf 

hUuf / zfvf af^f] %'g] hUufx? k|=s=?= 

2,00,000.F 

 u_ dfly pNn]v eP afx]s xfn j]njf/L g=kf= ;fljs s;]gL 

uf=lj=;= cGtu{tsf Kn^Lªsf hUuf k|=s=?= 

1,80,000.F 

 #_ dfly k|s/)fx?df pNn]v eP afx]s xfn j]njf/L g=kf= 

cGtu{tsf ;fljs j]njf/L uf=lj=;= sf af^f] %'g] hUuf k|=s=?= 

75,000.F 

 ª_ dfly k|s/)fx?df pNn]v eP afx]s xfn j]njf/L g=kf= 

cGtu{tsf ;fljs j]njf/L uf=lj=;=sf af^f] g%'g] hUuf k|=s=?= 

60,000.F 

 r_ dfly pNn]v eP afx]s xfn j]njf/L g=kf= ;fljs s;]gL 

uf=lj=;= cGtu{tsf af^f] g%'g] v]tL of]Uo hUuf k|=s=?= 

25,000.F 

4=s]/fjf/L uf=lj=;= 

s]/fjf/L  1 
1   

 s_ ;f=ls=g+= 8,12 b]lv 16 ;Dd, 18 b]lv 30 ;Dd 32 b]lv 39 ;Dd 

44, 47, 48, 59, 60, 61, 67, 68, 69, 77, 83, 86, 92, 96, 

139, 155, 175, 176, 177, 216 b]lv 220 ;Dd 222, 225, 252, 

269, 275, 276, 309, 331, 332, 389, 399, 405, 430, 435, 

484, 506, 50, 509, 510, 511, 541, 542, 612, 830 / oL 

lsQfx? sf^ e} jf ge} af^f]n] %'g] hUuf k|=s=?= 

 

 

 

16,00,000.F 

 v_ k|s/)f s df pNn]v eP afx]s ;f=ls=g+= n] af^f] %'g] xfnsf 

lsQfn] af^f] g%'g] hUuf k|=s=?= 

12,00,000.F 
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 u_ ;f=ls=g+= 1 b]lv blIf)f 10 ;Dd dfly pNn]v eP afx]ssf hUuf 

k|=s=? 

5,00,000.F 

 #_ dfly pNn]v eP afx]ssf ;f=ls=g+= 49, 42, 40, 31 x'+b} k"j{ 53, 

57, 58, 98 x'+b} ;f=ls=g+=64, 65, 73, 76 ;Ddsf hUuf ls=g+= 81 

%f*L klZrdsf hUuf k|=s=?= 

3,50,000.F 

 ª_ dfly k|s/)fdf pNn]v ul/Psf afx]s Kn^Lªsf hUuf k|=s=?= 2,50,000.F 

 r_ dfly k|s/)fdf pNn]v ul/Psf afx]s cGo af^f]n] %'g] hUuf k|=s=?= 1,00,000.F 

 %_ dfly k|s/)fdf pNn]v ul/Psf afx]s af+sL hUufx? k|=s=?= 50,000.F 

s]/fjf/L 2.s 
2   

 s_ ;f=ls=g++ 2 b]lv 22, 24 b]lv 29 ;Dd 33 b]lv 38 ;Dd 44 

b]lv 48 ;Dd 50, 53, 54, 55, 57 b]lv 64 ;Dd 70, 81, 83 

b]lv 95 ;Dd 162, 163, 171, 175, 176, 177, 179, 184, 183, 

187, 192 b]lv 195 ;Dd 198, 204, 205, 218, 220, 222 b]lv 228 

;Dd 232, 233, 234, 235, 243, 244, 245, 246, 249, 250, 263, 

264, 266, 267, 285, 288 b]lv 295 ;Dd 304, 312, 313, 320, 323, 

334, 336, 337, 345, 346, 366, 367, 397, 98, 399, 400, 403, 

404, 409, 412, 413, 416, 424, 428, 30, 432, 449, 450, 480, 

493, 494, 525, 26, 530, 553, 587, 588, 800, 809, 81, 820, 

884, 886 / oL lsQfx? sf^ e} jf ge} sfodL xfn af^f]n] %'g] hUuf 

k|=s=?= 

16,00,000.F 

 v_ k|s/)f s df pNn]v eP afx]s ;f=ls=g+= n] af^f] %'g] xfnsf 

lsQfn] af^f] g%'g] hUuf k|=s=?= 

12,00,000.F 

 u_ ;f=ls=g+= 1, 39, 40, 43 ;d]t b]lv blIf)f ;f=ls=g+=66 ;Dd dfly 

dfly k|s/)fdf pNn]v ePsf afx]ssf hUuf k|=s=? 

5,00,000.F 

 #_ dfly k|s/)fdf pNn]v ePsf afx]s ls=g+=112 sf] vf]N;L klZrdsf 

hUuf k|=s=? 

4,00,000.F 

 ª_ dfly k|s/)fdf pNn]v ePsf afx]s ls=g+=112 sf] vf]N;L k"j{ ls=g+= 

157 b]lv pQ/sf hUuf k|=s=? 

3,00,000.F 

 r_ dfly k|s/)fdf pNn]v ePsf afx]s ls=g+=157 %f*L ;f] blIf)f gS;f 

l;dfgf ;Dd hUuf k|=s=? 

2,00,000.F 

 %_ dfly k|s/)fdf pNn]v ePsf afx]s Kn^Lªsf hUuf k|=s=?= 2,50,000.F 

 h_ dfly pNn]v eP afx]s cGo af^f]n] %'g] hUuf k|=s=? 1,00,000.F 

 em_ dfly pNn]v eP afx]s 2s sf cGo hUuf k|=s=?  50,000.F 

s]/fjf/L 3.s 
3   

 s_ pQ/ blIf)f af^f];+u hf]l*Psf ;f=ls=g+= 8, 10, 11, 12, 13, 16, 

17, 18, 24 b]lv 30, 35, 36, 39, 40, 48, 49, 51, 52, 53 / 

116 ;d]tsf hUuf k|=s=?= 

8,00,000.F 

 v_ k|s/)f s df pNn]v eP afx]s ;f=ls=g+= n] af^f] %'g] xfnsf 

lsQfn] af^f] g%'g] hUuf k|=s=?= 

6,00,000.F 

 u_ ;f=ls=g+= 1,7 b]lv blIf)f ls=g+=281, 282 b]lv pQ/ gS;fsf] d'n 

af^f] klZrd dfly k|s/)f s, v df k/] afx]ssf hUuf k|=s=? 

2,50,000.F 

 #_ dfly pNn]v eP afx]s gS;fsf] d'naf^f] k"j{ ;f=ls=g+=76 sf] vf]N;L 

klZrdsf hUuf k|=s=? 

2,50,000.F 

 ª_ dflysf k|s/)fdf pNn]v eP afx]s Kn^Lªsf ;Dk")f{ hUuf k|=s=?= 2,00,000.F 

 r_ dflysf k|s/)fdf pNn]v eP afx]s cGo af^f] %'g] ;Dk")f{ hUuf 

k|=s=?= 

1,00,000.F 



12 

 

s]/fjf/L 3.v 
4   

 s_ s]/faf/L 3.v u|fe]n af^f]n] %'g] bfof afofsf hUuf k|=s=?= 1,50,000. 

 v_ s]/fsf/L 3.s gSzf l;dfgf pQ/ yfkf^f/ ;Dd k'Ug] k|=s=? 150,000. 

s]/fjf/L 4.s 
5   

 s_ gS;fsf] af^f]n] %'g] ;f=ls=g+= 1, 2, 7, 9 b]lv 12, 16, 17, 18, 

20 b]lv 23, 25 b]lv 37, 43, 48, 50 b]lv 71, 81 b]lv 83 ;d]t / 

oL lsQf ePsf af^f]n] %'g] cGo ;f=ls=g+=sf ;f] Pl/ofsf hUuf k|=s=?= 

5,00,000.F 

 v_ k|s/)f s df pNn]v eP afx]s ;f=ls=g+= n] af^f] %'g] xfnsf 

lsQfn] af^f] g%'g] hUuf k|=s=?= 

3,00,000.F 

 u_ dfly pNn]v eP afx]ssf Kn^Lªsf hUuf k|=s=?= 2,00,000.F 

 #_ dfly pNn]v eP afx]ssf af^f] %'g] hUuf k|=s=?= 1,00,000.F 

s]/fjf/L 6.s 
6   

 s_ ;f=ls=g+= 29, 30 k'j{ x'b} ;f=ls=g+= 192, 46, 17, 178 ;d]t b]lv 

pQ/ gSzf l;dfgf ;Dd lkr af^f]n] %'g] bfof afofsf hUuf k|=s=?= 

6,00,000.F 

 v_ k|s/)f s df pNn]v eP afx]s ;f=ls=g+= n] af^f] %'g] xfnsf 

lsQfn] af^f] g%'g] hUuf k|=s=?= 

5,00,000.F 

 u_ ;f=ls=g+= 33, 34 %f*L ;f] blIf)f gSzf l;dfgf ;Dd / ;f=ls=g+= 

17, 192 %f*L k"j{ gSzf l;dfgf ;Dd af^f] %'g] hUuf k|=s=? 

4,00,000.F 

 #_ k|s/)f u df pNn]v ePsf] ;f=ls=g+= n] ;f] af^f] %'g] xfnsf] 

ls=g+=n] af^f] g%'g] hUufx? k|=s=? 

2,00,000.F 

 ª_ dfly pNn]v eP afx]ssf Kn^Lªsf hUuf k|=s=?= 2,00,000.F 

 r_ dfly pNn]v eP afx]ssf af^f] %'g] hUuf k|=s=?= 100,000.F 

s]/fjf/L 6.v 
7   

 s_ s]/fjf/L 6.v cGtu{t gS;fsf] d"njf^f]n] %'g] bfof jfofsf ;Dk")f{ 

hUufx? k|=s=?= 

3,00,000.F 

 v_ k|s/)f s df pNn]v eP afx]s ;f=ls=g+= n] af^f] %'g] xfnsf 

lsQfn] af^f] g%'g] hUufx? k|=s=?= 

1,50,000.F 

 u_ dfly pNn]v eP afx]ssf Kn^Lªsf hUuf k|=s=?= 2,00,000.F 

 #_ dfly pNn]v eP afx]ssf af^f] %'g] hUuf k|=s=?= 1,00,000.F 

s]/fjf/L 7.s -xfn ofªlznf_ 
8   

 s_ gS;fsf] af^f]n] %'g] ;a} ls=g+= / ls=g+= 26, 27, 38, 40 b]lv 43, 46, 
47, 48, 51, 52, 62 b]lv 65, 68 b]lv 72, 88, 89, 115, 116, 117, 126, 

127, 128 sf hUuf / lkknrf}saf^ ;+ud ky x'b} k"j{ l;dfgf ;Dd af^f]n] %'g] 

bfof afofsf hUUff k|=s=?= 

3,50,000. 

 v_ k|s/)f s df pNn]v eP afx]s ;f=ls=g+= n] af^f] %'g] xfnsf lsQfn] 

af^f] g%'g] tyf sfnfkfgLaf^ pQ/ hfg] :s"n hfg] AFf^f]n] %'g] / 

sfnfkfgL klZrdaf^ pQ/ ;+ud ky bfof jfof af^f]n] %'g] hUuf k|=s=?= 

1,50,000. 

 u_ dfly pNn]v eP afx]ssf Kn^Lªsf hUuf k|=s=?= 2,00,000. 

 #_ dfly pNn]v eP afx]ssf af^f] %'g] hUuf k|=s=?= 80,000. 

s]/fjf/L 7.u -xfn ofªlznf_ 
9   

 s_ s]/fjf/L 7.u cGtu{tsf ;f=ls=g+= 19, 20, 22, 23, 25, 46, 47, 3,50,000. 
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49 / 50 ;d]tsf] gSzfsf] blIf)f ;Ldfgfsf] d"naf^f]sf hUuf / 

lkknrf]saf^ ;+ud ky x'b} 7s gSzfaf^ k"j{ 7u gSzf ;Ddsf] bfof 

afofsf hUufx? k|=s=?= 

 v_ k|s/)f s df pNn]v eP afx]s ;f=ls=g+= n] af^f] %'g] xfnsf lsQfn] 

af^f] g%'g] hUuf k|=s=?= 

1,50,000. 

 u_ dfly pNn]v eP afx]s 7u sf] ;f=ls=g+= 67 t]x|y'd] ^f]naf^ pQ/ 

tkm{ gSzfsf] l;dfgf ;Dd hfg] af^fsf] bfof jfofsf hUuf / x'nfs rf}s 

;Ddsf] hUuf k|=s=?= 

1,20,000. 

 #_ dfly pNn]v eP gSzfsf] cGo zfvf / leqLaf^f] %'g] hUuf k|=s=?= 80,000. 

 ª_ dfly pNn]v eP afx]s Knl^ªsf hUufx? k|=s=? 2,00,000. 

 r_ dfly pNn]v eP afx]s 7u sf cGo hUufx? k|=s=? 40,000. 

s]/fjf/L 7.# -xfn ofªlznf_ 
10   

 s_ s]/fjf/L 7.# cGtu{tsf gS;fsf] af^f]n] %'g] ;a} ;f=ls=g+= 1, 4 b]lv 9, 
11 b]lv 17, 29, 31 ;d]t gS;fsf] d'naf^f] %'g] / ;+ud ky x'b} 7u gSzfaf^ 

k"j{ ljr ;*ssf bfof afofsf hUuf k|=s=?= 

3,50,000. 

 v_ k|s/)f s df pNn]v eP afx]s ;f=ls=g+= n] af^f] %'g] xfnsf lsQfn] af^f] 
g%'g] hUuf / rDkfvf]nL k'j{af^ pQ/ 6 g+= j*f sfof{no x'b} gSzf l;dfgf 

;Dd af^f]n] %'g] hUuf k|=s=?= 

1,50,000. 

 u_ dfly pNn]v eP afx]ssf Kn^Lªsf hUuf k|=s=?= 2,00,000. 

 #_ dfly pNn]v eP afx]ssf af^f] %'g] hUuf k|=s=?= 80,000. 

 ª_ dfly pNn]v eP afx]s cGo afsL hUuf k|=s=?= 40,000. 

s]/fjf/L 7.ª -xfn ofªlznf_ 
11   

 s_ gS;fsf] af^f]n] %'g] ;a} lsQfx? / ;f=ls=g+= 31 b]lv 37, 42 b]lv 

47, 70 / 73 ;d]t d'naf^f] %'g] hUuf k|=s=?= 

3,50,000.F 

 v_ k|s/)f s df pNn]v eP afx]s ;f=ls=g+= n] af^f] %'g] xfnsf lsQfn] 

af^f] g%'g] hUuf k|=s=?= 

1,50,000.F 

 u_ dfly pNn]v eP afx]ssf Kn^Lªsf hUuf k|=s=?= 2,00,000.F 

 #_ dfly pNn]v eP afx]ssf af^f] %'g] hUuf k|=s=?= 1,00,000.F 

s]/fjf/L 7.% 
12   

 s_ ;f=ls=g+= 1, 8, 9, 11 b]lv 18, 23, 24, 61 b]lv 63, 65, 66, 

70 b]lv 73, 75, 76, 107, 108, 110, 114, 115 b]lv 118, 262 

;d]t ;Ddsf hUuf k|=s=?= 

3,50,000.F 

 v_ k|s/)f s df pNn]v eP afx]s ;f=ls=g+= n] af^f] %'g] xfnsf 

lsQfn] af^f] g%'g] hUuf k|=s=?= 

1,50,000.F 

 u_ dfly pNn]v eP afx]ssf Kn^Lªsf hUuf k|=s=?= 2,00,000.F 

 #_ dfly pNn]v eP afx]ssf af^f] %'g] hUuf k|=s=?= 1,00,000.F 

s]/fjf/L 8.v 
13   

 s_ gS;fsf] ;f=ls=g+= 41, 42 b]lv blIf)f gSzf l;dfgf ;Dd lkr 

af^fn]] %'g]] bfof+ jfof+sf hUufx? k|=s=?= 

7,00,000.F 

 v_ k|s/)f s df pNn]v eP afx]s ;f=ls=g+= n] af^f] %'g] xfnsf lsQfn] 

af^f] g%'g] hUuf / ;f=ls=g+= 41, 42 %f*L ;f] pQ/ gSzf l;dfgf 

;Dd af^f] %'g] hUuf k|=s=?= 

4,00,000.F 

 u_ dfly pNn]v eP afx]ssf Kn^Lªsf hUuf k|=s=?= 2,00,000.F 

 #_ dfly pNn]v eP afx]ssf cGo af^f] %'g] hUuf k|=s=?= 1,00,000.F 



14 

 

s]/fjf/L 9.s 
14   

 s_ gS;fsf] af^f]n] %'g] ;a} lsQfx? / ;f=ls=g+= 40 b]lv 50, 75 b]lv 

77, 79, 125, 155 ;Ddsf hUuf k|=s=?= 

3,50,000.F 

 v_ k|s/)f s df pNn]v eP afx]s ;f=ls=g+= n] af^f] %'g] xfnsf 

lsQfn] af^f] g%'g] hUuf k|=s=?= 

2,00,000.F 

 u_ dfly pNn]v eP afx]ssf Kn^Lªsf hUuf k|=s=?= 2,00,000.F 

 #_ dfly pNn]v eP afx]ssf af^f] %'g] hUuf k|=s=?= 1,00,000.F 

s]/fjf/L 9.h 
15   

 s_ s]/fjf/L 9.h cGtu{tsf Kn^Lªsf hUuf k|=s=?= 2,00,000.F 

 v_ dfly pNn]v eP afx]ssf af^f] %'g] hUuf k|=s=?= 60,000.F 

 

s]/fjf/L uf= lj= ;= 
16   

 s_ dflysf k|s/)fx?df pNn]v eP afx]s j*f g++= 1 b]lv 9 ;Ddsf 

Kn^Lªsf hUuf k|=s=?= 

2,00,000.F 

 v_ dfly pNn]v eP afx]ssf s]/fjf/L j*f g+= 1 b]lv 9 sf u|fe]n 

af^f], d'n af^f] %'g] hUuf k|=s=?= 

1,00,000.F 

 u_ s]/faf/L 1 b]lv 9 ;Ddsf leqL sRrL af^f] / zfvf af^f] %'g] 

hUufx? k|=s=? 

60,000. 

 #_ s]/fjf/L uf=lj=;= j*f g+= 1 b]lv j*f g+= 9 ;Ddsf dflysf 

k|s/)fx?df k/]sf afx]ssf v]tLof]Uo hUuf k|=s=?= 

25,000.F 

  5=1 s]/f}g uf=lj=;= 
1   

 s_ s]/f}g uf=lj=;= j*f g+= 1.%, 1.`, 1em df kg]{ sfg]kf]v/Laf^ hxbf 

x'+b} ef}+;fjf/L d"n;*s hf]l*g] af^fsf b'j} tkm{sf hUuf k|=s=?= 

400,000. 

 v_ s]/f}g uf=lj=;= j*f g+= 1.#, 1.ª, 1r, 1.h df kg]{ sfg]kf]v/Laf^ 

hxbf x'+b} ef}+;fjf/L d"n;*s hf]l*g] af^fsf b'j} tkm{sf hUuf k|=s=?= 

3,00,000.F 

 u_ /+u]nL sfg]kf]v/L d"n;*sdf kg]{ s]/f}g uf=lj=;= j*f g+=4.s, 4.u, 

4.#, 5.v, 6.s df kg]{ ;*ssf] bfof+ jfof+sf hUuf k|=s=?= 

7,00,000.F 

 #_ /+u]nL sfg]kf]v/L d"n;*sdf kg]{ s]/f}g uf=lj=;= j*f g+= 7.s, 8.s, 

8.v df kg]{ ;*ssf] bfof+ jfof+sf hUuf k|=s=?= 

5,75,000.F 

 ª_ dfly k|s/)f -u_ / -#_ df pNn]v eP jfx]s ;f=ls=g=n] jf^f] %'g] 

xfnsf] lsTtfn] jf^f] g%'g] k%Fl*sf hUuf k|=s=?= 

3,50,000.F 

 r_ dfly pNn]v eP afx]s s]/f}g uf=lj=; cGtu{t Knl^ªsf nflu v/Lb 

x'g] k|=s=? 

2,00,000.F 

 %_ s]/f}g 5.v sfln:yfg rf}saf^ k"j{ ao/jg hfg] af^f]n] %'g] bfof+ 

jfof+sf hUuf k|=s=?= 

1,60,000.F 

5=2 s]/f}g 5.s 
2   

 s_ s]/f}g 5.s gSzfsf] pQ/ l;dfgfsf] ;f=ls=g+= 74 b]lv blIf)f 

;f=ls=g+= 165 ;Ddsf] sfg]kf]v/L /+u]nL ;*s bfof afofsf hUufx? 

k|=s=? 

8,00,000. 

 v_ ;f=ls=g+= 165 %f*L ;f] blIf)f gSzf l;df ;Ddsf] sfg] kf]v/L /+u]nL 

af^f]n] %'g] hUuf k|=s=? 

5,75,000. 

 u_ ;f=ls=g+= 165 af^ k"j{ blIf)f ao/jg hfg] af^f]n] %'g] hUuf / 2,00,000. 
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;f=ls=g+= 118 af^ klZrd pQ/ ef};faf/L hfg] af^f] bfof afofsf 

hUufx? k|=s=? 

 #_ dfly k|s/)f u df pNn]v ePsf] ;f=ls=g+= n] af^f] %'g] xfnsf] 

ls=g+= n] af^f] g%'g] hUufx? k|=s=? 

1,00,000. 

 ª_ k|s/)f -s_ / -v_ df pNn]v ePsf] ;f=ls=g+= n] af^f] %'g] xfnsf] 

ls=g+=n] af^f] g%'g] -300 km'^ leqsf]_ hUuf k|=s=? 

2,50,000. 

 r_ s]/f}g 5.s sf Knl^ªsf hUufx? k|=s=? 2,00,000. 

 %_ s]/f}g 6.v sf] /dfO{nf]af^ ao/jg x'b} bf]dfgf hfg] af^f] %'g] hUufx? 

k|=s=? 

1,00,000. 

 

5=3 s]/f}g 9.s 
3   

 s_ s]/f}g 9-s_ ;f=ls=g+= 20 %f*L klZrd gSzf l;df b]lv blIf)f 

;f=ls=g+= 189 / 172 ;Ddsf] -bn]nL ahf/ Pl/of_ /+u]nL sfg]kf]v/L 

v*s bfof afofsf hUUff k|=s=? 

8,00,000. 

 v_ k|s/)f -s_ df pNn]v eP b]lv blIf)f ;f]xL ;*sn] %'g] gSzf l;df 

;Ddsf] af^f] bfof afofsf hUuf k|=s=? 

4,75,000. 

 u_ k|s/)f -s_ / -v_ df pNn]v ePsf] ;f=ls=g+= n] af^f] %'g] xfnsf] 

ls=g+= n] af^f] g%'g] -300 km'^ leqsf]_ hUuf k|=s=? 

2,00,000. 

s]/f}g uf=lj=;= 
4   

 s_ dflysf k|s/)fdf pNn]v eP afx]s s]/f}g uf=lj=;= j*f g+= 1 b]lv 

9 ;Ddsf af^f]n] %f]Psf hUuf k|=s=?= 

50,000.F 

 v_ dfly k|s/)fdf pNn]v eP afx]s s]/f}g uf=lj=;= j*f g+= 1 b]lv 9 

;Dd lr;fª vf]nfn] %f]Psf hUuf afx]s v]tLof]Uo hUuf k|=s=?= 

25,000.F 

 u_ dfly k|s/)fdf pNn]v eP afx]s s]/f}g uf=lj=;= cGtu{t lr;fª 

vf]nfsf] gbL s^fgdf k/]sf hUuf k|=s=?= 

13,000.F 

6=hf+t] uf=lj=;= 
hf+t] uf=lj=;= j*f g+= 1.s 

1   

 s_ hf+t] uf=lj=;= j*f g+= 1 sf] ;f=ls=g+= 12, 30, 32 b]lv 39 

;Ddsf hUuf k|=/f]=?= 

5,00,000. 

 v_ hf+t] 1.s ;f=ls=g+=49 b]lv 60 ;Dd / ls=g+= 77, 78, 79 

;d]tsf hUuf k|=/f]=?= 

3,50,000. 

 u_ dfly k|s/)fdf pNn]v gePsf cGo af^f] %'g] / Kn^Lªsf 

nflu ljqmL x'g] hUufx? k|=/f]=?= 

2,75,000. 

hf+t] uf=lj=;= j*f g+= 2 
2   

 s_ hf+t] uf=lj=;= j*f g+= 2 sf] ;f=ls=g+= 1 b]lv 14 ;Ddsf 

hUufx? k|=/f]=?= 

5,00,000. 

 v_ hf+t] 2.s ;f=ls=g+= 24 b]lv 30, 32, 33, 37, 38, 39 sf 

hUufx? k|=/f]=?= 

3,50,000. 

 u_ hf+t] 2.s sf] dfly k|s/)fdf pNn]v ePb]lv afx]s cGo af^f] 

%'g] hUufx? k|=/f]=?= 

2,00,000. 

 #_ hf+t] 2.s sf] dfly k|s/)fdf pNn]v ePb]lv afx]s Knl^ªsf 2,75,000. 
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hUufx? k|=/f]=?= 

 ª_ dfly k|s/)f 1.s / 2 df pNn]v ePb]lv afx]s cGo af+sL 

hUufx? k|=/f]=?= 

50,000. 

hf+t] uf=lj=;= j*f g+= 7, 8, 9 -xfn n]^fª uf=lj=;= df kg]{_ 
3   

 s_ hf+t] 8.v ;f=ls=g+= 19, 20, 15, 38 Pjd\ sfodL ls=g+= 

593, 156, 612, 237, 16 %f*L ;f] klZrd, ls=g+= 42 b]lv 

pQ/, 37 x'+b} 106 b]lv k"j{ Pl/ofsf] n]^fª 6 g+= a'wjf/] 

df]^/af^f] bfof+ jfof+sf hUuf k|=/f]=?= 

3,00,000. 

 v_ s df pNn]v e} xfn df]^/af^f] g%'g] pQm Pl/ofleqsf tyf 

Kn^Lªsf hUuf k|=/f]=?= 

2,75,000. 

 u_ cGo af^f] %'g] hUuf k|=/f]=?= 100,000. 

hf+t] uf=lj=;= j*f g+= 9.s 
4   

 s_ hft] 9s sf] blIfl)f l;dfgf klZrd b]lv k"j{ s'df/L rf}s 

;Ddsf] lkr af^f] %'g] hUufsf] k|=/f]=? 

6,00,000. 

 v_ k|s/)f s sf] ;f=ls=g+= n] %'g] xfnsf] ls=g+=n] g%'g] hUufsf] 

k|=/f]=? 

3,50,000. 

 s_ ;f=ls=g+= 13, 14, 15 tyf 40 b]lv blIf)f, ls=g+= 85 x'+b} 

113 ;Ddsf] n]^fªa'wjf/] df]^/ af^f] %'g] hUuf k|=/f]=?= 

3,00,000. 

 v_ s df k/L af^f] g%'g] tyf Kn^Lªsf hUuf k|=/f]=?= 2,00,000. 

 u_ dfly pNn]v eP afx]ssf cGo af^f] %'g] hUuf k|=/f]=?= 1,00,000. 

hf+t] uf=lj=;= 
5   

 s_ hf+t] j*f g+= 8 / 9 sf dfly k|s/)fdf pNn]v eP afx]ssf 

hUuf k|=/f]=?= 

75,000. 

 v_ hf+t] j*f g+= 7 sf af^f] %'g] hUuf k|=/f]=?= 40,000. 

 u_ hf+t] j*f g+= 7 sf af^f] g%'g] hUuf k|=/f]=?= 30,000. 

hf+t] uf=lj=;= 
6   

 s_ dflysf k|s/)fx?df pNn]v eP afx]s  hf+t] uf=lj=;= j*f g+= 

1 b]lv 9 ;Ddsf Kn^Lªsf hUufx? k|=/f]=?= 

2,75,000. 

 v_ dflysf k|s/)fx?df pNn]v eP afx]s cGo jf^F] %'g] hUuf x?  

k|=/f]=?= 

75,000. 

 u_ dflysf k|s/)fx?df pNn]v eP afx]s  hf+t] uf=lj=;= j*f g+= 

1 b]lv 9 ;Ddsf jf¤sL hUufx? v]t tkm{ k|=/f]=?= 

40,000. 

 #_ hf+t] uf=lj=;= j*f g+= 1 b]lv 9 ;Ddsf kfvf] tkm{sf  

hUufx? k|=/f]=?= 

30,000. 

7= ^f+*L uf=lj=;= 
^f+*L uf=lj=;= j*f g+=2.s 

1   

 s_ ;f=ls=g+= 16, 28, 29, 31 / 45 sf] Kn^Lª eP/ #/jf;sf 

nflu ljqmL x'g] hUuf -;fljs ^f+*L xfn /ldt]vf]nf_ k|=/f]=?= -v]t 

1,25,000.F 
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kfvf b'j}_ 

 

 

^f+*L uf=lj=;= j*f g+= 5.` 

2   

 s_ ;f=ls=g+= 2 b]lv 9 ;Dd 18, 19, 20, 22, 23, 24, 30, 

31, 32, 38, 39, 42, 43, 50, 51, 52, 54, 58, 59 / 60 

sf d"n af^f] sf bfof+ jfof+sf hUufx? k|=/f]=?= 

2,00,000.F 

^f+*L uf=lj=;= j*f g+= 5.( 

3   

 s_ ;f=ls=g+= 61/62 %f*L ;f]b]lv blIf)f ;f=ls=g+= 66, 67, 68, 

69, 79, 81, 82 -wf]j]g ahf/If]q_ hUufx? k|=/f]=?= 

550,000.F 

 v_ k|s/)f s df pNn]v eP jfx]s pNn]lvt lsTtfx?sf leqL 

hUuf jf Knl^ªsf hUuf k|=s=?= 

 

2,25,000.F 

 u_ ;f=ls=g+= 61, 62 b]lv pQ/ ;f=ls=g+= 14, 16, 18, 20, 21, 

24, 29, 30, 31, 36, 37, 41, 42, 50, 77, 90 / 91 sf 

d"n af^f]sf bfof+sf hUufx? k|=/f]=?= 

1,80,000.F 

^f+*L uf=lj=;= j*f g+= 5.)f 

4   

 s_ ;f=ls=g+= 4b]lv k"j{ 29 b]lv klZrd j*f ;Ldfgfsf] af^f]b]lv 

blIf)f ls=g+=411 / 404 b]lv pQ/sf hUufx? k|=/f]=?= 

2,00,000.F 

 v_ ^f+*L uf=lj=;= 5.)f sf] af+sL d"naf^f]n] %'g] af^f] bfof+ jfof+sf 

hUufx? Kn^Lª hUufx? k|=/f]=?= 

1,00,000.F 

^f+*L uf=lj=;= 
5   

 s_ ^f+*L uf=lj=;= j*f g+= 5 / 6 sf af+sL Ansx? d"naF^f], 

u|fe]naF^f], gS;fsf] aF^f] hf]l*Psfx? v]t kfvf] b'j} k|=/f]=?= 

75,000.F 

 v_ dfly k|s/)fdf pNn]v ePsf] afx]s j*f g+= 5.`, 5.(, 5.)f 

sf cGo af+sL hUufx? k|=/f]=?= 

30,000.F 

 u_ ^f*L uf=lj=;= cGtu{t Kn^Lªsf hUufx? k|=s=? 1,50,000. 

 #_ dfly k|s/)fx?df pNn]v ePb]lv afx]s ^f+*L uf=lj=;= j*f g+= 

1 b]lv 9 ;Ddsf d'n af^f], leqL af^f], zfvf af^f] %'g] hUuf -

v]t / kfvf] b'a}_ 

 

40,000. 

 ª_ dfly k|s/)fx?df pNn]v eP b]lv afx]s ^f*L uf=lj=;= j*f 

g+= 1 b]lv ( ;Ddsf v]tL of]Uo hUuf -v]t / kfvf]_ k|=s=?= 

20,000. 

8=*f+uLxf^ uf=lj=;= 
*f+uLxf^ uf=lj=;= j*f g+= 1 

1   

 s_ ;f=ls=g+= 68, 71, 74 b]lv blIf)f 172, 200 ;Dd / 254, 

260, 264 / 271, 272 ;Ddsf cDd/ dfu{n] %'g] af^f]sf] bfof+ 

jfof+sf hUuf k|=s=?= 

3,00,000.F 

 v_ s df k/L xfnsf] lsQfn] af^f] g%'g] hUuf k|=s=?= 1,75,000.F 

 u_ dfly k|s/)fx?df pNn]v ePb]lv afx]ssf Kn^Lªsf hUuf 2,00,000.F 
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k|=s=?= 

 #_ *f+uLxf^ 1 sf] gS;f leq kg]{ cGo af^f]sf] bfof+ jfof+sf hUuf 

k|=s=?= 

1,00,000.F 

*f+uLxf^ uf=lj=;= j*f g+= 2.s 

2   

 s_ *f+uLxf^ 2.s ;f=ls=g+= 24 b]lv 27, 198, 209 x'+b} 236 

;Dd cDd/ dfu{ u|fe]n af^f]n] %'g] hUuf k|=s=?= 

2,75,000.F 

 v_ dfly k|s/)fx?df pNn]v ePb]lv afx]ssf Kn^Lªsf hUuf 

k|=s=?= 

2,00,000.F 

 u_ dfly k|s/)fx?df pNn]v ePb]lv afx]ssf ;f=ls=g+= n] af^f] 

%'g] t/ xfnsf lsQfn] af^f] g%'g] hUuf k|=s=?= 

1,50,000.F 

 #_ ljxLjf/] ahf/af^ k"j{ blIf)fsf] af^f]n] %'g] af^f]sf] bfof+ 

jfof+sf hUuf k|=s=?= 

1,25,000.F 

 u_ dly pNn]v eP afx]s af^f]n] %'g] hUuf k|=s=?= 100,000.F 

*f+uLxf^ uf=lj=;= j*f g+= 2.v 

3   

 s_ ;f=ls=g+= 25, 26 b]lv blIf)f 117 ;Ddsf u|fe]n af^f] -cDd/ 

dfu{_n] %'g] af^fsf] bfof+ afof+sf hUuf k|=s=?= 

3,00,000.F 

 v_ dfly k|s/)fx?df pNn]v ePb]lv afx]ssf Kn^Lªsf hUuf 

k|=s=?= 

2,00,000.F 

 u_ k|s/)f s / v df pNn]v ePb]lv afx]ssf ;f=ls=g+= n] af^f] 

%'g] t/ xfnsf lsQfn] af^f] g%'g] hUuf k|=s=?= 

1,75,000.F 

 #_ dflysf k|s/)fx?df pNn]v eP afx]ssf 2.v sf af^f] %'g] 

hUuf k|=s=?= 

1,00,000.F 

*f+uLxf^ uf=lj=;= j*f g+= 3.s 

4   

 s_ ;f=ls=g+= 101 b]lv blIf)f 203 ;Ddsf u|fe]n af^f] -cDd/ 

dfu{_ n] %'g] af^f] bfof+ afof+sf hUuf k|=s=?= 

3,00,000.F 

 v_ dfly k|s/)fx?df pNn]v ePb]lv afx]ssf Kn^Lªsf hUuf 

k|=s=?= 

2,00,000.F 

 u_ k|s/)f s df pNn]v ePb]lv afx]ssf ;f=ls=g+= n] af^f] %'g] 

t/ xfnsf lsQfn] af^f] g%'g] hUuf k|=s=?= 

1,75,000.F 

 #_ dflysf k|s/)fx?df pNn]v eP afx]ssf 3.s sf af^f] %'g] 

hUuf k|=s=?= 

100,000.F 

*f+uLxf^ uf=lj=;= j*f g+= 3.v 

5   

 s_ ;f=ls=g+= 12, 13, 16 -32 sf] af^f]n] %'g]_ cDd/ dfu{n] %'g] 

hUufx?sf] k|=s=?= 

3,00,000.F 

 v_ dfly k|s/)fx?df pNn]v ePb]lv afx]ssf Kn^Lªsf hUuf 

k|=s=?= 

2,00,000.F 

 u_ k|s/)f s df pNn]v ePb]lv afx]ssf ;f=ls=g+= n] af^f] %'g] 

t/ xfnsf lsQfn] af^f] g%'g] hUuf k|=s=?= 

1,75,000.F 

 #_ *f+uLxf^ 3.v sf cGo af^f] %'g] hUuf k|=s=?= 100,000.F 

*f+uLxf^ uf=lj=;= j*f g+= 4.s 
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6   

 s_ ;f=ls=g+= 1 sf^ e} sfodL ls=g+= tyf nIdLdfu{ ;f]/fefu sf 

-af^f] %'g]_ hUuf k|=s=?=  

6,50,000.F 

 v_ ;f=ls=g+= 2, 3, 4, 7, 8, 13, 18, 24, 25, 26 b]lv blIf)f 

27 x'+b} 33, 34, 38 / 280, 281, 283 ;d]t nIdLdfu{ 

;f]/fefu af^f] k"j{tkm{sf hUuf k|=s=?= 

5,00,000.F 

 u_ s / v afx]ssf ;f=ls=g++ n] ;f]af^f] %'g] xfnsf] ls=g+= n] 

g%'g] hUuf k|=s=?= 

3,00,000.F 

 #_ *f+uLxf^ 4.s h"/fxf l;/fgb]lv gnjf/L rf]s hfg] af^f] bfof+ 

jfof+sf pQ/ 308 b]lv blIf)f ls=g+= 62, 65 ;Dd af^f] bfof+ 

jfof+sf hUuf k|=s=?= 

2,50,000.F 

 ª_ 4.s sf ;f=ls=g+= 62 %f*L ;f] k"j{ ls=g+= 76 x'+b} pQ/ 262 

;Ddsf af^f]sf bfof+ jfof+sf hUuf k|=s=?= 

2,50,000.F 

 r_ dfly pNn]v eP afx]s 4.s sf Kn^Lªsf hUuf k|=s=?= 2,50,000.F 

 %_ # df pNn]v e} xfnsf] ls=g+= n] af^f] g%'g] / 4s sf cGo 

af^f] %'g] hUuf k|=s=?= 

1,25,000.F 

 h_ dfly pNn]v eP afx]s ;f=ls=g+= 62, 65 %f*L ;f]b]lv blIf)f 

gnjf/L rf}s;Dd af^f] bfof+ jfof+sf hUuf k|=s=?=  

1,50,000.F 

*f+uLxf^ uf=lj=;= j*f g+= 4.v 

7   

 s_ nIdLdfu{ u|fe]n af^f]n] %'g] ls=g+= 105 b]lv blIf)f ;f=ls=g+= 

9 -30_ ;Ddsf] af^f]n] %'g] hUuf k|=s=?= 

6,50,000.F 

 v ;f=ls=g+= 9 -30_ %f*L ;f]b]lv blIf)f gS;fsf] blIf)f ;Ldfgf;Dd 

af^f]n] %'g] hUuf k|=s=?= 

5,00,000.F 

 u_ ;f=ls=g+= 13, 15, 17, 27, 29 sf jf^f]n] %'g] hUufx? 

k|=s=?= 

4,75,000.F 

 #_ ;f=ls=g+= 20, 26, 36, 41 -ls=g+= 105 b]lv klZrd 454 

b]lv blIf)f 26 ;d]tb]lv pQ/_ sf hUuf k|=s=?= 

3,00,000.F 

 ª_ k|s/)F s, v, u df pNn]v ePsf ls=sf=x'b} k%f*L k/]sf 

hUufx? k|=s=? 

2,75,000.F 

 r_ *fluxf^ 4.v cGtu{tsf Kn^Lªsf hUuf k|=s=?= 2,50,000.F 

 %_ dfly pNn]v eP afx]ssf cGo af^f] %'g] hUuf k|=s=?= 1,25,000.F 

 h_ dfly k|s/)fdf pNn]v ePb]lv afx]ssf cGo hUufx? k|=s=?= 50,000.F 

*f+uLxf^ uf=lj=;= j*f g+= 4.u 

8   

 s_ ;f=ls=g+= 44, 45, 46, 47, 48 b]lv blIf)f 67, 61 x'+b} 59 

;Dd cDd/ dfu{n] %'g] af^f] bfof+ jfof+sf hUuf k|=s=?= 

5,00,000.F 

 v_ ;f=ls=g+= 59 b]lv blIf)f x'+b} 57, 56, 78, 7, 81, 82, 79 

;Dd cDd/ dfu{sf bfof+ jfof+sf hUuf k|=s=?= 

3,50,000.F 

 u_ dfly k|s/)f s, v df pNn]v ePsf ;f=ls=g+= n] af^f] %'g] 

xfn ls=sf= x'+b} k%f*L k/]sf hUuf k|=s=?= 

2,00,000.F 

 #_ dfly pNn]v eP afx]ssf Kn^Lªsf hUuf k|=s=?= 2,50,000.F 

 ª_ 4.u sf cGo af^f]n] %'g] hUuf k|=s=?= 100,000.F 

*f+uLxf^ uf=lj=;= j*f g+= 4.# 
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9   

 s_ ;f=ls=g+= 164, 166, 216 x'+b} blIf)f 150, 154, 152, 150, 

153 x'+b} 147 x'+b} blIf)f gS;f  ;Ldfgf ;Dd cDd/ dfu{nfO{ %'g] 

af^f]sf bfof+ jfof+sf hUuf k|=s=?= 

4,75,000.F 

 v_ k|s/)f s df k/]b]lv afx]ssf lsQf sf^ x'+b} k%f*L k/]sf 

hUuf tyf Knl^ªsf hUuf k|=s=?= 

2,25,000.F 

 u_ k|s/)f s df pNn]v ePb]lv afx]s cGo af^f] %'g] hUuf k|=s=?= 100,000.F 

*f+uLxf^ uf=lj=;= j*f g+= 4.ª 

10   

 s_ 4ª cGtu{tsf u|fe]n af^f]n] %'g] hUuf k|=s=?= 2,50,000.F 

 v_ 4ª cGtu{t Knl^ª sf hUufx? k|=s=?= 2,00,000.F 

*f+uLxf^ uf=lj=;= j*f g+= 4.r 

11   

 s_ *f+uLxf^ 4.r cGtu{t nIdLdfu{ ;*sn] %'g] ;f=ls=g+= 21, 29, 

31, 32, 33, 34 ;d]tsf hUufsf] u|fe]n af^f]n] %'g] af^f]sf bfof+ 

afof+sf hUuf k|=s=?= 

5,00,000.F 

 v_ k|s/)f s df pNn]v eP afx]ssf ;f=ls=g+= n] ;f] af^f] %'g] 

xfnsf] ls=g+= n] g%'g] hUuf k|=s=?= 

2,75,000.F 

 u_ dfly pNN]v eP afx]ssf Knl^ªsf hUuf k|=s=?= 2,25,000.F 

 #_ dfly k|s/)f s, v / u jfx]s leqL zfvf jf^f]n] %'g] hUuf 

k|=s=?= 

100,000.F 

*f+uLxf^ uf=lj=;= j*f g+= 4.% 

12   

 s_ ;f=ls=g+= 1 sf] k"j{tkm{ ;f=ls=g+= 2 x'+b} 5,6 afx]s 29,32 

;Ddsf] u|fe]n af^f]n] %'g] af^f]sf] bfof+ jfof+ sf hUuf k|=s=?= 

5,50,000.F 

 v_ k|s/)F s df pNn]v ePsf ls=sf= x'+b} k%f*L k/]sf hUuf 

k|=s=?= 

2,75,000.F 

 u_ dfly pNN]v eP afx]ssf Knl^ªsf hUuf k|=s=?= 2,25,000.F 

 #_ k|s/)f s,v / u df pNn]v eP jfx]s / cGo zfvf jf^f]n] 

%'g] hUufx? k|=s=?= 

100,000.F 

*f+uLxf^ uf=lj=;= j*f g+= 4.& 

13   

 s_ *fluxf^ 4.& sf] ;f=ls=g+= 1 b]lv 16 ;Ddsf] lkr af^f] %'g] 

hUuf k|=s=? 

11,00,000. 

 v_ k|s/)f -s_ df pNn]v eO{ xfn ls=g+= n] af^f] g%'g] hUuf / 

;f=ls=g+= 39, 40 b]lv blIf)f af^f] klZrdsf ;f=ls=g+= 17, 18 

;Ddsf] hUufx? k|=s=? 

7,25,000. 

 u_ ;f=ls=g+= 13, 14 b]lv k'j{ ;f=ls=g+= 19, 20 sf] lkr af^f]n] 

%'g] hUufx? k|s? 

8,50,000. 

 #_ k|s/)f -v_ df k/L ;f=ls=g+= 39, 40, 17, 18 sf] af^f] b]lv 

k"j{ ;f=ls=g+= 71, 72 / 98, 97 %f*L klZrdsf hUufx? 

5,00,000. 

 ª_ ;f=ls=g+= 71, 72 b]lv pQ/ ;f=ls=g+= 97, 98 ;Ddsf] 

hUufx? 

4,25,000. 

 r_ k|s/)f -ª_ df pNn]v eP b]lv k"j{ gSzf l;dfgf ;Ddsf 3,50,000. 
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hUufx? k|s? 

 %_ dfly k|s/)fx?df pNn]v afx]s *fluxf^ 4.& sf afsL af^f] 

%'g] hUufx? k|s? 

2,00,000. 

 h_ dfly k|s/)fx?df pNn]v eP afx]s Knl^ªsf hUufx? k|s? 2,50,000. 

 em_ *fluxf^ 4.& sf afsL cGo hUufx? k|s? 100,000. 

*f+uLxf^ uf=lj=;= j*f g+= 4.( 

14   

 s_ *f+uLxf^ 4.( sf ;f=ls=g+= 2, 3, 4, 5, 8, 9, 10, 11, 12, 

16 / 19 ;d]tsf af^f]sf bfof+ jfof+sf hUufx? k|=s=?= 

7,25,000.F 

 v_ ;f=ls=g+= 1 sf^ e} sfodL ls=g+=sf hUuf k|=s=?= 3,50,000.F 

 u_ k|s/)f s / v df pNn]v ePb]lv afx]s af^f] g%'g] ls=g+= x? 

/ ls=sf= x'+b} k%f*L k/]sf xfnsf ls=g+= n] af^f] g%'g] hUuf 

k|=s=?= 

3,00,000.F 

 #_ dfly pNn]v ePb]lv afx]ssf Kn^Lªsf hUuf k|=s=?= 2,50,000.F 

 ª_ dfly pNn]v eP afx]ssf af^f] %'g] hUuf k|=s=?= 1,25,000.F 

 r_ dfly k|s/)fdf pNn]v ePb]lv afx]s af+sL 4( sf hUufx? 

k|=s=?= 

80,000.F 

*f+uLxf^ uf=lj=;= j*f g+= 4.)f 

15   

 s_ ;f=ls=g+= 31 b]lv 44 ;Ddsf hUuf k|=s=?= 11,00,000.F 

 v_ ;f=ls=g+= 15 b]lv 30 ;Ddsf hUuf k|=s=?= 6,00,000.F 

 u_ ;f=ls=g+= 1 b]lv 11 ;Ddsf hUuf / k|s/)f s sf leqL 

hUuf k|=s=?= 

4,50,000.F 

 #_ k|s/)f v afx]ssf ;f=ls=g+= n] ;f]af^f] %'g] xfnsf] ls=g++ n] 

g%'g] hUuf k|=s=?=+  

2,50,000.F 

 ª_ dfly k|s/)f v pNn]v ePb]lv afx]s 4.)f sf Knl^ªsf hUuf 

k|=s=?= 

2,50,000.F 

 r_dfly k|s/)f?df pNn]v eP afx]ssf cGo af^f]n] %'g] hUuf k|=s=?= 1,50,000.F 

 %_ dfly k|s/)fdf gk/]sf af+sL hUufx? k|=s=?= 80,000.F 

*f+uLxf^ uf=lj=;= j*f g+= 4.y 

16   

 s_ *f+uLxf^ 4.y sf] ls=g+= 244 / 90 b]lv blIf)f h"/fxf 

gnjf/L hfg] u|fe]n af^f] ls=g+= 147 / 22 ;Ddsf hUuf k|=s=?= 

3,50,000.F 

 v_ 4.y gS;fsf] ls=g+= 41 b]lv k"j{ 159 ;Dd af^f]sf bfof+ 

jfof+sf hUuf k|=s=?= 

2,50,000.F 

 u_ 4.y sf] ls=g+= 22 / 147 b]lv blIf)f ls=g+= 13 ;Dd 

af^f];+u hf]l*Psf hUuf k|=s=?= 

2,00,000.F 

 #_ 4.y sf dfly pNn]v eP afx]ssf Kn^Lªsf hUuf k|=s=?= 2,00,000.F 

 ª_ dflysf k|s/)fx?df pNn]v gePsf af^f] %'g] cGo hUuf 

k|=s=?= 

70,000.F 

;fljs *f+uLxf^ 4*, 4t / 4g nufotsf cGo Ansx? xfn j]njf/L df kg]{ 

17   

 s_ *fluxf^ 4*, 4t, 4g sf] gSzfdf kg]{ d'naf^f], u|fe]n af^f] 

%'g] hUuf k|=s=? 

5,00,000. 
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 v_ *fluxf^ 4.*, 4.t, 4.g cGtu{t Knl^ªsf hUufx? k|=s=?= 2,50,000.F 

 u_ *fuLxf^ 4.*, 4.t, 4.g gS;fsf] cGo af^f] %'g]] hUuf k|=s=?= 1,50,000.F 

 #_ ;fljs *fuLxf^ xfn a]naf/L g=kf=df kg]{ Ansx?sf] u|fe]n / 

d'n af^f] %'g] hUufx? k|=s=? 

1,50,000. 

 ª_ k|s/)f -#_ df pNn]v ePsf cGo v]tL of]Uo hUufx? k|=s=? 40,000. 

*f+uLxf^ uf=lj=;= j*f g+= 4.k 

18   

 s_ *f+uLxf^ 4.k ;f=ls=g+= 4 sf] sfodL ls=g+= sf k"j{tkm{sf 

hUuf k|=s=?= 

500,000.F 

 v_ k|s/)f s df pNn]v ePsf k"j{tkm{sf ls=g+= x? %f*L 

;f=ls=g+= 4 sf af+sL hUuf k|=s=?= 

 

2,75,000.F 

 u_ ;f=ls=g+= 1, 2, 3 sf hUuf / Knl^ªsf hUufx? k|=s=?= 2,50,000.F 

 #_ dfly pNN]v eP afx]ssf af+sL hUuf k|=s=?= 60,000.F 

*f+uLxf^ uf=lj=;= j*f g+= 5.v 

19   

 s_ nIdLdfu{ jf blIf)f hfg] af^f] ;f=ls=g+= 1 sf] klZrdtkm{ / 

;f=ls=g+=2, 15, 16, 17, 103, 104 ;Ddsf af^f]sf bfof+ jfof+sf 

hUuf k|=s=?= 

300,000.F 

 v_ k|s/)f s jfx]s ;f=ls=g=n] pSt jf^f] %'g] xfn g%'g] tyf 

leqL jf^f]n] %'g] hUufx? k|=s=?= 

1,25,000.F 

 u_ *fluxf^ 5.v sf Knl^ªsf hUufx? k|=s=?= 2,00,000. 

*f+uLxf^ uf=lj=;= j*f g+= 5.u 

20   

 s_ gS;fsf] af^f]n] %'g] ;f=ls=g+= 98 / 99 ;d]tb]lv blIf)f 

af^f]sf] bfof+ jfof+sf hUuf k|=s=?= 

400,000.F 

 v_ k|s/)f s df k/L xfnsf] ls=g+= n] af^f] g%'g], cGo af^f]n] 

%'g] hUuf k|=s=?= 

170,000.F 

 u_ *fuLxf^ 5.u sf Knl^ªsf hUufx? k|=s=? 2,00,000. 

 

 

*f+uLxf^ uf=lj=;= j*f g+= 5.ª 

21   

 s_ nIdLdfu{af^ blIf)f hfg] af^f]n] %'g] ;f=ls=g+= 1, 15, 16, 17, 

18, 48, 49 / 54 sf] k"j{tkm{ dfq / ;f=ls=g+= 17, 53 / 57 

sf hUuf k|=s=?= 

400,000.F 

 v_ dfly k|s/)f s df n]vLPsf lsTtfx? ls=sf=x'b} xfn kl% 

k/]sf hUufx? tyf Knl^ªsf hUufx? k|=s=?= 

2,00,000.F 

 u_ leqL sRrLaf^f]n] %'g] 1,00,000.F 

*f+uLxf^ uf=lj=;= j*f g+= 6.s 

22   

 s_ ;f=ls=g+= 57, 58 b]lv 72, 74, 76, 81, 82, 209, 225 

;Dd u|fe]n af^f]n] %f]Psf hUuf k|=s=?= 

6,00,000.F 

 v_ k|s/)f s sf leqL hUuf tyf Knl^ªsf hUufx? k|=s=?= 2,00,000.F 

 u_ dfly k|s/)f s / v df k/] jfx]s cGo zfvf jf^f]n] %'g] 80000.F 
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hUufx? k|=s=?= 

*f+uLxf^ uf=lj=;= j*f g+= 6.v 

23   

 s_ *f+uLxf^ 6.v ;f=ls=g+= 70÷72 b]lv blIf)f ;f=ls=g+= 84÷81 

b]lv pQ/ nIdLdfu{ ;f]/fefu af^f] bfof+ af^f] %'g] hUuf k|=s=?= 

6,00,000.F 

 v_ ;f=ls=g+= 84÷81 %f*L ;f]b]lv blIf)f ls=g+= 219÷214 ;Ddsf 

nIdLdfu{ ;f]/fefu af^f]sf bfof+ jfof+sf hUuf k|=s=?= 

4,50,000.F 

 u_ k|s/)f s,v df k/]sf af^f] %'g] ;f=ls=g+= sf^ e} k%f*L 

k/]sf hUuf / ;f=ls=g+= 101, 102, 103, 105 sf hUUff k|=s=?=  

2,50,000.F 

 #_ *Flufxf^ 6v sf] Knl^ªsf hUufx? k|=s=? 2,00,000.F 

 ª_ cGo af^f]nfO{ %'g] -dfly k|s/)fdf pNn]v ePb]lv afx]ssf_ 

hUuf k|=s=?= 

100,000.F 

*f+uLxf^ uf=lj=;= j*f g+= 6.u 

24   

 s_ ;f=ls=g= 18, 19, 38, 39 b]vL bIfL)F ls=g=  98, 99 ;Dd 

df kg{] af^f]sf] bfof¤ afof¤sf] hUuf k|=s=?= 

3,00,000. 

 v_ ;f=ls=g+= 98÷99 %f*L ;f]b]lv blIf)f 136÷138 ;Dd af^f]nfO{ 

%'g] tyf Knl^ªsf hUuf k|=s=?= 

2,00,000.F 

 u_ k|s/)f s / v df pNn]v ePsf ;fljs lsQf sf^ e} af^f] 

k%f*L k/]sf hUuf / cGo af^f] %'g] hUuf k|=s=?= 

1,25,000.F 

*f+uLxf^ uf=lj=;= j*f g+= 7.s 

25   

 s_ ;f=ls=g+= 207 sf] af^f] -gS;fsf] k"j{ afx]s_ n] %'g] hUuf k|=s=?= 1,25,000.F 

 v_ ;f=ls=g+= 49, 63 x'+b} blIf)f 164 ls=g+= ;Dd k[yjL uf]/]^f]sf] 

af^f]sf bfof+ jfof+sf tyf Knl^ªsf  hUuf k|=s=?= 

2,00,000.F 

 u_ cGo af^f]n] %'g] k|=s=?= 75,000.F 

 

*f+uLxf^ uf=lj=;= j*f g+= 9.s 

26   

 s_ *f+uLxf^ 9.s gnjf/L rf}s -;f=ls=g+= 130_ af^ pQ/YblIf)f gS;fdf 

/x]sf] nIdLdfu{ ;f]/fefu af^f]sf bfof+ jfof+sf hUuf k|=s=?= 

6,00,000.F 

 v_ *f+uLxf^ 9.s gnjf/L rf}sb]lv klZrd ls=g+= 186 ;Ddsf 

af^f]sf bfof+ jfof+sf hUuf k|=s=?= 

2,50,000.F 

 u_ k|s/)F s sf pNn]v eP afx]s ;f=sL=g= n] ;f]af^f] %'g] 

xfnsf] lsQfn] g%'g] hUuf k|=s=?= 

3,50,000.F 

 #_ dfly k|s/)f s, v / u df pNn]v eP jfx]s 9.s sf 

Knl^ªsf hUufx? k|=s=?= 

2,50,000.F 

 ª_ 9.s cGtu{tsf dflysf k|s/)fx?df pNn]v ePb]lv afx]ssf 

cGo af^f]n] %'g] hUuf k|=s=?= 

1,00,000.F 

 r_ *f+uLxf^ 9.s sf] s];lnof vf]nfaf^ klZrd tkm{sf af^f]nfO{ 

%'g] hUuf k|=s=?= 

80,000.F 

*f+uLxf^ uf=lj=;= 

27   

 s_ *fluxf^ 7.v, 8.s, 8.v, 8.u, 9.v sf d"naf^f], u|fe]naf^f] 2,50,000.F 
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%'g] hUufx? k|=s=?= 

 v_ k|s/)F s df k/L xfn ;f] af^f]n] g%'g] hUufx? k|=s=?= 100,000.F 

 u_ dfly k|s/)fdf k/] afx]s *f+uLxf^ j*f g+= 1 b]lv 9 ;Ddsf 

Knl^ªsf hUuf k|=s=?= 

2,00,000.F 

 #_ dfly k|s/)fdf k/] afx]s *f+uLxf^ j*f g+= 1 b]lv 9 ;Ddsf 

u|fe]n af^f] leqLaf^f]sf hUuf k|=s=?= 

50,000.F 

 ª_ dfly k|s/)fx?df pNn]v eP afx]s *f+uLxf^ j*f g+= 1 b]lv 

9 ;Ddsf v]tLof]Uo -af+sL_ hUuf k|=s=?= 

30,000.F 

9= b'nf/L uf=lj=;= 
b'nf/L uf=lj=;= j*f g+= 1.u 

1   

 s_ ls/ft]Zj/ dlGb/ pQ/ 1.u sf] gSzf l;dfgf ;Dd af^f]sf] hUuf 

k|=s=?= 

4,00,000.F 

 v_ k|s/)f s sf] ;f=ls=g+= n] %'g] xfnsf] ls=g+=n] af^f] g%'g] hUuf 

k|=s=?= 

2,00,000.F 

 u_ o; k|s/)fsf] dfly pNn]v eP b]lv afx]s u|fe]n tyf sRrL ;*s 

tyf Knl^ªsf hUuf k|=s=?= 

2,00,000.F 

b'nf/L uf=lj=;= j*f g+= 1.h 
2   

 s_ ;f=ls=g+= 1 b]lv pQ/ gS;fsf] af^f]n] %'g] bfof+ jfof+sf hUuf k|=s=?= 3,50,000.F 

 v_ ;f=ls=g+= 48 b]lv pQ/ gS;f ;Ldfgf;Dd ;f=ls=g+= 48 b]lv k"j{ 

gS;f ;Ldfgf;Dd af^f]n] %'g] hUuf k|=s=?= 

2,50,000.F 

 u_ dfly pNn]v eP afx]s b'nf/L 1.h cGtu{t Kn^Lªsf jf Kn^Lªsf 

nflu v/Lb x'g] hUuf k|=s=?= 

3,00,000.F 

 #_ b'nf/L uf=lj=; j*f g+= 1.h cGtu{t dfly pNn]v eP jfx]s leqL 

zfvf jf^f]n] %'g] hUuf k|=s=?= 

1,50,000.F 

 ª_ dfly pNn]v eP afx]s k|s/)f s,v sf af+sL hUuf k|=s=?= 1,20,000.F 

b'nf/L uf=lj=;= j*f g+= 2.s 
3   

 s_ gS;fsf] pQ/ k"j{sf] a]nuf%L rf}saf^ blIf)f hfg] x'nfsL dfu{ ;Ddsf] 

d'n af^f] bfof jfofsf hUufx? k|=s=? 

7,50,000.F 

 v_ k|s/)f -s_ df k/L ;f=ls=g+= n] af^f] %'g] xfnsf] ls=g+=n] af^f] g%'g] 

hUufx? k|=s=? 

3,50,000.F 

 u_ ;f=ls=g+= 5, 6 b]lv blIf)f ls=g+= 2 b]lv k"j{sf] pQ/ blIf)fsf] k}gL 

b]lv k"j{, ;f=ls=g+= 17 b]lv pQ/ k|s/)f -s_-v_ df k/]b]lv klZrd 

Pl/ofsf hUufx? k|=s=? 

4,00,000.F 

 #_ ;f=ls=g+= 2 %f*L blIf)f, pQ/ blIf)fsf] k}gL b]lv klZrd, x'nfsL dfu{ 

b]lv pQ/sf hUufx? k|=s=? 

6,00,000.F 

 ª_ dfly k|s/)fdf k/] afx]s ;f=ls=g+= 17 %f*L blIf)f ;f=ls=g= 44, 45, 

83 ;d]tsf hUufx? k|=s=? 

3,50,000.F 

 r_ ;f=ls=g+= 30, 31, 32, 33, 34, 35 sf] dfly k|s/)fdf k/] afx]ssf 

hUuf k|=s=? 

3,50,000. 

 %_ b'nf/L 2.s sf u|fe]n af^f] %'g] / Knl^ªsf hUufx? k|=s=? 3,00,000. 

 h_ dfly k|s/)fdf k/]b]lv afx]s ;f=ls=g+= 114 sf] xf]nLk"j{sf hUUffx? 

k|=s=? 

1,25,000. 

 em_ dfly k|s/)fdf k/]b]lv afx]ssf v]tL of]Uo hUufx? k|=s=? 75,000. 
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b'nf/L uf=lj=; j*f g+= 2.v 
4   

 s_ gSzfsf] pQ/sf] ;f=ls=g+= 7 / 91 b]lv blIf)f ;f=ls=g+= 81, 84, 

85, 86, 87, 88, 89, 11, 67, 69, 70 x'b} blIf)f gSzf l;df ;Ddsf] 

af^f] %'g] hUuf / ;f=ls=g+= 91 sf] k"j{ hfg] af^f] %'g] hUuf k|=s=?= 

5,00,000.F 

 v_ k|s/)f s df k/L xfnsf] ls=g+= n] af^f] g%'g] hUufx? k|=s=?  2,50,000. 

 u_ b'nf/L 2.v sf] sfodL ls=g+= 155, 156, 157 b]lv blIf)f nf]rgL hfg] 

pQ/ blIf)fsf] af^f] k"j{sf af^f] %'g] hUufx? k|=s=? 

2,50,000. 

 #_ b'nf/L 2.v sf Knl^ªsf hUuf k|=s=? 3,00,000.F 

 ª_ cGo af^f] %'g] hUuf k|=s=? 1,50,000.F 

b'nf/L uf=lj=;= j*f g+= 2.# 
5   

 s_ ;f=ls=g+= 3 sf^ e} sfodL ls=g+= 59 b]lv k"j{ blIf)f ;f=ls=g+= 15 

;Ddsf d"naf^f]n] %'g] hUuf k|=s=?= 

7,50,000.F 

 v_ k|s/)f s df k/L ;f=ls=g+= n] ;f] af^f] %'g] xfnsf] lsQfn] ;f] af^f] 

g%'g] hUufsf] k|=s=?= 

3,50,000.F 

 u_ ;f=ls=g+= 2, 3 %f*L ;f] blIf)f gS;f ;Ldfgf ;Dd af^f]sf] bfof+ 

jfof+sf hUuf k|=s=?= 

5,00,000.F 

 #_ k|s/)f u df k/L ;f=ls=g+= n] ;f] af^f] %'g] xfnsf] lsQfn] af^f] 

g%'g] hUuf k|=s=?= 

1,75,000.F 

 ª_ ;f=ls=g+= 10, 19, 20 b]lv pQ/ gS;f ;Ldfgf ;Dd dfly 

k|s/)fx?df pNn]v eP afx]ssf hUuf k|=s=?= 

2,50,000.F 

 r_ dfly k|s/)f s,v,u,# df pNn]v eP afx]s Kn^Lªsf jf Kn^Lªsf nflu 

v/Lb x'g] hUuf k|=s=?= 

3,00,000.F 

 %_ dfly k|s/)fdf pNn]v eP afx]s cGo af^f] %'g] hUufx? k|=s=?= 2,00,000. 

b'nf/L uf=lj=;= j*f g+= 3.s 
6   

 s_ ;f=ls=g+= 1, 2, 8 / 11 sf /fhdfu{ %'g] hUuf k|=s=?= 20,50,000. 

 v_ k|s/)f s df k/L ;f=ls=g+=n] /fhdfu{ %'g] xfnsf lsQfn] /fhdfu{ 

g%'g] -/fhdfu{ %'g'] lsQf %f*L 300 lkm^ ;Ddsf_ hUufsf] k|=s=?= 

14,00,000. 

 u_ ;f=ls=g+=7, 10, 12, 17, 18, 19 sf af^f] %'g] hUuf k|=s=?= 9,50,000. 

 #_ k|s/)f u df k/L ;f=ls=g+= n] af^f] %'g] xfnsf] lsQfn] af^f] g%'g] 

hUuf k|=s=?= 

7,00,000. 

 ª_ dfly k|s)fx?df pNn]v eP afx]s ;f=ls=g+= 2, 3, 4 b]lv blIf)f 

;f=ls=g+= 22,32 b]lv pQ/sf hUuf k|=s=?= 

6,00,000. 

 r_ &l*ofaf^ blIf)f d[uf}lnof hfg] af^f]sf] xfn ls=g+= 371, 134 ;Dd 

af^f]sf] bfof+ jfof+sf hUuf k|=s=?= 

7,00,000. 

 %_ k|s/)f r df k/L ;f=ls=g+= n] af^f] %'g] xfnsf] lsQfn] af^f] g%'g] 

/ ;f] Pl/ofsf hUufsf] k|=s=?= 

4,75,000. 

 h_ k|s/)f r b]lv blIf)f / klZrd gS;f ;Ldfgf ;Ddsf af^f] bfof+ 

jfof+sf hUuf k|=s=?= 

4,00,000. 

 em_ k|s/)f h df k/L ;f=ls=g+= n] ;f] af^f] %'g] xfn ls=g+= n] ;f] 

af^f] g%'g] hUufsf] k|=s=?= 

2,50,000. 

 `_ ;f=ls=g+= 95, 96 b]lv blIf)f ls=g+= 282 ;Dd af^f]n] %'g] hUuf 

k|=s=?= 

4,00,000. 

 ^_ ls= g+= 282 %f*L ;f] klZrd 203 ;Dd dfly pNn]v eP afx]s 

af^f]n] %'g] hUuf k|=s=?= 

3,00,000. 

 &_ k|s/)f ` df k/L ;f=ls=g+= n] ;f] af^f] %'g] xfn sfodL ls=g+= n] 3,50,000. 
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g%'g] / ;f] Pl/ofsf hUuf k|=s=?= 

 *_ ;f=ls=g+= 88, 89, 93 b]lv blIf)f ;f=ls=g+= 125,121 ;Ddsf dfly 

k|s/)fdf pNn]v eP afx]ssf hUuf k|=s=?= 

3,50,000. 

 (_ k|s/)f u, ª b]lv blIf)fsf ;f=ls=g+= 28, 190, 191 ;Ddf dfly 

k|s/)fdf pNn]v eP afx]ssf hUuf k|=s=?= 

3,00,000. 

 )f_ ;f=ls=g+=17, 19 %f*L blIf)f ;f=ls=g+= 14, 15, 16, 25, 28 ;Dd gS;f 

l;dfgf ;Dd d"naf^f] %'g] hUuf k|=s=? 

6,00,000. 

 t_ k|s/)f )f df kl/ ;f=ls=g+=n] af^f] %'g] xfnsf] lsQfn] g%'g] hUuf k|=s=? 3,50,000. 

 y_ k|s/)f ^ df kl/ ;f=ls=g+=n] af^f] %'g] xfnsf] lsQfn] g%'g] hUuf k|=s=? 1,75,000. 

 b_ dfly k|s/)fx?df pNn]v eP afx]sf u|fe]n af^f]sf] hUuf k|=s=?= 3,50,000. 

 w_ b'nf/L 3.s cGtu{t dfly k|s/)fx?df pNn]v eP afx]s Knl^ªsf hUuf 

k|=s=? 

 3,00,000. 

 g_ b'nf/L 3.s cGtu{t dfly k|s/)fx?df pNn]v eP afx]s leqL sRrL zfvf 

af^f]n] %'g] hUufx? k|=s=? 

1,75,000. 

 k_ b'nf/L 3.s cGtu{t dfly k|s/)fx?df pNn]v eP afx]s v]tL of]Uo hUuf k|=s=? 50,000. 

b'nf/L j*f g+= 3.v 
7   

 s_ b'nf/L 3.v cGtu{t Knl^ª eO{ v/Lb ljqmL x'g] hUuf k|=s=?= 2,50,000.F 

 v_ b'nf/L 3.v cGtu{t u|fe]n af^f] / d'n  af^f] %'g] hUUffx? k|=s=? 2,75,000. 

 u_ lelq zvf / sRrLjf^f] %'g] hUUff k|=s=? 1,20,000. 

 #_ b'nf/L 3.v cGtu{t dfly k|s/)fx?df pNn]v eP afx]s v]tL of]Uo 

hUuf k|=s=?= 

50,000. 

b'nf/L uf=lj=;= j*f g+= 4.s 
8   

 s_ gS;fsf] klZrddf kg]{ ;f=ls=g+= 166, 167, 168, 169 ;d]t k"j{df 

;f=ls=g+= 162 x'b} ;f=ls=g+= 156 ;Ddsf /fhdfu{ %'g] hUuf k|=s=?= 

18,00,000.

F 

 v_ k|s/)f s df pNn]v e} ;f=ls=g+= n] /fhdfu{ %'g] xfnsf] lsQfn] 

/fhdfu{ g%'g] hUuf / ;f=ls=g+= 163 sf] hUufsf] k|=s=?= 

 

14,50,000.

F 

 u_ ;f=ls=g+= 156 %f*L ;f] k"j{ ;f=ls=g+= 172 ;Dd /fhdfu{n] %'g] 

hUufsf] k|=s=?= 

27,00,000.

F 

 #_ k|s/)f u df pNn]v e} ;f=ls=g+=n] /fhdfu{ %'g] xfnsf] lsQfn] g%'g] 

hUufsf] k|=s=?= 

16,50,000.F 

 ª_ ;f=ls=g+= 172 %f*L ;f] k"j{ gS;f ;Ldfgf;Dd /fhdfu{ %'g] hUuf 

k|=s=?= 

15,50,000. 

 r_ k|s/)f ª df pNn]v eP afx]s ;f=ls=g+= n] /fhdfu{ %'g] xfnsf] 

lsQfn] /fhdfu{ g%'g] hUuf / ;f=ls=g+= 176 %f*L ;f] blIf)fsf hUuf 

k|=s=?= 

13,50,000. 

 %_ dfly k|s/)fdf pNn]v eP afx]s uf]&ufpaf^ pQ/ hfg] ;f=ls=g+= 9 / 

91 ;d]t b]lv blIf)fsf lkraf^f] bfof jfofsf hUuf k|=s=? 

11,50,000. 

 h_ k|s/)f -%_ df kl/ ;f=ls=g+= n] lkraf^f] %'g] xfnsf] ls=g+=n] g%'g] 

hUufx? k|=s=? 

7,00,000. 

 em_ ;f=ls=g+= 9 / 91 %f*L ;f] pQ/ gS;f l;dfgf ;Ddsf] lkr af^f]sf] 

bfof jfofsf hUufx? k|=s=? 

10,50,000. 

 `_ k|s/)f -em_ df kl/ ;f=ls=g+= n] af^f] %'g] xfnsf] ls=g+=n] g%'g] 

hUufx? k|=s=? 

6,00,000. 

 ^_ dfly k|s/)fx?df pNn]v eP afx]s ;f=ls=g+= 176 ;d]tb]lv pQ/ 

;f=ls=g+= 75, 76 ;Dd sf hUuf k|=s=?= 

8,00,000.F 
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 &_ dfly k|s/)fx?df pNn]v eP afx]s ;f=ls=g+= 75, 76 %f*L ;f] pQ/ 

ls=g+= 900 ;Dd sf d"naf^f]n] %'g] hUuf k|=s=?= 

6,00,000.F 

 *_ k|s/)f em df k/L ;f=ls=g+= n] ;f] af^f] %'g] xfn ls=g+= n] ;f] af^f] 

g%'g] hUufs]f k|=s=?= 

5,00,000.F 

 (_ k|s/)f ` df k/L ;f=ls=g+= n] ;f] af^f] %'g] xfn ls=g+= n] ;f] af^f] 

g%'g] hUufs]f k|=s=?= 

4,00,000.F 

 )f_ dfly pNn]v eP afx]s ls=g+= 900 %f*L ;f] pQ/ gS;f ;Ldfgf;Dd 

/ klZrd ls=g+= 581, 582 ;Dd af^f]n] %'g] hUuf k|=s=?= 

4,50,000.F 

 t_ k|s/)f * df k/L ;f=ls=g+= n] ;f]af^f] %'g] xfn ls=g+= n] af^f] g%'g] 

hUuf k|=s=?= 

3,50,000.F 

 y_ dfly k|s/)fx?df pNn]v eP afx]s ;f=ls=g+= 65 b]lv blIf)f ;f=ls=g+= 

92 x'+b} ;f=ls=g+= 106 ;Dd / ;f] Pl/of leqsf af+sL hUuf / ;f=ls=g+= 

97 ;d]tsf hUuf k|=s=?= 

4,00,000.F 

 b_ dfly k|s/)fx?df pNnv eP afx]s ;f=ls=g+= 159, 155 ;d]t b]lv 

blIf)fsf hUuf k|=s=?= 

8,00,000.F 

 w_ dfly k|s/)f -v_ df pNn]v ePsf] If]q b]lv pQ/ ;f=ls=g+= 159 x'b} 

pQ/ ;f=ls=g+= 122 b]lv blIf)f uf]&ufp hfg] af^f] %'g] hUuf %f*L ;f] 

klZrdsf hUuf k|=s=?= 

6,00,000.F 

 g_ dfly pNn]v eP afx]s ;f=ls=g+= 1, 2, 3 x'+b} k"j{ ljZjljBfno hfg] 

af^f] %'g] ;=ls=g+= 22 ;Ddsf hUuf k|=s=?= 

4,00,000.F 

 k_ dfly k|s/)fx?df pNn]v eP afx]s ;f=ls=g+= 4 b]lv blIf)f ;f=ls=g+= 

8 ;Dd ;f=ls=g+= 14 b]lv k"j{pQ/ ;f=ls=g+= 31, 35 ;Ddsf hUuf 

k|=s=?= 

3,50,000.F 

 km_ dlfy pNn]v eP afx]s b'nf/L 4.s cGtu{t Kn^Lªsf af^f]n] %'g] hUuf 

k|=s=?= 

3,00,000.F 

 a_ dlfy pNn]v eP afx]s b'nf/L 4.s cGtu{t u|fe]n af^f] af^f]n] %'g] 

hUuf k|=s=?= 

3,50,000. 

 e_ dlfy pNn]v eP afx]s b'nf/L 4.s cGtu{t sRrL af^f] af^f]n] %'g] 

hUuf k|=s=?= 

2,00,000. 

b'nf/L uf=lj=;= j*f g+= 4.v 
9   

 s_ ;f=ls=g+= 85, 90, 91, 96, 99 sf /fhdfu{ %'g] hUuf k|=s=?= 17,00,000.F 

 v_ k|s/)f s df k/L ;f=ls=g+= n] af^f] %'g] xfnsf] lsQfn] g%'g] hUuf 

k|=s=?= 

12,00,000.F 

 u_ ;f=ls=g+= 17, 18, 19, 21, 32, 33, 34 ;d]tsf /fhdfu{ %'g] 

hUufsf] k|=s=?= 

16,00,000.F 

 #_ k|s/)f u df k/L ;f=ls=g+= n] /fhdfu{ %'g] xfnsf] lsQfn] g%'g] / 

;f=ls=g+=16 sf] hUuf k|=s=?= 

9,50,000.F 

 ª_ ;f=ls=g+= 72, 73 b]lv blIf)f ;f=ls=g+= 77, 78 b]lv k"j{ 92 x'+b} 

97 ;Dd dfly pNn]v eP afx]ssf hUufsf] k|=s=?= 

6,00,000.F 

 r_ ;f=ls=g+= 73, 72 %f*L ;f] pQ/ ;f=ls=g+= 64 %f*L ;f] blIf)f 

k}gLsf] af^f]n] %'g] hUuf k|=s=?= 

4,00,000.F 

 %_ k|s/)f r df k/L ;f=ls=g+= n] ;f] k}gLsf] af^f] %'g] xfn lsQfn] 

g%'g] hUuf k|=s=?= 

3,50,000.F 

 h_ ;f=ls=g+= 30, 36 b]lv pQ/ ;f=ls=g+= 44, 63 ;Dd dfly k|s/)fdf 

pNn]v eP afx]ssf hUuf k|=s=?= 

2,50,000.F 

 em_ dfly k|s/)fdf pNn]v eP afx]s ;f=ls=g+= 44, 63 %f*L pQ/ 45, 

64 x'b} 130 / 154 ;Ddsf hUufx? k|=s=? 

1,75,000. 
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 `_ dfly k|s/)fx?df pNn]v eP afx]s k|s/)f -u_ pNn]v eP b]lv pQ/ 

;f=ls=g+= 156 sf] k}gL b]lv klZrd ;f=ls=g+= 10 / 27 ;d]t ;f] blIf)fsf 

;f=ls=g+= 12, 13, 14, 15 nufotsf hUufx? k|=s=? 

7,00,000.F 

 ^_ dfly k|s/)fdf pNn]v b]lv afx]s ;f=ls=g+= 9, 10, 27 ;d]t b]lv 

pQ/ ;f=ls=g+=30, 155, 44, 46 %f*L klZrd 1 b]lv blIf)f Pl/osf 

hUufx? k|=s=? 

1,75,000. 

 &_ 4.v cGtu{t Kn^Lªsf jf Kn^Lªsf nflu v/Lb x'g] hUufsf] k|=s=?= 3,00,000.F 

 *_ 4.v cGtu{t leqL sRrL af^f]sf hUufsf] k|=s=?= 1,50,000.F 

b'nf/L uf=lj=;= j*f g+= 4.u 
10   

 s_ b'nf/L 4.u sf] klZrd gSzf l;dfgfsf] ;f=ls=g+= 1 / 98 b]lv 

k"j{ / ;f=ls=g+= 6 / 50 ;Dd /fhdfu{ %'g] hUuf k|=s=? 

20,50,000. 

 v_ k|s/)f -s_ df k/L ;f=ls=g+= n] /fhdfu{ %'g] / xfnsf] ls=g+= n] 

/fhdfu{ g%'g] / ;f=ls=g+= 22, 15 / 50 afx]s k"j{sf hUuf 

13,50,000. 

 u_ dfly pNn]lv k|s/)fx?df pNn]v eP afx]s 55 b]lv blIf)f ;f=ls=g++ 

34 ;Ddsf] af^f]n] %'g] hUuf / k|s/)f v df pNn]v ePsf] /fhdfu{ 

pQ/sf afsL hUUffx? k|=s=? 

9,50,000. 

 #_ ;f=ls=g+= 55 / 34 sf] af^f]n] %'g] / xfnsf] lsQfn] af^f] g%'g] 

hUuf / ;f=ls=g+= 10, 11 sf hUufx? k|=s=? 

5,00,000.F 

 ª_ dfly k|s/)fsf pNn]v eP afx]s u|fe]n af^f] %'g] hUufx? k|=s=? 3,50,000.F 

 r_ dfly k|s/)fdf pNn]v eP afx]s Knl^ªsf hUufx? k|=s=? 3,00,000.F 

 %_ dfly k|s/)fdf pNn]v eP afx]s leqL sRrL / zfvf af^f]n] %'g] 

hUuf k|=s=? 

1,75,000.F 

 h_ dfly k|s/)fdf pNn]v eP b]lv afx]s 4.u sf] v]tL of]Uo hUufx? 

k|=s=? 

80,000. 

b'nf/L uf=lj=;= j*f g+= 4.# 
11   

 s_ ;f=ls=g+= 107 b]lv k"j{ ;f=ls=g+= 134 ;Dd /fhdfu{n] %'g] hUufsf] 

k|=s=?= 

27,50,000.F 

 v_ k|s/)f s df k/L ;f=ls=g+= n] /fhdfu{ %'g] xfnsf] lsQfn] /fhdfu{ 

g%'g] hUufsf] k|=s=?= 

15,50,000.F 

 u_ ;f=ls=g+= 107 %f*L ;f]b]lv klZrd ;f=ls=g+= 1 ;Dd /fhdfu{n] %'g] 

hUuf k|=s=?= 

 

20,50,000. 

 #_ k|s/)f u df k/L ;f=ls=g+= n] /fhdfu{ %'g] xfn ls=g+= n] /fhdfu{ 

g%'g] hUufsf] k|=s=?= 

11,50,000.F 

 ª_ dfly k|s/)fx?df pNn]v eP afx]s &l*ofaf^ blIf)f emg]{ gS;f ;Ldfgf 

;Dd af^f]n] %'g] hUuf k|=s=?= 

7,00,000.F 

 r_ dfly pNn]v eP afx]s ;f=ls=g+= 128, 129, 135 ;d]t b]lv klZrd 

101 %f*L blIf)f klZrd 87, 88, 92 ;d]tsf hUuf k|=s=?= 

5,00,000.F 

 %_ dfly pNn]v eP afx]s ;f=ls=g+= 105 sf] xf]nL b]lv blIf)f 98, 99, 

101, 104 ;d]tsf hUuf k|=s=?= 

6,00,000.F 

 h_ dfly k|s/)fx?df pNn]v eP afx]s ;f=ls=g+= 68 ;d]t b]lv k"j{ 

gSzfsf] af^f] b]lv blIf)f 58 %f*L ;f] pQ/ ;f=ls=g+= 24, 25, 26, 29, 

36 %f*L k"j{sf hUuf k|=s=?= 

5,00,000.F 

 em_ dfly pNn]v eP afx]s ;f=ls=g+= 71 / 87 %f*L ;f] b]lv blIf)f 

;f=ls=g+= 58, 78 Pl/of leqsf hUuf k|=s=?= 

5,00,000.F 

 `_ dfly pNn]v eP afx]s ;f=ls=g+= 24, 25, 26, 53, 54 b]lv klZrd 

gSzf l;dfgf ;Ddsf] gSzfsf] af^f] pQ/ klZrdsf hUufsf] k|=s=?= 

7,00,000.F 
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 ^_ dfly k|s/)fdf pNn]v eP afx]s b'nf/L 4.# cGtu{tsf] gSzfsf] u|fe]n 

af^f]n] %'g] hUufsf] k|=s=?= 

3,00,000.F 

 &_ dfly pNn]v eP afx]s b'nf/L 4.# cGtu{tsf Knl^ªsf hUufx? 

k|=s=?= 

300,000. 

 *_ dfly pNn]v eP afx]s b'nf/L 4.# cGtu{tsf leqL, sRrL / zfvf 

af^f]n] %'g] hUufx? k|=s=? 

1,75,000. 

 (_ dfly pNn]v eP af]xs b'nf/L 4.# cGtu{tsf v]tL of]Uo hUufsf] k|=s=? 50,000. 

b'nf/L uf=lj=;= j*f g+= 5.s 
12   

 s_ ls=g+= 353 b]lv blIf)f xfn ls=g+= 166 ;Dd lkraf^f] %'g] hUuf 

k|=s=?= 

10,50,000.F 

 v_ k|s/)f s df k/L ;f=ls=g+= n] lkr af^f] %'g] xfn ls=g++ n] lkr 

af^f] g%'g] hUufsf] k|=s=?= 

7,00,000.F 

 u_ ;f=ls=g+= 100 b]lv klZrd ls=g+= 402 ;Dd af^f] %'g] hUuf k|=s=?= 6,00,000.F 

 #_ k|s/)f u df k/L ;f=ls=g+= n] ;f] af^f] %'g] xfn ls=g+= n] ;f] af^f] 

g%'g] hUuf k|=s=?= 

5,00,000.F 

 ª_ ls=g+= 222 b]lv k"j{ ;f=ls=g+= 136 ;Dd af^f]sf bfof+ jfof+sf hUuf 

k|=s=?= 

3,50,000.F 

 r_ k|s/)f ª df kl/ ;f=ls=g+=n] ;f] af^f] %'g] / xfnsf] ls=g+=n] g%'g] 

hUuf k|=s=? 

2,50,000.F 

 %_ ls=g+= 402 b]lv klZrd ;f=ls=g+= 78 ;Dd af^f]sf bfof+ jfof+sf 

hUuf k|=s=?= 

3,50,000.F 

 h_ ;f=ls=g+= 121, 118 ;d]t b]lv k"j{ dfly pNn]v eP afx]ssf hUuf 

k|=s=?= 

1,75,000.F 

 em_ b'nf/L 5.s cGtu{t Kn^Lªsf jf Kn^Lªsf nflu v/Lb x'g] hUuf 

k|=s=?=  

3,00,000.F 

 `_ leqL sRrL af^f]n] %'g] hUuf k|=s=?= 1,75,000.F 

 ^_ dfly k|s/)fdf pNn]v eP afx]s afsL hUufx? 50,000. 

b'nf/L j*f g+=5.u 
13   

 s_ b'nf/L 5.u cGtu{t Knl^ª eO{ v/Lb ljqmL x'g] hUuf k|=s=?= 250,000.F 

 v_ b'nf/L 5.u sf cGo leqL jf^f]n] %'g] hUuf k|=s=?= 1,30,000.F 

b'nf/L uf=lj=;= j*f g+= 5.ª 
14   

 s_ ;f=ls=g+=15 b]lv pQ/ gS;f l;dfgf ;Dd a]nuf%L rf]saf^ pQ/ hfg] 

d"naf^f]n] %'g] hUuf k|=s=? 

7,00,000.F 

 v_ k|s/)f s df kl/ ;f=ls=g+=n] af^f] %'g] xfnsf] ls=g+=n] g%'g] hUuf 

k|=s=? 

3,50,000.F 

 u_ ;f=ls=g+= 3, 4, 5 b]lv blIf)f ls=g+=12, 11, 45 ;Ddsf / u|fe]n 

af^f]n] %'g] hUuf k|=s=? 

3,00,000.F 

 #_ b'nf/L 5.ª cGtu{t Knl^ª eO{ v/Lb ljqmL x'g] hUuf k|=s=?= 3,00,000.F 

 ª_ dfly k|s/)fdf pNn]v eP afx]s cGo hUufx? k|=s=? 50,000. 

b'nf/L uf=lj=;= j*f g+= 5.r 
15   

 s_ gS;fsf] klZrd ;Ldfgfb]lv k"j{df ;f=ls=g+= 15, 117 / 83,84 ;Dd 

/fhdfu{ %'g] hUuf k|=s=?= 

26,50,000.F 

 v_ k|s/)f s df k/L ;f=ls=g+= n] /fhdfu{ %'g] xfnsf lsQfn] /fhdfu{ 19,00,000.F 
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g%'g] hUuf k|=s=?= 

 u_ 5.r ls=g+= 15, 117, 83, 84 %f*L ;f] k"j{ 85, 87, 102, 115, 

116, 112, 113, 109 x'b} 103, 104 ;Ddsf /fhdfu{ %'g] ;f=ls=g+= sf 

hUuf k|=s=?= 

22,00,000.F 

 #_ k|s/)f -u_ df k/L ;f=ls=g+= n] /fhdfu{ %'g] xfnsf] lsQfn] /fhdfu{ 

g%'g] hUufsf] / ;f=ls=g+= 16 / 101 sf hUufsf] k|=s=?= 

13,50,000.F 

 ª_ ul%of rf}s blIf)f hfg] af^f] gS;f ;Ldfgf ;Dd lkraf^f]n] %'g] hUuf 

k|=s=?= 

17,00,000.F 

 r_;f=ls=g+=82, 86, 111, 114, 128, 129, 134, 135, 137, 138, 142, 

143, 145, 148, 155, 157, 158, 159 sf hUuf k|=s=? 

11,50,000.F 

 %_ dfly k|s/)f ª df pNn]v eP afx]s ;f=ls=g+= n] ;f] lkraf^f] %'g] 

xfnsf] lsQfn] lkraf^f] g%'g] hUuf / ;f] Pl/of leqsf hUuf k|=s=?= 

12,50,000.F 

 h_ /fhdfu{ blIf)f k|s/)f s,v,ª / r df pNn]v eP afx]s ;f] lkraf^f] 

klZrdsf ul%of vf]nfnfO{ %'g] hUuf afx]ssf af+sL hUuf / ;f=ls=g+= 17, 

81, 100, 127, 154 sf hUuf k|=s=?= 

11,50,000.F 

 em_ j]nuf%L rf}s b]lv blIf)f gS;f ;Ldfgf ;Dd d"naF^f]n] %'g] hUuf 

k|=s=?= 

9,50,000.F 

 `_ k|s/)f -em_ df k/L ;f=ls=g+= e} ;f] af^f] %'g] xfnsf] lsQfn] g%'g] 

hUufsf] k|=s=?= 

6,00,000.F 

 ^_ ;f=ls=g+= 168 sf] vf]N;L k"j{sf dfly pNn]v eP afx]ssf af+sL hUuf 

k|=s=?= 

6,00,000.F 

 &_ ;f=ls=g+= 100 %f*L pQ/ gS;f ;Ldfgf;Dd af^f]n] %'g] hUuf k|=s=?= 7,00,000.F 

 *_ k|s/)f -&_ df k/L ;f=ls=g+= n] ;f]aF^f] %'g] xfnsf] lsQfn] g%'g] hUuf 

k|=s=?= 

5,00,000.F 

 (_ ;f=ls=g+= 85, 86 %f*L ;f] pQ/ gS;f ;Ldfgf ;Dd d"naf^f]n] %'g] 

hUuf k|=s=?= 

9,50,000.F 

 )f_ k|s/)f -(_ df k/L ;f=ls=g+= n] ;f] af^f] %'g] xfnsf] lsQfn] af^f] 

g%'g] hUufsf] / ;f=ls=g+= 76 sf] hUuf k|=s=?= 

5,50,000.F 

 t_ ;f=ls=g+= 117 sf] k"j{df kg]{ pQ/ blIf)fsf] lkr af^f]n] %'g] 150 / 

153 ;Ddsf] hUufx? k|=s=? 

15,50,000. 

 y_ k|s/)f -t_ df k/L ;f=ls=g+= n] af^f] %'g] / xfnsf] ls=g+= n] aF^f] 

g%'g] hUufx? k|=s=? 

11,50,000. 

 b_ k|s/)f -(_ df pNn]v ePsf hUufx? b]lv klZrd ;f=ls=g+= 17, 81 

%f*L ;f] pQ/ ;f=ls=g+= 18, 16, 20, 21 x'b} 25, 26 ;Ddsf] af^f] %'g] 

hUuf k|=s=? 

6,00,000. 

 w_ k|s/)f -b_ df pNn]v ePsf ;f=ls=g+= n] af^f] %'g] xfnsf] ls=g+= n] 

af^f] g%'g] hUuf k|=s=? 

5,00,000. 

 g_ dfly k|s/)fx? df pNn]v eP afx]s ;f=ls=g+= 177 %f*L ;f] k"j{ pQ/ 

;f=ls=g+= 18, 19, 20, 21 %f*L klZrd Pl/ofsf hUufx? k|=s=? 

3,00,000. 

 k_ ;f=ls=g+= 90 sf] 300 km'^ %f*L pQ/ tkm{sf] afsL hUuf k|=s=? 5,50,000. 

 km_ dfly k|s/)fx?df pNn]v eP afx]s ;f=ls=g+= 92, 93, 94 ;d]t b]lv 

blIf)f ;f=ls=g+= 91, 99, 98 ;Ddsf] hUuf k|s? 

5,00,000. 

 a_ dfly k|s/)fx?df pNn]v eP b]lv afx]s u|fe]n / sRrL af^f]n] %'g] 

hUuf k|=s=?  

3,00,000. 

 e_ dfly k|s/)fx?df pNn]v eP afx]s Knl^ª af^f]n] %'g] hUufx? k|=s=? 3,00,000. 

 d_ dfly k|s/)fdf pNn]v eP b]lv afx]s v]tL of]Uo hUufx? k|=s=? 50,000. 

b'nf/L uf=lj=;= j*f g+= 5.% 
16   
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 s_ ;f=ls=g+= 13 / 43 b]lv pQ/ gS;f ;Ldfgf ;Dd af^f]n] %'g] bfof+ 

afof+sf hUuf k|=s=?= 

13,50,000.F 

 v_ k|s/)f -s_ df k/L ;f=ls=g+= n] ;f] af^f] %'g] xfnsf] lsQfn] g%'g] 

hUufsf] k|=s=?= 

8,50,000.F 

 u_ ;f=ls=g+= 35, 13 b]lv blIf)f gS;f ;Ldfgf ;Dd af^f]sf bfof+ jfof+sf 

hUuf k|=s=?= 

7,00,000.F 

 #_ k|s/)f u df k/L ;f=ls=g+= n] ;f] af^f] %'g] xfnsf] lsQfn] aF^f] 

g%'g] hUuf k|=s=?= 

5,50,000.F 

 ª_ ;f=ls=g+= 17 %f*L ;f] pQ/ gS;f l;dfgf ;Ddsf] hUufx? k|=s=?= 5,00,000.F 

 r_ ;f=ls=g+= 27 %f*L ;f] k"j{ dfly k|s/)f pNn]v ePsf] Pl/of %f*L 

klZrdsf hUuf k|=s=? 

3,50,000. 

 %_ dfly pNn]v eP afx]s 5.% cGtu{t Kn^Lªsf jf Kn^Lªsf nflu 

v/Lb hUuf k|=s=?= 

3,00,000.F 

 h_ dfly pNn]v eP afx]s 5.% cGtu{t leqL sRrL af^fn] %'g] hUuf 

k|=s=?= 

1,75,000. 

b'nf/L uf=lj=;= j*f g+= 5.h 
17   

 s_ ;f=ls=g+= 16 b]lv pQ/ ;f=ls=g+= 13 ;Dd lkraf^f]n] %'g] hUuf 

k|=s=?= 

11,50,000.F 

 v_ k|s/)f s df k/L ;f=ls=g+= n] lkraf^f] x'g] xfn lsQfn] g%'g] hUuf 

k|=s=?= 

9,50,000.F 

 u_ k|s/)f s df pNn]v eP afx]s ;f=ls=g+= 13 b]lv klZrd ls=g+= 40 

;Dd lkraf^f]n] %'g] hUuf k|=s=?= 

8,50,000.F 

 #_ dfly pNn]v eP afx]ssf afsL hUuf / xfn ls=g++ 40 %f*L ;f] 

klZrd ;f=ls=g++= 27 ;Dd u|fe]naf^f]n] %'g] hUuf k|=s=?= 

5,00,000.F 

 ª_ ;f=ls=g+= 27 %f*L ;f] klZrd, gS;f ;Ldfgf;Dd af^f]n] %'g] hUuf 

k|=s=?= 

3,00,000.F 

 r_ dfly k|s/)f -u_ -#_ -ª_ df pNn]v eO{ k%f*L k/]sf hUufx? 

k|=s=? 

2,50,000.F 

 %_ b'nf/L 5.h Kn^Lªsf hUufx? k|=s=?= 3,00,000.F 

 h_ b'nf/L 5.h leqL sRrL af^f]n] %'g] hUufx? k|=s=?= 1,75,000.F 

b'nf/L uf=lj=;= j*f g+= 6.s / 6.v 
18   

 s_ b'nf/L uf=lj=;= j*f g+= 6.s / 6.v sf] gSzfsf] u|fe]n af^f] / d'n 

af^f]n] %'g] hUuf k|=s=?= 

3,50,000.F 

 v_ dfly pNn]v eP afx]s b'nf/L 6.s / 6.v sf Kn^Lªsf hUufx? 

k|=s=?= 

3,00,000. 

 u_ b'nf/L uf=lj=;= j*f g+= 6.s / 6.v sf] lelq jf^f],zfvf jf^F] %'g] 

hUuf k|=s=?= 

2,00,000. 

b'nf/L uf=lj=;= j*f g+= 6.ª 
19   

 s_;f=ls=g+= 145 b]lv k"j{ ;f=ls=g+= 147 ;Dd /fhdfu{ %'g] hUuf 

k|=s=?= 

20,50,000.F 

 v_ k|s/)f s df k/L ;f=ls=g+= n] /fhdfu{ %'g] xfn lsQfn] /fhdfu{ 

g%'g] -/fhdfu{ %'g] lsQf %f*L 300 lkm^ leqsf_ hUuf k|=s=?= 

 

13,50,000.F 

 u_ ;f=ls=g+= 147 %f*L ;f] k"j{ gS;f ;Ldfgf;Dd /fhdfu{ %'g] hUufsf] 

k|=s=?= 

15,50,000.F 

 #_ dfly k|s/)f -v_ df pNn]v ePsf] 300 lkm^ b]lv pQ/ ;f=ls=g+= 140 11,50,000.F 
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;Dd ;'Gb/k'/ rf}s b]lv pQ/ hfg] d'n af^f]n] %'g] hUufx? k|=s=? 

 

 ª_ k|s/)f -#_ sf] Pl/ofsf af^f]n] g%'g] hUufx? k|=s=?= 7,00,000.F 

 r_ dfly k|s/)f -u_ df kl/ ;f=ls=g+= n] /fhdfu{ %'g] xfnsf] ls=g+= n] 

/fhdfu{ g%'g] hUufx? k|=s=?= 

10,50,000.F 

 %_ dfly k|s/)fx?df pNn]v eP afx]s ;f=ls=g+= 142, 144 ;d]t b]lv 

pQ/ ;f=ls=g+= 140 ;d]tsf hUufx? k|=s=?= 

9,50,000.F 

 h_ dfly k|s/)f -%_ df k/]sf ;f=ls=g+= %f*L ;f] k"j{ pQ/sf ;f=ls=g+= 

130, 139, 107, 108, 102, 103, 87, 90, 91 %f*L ;f] blIf)f 

klZrdsf dfly pNn]v eP afx]ssf hUufx? k|=s=? 

5,50,000.F 

 em_ k|s/)f h df pNn]v ePsf ;f=ls=g+= 140 %f*L ;f] pQ/ 139, 

107, 108, 102, 103, 80, 70, 76 / 87 ;d]t b]lv blIf)fsf hUuf 

k|=s=?= 

5,00,000.F 

 `_ dfly k|s/)fx?df pNn]v eP afx]s ;f=ls=g+= 87, 102 b]lv pQ/ 

;f=ls=g+= 73, 74, 72 ;d]t b]lv blIf)f ;f=ls=g+= 71 sf] vf]nf 

klZrdsf hUuf / k|s/)f -em_ df pNn]v eP afx]ssf afsL hUufx? 

/ ;f=ls=g+= 11 / 80 sf] ljrdf kg]{ k}gL klZrdsf hUufx? k|=s=? 

4,00,000. 

 ^_ ;f=ls=g+= 155 %f*L ;f] pQ/ ;f=ls=g+= 154, 157 x'b} pQ/ hfg] 

;f=ls=g+= 359, 360 ;Ddsf] af^f] bfof afofsf hUufx? k|=s=?= 

9,50,000.F 

 &_ k|s/)f -^_ df pNn]v ePsf] ;f=ls=g+= n] af^f] %'g] xfnsf] ls=g+= 

n] af^f] g%'g] hUufx? k|=s=?= 

5,00,000.F 

 *_ ;f=ls=g+= 71 %f*L ;f] k"j{ sfodL ls=g+= 232 b]lv pQ/ 39 %f*L 

;f] blIf)fsf hUufx? k|=s=? 

3,50,000. 

 (_ dfyL k|s/)fdf pNn]v eP b]lv afx]s ;f=ls=g+= 39, 360, 21, 70 

;d]tb]lv pQ/sf hUufx? k|=s=? 

3,00,000. 

 )f_ dfly pNn]v eP afx]s b'nf/L 6.ª cGtu{t Kn^Lª jf Kn^Lªsf 

nfuL vl/b x'g] hUufx? k|=s=? 

3,00,000. 

 t_ dfly pNn]v eP afx]s b'nf/L 6.ª cGtu{t leqL sRrL zfvfaf^f]n] 

%'g] hUufx? k|=s=? 

1,75,000. 

 y_ b'nf/L 6ª df afsL v]tL of]Uo hUufx? k|=s=? 50,000. 

b'nf/L uf=lj=;= j*f g+= 6.r 
20   

 s_ ;'Gb/k'/ rf}s pQ/ ltgk}gL hfg] af^f]sf] 6.r sf] gSzf l;dfgf 

;Ddsf] af^f] bfof afofsf] hUuf k|=s=?= 

3,50,000.F 

 v_ ;f=ls=g+= n] af^f] %'g] xfnsf] ls=g+=n] af^f] g%'g] hUufx? k|=s=?= 1,50,000. 

 u_ dfly k|s/)fdf pNn]v eP afx]s u|fe]n, sRrL af^f] tyf Knl^ªsf] 

hUuf k|=s=?= 

2,50,000. 

b'nf/L uf=lj=;= j*f g+= 6.% 
21   

 s_ gS;fsf] klZrd ;Ldfgfb]lv k"j{df ;'Gb/k'/ rf}s / ls=g+= 92 ;Ddsf] 

/fhdfu{ %'g] hUuf k|=s=?= 

26,50,000. 

 v_ k|s/)f s df k/L ;f=ls=g+= n] /fhdfu{ %'g] xfnsf] lsQfn] g%'g] hUuf 

k|=s=?= 

18,00,000. 

 u_ k|s/)f s sf] ;Ldfgf b]lv k"j{ gS;f ;Ldfgf;Dd /fhdfu{ %'g] hUuf 

k|=s=?= 

20,50,000. 

 #_ k|s/)f u df k/L ;f=ls=g+= n] /fhdfu{ %'g] xfnsf] lsQfn] /fhdfu{ 

g%'g] hUuf / ;f=ls=g+= 57, 60, 74 sf] af^f]n] g%'g] hUufsf] k|=s=?= 

11,50,000. 
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 ª_ b'nf/L uf=lj=;= ejg k"j{df kg]{ gS;fsf] af^f]af^ klZrdtkm{sf /fhdfu{ 

%'g] lsQf %f*L ;f] blIf)f ;f=ls=g+= 61, 69 ;Ddsf] hUuf k|=s=?= 

13,50,000.F 

 r_ ;f=ls=g+= 72, 73 af^f]n] %'g] hUuf k|=s=?= 10,00,000.

F 

 %_ ;f=ls=g+= 72, 73 sf] af^f]n] g%'g] hUuf k|=s=? 8,00,000.F 

 h_ ;f=ls=g+= 82 b]lv blIf)f ;f=ls=g+= 76 ;Dd k}gLsf] Aff^f] %'g] hUuf 

k|=s=? 

10,50,000. 

 em_ dfly k|s/)f -h_ df pNn]v ePsf] af^f] g%'g] hUuf k|=s=?= 8,00,000. 

 `_ ;f=ls=g+= 85 b]lv blIf)f ;f=ls=g+= 90 ;Dd af^f]n] %'g] hUuf k|=s=?= 7,00,000.F 

 ^_ k|s/)f em df k/L ;f=ls=g+= n] af^f] %'g] xfnsf] lsQfn] af^f] g%'g] 

hUuf k|=s=?= 

6,00,000.F 

 &_ ;f=ls=g+= 50, 51, 53, 54 sf hUuf k|=s=?= 8,00,000.F 

 *_ ;f=ls=g+= 32, 28 %f*L ;f] pQ/ ;f=ls=g+= 10, 15, 16, 26 ;Ddsf] 

d"naf^f]n] %'g] hUuf k|=s=?= 

11,50,000.F 

 (_ dfly k|s/)f * df kl/ ;f=ls=g+=n] ;f] af^f] %'g] xfnsf] ls=g+=n] g%'g] 

hUuf k|=s=? 

8,00,000.F 

 )f_ ;f=ls=g+= 10, 15, 26 %f*L ;f] pQ/ gS;f ;Ldfgf;Ddsf d"naf^f]n] 

%'g] hUuf k|=s=?= 

9,00,000.F 

 t_ dfly k|s/)f -)f_ df kl/ ;f=ls=g+=n] ;f] af^f] %'g] xfnsf] ls=g+=n] 

g%'g] hUuf k|=s=? 

7,00,000.F 

 y_ dfly pNn]v eP afx]s b'nf/L 6.% cGtu{t Kn^Lª jf Kn^Lªsf nflu 

v/Lb x'g] hUuf k|=s=?= 

3,00,000.F 

 b_ dfly pNn]v eP afx]s b'nf/L 6.% cGtu{t u|fe]n af^f]n] %'g] hUuf 

k|=s=?= 

3,50,000.F 

 w_ dfly pNn]v eP afx]s b'nf/L 6.% cGtu{t zfvf af^f]/ leqL sRrL 

af^f]n] %'g] hUuf k|=s=?= 

1,75,000. 

b'nf/L uf=lj=;= j*f g+= 6.h 
22   

 s_ b'nf/L 6h sf] ;f=ls=g+= 1 b]lv k"j{ ;f=ls=g+= 8 ;Ddsf] /fhdfu{ 

x'g] hUuf -;f=ls=g+= 2 afx]s_ k|=s=? 

15,50,000. 

 v_ k|s/)f s df k/L ;f=ls=g+= n] /fhdfu{ %'g] / xfnsf] ls=g+= n] 

/fhdfu{ g%'g] hUuf tyf{ ;f=ls=g+= 2 sf hUufx? k|=s=? 

11,50,000. 

 u_ ;f=ls=g+= 10, 11, 12 b]lv blIf)f ;f=ls=g+= 41 ;Dd, ;f=ls=g+= 41 

b]lv klZrd 248 ;Dd / 248 b]lv pQ/ /fhdfu{ %'g] hUuf %f*L 

af^f]n] %'g] hUufx? k|=s=? 

8,00,000. 

 #_ k|s/)f u df k/L ;f=ls=g+= n] af^f] %'g] xfnsf] ls=g+=n] af^f] g%'g] 

hUufx? k|=s=? 

6,50,000. 

 ª_ ;f=ls=g+= 6, 7, 8 %f*L blIf)f hfg] ;f=ls=g+= 56, 41, ;Ddsf] 

af^f]sf] bfof jfofsf hUufx? k|=s=? 

700,000. 

 r_ k|s/)f ª k/L ;f=ls=g+= n] af^f] %'g] xfnsf] lsQfnfO{ g%'g] hUufx? 

k|=s=? 

5,00,000. 

 %_ dfly k|s/)fdf pNn]v eP afx]s ;f=ls=g+= 248 %f*L ;f] blIf)f 

;f=ls=g+= 367 ;Ddsf] af^f]n] %'g] hUufx? k|=s=? 

4,00,000. 

 h_ dfly k|s/)f -%_ df k/L ;f=ls=g+= n] af^f] %'g] xfnsf] ls=g+=n] 

aF^f] g%'g] hUuf / ;f=ls=g+= 117 b]lv blIf)f ;f=ls=g+= 82 ;Ddsf] 

hUuf k|=s=? 

3,00,000. 

 

 em_ dfly k|s/)fdf pNn]v ePb]lv afx]s ;f=ls=g+= 41 b]lv blIf)f 

;f=ls=g+= 91 %f*L pQ/blIf)f af^f]n] %'g] hUufx? k|=s=? 

5,00,000. 



34 

 

 `_ dfly k|s/)f -em_ df k/L ;f=ls=g+=n] af^f] %'g] xfnsf] ls=g+=n] af^f] 

g%'g] hUufx? k|=s=? 

3,50,000. 

 ^_ dfly pNn]v ePb]lv afx]s Knl^ªsf hUufx? k|=s=? 3,00,000. 

 &_ dfly k|s/)fdf k/]b]lv afx]s sRrL / leqL af^f]n] %'g] hUuf 1,75,000. 

 *_ dfly k|s/)fx?df k/] b]lv afx]ssf afsL hUufx? k|=s=? 50,000. 

b'nf/L uf=lj=;= j*f g+= 7.s 
23   

 s_ b'nf/L 7.s cGtu{t s]/fjf/L *f+uL hfg] af^f]sf] bfof+ jfof+sf hUuf 

k|=s=?= 

3,00,000.F 

 v_ dfly k|s/)f s df kl/ ;f=ls=g+=n] ;f] af^f] %'g] xfnsf] ls=g+=n] 

g%'g] hUuf k|=s=? 

1,75,000.F 

 u_ dfly pNn]v eP afx]s b'nf/L 7.s cGtu{t Kn^Lªsf jf Kn^Lªsf 

nflu v/Lb x'g] hUuf k|=s=?= 

3,00,000.F 

b'nf/L uf=lj=;= j*f g+= 7.v 
24   

 s_ gS;fsf] blIf)f ;Ldfgf b]lv pQ/df vf]S;L rf}s;Dd s]/fjf/L *f+uL af^f]n] 
x'g] hUuf k|=s=?= 

7,00,000.F 

 v_ vf]S;L rf}sb]lv k"j{pQ/ gS;f ;Ldfgf ;Dd s]/fjf/L *f+UfL af^f]n] %'g] hUuf 
k|=s=?= 

3,50,000.F 

 u_ k|s/)f -s_ df pNn]v eO{ xfn af^f] g%'g] hUufx? k|=s=? 3,50,000. 

 #_ k|s/)f -v_ df pNn]v eO{ xfn af^f] g%'g] hUufx? k|=s=? 2,50,000. 

 ª_ k|s/)f s df pNn]v eP afx]s ;f] klZrd 207 sf] k}gL;Ddsf hUuf 
k|=s=?= 

2,50,000.F 

 r_ k|s/)f s df pNn]lvt ePsf afx]s ;f] k"j{ / k|s/)f v df pNn]v eP 
afx]s ;f] blIf)fsf hUuf / cGo af^f] %'g] hUufx? k|=s=?= 

 2,00,000.F 

 %_ dfly pNn]v eP afx]s b'nf/L 7.v cGtu{t Kn^Lªsf jf Kn^Lªsf nflu 
v/Lb x'g] hUuf k|=s=?= 

3,00,000.F 

b'nf/L uf=lj=;= j*f g+= 7.u 
25   

 s_ b'nf/L 7.u cGtu{t af+;jf/L rf}saf^ pQ/ hfg] gS;f ;Ldfgf;Ddsf 

af^f]n] %'g] hUuf k|=s=?= 

13,50,000.F 

 v_ k|s/)f s df k/L ;f=ls=g+=n] af^f] %'g] xfn ls=g+=n] af^f] g%'g] -

300 lkm^ leqsf_ hUuf k|=s=?= 

9,50,000.F 

 u_ ;f=ls=g+= 68 b]lv pQ/ ;f=ls=g+= 98 x'+b} ls=g+=134 ;Dd af^f]n] 

%'g] hUuf k|=s=?= 

10,50,000.F 

 #_ k|s/)f u df k/L ;f=ls=g+= n] ;f]af^f] %'g] xfn ls=g+=n] ;f]af^f] 

g%'g] hUufsf] k|=s=?= 

7,00,000.F 

 ª_ dfly k|s/)fdf pNn]v eP afx]s ;f=ls=g+= 141 b]lv blIf)f 

;f=ls=g+= 176 ;d]tb]lv pQ/sf hUuf k|=s=?= 

7,00,000.F 

 r_ ls=g++ 1211 b]lv k"j{YblIf)f ls=g+= 199 ;Dd af^f]n] %'g] hUuf 

k|=s=? 

5,50,000.F 

 %_ k|s/)f r df kl/ ;f=ls=g+=n] af^f] %'g] xfnsf] ls=g+=n] af^f] g%'g] 

hUuf / ;f=ls=g+=184, 185, 186 sf hUUff k|=s=? 

4,00,000.F 

 h_ ls=g+= 108 ;d]t blIf)f k}gL k"j{ ls=g+= 475 %f*L ;f] pQ/ 

af+;af/L rf}sYvf]S;L af^f] klZrd sf hUuf k|=s=? 

3,50,000.F 

 em_ dfly pNn]lvt eP afx]s k|s/)f -%_ df pNn]v ePsf] hUuf %f*L 

;f] blIf)f ;f=ls=g+= 198, 200, 201, 203, 204 x'b} 215 ;Ddsf] 

hUuf k|=s=?= 

5,00,000.F 

 `_ dfly pNn]v eP afx]s ;f=ls=g+= 103, 100 x'b} blIf)f klZrd 3,50,000.F 
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gSzfsf] u|fe]naf^f] b]lv pQ/ ;f=ls=g+= 1,2 b]lv k"j{ pQ/sf af^f] %'g] 

hUuf k|=s=?= 

 ^_ dfly pNn]v eP afx]s k|s/)f -`_ df pNn]v ePsf af^f] g%'g] 

hUufx? k|=s=? 

1,75,000. 

 

 &_ dfly pNn]v eP afx]s ;f=ls=g+= 67 / 11 %f*L ;f] klZrdsf 

hUufx? k|=s=? 

1,30,000. 

 *_ dfly pNn]v eP afx]s b'nf/L 7.u cGtu{tsf leqL af^f], zfvf 

af^f] %'g] hUufx? k|=s=? 

2,50,000. 

 (_ dfly pNn]v eP afx]s b'nf/L 7.u cGtu{tsf Kn^Lªsf hUufx? 3,00,000. 

 )f_ dfly pNn]v eP afx]s b'nf/L 7.u cGtu{tsf v]tL of]Uo hUuf 50,000. 

b'nf/L uf=lj=;= j*f g+= 7.# 
26   

 s_ b'nf/L 7.# sf] blIf)f tkm{ 6.% gSzfsf] pQ/ l;dfgf;+u hf]l*Psf 

hUuf k|=s=?= 

5,00,000.F 

 v_ gSzfsf] blIf)fsf] ;f=ls=g+= 184 af^ pQ/ hfg] d'naf^f] %'g] hUuf 

k|=s=?= 

3,00,000.F 

 u_ k|s/)f -s_ / -v_ df k/L xfnsf] ls=g+= n] af^f] g%'g] k%f*L 

k/]sf hUufx? 

1,75,000.F 

 #_ dfly pNn]v eP afx]s b'nf/L 7.# cGtu{tsf cGo afsL hUuf 50,000. 

b'nf/L uf=lj=;= j*f g+= 8.s 
27   

 s_ gS;fsf] klZrd ;Ldfgf b]lv k"j{df af+;jf/L rf}s;Dd /fhdfu{ %'g] 

bfof+ jfof+sf hUuf k|=s=?= 

33,00,000. 

 v_ k|s/)f s df k/L ;f=ls=g+= n] af^f] %'g] xfnsf] lsQfn] af^f] g%'g] 

hUuf k|=s=?= 

22,50,000. 

 u_ af+;jf/L rf}s k"j{ gS;f ;Ldfgf;Dd /fhdfu{ %'g] bfof+jfof+sf k|=s=?= 26,50,000. 

 #_ alnof rf}saf^ blIf)f gS;f l;dfgf;Dd lkraf^f]n] %'g] hUuf k|=s=? 20,50,000. 

 ª_ k|s/)f u df k/L ;f=ls=g+= n] /fhdfu{ %'g] xfnsf] lsQfn] /fhdfu{ 

g%'g] / ;f=ls=g+= 143 sf hUufsf] k|=s=?= 

13,50,000. 

 r_ dfly pNn]v eP afx]s ;f=ls=g+= 47, 48 %f*L ;f] k"j{ ;f=ls=g+= 

69 ;Dd / x'nfsL dfu{ pQ/sf hUuf k|=s=?= 

14,50,000. 

 %_ xfnsf ls=g+= 3547 / 3551 sf] aLrdf kg]{ af^f]n] %'g] blIf)f 

gS;f ;Ldfgf;Ddsf af^f]sf bfof+ jfof+sf hUuf k|=s=?= 

15,50,000. 

 h_ k|s/)f % df k/L ;f=ls=g+= n] ;f] af^f] %'g] xfnsf] lsQfn] af^f] 

g%'g] hUufsf] k|=s=?= 

11,50,000. 

 em_ ;f=ls=g+= 75, 92, 93, 147, 159, 148, 149 ;d]tsf hUuf ;fy} 

;f] pQ/ dfly k|s/)fx?df pNn]v eP afx]s /fhdfu{ blIf)fsf hUuf 

k|=s=?= 

10,50,000. 

 `_ dfyL k|s/)fdf pNn]v ePb]lv afx]s b'nf/L 8.s / 8.v sf] x'nfsL 

dfu{ %'g] hUufx? k|=s=?= 

11,50,000. 

 ^_ ;f=ls=g+= 43, 47, 48 / 152 b]lv 157, 170 ;Ddsf hUuf 

k|=s=?= 

7,00,000. 

 &_ ;flhnfn pRr df=lj= af^ pQ/ hfg] gS;f ;Ldfgf;Dd af^f]n] %'g] 

hUufsf] / ;f=ls=g+= 141, 142, 139 sf hUufsf] k|=s=?= 

10,50,000F 

 *_ k|s/)f & df k/L ;f=ls=g+= n] af^f] %'g] xfn ls=g+= n] af^f] g%'g] 

hUuf / ;f=ls=g+= 116, 117, 118, 120, 123, 124, 125, 126, 127, 

132, 133, 134, 135 ;d]tsf hUuf k|=s=?= 

7,00,000. 

 (_ dfly k|s/)f s, v, u df pNn]v eP afx]s af+;jf/L rf}saf^ pQ/ 17,50,000. 
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hfg] af^f] bfof+af+of ;f=ls=g+= 107 %f*L ;f] blIf)f;Ddsf hUuf k|=s=? 

 )f_ dfly k|s/)f ( df kl/ ;f=ls=g+=n] af^f] %'g] xfnsf] ls=g+=n] af^f] 

g%'g] hUuf / ;f=ls=g+=4 / 10 sf] blIf)fdf kg]{ gS;fsf] af^f] blIf)f 

;f=ls=g+= 170, 190, 43 %f*L ;f] blIf)f ls=g+=25, 23, 13, 12 ;d]t 

b]lv blIf)f dfly k|s/)fdf pNn]v eP afx]ssf hUuf k|=s=? 

13,50,000. 

 t_ dfly pNn]v eP afx]s ;f=ls=g+= 107 ;d]tb]lv pQ/ gS;f 

;Ldfgf;Dd af+;jf/L rf}ssf] af^f]n] %'g] hUuf k|=s=?= 

14,50,000. 

 y_ k|s/)f t df k/L ;f=ls=g+=n] ;f] af^f] %'g] xfn lsQfn] af^f] g%'g] 

hUuf / ;f=ls=g+= 4 / 10 sf] blIf)fdf kg]{ gS;fsf] af^f] pQ/sf 

ls=g+= 190 %f*L k"j{sf af+sL hUufsf] k|=s=?= 

10,50,000. 

 b_ dfly pNn]v eP afx]s b'nf/L 8.s cGtu{t Kn^Lªsf hUuf k|=s=?= 3,50,000. 

 w_ u|fe]n / sRrL af^f]n] %'g] hUuf k|=s=?= 4,00,000. 

 g_ 8.s sf v]tLof]Uo hUuf k|=s=?= 80,000. 

b'nf/L uf=lj=;= j*f g+= 8.v 
28   

 s_ ;f=ls=g+= 9 b]lv klZrd gS;f ;Ldfgf ;Dd x'nfsL dfu{n] %'g] 

hUuf k|=s=?= 

14,50,000. 

 v_ k|s/)f s df pNn]v eP afx]s ;f=ls=g+= n] x'nfsL dfu{ %'g] xfn 

ls=g+= n] g%'g] hUufsf] k|=s=?= 

12,00,000.F 

 u_ ;f=ls=g+= 9 %f*L ;f] k"j{ gS;f ;Ldfgf;Dd x'nfsL af^f]n] %'g] 

hUuf k|=s=?= 

11,50,000.F 

 #_ k|s/)f u df pNn]v e} ;f=ls=g+= n] ;f] af^f] %'g] xfn ls=G+= n] 

g%'g] hUuf k|=s=?= 

8,00,000.F 

 ª_ x'nfsL dfu{af^ blIf)f ;f=ls=g+= 13, 14, 15, 16 x'b} ;f=ls=g+= 24, 

25 ;Ddsf] lkr af^f]n] %'g] af^f] bfof afofsf hUufx? k|=s=?= 

10,50,000.F 

   

 r_ k|s/)f ª df kl/ ;f=ls=g+=n] af^f] %'g] xfnsf] ls=g+=n] af^f] g%'g] 

hUuf k|=s=? 

7,00,000.F 

 %_ ;f=ls=g+= 24, 25 %f*L blIf)f gSzf l;df ;Ddsf] u|fe]n af^f]n] 

%'g] hUufx? k|=s=? 

6,00,000. 

 h_ k|s/)f -%_ df pNn]v eO{ ;f=ls=g+=n] af^f] %'g] xfnsf] ls=g+=n] 

af^f] g%'g] hUufx? k|=s=? 

3,00,000. 

 em_ ;f=ls=g+= 87, 88 ;d]t blIf)f ls=g+= 185, 111, 167 ;Dd 

af^f]n] %'g] hUuf k|=s=? 

5,00,000.F 

 `_ ;f=ls=g+=78, 74 %f*L ;f] blIf)f ;f=ls=g+=50, 54 ;Dd gS;fsf] 

af^f]n] %'g] hUuf k|=s=? 

8,00,000.F 

 ^_ k|s/)f -`_ df kl/ ;f=ls=g+=n] af^f] %'g] xfnsf] ls=g+=n] af^f] g%'g] 

hUuf k|=s=? 

6,00,000.F 

 &_ dfly pNn]v eP afx]s ;f=ls=g+=10.447 ;d]t blIf)f ls=g+= 10, 11 

b]lv blIf)f ;f=ls=g+= 139 / 63, 64 b]lv pQ/ 69, 73 ;d]t b]lv 

klZrdsf hUuf k|=s=?= 

6,00,000.F 

 *_ dfly pNn]v eP afx]s ;f=ls=g+= 139, 64, 63 %f*L ;f] blIf)f 39 

;Ddsf] Pl/ofsf hUuf k|=s=? 

4,00,000. 

 (_ dfly pNn]v eP afx]s ;f=ls=g+= 2 b]lv blIf)f 3, 4, 138, 155 

%f*L ;f] pQ/sf hUuf k|=s=? 

3,50,000. 

 )f_ dfly pNn]v eP afx]s ;f=ls=g+= 81 %f*L ;f] blIf)f ;f=ls=g+= 

110 %f*L pQ/sf hUufx? k|=s=?= 

4,50,000. 

 t_ dfly pNn]v eP afx]s b'nf/L 8.v cGtu{t Kn^Lª / Kn^Lªsf 3,00,000.F 
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nflu v/Lb x'g] hUuf k|=s=?= 

 y_ dfly pNn]v eP afx]s b'nf/L 8.v cGtu{t leqL af^f]sf hUuf 

k|=s=?= 

1,75,000.F 

b'nf/L uf=lj=;= j*f g+= 8.u 
29   

 s_ ;f=ls=g+= 79 sf] klZrddf kg]{ pQ/ blIf)f af^f] / 79 sf] k"j{ 

blIf)f hfg] af^f] %'g] hUufx? k|=s=?= 

4,00,000. 

 v_ dfly k|s/)fdf pNn]v eP afx]s Knl^ªsf hUuf k|=s=?= 3,00,000.F 

 u_ dfly pNn]v eP afx]s zfvf af^f] / leqL af^f]n] %'g] hUuf 

k|=s=?= 

1,75,000.F 

 #_ b'nf/L 8.u cGtu{tsf cGo afsL hUufx? k|=s=?= 50,000.F 

b'nf/L uf=lj=;= j*f g+= 9.s 
30   

 s_ ;f=ls=g+= 29 b]lv k"j{ blIf)f ;f=ls=g+= 21 ;Dd gS;fsf] af^f] 

klZrdsf ;Dk")f{ hUuf / k"j{df ;f=ls=g+= 57 ;Dd af^f]n] %'g] hUuf 

k|=s=?= 

12,50,000.F 

 v_ dfly pNn]v eP afx]s ;f=ls=g+= 53 b]lv blIf)f ;f=ls=g+= 62 

;Ddsf hUuf / ;f=ls=g+= 1, 2, 27 sf hUuf k|=s=?= 

9,50,000.F 

 u_ ;f=ls=g+= 10, 11, 12, 13, 14, 20, 63, 64, 65 ;d]t x'+b} lqj])fL 

rf]s ;Ddsf hUuf k|=s=?= 

7,00,000.F 

 #_ dfly k|s/)fx?df pNn]v eP afx]s ;f=ls=g+= 9 b]lv pQ/sf 

hUufsf] k|=s=?= 

6,00,000.F 

 ª_ lqj])fL rf}s b]lv blIf)f ;f=ls=g+= 138, 139 ;Dd af^f]n] %'g] hUuf 

k|=s=?= 

7,00,000.F 

 r_ ;f=ls=g+= 77,75,69,66 b]lv blIf)f ;f=ls=g+= 116, 104, 102, 100, 

98 b]lv k"j{ ls=g+=107, 109, 108 ;Ddsf  dfly k|s/)f ª df 

pNn]v eP afx]s ;f] klZrdsf ;Dk")f{ hUuf k|=s=?= 

3,50,000.F 

 %_ ;f=ls=g+= 107 / 144 b]lv k"j{ ;f=ls=g+= 140 ;Ddsf] x'nfsL 

dfu{n] %'g] af^f]sf] hUufx? k|=s=? 

4,00,000. 

 h_ k|s/)f -%_ df pNn]v eO{ ;f=ls=g+= n] af^f] %'g] / xfnsf] ls=g+=n] 

af^f] g%'g] hUufx? k|=s=? 

2,50,000. 

 em_ ;f=ls=g+= 144, 140 %f*L ;f] blIf)f ;f=ls=g+= 150, 157 ;Ddsf 

hUuf k|=s=?= 

1,75,000.F 

 `_ 9.s cGtu{t Kn^Lªsf jf Kn^Lªsf nflu v/Lb x'g] hUuf k|=s=?= 3,00,000.F 

 ^_ ;f=ls=g+= 98, 100, 102, 104, 116 %f*L ;f] klZrd ls=g+= 77, 

76 %f*L ;f] blIf)fsf hUuf k|=s=? 

1,20,000.F 

b'nf/L uf=lj=;= j*f g+= 9.v 
31   

 s_ ;f=ls=g+= 1 b]lv ;f=ls=g+= 9 ;Dd d"naf^f]n] %'g] hUuf k|=s=?= 9,50,000.F 

 v_ k|s/)f s df k/L ;f=ls=g+= n] ;f] af^f] %'g] xfnsf] lsQfn] ;f] 

af^f] g%'g] hUuf k|=s=?= 

5,00,000.F 

 u_ ;f=ls=g+= 2, 18 b]lv blIf)f ;f=ls=g+= 10, 22 ;Ddsf] af^f]sf] bfof+ 

jfof+sf hUuf k|=s=?= 

6,00,000.F 

 #_ k|s/)f u df k/L ;f=ls=g+= n] ;f]af^f] %'g] xfnsf] lsQfn] g%'g] 

hUuf / ;f=ls=g+= 14, 15 sf hUuf k|=s=?= 

4,50,000.F 

 ª_ ;f=ls=g+= 9 %f*L blIf)f ;f=ls=g+= 86, 63 ;Dd af^f]n] %'g] hUuf 

k|=s=?= 

5,50,000.F 

 r_ ;f=ls=g+= 42 %f*L blIf)f ;f=ls=g+= 53 ;Ddsf hUuf / k|s/)f -ª_ 3,50,000.F 
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df pNn]v ePsf ;f=ls=g+= n] ;f] af^f] %'g] xfnsf] lsQfn] af^f] g%'g] 

hUuf k|=s=?= 

 %_ ;f=ls=g+= 18, 22 %f*L blIf)f 42, 53 sf] af^f] b]lv k"j{ / 

;f=ls=g+= 86, 63 %f*L ;f] blIf)f af^f]sf] bfof afofsf hUufx? k|s? 

3,00,000. 

 h+_ k|s/)f -%_ df pNn]v eO{ xfnsf] ls=g+=n] af^f] g%'g] hUuf / cGo 

hUuf k|=s=? 

1,20,000. 

 em_ 9.v sf] Kn^Lªsf jf Kn^Lªsf nflu v/Lb x'g] hUuf k|=s=?= 300,000.F 

 `_ 9.v sf] leqL sRrL af^f]n] %'g] hUuf k|=s=?= 1,75,000.F 
 

 

 

b'nf/L uf=lj=;= j*f g+= 9.u 
32   

 s_ b'nf/L uf=lj=;= j*f g+= 9.v sf] klZrd tyf 9.u sf] k'j{ l;dfgfsf] 

lqj])fL rf}saf^ a*x/f ;Dd hfg] af^f]n] %'g] hUufsf] k|=s=?= 

3,00,000.F 

 v_ ;f=ls=g+= n] AFf^f] %'g] xfnsf] ls=g+=n] af^f] g%'g] tyf o; k|s/)fsf] 

u|fe]n tyf sRrL af^f]n] %'g] hUufx? k|=s=?= 

1,50,000. 

 u_ b'nf/L uf=lj=;= j*f g+= 9.u cGtu{tsf Knl^ªsf hUuf k|=s=?= 2,00,000. 

b'nf/L uf=lj=;= 
33   

 s_ dfly pNn]v eP afx]s b'nf/L uf=lj=;= cGtu{t Kn^Lª jf Kn^Lªsf 

nflu v/Lb x'g] hUuf k|=s=?= 

2,50,000.F 

 v_ dfly k|s/)fdf pNn]v eP afx]s b'nf/L 1.em, 1.^, 2.v, 2.u, 3.v, 

5.v, 5#, 5.ª, 6.r, 8.u, 9.#, 9.r sf af^f] %'g] hUuf k|=s=?= 

1,50,000.F 

 u_ dfly pNn]v eP afx]s b'nf/L 1 b]lv 9 ;Ddsf af^f] %'g] hUuf 

k|=s=?= 

100,000.F 

 #_ b'nf/L 1 b]lv 9 ;Ddsf v]tLof]Uo hUuf k|=s=?= 50,000.F 
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10= kxf*L uf=lj=;=x?sf] k|lt/f]kgL Go"gtd d"Nof+sg 
l;g+= uf=lj=;= v]ttkm{ kfvf]tkm{ Kn^Lª 

 cAan bf]od ;Ld rfxf/ cAan bf]od ;Ld rfxf/ 

1 kf^Lufp+ 13000 10000 9000 7000 10000 8000 6000 4000 50000 

2 l;+xb]jL 13000 10000 9000 7000 10000 8000 6000 4000 50000 

3 ef]u^]gL 20000 17000 13000 10000 12000 10000 8000 6000 75000 

4 jf/+uL 13000 10000 9000 7000 10000 8000 6000 4000 50000 

5 /ldt]vf]nf 13000 10000 9000 7000 10000 8000 6000 4000 50000 

gf]̂  M dflysf] tflnsfdf pNn]lvt uf=lj=;=x?sf df]^/af^f] %'g] hUufx?sf] xsdf v]t 

/ kfvfsf] k|lt /f]kgL 20,000. sfod ug]{ . 

ofªlznf uf=lj=;= 
1   

 s_ ofªlznf uf=lj=;=sf] 5em, 5*, 5n, 5j, 5;, 5if, 5/, 5` 

sf] gSzfdf kg]{ k"j{ klZrdsf] u|fe]n af^f] %'g] hUuf / 5* 

au}rf b]lv pQ/ uf=lj=;= ;Dd &f*f] af^f] 5a lkkn rf]s pQ/, 

5n lkkn rf}s pQ/ x'b} 5* sf] uf=lj=;= ;Dd af^f]n] %'g] 

hUufx? k|=/f]=?  

2,75,000. 

 v_ dfly k|s/)f -s_ df k/L ;f=ls=g+= n] af^f] %'g] xfnsf] 

lsQfn] af^f] g%'g] hUuf k|=/f]=?= 

1,20,000. 

 u_ dfly k|s/)fdf k/] afx]s zfvf af^f], sRrL af^f]n] %'g] 

hUufx? k|=/f]=? 

1,30,000. 

 #_ dfly pNn]lv ePsf j*fx?sf] Knl^ªsf hUufx? k|=/f]=? 2,25,000. 

 ª_ ofªlznf 5` sf] ofªlznf ahf/ Pl/of leqsf hUufx? k|=/f]=? 1,20,000. 

 r_ ofªlznf uf=lj=;=sf] j*f g+= 5 / 8 sf] v]t tkm{ k|=/f]=? 60,000. 

 %_ ofªlznf uf=lj=;=sf] j*f g+= 5 / 8 sf] kfvf] tkm{ k|=/f]=? 35,000. 

 h_ dfly k|s/)fdf pNn]v eP afx]s ofªlznf uf=lj=;=sf] af^f] 

%'g] hUufx? k|=/f]=? 

25,000. 

 em_ ofªlznf uf=lj=;= cGtu{tsf v]tL of]Uo hUufx? k|=/f]=? 20,000. 

11= ao/jg uf=lj=;= 
ao/jg 1.s, 1.u, 3, 4.s, 4.v, 5.s, 5v, 6.v 

1   

 s_ ao/jg uf=lj=;= cGtu{t kg]{ j*f g+= 1.s, 3, 4.s, 4.v, 

5.s, 6.v df kg]{ /dfOnf]af^ ao/jg ahf/ x'+b} bf]dgf hfg] 

af^f]sf] bfof+ jfof+df kg]{ hUuf k|=s=?= 

2,25,000.F 

 v_ dfly k|s/)F s df pNn]v eP afx]s Knl^ªsf hUuf k|=s=? 1,75,000.F 

 u_ dflysf] k|s/)f s / v df k/] afx]s k|s/)F s cGtu{t 

;f=ls=g+= n] af^f] %'g] ls=sf= x'+b} k%f*L k/]sf] hUuf  tyf cGo 

af^f]n] %'g] hUuf k|=s=?= 

1,20,000.F 

 

 

ao/jg 6s, 7s, 7u 

 s_ /dfOnf]af^ blIf)f ao/jg ahf/ x'+b} bf]dgf hfg] af^f]nfO{ %'g] 

hUuf k|=s=?= 

3,50,000.F 
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 v_ j*f g+= 6.s df kg]{ ao/jg ahf/af^ sfln:yfg hfg] / 

gf/fo)f rf]s hfg] af^f] bfof+ jfof+sf hUuf k|=s=?= 

2,25,000.F 

 u_ dfly k|s/)F v df pNn]v eP afx]s Knl^ªsf hUuf k|=s=? 1,75,000.F 

 #_ k|s/)f s, v df k/L xfn ls=sf= e} cfPsf] af^f] g%'g] 

lsQfsf hUuf tyf cGo af^f]n] %'g] hUuf k|=s=?= 

1,20,000.F 

ao/jg uf=lj=;= j*f g++ 8.s 

2   

 s_ ao/jg 8.s sf] pQ/ ;Ldfgfsf] ;f=ls=g+= 24 sf^ e} sfodL 

ls=g+= 134 / 182 b]lv blIf)f ;f=ls=g+= 45 / sfodL ls=g+= 

116 / 115 ;d]tb]lv pQ/ sfg]kf]v/LY/dfOnf], /+u]nL ;*ssf bfof+ 

jfof+ -cfOtjf/] ahf/If]q_ sf hUufx?sf] k|=s=?= 

7,00,000.F 

 v_ ;f=ls=g+= 45 ls=sf=e} sfodL ls=g+= 115, 116 %f*L ;f] 

blIf)f gS;fsf] clGtd ;Ldfgfsf]] ;f=ls=g+= 270, 298 ;Dd 

sfg]kf]v/L /dfO{nf] /+u]nL ;*ssf bfof+ jfof+sf hUufx?sf] k|=s=?= 

6,00,000.F 

 u_ dfly k|s/)F s df  pNn]v eP afx]s ;f=ls=g n] ;f]af^f] 

%'g] xfnsf] lsQfn] g%'g] k|=s=? 

3,00,000.F 

 #_ k|s/)F v df pNn]v eP afx]s sf hUuf k|=s=?= 2,50,000.F 

 ª_ ao/jg 8.s / 8.^ sf] ;Ldfgfsf] hxbf s]/f}g hfg] u|fe]n af^f]n] 

%'g] ;f=ls=g+= 24, 62, 63 x'+b} 241 ;f=ls=g+= 16 gS;fsf] pQ/ 

klZrdsf] ;Ldf;Dd af^f blIf)f tkm{sf hUufx?sf] k|=s=?= 

2,25,000. 

 r_ dfly pNn]v eP afx]s ao/jg 8.s cGtu{tsf Kn^Lªsf hUuf 

k|=s=?= 

2,50,000.F 

 %_ dfly pNn]v eP afx]s ls=g+= 15, 277 b]lv blIf)f, ;f=ls=g+= 

36, 34 x'+b} 188, 255 x'b} blIf)f 98, 99 ;Ddsf hUuf k|=s=?= 

1,20,000.F 

 h_ cGo af^f]n] %'g] hUuf k|=s=? 1,50,000.F 

ao/jg uf=lj=;= j*f g+= 8.v 

3   

 s_ sfg]kf]v/L, /dfOnf], /+u]nL ;*sn] %'g] ao/jg 8.v pQ/ 

;Ldfgfsf] ;f=ls=g+= 3 sf^ e} sfodL ls=g+= 74 / 4 sf^ e} 

sfodL ls=g+= 341 b]lv blIf)f ;f=ls=g+= 64 / 76 sf] af^f]sf] 

bfof+ jfof+sf hUufx?sf] k|=s=?= 

6,00,000.F 

 v_ ;f=ls=g+= 64 / 76 b]lv blIf)f ;Ldfgf;Ddsf] af^f]sf] bfof+ 

jfof+sf hUufx?sf] k|=s=?= 

7,00,000.F 

 u_ s df pNn]v ePsf ;fls=g++ n] af^f] %'g] xfnsf] lsQfn] g%'g] hUuf 

k|=s=?= 

2,50,000.F 

 #_ v df pNn]v ePsf ;fls=g++ n] af^f] %'g] xfnsf] lsQfn] g%'g] hUuf 

k|=s=?= 

2,75,000.F 

 ª_ dfly k|s/)fdf pNn]v eP afx]s Kn^Lªsf hUufx?sf] k|=s=?= 2,50,000.F 

 r_ cGo af^f]n] %'g] hUuf k|=s=? 1,50,000.F 

 h_ ;f=ls=g+= 135, 138 b]lv blIf)f 27, 38, 39 ;Dd dfly 

pNn]v eP afx]ssf hUuf k|=s=? 

1,50,000. 

 

ao/jg uf=lj=;= j*f g+= 8.u 

4   
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 s_ ;f=ls=g+= 13 sf^ eO{ sfodL ls=g+= 392 / gSzfsf] k"j{df 

kg]{ ;f=ls=g+= 516 b]lv blIf)f / ;f=ls=g+= 33 sf] sfodL ls=g+= 

279 ;f=ls=g+= 28, 74 %f*L pQ/ gS;fsf] k"j{ l;dfgf ;Dd / 

klZrddf ;f=ls=g+= 57 b]lv blIf)f 92 ;Ddsf] k}gL k"j{sf] /+u]nL 

sfg]kf]v/L /dfO{nf] bf]efgf hfg] af^f] / ahf/ Pl/ofsf hUufx? 

k|=s=? 

13,50,000.F 

 v_ k|s/)f -s_ df pNn]lvt Pl/of leqsf af^f] g%'g] hUufx? 8,00,000.F 

 u_ gS;fsf] pQ/ l;dfgfsf] ;f=ls=g+= 243 b]lv blIf)f ;f=ls=g+= 

392 / 516 ;Ddsf] sfg]kf]v/L /+u]nL ;*sn] %'g] af^f] bfof 

jfofsf hUufx? k|=s=? 

8,50,000.F 

 #_ ;f=ls=g+= 33, 279, 28 b]lv blIf)f gS;f l;dfgf ;Ddsf] 

sfg]kf]v/L /+u]nL ;*n] %'g] af^f] bfof jfofsf hUufx? k|=s=? 

7,00,000.F 

 ª_ k|s/)f -u_ / -#_ df pNn]lvt ;f=ls=g+= n] af^f] %'g] 

xfnsf] ls=g+=n] af^f] g%'g] hUufx? k|=s=? 

3,00,000.F 

 r_ ;f=ls=g+= 30 %f*L blIf)f gS;fsf] k"j{ l;dfgfsf] /dfO{nf] 

bf]efgf hfg] af^f] %'g] hUufx? 

6,00,000. 

 %_ 8-u_ sf] u|fe]n af^f] / sRrL af^f] %'g] hUufx? k|=s=? 1,50,000.F 

 h_ 8-u_ cGtu{tsf Knl^ªsf hUufx? k|=s=? 2,50,000.F 

ao/jg uf=lj=;= j*f g+= 8.# 

5   

 s_ ;f=ls=g+= 9 sf] sfodL ls=g+= 143 k"j{ 346 klZrd x'+b} 

blIf)fL sfodL ls=g+= 105 / 359 sf] aLr x'+b} ls=g+= 20 / 92 

;Dd af^f]sf] bfof+ jfof+sf hUufx?sf] k|=s=?= 

7,00,000.F 

 v_ /dfOnf] af^ bf]dfgf hfg] af^f]n] %'g] ;fls=g+= 29 ;d]tb]lv 

pQ/sf hUuf k|=s=?= 

3,00,000.F 

 u_ s / v df k/L ;f=ls=g+= n] ;f]af^f] %'g] xfnsf] lsQfn] 

g%'g] hUuf k|=s=?= 

3,50,000.F 

 #_ ;flsg+= 29 %f*L ;f]blIf)f gS;f ;Ldf;Dd /dfOnf]Ybf]dfgf 

af^f]n] %'g] hUuf k|=s=?= 

4,50,000.F 

 ª_ # df k/L ;f=ls=g+= n] ;f]af^f] %'g] xfnsf] lsQfn] g%'g] 

hUuf k|=s=?= 

1,75,000.F 

 r_ dfly k|s/)fdf pNn]v afx]s Kn^Lªsf hUufx?sf] k|=s=?= 2,50,000.F 

 %_ ls=g+= 44, 45 pQ/, dfly pNn]v eP afx]ssf hUuf / 

;f=ls=g+= 292 b]lv blIf)f klZrdsf] af^f] ;f=ls=g+= 226, 261 

;Ddsf] hUuf k|=s=?= 

1,50,000.F 

 h_ dfly pNn]v eP afx]s cGo af^f]n] %'g] hUuf k|=s=? 1,50,000.F 

ao/jg uf=lj=;= j*f g+= 8.ª 

6   

 s_ ls=g++ 165 blIf)f, 297 %f*L ;f] pQ/ /dfOnf]Ybf]dfgf af^f] 

%'g] hUuf k|=s=?= 

6,00,000.F 

 v_ ls=g+= 297 b]lv blIf)f gS;f ;Ldfgf;Dd /dfOnf]Ybf]dfgf af^f] 

%'g] hUuf k|=s=?= 

3,50,000.F 

 u_ s df pNn]v e} xfnsf] lsQfn] af^f] g%'g] hUuf k|=s=?= 2,20,000.F 

 #_ v df pNn]v e} xfnsf] lsQfn] af^f] g%'g] hUuf k|=s=?= 1,75,000.F 
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 ª_ dfly pNn]v eP afx]ssf Kn^Lªsf hUuf k|=s=?= 2,50,000.F 

 r_ dfly pNn]v eP afx]ssf cGo af^f] %'g] hUuf k|=s=?= 1,20,000.F 

ao/jg uf=lj=;= j*f g+= 8.h 

7   

 s_ ;f=ls=g+= 27, 29 sf] ljraf^ blIf)fsf] af^f] ;f=ls=g+= 30 

;Ddsf] af^f]sf] bfof afofsf hUUfx? k|=s=?= 

6,00,000.F 

 v_ k|s/)f -s_ sf] 27, 29 %f*L ;f] pQ/ ;f=ls=g+= 253 / 

630 ;Ddsf] af^f] %'g] hUuf k|=s=?= 

3,50,000. 

 u_ ;f=ls=g+= 62 / 248 pQ/ gSzf l;dfaf^ 219 ;Ddsf] 

u|fe]naf^f] bfof afofsf hUuf / gSzfsf] pQ/ l;dfgfsf] k"j{ 

klZrdsf] af^f]n] %'g] hUufx? k|=s=? 

2,75,000. 

 #_ dfly k|s/)fdf pNn]v afx]s Kn^Lªsf hUufx?sf] k|=s=?= 2,50,000.F 

 r_ dflysf k|s/)fx?df pNn]v ePb]lv afx]s ;f=ls=g+= n] af^f] 

%'g] xfn lsQf sf^ e} k%f*L k/]sf hUuf k|=s=?= 

1,20,000.F 

 h_ dfly k|s/)fx?df pNn]v ePb]lv afx]s zfvf / leqLaf^f]n] 

%'g] hUufx? k|=s=? 

1,50,000. 

ao/jg uf=lj=;= j*f g+= 8.em 

8   

 s_ Kn^Lªsf hUuf k|=s=?= 2,50,000.F 

 v_ cGo af^f] %'g] hUuf k|=s=?= 1,20,000.F 

ao/jg uf=lj=;= j*f g+= 8.` 

9   

 s_ ao/jg 8.` sf] sfg]kf]v/L /dfOnf], /+u]nL af^f]n] %'g] 

;f=ls=g+= 1 sf^ e} sfodL ls=g+= sf hUuf k|=s=?= 

6,00,000.F 

 v_ 8` cGtu{t Kn^Lªsf] hUUFf k|=s=? 2,00,000.F 

 v_ ao/jg 8.` sf cGo af^f]%'g] hUuf k|=s=?= 1,20,000.F 

ao/jg uf=lj=;= j*f g+= 8.^ 

10   

 s_ ao/jg 8.^ sf] sfg]kf]v/L /dfOnf] /+u]nL af^f]n] %'g] 

;f=ls=g+= 14 sf^ e} sfodL ls=g+= sf hUuf k|=s=?= 

6,00,000.F 

 v_ ;f=ls=g+= 14 %f*L hxbf s]/f}g hfg] gSzfsf] pQ/ blIf)fsf] 

af^f] / ;f=ls=g+= 12, 13 x'+b} ;f=ls=g+= 3 sf] clGtd ;Ddsf] 

af^f]n] %'g] hUuf hUuf k|=s=?= 

2,50,000.F 

 u_ dfly pNn]v eP afx]s Knl^ªsf hUuf k|=s=? 2,50,000.F 

 #_ dfly pNn]v eP afx]s cGo af^f] %'g] hUuf k|=s=?= 1,20,000.F 

 

 

ao/jg uf=lj=;= j*f g+= 9.y, -xfn ky/LYzlgZr/] g=kf= cGtu{t kg]{_ 

11   

 s_ /fhdfu{n] %'g] 9.y sf af^f]sf bfof+ jfof+sf af^f];+u hf]l*Psf 

hUuf k|=s=?= 

8,50,000.F 

 v_ ;fljsn] /fhdfu{ %'g] lsQf sf^ x'+b} k%f*L k/L xfnsf lsQf 

g+= n] /fhdfu{ g%'g] hUufx? k|=s=?= 

3,50,000.F 

 u_ dflysf k|s/)fx?df k/] afx]ssf Kn^Lªsf hUuf k|=s=?= 2,50,000.F 
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 #_ dflysf k|s/)fx?df k/] afx]ssf cGo af^f]n] %'g]hUuf k|=s=?= 2,00,000.F 

 ª_ dflysf k|s/)fdf k/]b]lv afx]ssf 9.y Anssf cGo hUuf 

k|=s=?= 

50,000.F 

ao/jg uf=lj=;= j*f g+= 9.s.3 

12   

 s_ ao/jg 9.s.3 sf ;f=ls=g+= 3, 4, 5 ;d]tb]lv blIf)f 6 

;d]tb]lv klZrd 7, 9 ;d]tb]lv pQ/ 13 ;d]tb]lv k"j{ Pl/of 

leq hUuf k|=s=?= 

11,50,000

.F 

 v_ k|s/)f s df pNn]v ePsf hUufx? ;f] blIf)f 10, 12, 11 

x'+b} blIf)f gS;f ;Ldf ;Ddsf] ufGwL dgdf]xg ;*ssf bfof+ 

jfof+sf hUuf k|=s=?= 

6,00,000.F 

 u_ k|s/)f v df pNn]v ePsf] ;f=ls=g+= n] dgdf]xg af^f] %'g] 

xfnsf] ls=g+= n] af^f] g%'g] hUuf k|=s=?= 

3,50,000.F 

 #_ gS;fsf] klZrdpQ/sf] ;f=ls=g+= 2 / 15 sf^ e} sfodL 

ls=g+= 72, 73 b]lv blIf)f ls=g+= 17, 20, 24, 30 x'+b} blIf)f 

36 sf^ e} sfodL ls=g+= 181 ;Ddsf hUufx? k|=s=?= 

6,00,000.F 

 ª_ k|s/)f # df pNn]v ePsf] ;f=ls=g+= 2 %f*L ;f]b]lv blIf)f, 

60÷61 / k|s/)f # df pNn]v ePsf] Pl/of k"j{tkm{sf] -dfly 

pNn]v eP afx]s_ blIf)f gS;f ;Ldf ;Ddsf hUuf k|=s=?=  

3,00,000.F 

 r_ Kn^Lªsf hUuf k|=s=?= 3,00,000.F 

 %_ dflysf k|s/)fx?df pNn]v eP afx]ssf ;f=ls=g+= 60, 61 

%f*L ;f] blIf)f / gS;fsf cGo af^f]n] %'g] hUuf k|=s=?= 

2,00,000.F 

 %_ dflysf k|s/)fx?df pNn]v eP afx]ssf 9.s3 sf af+sL 

hUufx? k|=s=?= 

80,000.F 

ao/jg uf=lj=;= j*f g+= 9.s.4 

13   

 s_ ao/jg 9.s.4 sf] k"j{tkm{ 9.s3 sf] ;Ldf;+u pQ/ blIf)f 

af^f]df hf]l*Psf hUuf k|=s=?= 

5,50,000.F 

 v_ k|s/)f s df k/L ;f=ls=g+= n] af^f] %'g] xfnsf ls=g+= n] 

af^f] g%'g] hUuf k|=s=?= 

3,00,000.F 

 u_ gS;fsf] pQ/sf] af^f] %'g] / Kn^Lªsf hUuf k|=s=?= 3,00,000.F 

 #_ cGo AFf^f] %'g] hUuf k|=s=?= 1,75,000.F 

 ª_ dflysf k|s/)fx?df pNn]v eP afx]s 9.s.4 sf af+sL hUuf 

k|=s=?= 

50,000.F 

ao/jg uf=lj=;= j*f g+= 9.c 

14   

 s_ ao/jg 9.c sf] ;f=ls=g+= 37, 40 b]lv blIf)f ls=g+= 44, 

45 x'+b} blIf)f ;Ldf ;Ddsf] ufGwL dgdf]xg ;*ssf] bfof+ jfof+sf 

hUuf k|=s=?= 

6,00,000.F 

 v_ k|s/)f s df k/L ;f=ls=g+= n] af^f] %'g] xfnsf ls=g+= n] 

af^f] g%'g] hUuf k|=s=?= 

3,50,000.F 

 u_ dfly pNn]v eP afx]s Kn^Lªsf hUuf k|=s=?= 3,00,000.F 

 #_ gS;fsf] k"j{df kg]{ pQ/ blIf)fsf] af^f]n] %'g] / cGo af^f]n] 

%'g] hUuf k|=s=?= 

2,50,000.F 
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 ª_ dflysf k|s/)fx?df pNn]v eP afx]s 9.c sf af+sL hUuf 

k|=s=?= 

50,000.F 

ao/jg uf=lj=;= j*f g+= 9.cf 

15   

 s_ ao/jg 9.cf sf] d"n ;*snfO{ %'g] af^f]sf bfof+ jfof+sf 

hUuf k|=s=?= 

9,50,000.F 

 v_ k|s/)f s df k/] afx]s gS;fsf] 15 g+= sf] af^f]n] %'g] tyf 

;f] af^f] b]lv k"j{sf ;Dk")f{ hUufx? k|=s=?= 

7,00,000.F 

 u_ ls=g++ 798 sf] pQ/blIf)fsf] af^fn] %'g] tyf ;f] af^f] b]lv 

k"j{ gS;fsf] 15 g+= sf] af^f] klZrdsf hUufx? k|=s=?= 

6,00,000.F 

 #_ dfly pNn]v eP afx]s Kn^Lªsf hUuf k|=s=?= 3,00,000.F 

 ª_ k|s/)f u df pNn]v ePsf] af^f] klZrdsf cGo af^f] %'g] 

hUuf k|=s=?= 

1,75,000.F 

 r_ dfly k|s/)fx?df k/]sf hUufx? afx]ssf v]tLof]Uo hUufx? k|=s=?= 50,000.F 

ao/jg uf=lj=;= j*f g+= 9.cf] 

16   

 s_ ao/jg 9.cf] cGtu{t gS;fsf] d'n af^f]n] %'g] hUuf k|=s=?= 1,75,000.F 

 v_ ao/jg 9.cf] cGtu{tsf Kn^Lªsf hUuf k|=s=?= 1,50,000.F 

 u_ gS;fsf] cGo jf^f]n] %'g] hUufx? k|=s=? 60,000.F 

ao/jg uf=lj=;= j*f g+= 9.cf} 

17   

 s_ ;f=ls=g+= 1, 4 b]lv blIf)f 8, 11 b]lv 19 ;Dd 22 b]lv 

30 ;Dd 33, 34, 36, 37, 39 b]lv 42 ;Dd 46 b]lv 51 

;Dd 61, 63, 67, 72, 75, 78 b]lv 81 ;Ddsf d"naf^f] %'g] 

hUuf k|=s=?= 

3,00,000.F 

 v_ ao/jg 9.cf} cGtu{tsf Kn^Lªsf hUuf k|=s=?= 1,75,000.F 

 u_ k|s/)f s df k/]sf ;f=ls=g+=sf af+sL hUuf / gS;fsf] 

af^f]n] %'g]] cGo hUuf k|=s=?= 

80,000.F 

ao/jg uf=lj=;= j*f g+= 9.C -&'nf]_ 

18   

 s_ ao/jg 9C sf] ;f=ls=g++ 229 -a'$ pRr df=lj=sf] hUuf 

%f*L_ b]lv blIf)f, ;f=ls=g+= 10 sf^ e} sfodL ls=g+= 56, 57, 

58 sf] ufGwL dgdf]xg af^f] %'g] af^f]sf bfof+ jfof+  ;f]djf/] 

ahf/ Pl/of leqsf hUufx? k|=s=?= 

9,50,000.F 

 v_ k|s/)f s df pNn]v ePsf xfnsf ls=g+= n] af^f] g%'g] 

;f]djf/] ahf/ Pl/ofsf hUuf / ;f=ls=g++ 52, 54 %f]*L ;f]b]lv 

k"j{sf ls=g+=328, 357, 380, 376 %f*L ;f] klZrdsf hUufx? 

k|=s=?= 

7,00,000.F 

 u_ dfly pNn]v eP afx]s ls=g+= 229 b]lv pQ/ ufGwL 

dgdf]xg af^f]sf bfof+ jfof+sf hUuf k|=s=?= 

5,00,000.F 

 #_ ;f=ls=g+= 2, 3 sf^ e} sfodL ls=g+= 17 / 187 g+= sf 

hUufx? k|=s=?= 

3,50,000.F 

 ª_ dflysf k|s/)fx?df pNn]v ePafx]ssf 9.C sf Kn^Lªsf 

hUuf k|=s=?= 

3,00,000.F 
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 r_ ls=g+= 86 b]lv blIf)f ;f=ls=g+= 13 ;Ddsf] hUufx? k|=s=? 1,75,000.F 

 %_ dflysf k|s/)fx?df pNn]v ePafx]ssf 9.C-&'nf]_ sf cGo 

af^f]n] %'g] hUuf k|=s=?= 

1,75,000.F 

 h_ dflysf k|s/)fdf k/]b]lv afx]ssf v]tLof]Uo hUuf k|=s=?= 50,000.F 

ao/jg uf=lj=;= j*f g+= 9.O -x|:j_ 

19   

 s_ 9.O sf] ;f=ls=g++ 1 sf^ e} sfodL ls=g+= 83 b]lv blIf)f 

gS;fsf] klZrd tkm{sf] ls=g+= 7, 8, 13 x'+b} 24 ;Ddsf] d"n 

af^f] %'g] hUufx? k|=s=?= 

3,50,000.F 

 v_ Knl^ªsf hUuf k|=s=?= 2,75,000.F 

 u_ k|s/)f s df pNn]v e} xfnsf] ls=g++ n] af^f] g%'g] hUuf 

k|=s=?= 

1,75,000.F 

 #_ dfly pNn]v eP afx]s cGo af^f]n] %'g] hUuf k|=s=?= 1,75,000.F 

 ª_ dflysf k|s/)fdf k/]b]lv afx]ssf v]tLof]Uo hUuf k|=s=?= 50,000.F 

ao/jg uf=lj=;= j*f g+= 9.z 

20   

 s_ ;f=ls=g+= 2, 3, 4, 6, 8 sfodL ls=g+= 253 x'+b} -ky/L 

z/)ffyL{ lzlj/af^ s]rgf hfg]_ d"naf^f]sf bfof+ jfof+sf ;f=ls=g+= 

sf hUuf k|=s=?= 

6,00,000.F 

 v_ dfly pNn]v eP afx]s 9.z cGtu{tsf Kn^Lªsf tyf cGo 

af^f] %'g] hUuf k|=s=?= 

2,75,000.F 

 u_ s df pNn]v e} xfnsf] ls=g+= n] af^f] g%'g] hUuf tyf 

cGo af^f]n] %'g] hUuf k|=s=?= 

2,50,000.F 

 #_ dfly pNn]v eP afx]s cGo v]tLof]Uo hUuf k|=s=?= 50,000.F 

ao/jg uf=lj=;= j*f g+= 9.if 

11   

 s_ ;f=ls=g+= 51 x'+b} 58 -;f=ls=g+= 59 afx]s_ 60 ;Ddsf 

d"n;*ssf bfof+ jfof+sf hUuf k|=s=?= 

6,00,000.F 

 v_ Kn^Lªsf hUuf k|=s=?= 2,75,000.F 

 u_ s df pNn]v e} xfnsf] ls=g+= n] af^f] g%'g] tyf ls=g+= 

109 sf] k"j{df kg]{ vf]N;L k"j{sf hUuf / cGo af^f] %'g] hUuf 

k|=s=?= 

2,50,000.F 

 #_ dfly pNn]v eP afx]s k|s/)f u klZrd ;f=ls=g+=33 sf] 

vf]N;L k"j{ gS;fsf] pQ/df kg]{ hUuf tyf cGo af^f]n] %'g] 

hUuf k|=s=? 

2,50,000.F 

 ª_ dfly pNn]v eP afx]s cGo v]tLof]Uo hUuf k|=s=?= 50,000.F 

ao/jg uf=lj=;= j*f g+= 9.; 

12   

 s_ ;f=ls=g++ 1 b]lv blIf)f 19 b]lv pQ/ d"n af^f] %'g] hUuf 

k|=s=?= 

6,00,000.F 

 v_ Kn^Lªsf hUuf k|=s=?= 2,75,000.F 

 u_ s df pNn]v e} xfnsf] ls=g+= n] af^f] g%'g] tyf cGo af^f] 

%'g] hUuf k|=s=?= 

2,50,000.F 

 #_ dfly pNn]v eP afx]s cGo v]tLof]Uo hUuf k|=s=?= 50,000.F 
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ao/jg uf=lj=;= j*f g+= 9.x 

13   

 s_ ;f=ls=g+=2, 3, 6, 7, 12, 13, 16, 17, 20, 21, 23 sf d"n 

af^f] %'g] bfof+ jfof+sf hUuf hUuf k|=s=?= 

6,00,000.F 

 v_ Kn^Lªsf hUuf k|=s=?= 2,75,000.F 

 u_ s df pNn]v e} xfnsf] ls=g+= n] af^f] g%'g] tyf cGo af^f] 

%'g] hUuf k|=s=?= 

2,50,000.F 

 #_ dfly pNn]v eP afx]s cGo v]tLof]Uo hUuf k|=s=?= 50,000.F 

ao/jg uf=lj=;= j*f g+= 9.! 

14   

 s_ ky/L z/)ffyL{ lzlj/af^ s]rgf hfg] d"naf^f] %'g] hUuf 

k|=s=? 

6,00,000.F 

 v_ Kn^Lªsf hUuf k|=s=?= 2,75,000.F 

 u_ s df pNn]v e} xfnsf] ls=g+= n] af^f] g%'g] tyf cGo af^f] 

-vf]nf],vf]N;L %'g] afx]s_ %'g] hUuf k|=s=?= 

2,00,000.F 

 #_ dfly pNn]v eP afx]s cGo v]tLof]Uo hUuf k|=s=?= 50,000.F 

ao/jg uf=lj=;= 

15   

 s_ ao/jg 9 Ans cGtu{t d"n ;*s -ufGwLYdgdf]xg_ nfO{ %'g] 

ao/jg 9.b, 9.w, 9.g sf d"n ;*sdf kg]{ hUufsf] bfof+ 

jfof+sf hUuf k|=s=?= 

3,50,000.F 

 v_ ao/jg 9 Ans cGtu{t d"n ;*s -ufGwLYdgdf]xg_ nfO{ %'g] 

ao/jg 9.s, 9.v, 9.#, 9P, 9P], 9n ;d]tsf cGo Anssf d"n 

;*sdf kg]{ hUufsf] bfof+ jfof+sf hUuf k|=s=?= 

2,75,000.F 

 u_ ao/jg uf=lj=;= j*f g+= 1 b]lv 9 ;Ddsf dflysf 

k|s/)fx?df k/]b]lv afx]ssf Knl^ªsf hUuf k|=s=?= 

2,50,000.F 

 #_ s / v df pNn]v e} xfnsf] ls=g+=n] af^f] g%'g] tyf pQm 

k|s/)fsf] cGo af^f]n] %'g] hUuf k|=s=?= 

1,75,000.F 

 ª_ dflysf k|s/)fx?df pNn]v eP afx]ssf ao/jg uf=lj=;= 

cGtu{tsf leqL zfvf af^f]n] %'g] hUuf k|=s=?= 

70,000.F 

 r_ ao/jg uf=lj=;= j*f g+= 1 b]lv 9 ;Dd dflysf 

k|s/)fx?df pNn]v ePsf hUufx? afx]sf cGo v]tLof]Uo hUuf 

k|=s=?= 

30,000.F 

12= afx'gL uf=lj=;= 
1   

 s_ j*f g+= 1.s *f+uLxf^af^ blIf)f hfg] af^f]sf] ;f=ls=g+= 96, 

97, 99, 103, 109, 110, 111 ;Dd / ls=g+= 35 b]lv 37 

;Dd nIdLdfu{Y;f]/fefu ;*ssf] bfof+ jfof+sf hUuf k|=s=?= 

3,50,000.F 

 v_ s df k/L xfnsf] ls=g+= n] af^f] g%'g] hUuf k|=s=?= 2,20,000.F 

 u_ afx'gL 2.s ;f=ls=g+= 60 b]lv ls=g+= 81 ;Dd ls=g+= 82 

b]lv 102 ;Ddsf hUuf k|=s=?= 

1,20,000.F 

 #_ afx'gL 2.s ;f=ls=g+= 3, 5, 6, 10, 11 / ls=g+= 14 b]lv 

29 ;Ddsf k"j{ tkm{sf hUuf k|=s=?= 

1,00,000.F 

 ª_ afx'gL 6.s rt/f d"n gx/sf] blIf)f tkm{ j*f g+= 29 b]lv 1,50,000.F 
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k'ntkm{ s/l;of gx/;Ddsf hUuf k|=s=?= 

 r_ afx'gL 6.s d"n gx/af^ k'/fgf] afx'gL ahf/ hfg] af^f]sf] 

bfof+ jfof+sf hUuf x'b} gSzf l;dfgf ;Ddsf hUuf k|=s=?= 

2,00,000.F 

 %_ afx'gL 7.s ;fªnL Ogf/b]lv klZrd ;f=ls=g+= 18 / 71 

;Dd bfof+ jfof+sf hUuf k|=s=?= 

2,00,000.F 

 h_ afx'gL 7.s afx'gL ahf/b]lv blIf)f d'ngx/ ;Ddsf bfof+ 

jfof+sf hUuf k|=s=?= 

2,00,000.F 

 em_ *f+uLxf^ 3.v sf] ;Ldfgfdf kg]{ af^f]n] %f]Psf hUuf k|=s=?= 1,20,000.F 

 `_ afx'gL uf=lj=;= cGtu{t j*f g+= 1.s, 1v, 2.v, 4.s, 4.v, 

5.s, 5.v, 7.v, 7.u, 8.s, 8.v, 8.u, 8.#, 8.r, 8.d, 9.s, 

9.ª, 9.h sf] d"n af^f], u|fe]naf^f]sf bfof+ jfof+sf hUuf k|=s=?= 

1,20,000.F 

 ^_ ` df k/L xfnsf] ls=g+= n] af^f] g%'g] hUuf k|=s=?= 70,000.F 

 &_ afx'gL uf=lj=;= cGtu{tsf Kn^Lª e} ljqmL x'g] hUuf k|=s=?= 1,25,000.F 

 `_ afx'gL uf=lj=;= cGtu{t dfly k|s/)fdf pNn]v ePb]lv afx]sf 

cGo 1 b]lv 9 ;Ddsf sRrL jf leqL gx/sf] af^f]n] %f]Psf 

hUuf k|=s=?= 

75,000.F 

 ^_ dfly k|s/)fdf pNn]v ePb]lv afx]s j*f g+= 1 b]lv 9 

;Ddsf v]tLof]Uo hUuf k|=s=?= 

30,000.F 

13=d[uf}lnof uf=lj=;=-xfn sf]zL x/}rf g=kf=_ 

d[uf}lnof j*f g+= 2.s 
1   

 s_ ;f=ls=g+= 115, 116 k'j{ gSzf l;dfgf ;Dd gSzfsf] af^f]n] %'g] 

hUufsf] k|=s=?= 

3,00,000.F 

 v_ k|s/)f s df pNn]v ePsf ;f=ls=g+=n] af^f] %'g] xfnsf] ls=g+=n] 

af^f] g%'g] hUuf k|=s=? 

2,00,000. 

 u_ k|s/)f s / v df pNn]v eP afx]s gSzfsf] af^f] %'g] cGo 

hUufx? k|=s=? 

1,20,000. 

d[uf}lnof j*f g+= 3.s 
2   

 s_ d[uf}lnof 3.s sf] blIf)f l;dfgf k'j{ b]lv klZrd ;Dd x'nfsL 

dfu{n] %'g] hUufsf] k|=s=?= 

2,50,000. 

 v_ k|s/)f s df pNn]v ePsf ;f=ls=g+=n] af^f] %'g] xfnsf] ls=g+=n] 

af^f] g%'g] hUuf k|=s=? 

1,50,000. 

 u_ k|s/)f s / v df pNn]v eP afx]s gSzfsf] af^f] %'g] cGo 

hUufx? k|=s=? 

1,20,000. 

d[uf}lnof j*f g+= 3.u 
3   

 s_ d[uf}lnof 3.u sf] pQ/ l;dfgf k'j{ b]lv klZrd ;Dd x'nfsL 

dfu{n] %'g] hUufsf] k|=s=?= 

2,50,000. 

 v_ k|s/)f s df pNn]v ePsf ;f=ls=g+=n] af^f] %'g] xfnsf] ls=g+=n] 

af^f] g%'g] hUuf k|=s=? 

1,50,000. 

 u_ k|s/)f s / v df pNn]v eP afx]s gSzfsf] af^f] %'g] cGo 

hUufx? k|=s=? 

1,20,000. 

d[uf}lnof j*f g+= 7.s 
4   



48 

 

 s_ ;f=ls=g+= 1 b]lv blIf)f 29, 30 x'+b} gS;f ;Ldfgf;Dd -62 ;Dd_ 

hUuf k|=s=?= 

5,00,000.F 

 v_ ;f=ls=g+= 3 b]lv blIf)f ;f=ls=g+= 36 x'+b} ;f=ls=g+= 31 ;Dd af^f] 

%'g] hUuf k|=s=?= 

3,00,000.F 

 u_ k|s/)f s df k/L ;f=ls=g+= n] af^f] %'g] xfnsf] lsQfn] af^f] 

g%'g] hUuf / ;f=ls=g++ 15, 6 b]lv blIf)f ;f=ls=g+= 33 ;Ddsf hUuf 

k|=s=?= 

3,00,000.F 

 #_ k|s/)f v df k/L ;f=ls=g+= n] aF^f] %'g] xfnsf lsQfn] af^f] 

g%'g] hUuf k|=s=?= 

2,00,000.F 

 ª_ d[uf}lnof 7.s cGtu{tsf Kn^Lªsf hUuf k|=s=?= 2,50,000.F 

 r_ dfly k|s/)fx?df pNn]v eP afx]s ;f=ls=g+=21, 22, 23 sf] hUuf 

k|=s=?= 

1,50,000.F 

 %_ dflysf k|s/)fx?df pNn]v eP afx]ssf leqL sRrL af^f]n] %'g] 

hUuf k|=s=?= 

1,20,000.F 

d[uf}lnof j*f g+= 8.s 
5   

 s_ gS;fsf] k"j{df kg]{ af^f] cGtu{t ;f=ls=g+= 4 af^ blIf)f ;f=ls=g+= 

24 ;Dd af^f]n] %'g] hUufsf] k|=s=?= 

5,00,000.F 

 v_ k|s/)f s df pNn]v e} ;f=ls=g+= n] ;f] af^f] %'g] xfnsf] lsQfn] 

;f] af^f] g%'g] hUufsf] / ;f=ls=g+= 24 %f*L ;f]b]lv pQ/ ;f=ls=g+=1, 

3 ;d]t blIf)f sf hUuf k|=s=?  

3,00,000.F 

 u_ uf]&ufpm+ rf]s b]lv blIf)f lkknjf]^ x'+b} k'/fgf] d[uf}lnof uf=lj=;=sf] 

ejg hfg] af^f] ls=g+=133 ;Ddsf hUuf k|=s=?= 

3,50,000.F 

 #_ ;f=ls=g+= 24 %f*L ;f]b]lv blIf)f ;f=ls=g+= 133 x'+b} ;f=ls=g+= 166, 

167 ;Ddsf af^f]sf bfof+ jfof+sf hUufsf] k|=s=?= 

2,50,000.F 

 ª_ k|s/)f u df k/L ;f=ls=g+= n] ;f] af^f] %'g] xfnsf lsQfn] g%'g] 

hUufsf] / Kn^Lª jf Kn^Lªsf nflu v/Lb x'g] hUufsf] k|=s=?= 

2,50,000.F 

 r_ leqL af^f], sRrL af^f]n] %'g] hUuf k|=s=?= 1,20,000.F 

d[uf}lnof j*f g+= 8.v 
6   

 s_ ;f=ls=g+= 1 b]lv blIf)f ;f=ls=g+= 104 ;Dd af^f]sf bfof+ jfof+sf 

hUufsf] k|=s=?= 

5,00,000.F 

 v_ ;f=ls=g+= 18, 19 ;d]t b]lv blIf)f ;f=ls=g+= 150 ;Dd af^f]sf 

bfof+ jfof+sf hUuf k|=s=?= 

5,00,000.F 

 u_ k|s/)f s, v df k/L ;f=ls=g+= n] af^f] %'g] xfnsf] lsQfn] af^f] 

g%'g] hUufsf] k|=s=?= 

2,50,000.F 

 #_ d[uf}lnof 8.v cGtu{t Kn^Lª jf Kn^Lªsf nflu vl/b x'g] hUufsf] 

k|=s=?= 

2,50,000.F 

 ª_ dfly k|s/)f df pNn]v eP afx]s ls=g+=3, 4, 8, 10 b]lv blIf)f 

ls=g+=6, 45, 38, 118, 119, 124, 125, 12, 13, 14, 15, 218, 

146, 130, 134, 135 ;d]t Pl/of leqsf hUuf k|=s=? 

1,20,000.F 

 r_ dfly k|s/)fx?df pNn]v eP afx]s ;f=ls=g+= 3, 4, 8, 10 ;d]t 

b]lv blIf)f ;f=ls=g+=13, 12, 14, 15, 139, 45, 18, 130, 134, 135 

;d]t ;Ddsf hUuf k|=s=?= 

1,20,000.F 

 %_ dfly pNn]v eP afx]s leqL sRrL af^F]n] %f]Psf hUuf k|=s=?= 1,20,000.F 

d[uf}lnof j*f g+= 9.s 
7   

 s_ d[uf}lnof 9.s cGtu{t kg]{ /fhdfu{ bfof+ jfof+sf ;f=ls=g+=sf 22,00,000.F 
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/fhdfu{ %'g] hUuf k|=s=?= 

 v_ k|s/)f s df pNn]v ePsf] /fhdfu{n] %'g] lsQf %f*L ;f]b]lv 300 

lkm^ pQ/ blIf)fsf hUuf k|=s=?= 

16,50,000.F 

 u_ k|s/)f s, v df k/] afx]s pNn]lvt ;f=ls=g+=sf af+sL ;Dk")f{ 

hUufsf] k|=s=?= 

11,00,000.F 

 #_ k|s/)f s / v df pNn]v eP afx]s /fhdfu{ pQ/ ljZjljBfno 

hfg] b]jL axfb'/ a:g]t ^f]nsf] lkraf^f]n] %'g] d[uf}lnof 9.s ;Ldfgf 

;Ddsf hUuf / ;f=ls=g=158 sf] hUuf k|=s=?= 

12,00,000.F 

 ª_ k|s/)f # df pNn]v ePsf ;f] lkraf^f] %'g] lsQf %f*L ;f] k"j{ 

klZrd 300 lkm^ leqsf hUufsf] k|=s=?= 

9,00,000.F 

 r_;f=ls=g=158 sf] hUuf k|=s=?= 12,00,000.F 

 %_ k|s/)f # / ª df pNn]v ePsf ;f=ls=g+= sf af+sL hUufsf] k|=s=?= 7,00,000.F 

 h_ /fhdfu{ pQ/ ;f=ls=g+= 68 b]lv pQ/ ;f=ls=g+= 64 ;Dd 

d"naf^f]n] %'g] hUufsf] k|=s=?= 

9,00,000.F 

 em _ k|s/)f % df k/L ;f=ls=g+= n] ;f] af^f] %'g] xfnsf] lsQfn] af^f] 

g%'g] hUufsf] k|=s=?= 

7,00,000.F 

 `_ tLgd'*] hfg] af^f]sf] ;f=ls=g+= 123 %f*L ;f] blIf)f ;f=ls=g+= 117,  

;Dd af^f]sf] bfof+ jfof+sf hUuf k|=s=?= 

10,00,000.F 

 ^_ k|s/)f ` df k/L ;f=ls=g+= n] ;f] af^f] %'g] xfnsf] lsQfn] g%'g] 

hUufsf] k|=s=?= 

9,00,000.F 

 &_ ;f=ls=g+= 129, 136 b]lv blIf)f ;f=ls=g+= 156, 138 ;Ddsf hUuf 

k|=s=?= 

9,00,000.F 

 *_ dfly k|s/)fx?df pNn]v eP afx]s ;f=ls=g+= 153, 151 b]lv blIf)f 

;f=ls=g+= 159, 160, 164, 149 ;Ddsf hUuf k|=s=?= 

6,00,000.F 

 )F_ dfly k|s/)fx?df pNn]v eP afx]s ;f=ls=g+= 5, 4 b]lv blIf)f 

14, 16 b]lv pQ/sf hUuf k|=s=?= 

4,50,000.F 

 t_ ;f=ls=g+= 93, 69 b]lv blIf)f 92, 74 b]lv pQ/sf hUuf k|=s=?= 7,00,000.F 

 y_ dfly k|s/)fx?df pNn]v eP afx]s ;f=ls=g+= 42, 63 ;d]tb]lv 

blIf)f 93, 69 %f*L ;f] pQ/sf hUufsf] k|=s=?= 

6,00,000.F 

 b_ dfly k|s/)fx?df pNn]v eP afx]s d[uf}lnof 9.s cGtu{t Kn^Lª 

jf Kn^Lªsf nflu v/Lb x'g] hUufsf] k|=s=?= 

2,50,000.F 

 w_ dfly pNn] eP jfx]s lelq sRrLjf^f]n] %f]Psf hUuf k|=s=?= 120,000.F 

 g_ dfly k|s/)F x?df pNn]v ePb]lv jfx]ssf cGo lelq hUuf k|=s=?= 50,000.F 

d[uf}lnof j*f g+= 9.v 
8   

 s_ d[uf}lnof 9.v cGtu{t /fhdfu{sf] bfof+ jfof+sf hUuf k|=s=?= 22,00,000.F 

 v_ k|s/)f s df pNn]v eP afx]s ;f=ls=g+= n] /fhdfu{ %'g] xfnsf] 

lsQfn] /fhdfu{ g%'g] hUufsf] k|=s=?= 

16,50,000.F 

 u_ ;nsk'/ rf]s pQ/ /fhdfu{ %'g] ;f=ls=g+= %f*L ;f] pQ/ (sfnrf}s 

;Ddsf hUuf k|=s=?= 

15,00,000.F 

 #_ (sfnrf}s %f*L ;f] pQ/ gS;f ;Ldfgf;Dd d"naf^f] %'g] hUuf 

k|=s=?= 

11,00,000.F 

 ª_ k|s/)f u df pNn]v ePsf] ;f=ls=g+= n] ;f] af^f] %'g] xfnsf] lsQfn] 

;f] af^f] g%'g] hUufsf] k|=s=?= 

9,00,000.F 

 r_ k|s/)f # df pNn]v ePsf] ;f=ls=g+= n] ;f] af^f] %'g] xfnsf] lsQfn] 

;f] af^f] g%'g] hUufsf] k|=s=?= 

7,00,000.F 

 %_ dfly k|s/)fx?df pNn]v eP afx]s (sfn rf}saf^ k"j{ gS;f 

;Ldfgf;Dd (sfn rf}saf^ klZrd ls=g+= 240 x'+b} ;f] blIf)f 72,73 

9,00,000.F 
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;Ddsf hUuf k|=s=?= 

 h_ k|s/)f % df pNn]v ePsf] ;f=ls=g+= n] ;f] af^f] %'g] t/ xfnsf] 

lsQfn] af^f] g%'g] hUufsf] k|=s=?= 

7,00,000.F 

 em_ dfly k|s/)fdf pNn]v eP afx]s gS;fsf] k"j{ ;Ldfgfdf kg]{ lkknrf}s 

af^ pQ/ gS;f ;Ldfgf ;Dd d"naf^f] %'g] hUuf k|=s=?= 

9,00,000.F 

 `_ k|s/)f em df pNn]v eP afx]s ;f=ls=g+= n] ;f] d"naf^f] %'g] xfnsf] 

lsQfn] ;f] af^f] g%'g] hUuf  k|=s=?= 

7,00,000.F 

 ^_ /fhdfu{ blIf)f dfly k|s/)f v df pNn]v ePsf lsQf %f*L ;f] 

blIf)fsf ;Dk")f{ hUufsf] k|=s=?= 

7,00,000.F 

 &_ dfly k|s/)fx?df pNn]v eP afx]s ;nsk'/af^ pQ/ hfg] af^f] / 

lkknrf}saf^ pQ/ hfg] af^f] g%'g] oL 2 af^f] aLrsf ;f=ls=g+= sf 

hUufx?sf] k|=s=?= 

7,00,000.F 

 *_ ;f=ls=g+= 1 b]lv k"j{ gS;f ;Ldfgf;Dd k"j{ klZrdsf] af^f]n] %'g] 

hUufsf] k|=s=?= 

6,00,000.F 

 (_ dfly k|s/)f * df pn]v eP afx]s xfnsf] lsQfn] ;f] k"j{ klZrdsf] 

af^f] g%'g] hUufsf] / ;f=ls=g+= 2 b]lv k"j{ ;f=ls=g+= 8, 9, 10, 11 

;Ddsf hUufsf] k|=s=?= 

4,50,000.F 

 )f_ dfly k|s/)fx?df pNn]v eP afx]s d[uf}lnof 9.v cGtu{t leqL af^f], 

Kn^Lª jf Kn^Lªsf nflu v/Lb x'g] hUufsf] k|=s=?= 

2,50,000.F 

 t_ dfly pNn] eP jfx]s lelq sRrLjf^f]n] %f]Psf hUuf k|=s=?= 120,000.F 

 y_ dfly k|s/)F x?df pNn]v ePb]lv jfx]ssf cGo lelq hUuf k|=s=?= 50,000.F 

d[uf}lnof j*f g+= 9.u 
9   

 s_ ;f=ls=g+= 1 b]lv 6 ;Dd / 15, 16 sf /fhdfu{ %'g] hUufsf] 

k|=s=?= 

16,50,000.F 

 v_ k|s/)f s df pNn]v eP afx]s ;f=ls=g+= n] /fhdfu{ %'g] xfnsf] 

lsQfn] /fhdfu{ g%'g] hUufsf] k|=s=?= 

11,00,000.F 

 u_ ;f=ls=g+= 21, 22 b]lv blIf)f ;f=ls=g+= 19, 26 ;Ddsf] d"naf^f]n] 

%'g] hUufsf] k|=s=?= 

8,00,000.F 

 #_ k|s/)f u df pNn]v ePsf lsQf %f*L ;f=ls=g+= n] ;f] aF^f] %'g] 

xfnsf] lsQfn] ;f] af^f] g%'g] hUufsf] k|=s=?= 

6,00,000.F 

 ª_ ;f=ls=g+= 69, 70, 71, 72, 73, 74 sf hUufsf] k|=s=?= 7,00,000.F 

 r_ dfly pNn]v eP afx]s ;f=ls=g+= 68, 75, 78 b]lv blIf)f 

;f=ls=g+= 85, 87 ;Ddsf hUuf 

3,50,000.F 

 %_ ;f=ls=g+= 91, 92 b]lv blIf)f ;f=ls=g+= 96, 98 ;Ddsf hUuf 

k|=s=?= 

3,50,000.F 

 h_ ;f=ls=g+= 29 b]lv k"j{ ;f=ls=g+= 40, 46 x'+b} ;f=ls=g+= 64, 57 

;Ddsf hUuf k|=s=?= 

3,50,000.F 

 em_ ;f=ls=g+= 27 k"j{ ;f=ls=g+= 49, 95 x'+b} ;f=ls=g+= 50, 55, 89 

;Ddsf hUuf k|=s=?= 

2,50,000.F 

 `_ dfly k|s/)fx?df pNn]v eP afx]s ;f=ls=g+= 20 b]lv klZrd 14 

b]lv bIfL)F ls=g= 11   ;Ddsf hUufsf] k|=s=?= 

6,00,000.F 

 ^_ Kn^Lªsf hUuf k|=s=?= 2,50,000.F 

 &_ dfly pNn] eP jfx]s lelq sRrLjf^f]n] %f]Psf hUuf k|=s=?= 120,000.F 

 *_ dfly k|s/)F x?df pNn]v ePb]lv jfx]ssf cGo lelq hUuf 

k|=s=?= 

50,000.F 

d[uf}lnof j*f g+= 9.# 
10   
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 s_ ;f=ls=g+= 26 b]lv 64 ;Dd u|fe]n af^f]n] %'g] klZrd tkm{sf 

hUuf k|=s=?= 

4,00,000.F 

 v_ ;f=ls=g+= 15 b]lv 31 ;Ddsf u|fe]n af^f] %'g] bfof+ afof+sf hUuf 

k|=s=?= 

4,00,000.F 

 u_ Kn^Lªsf hUuf k|=s=?= 2,50,000.F 

 #_ s df pNn]v e} xfnsf] ls=g+= n] af^f] g%'g] tyf cGo 

af^f] %'g] hUuf k|=s=?= 

1,50,000.F 

d[uf}lnof j*f g+= 9.r 
11   

 s_ gS;fsf] pQ/df kg]{ klZrd ;Ldfgfb]lv k"j{sf xfnsf] ls=g+= 680 ;Dd 

k"j{ klZrdsf]  lkraf^f]n] %'g] hUuf k|=s=?= 

15,00,000.F 

 v_ dfly pNn]v eP afx]ssf ;f=ls=g+= 29 / 30 b]lv pQ/ gS;f 

;Ldfgf;Ddsf lkrfaf^f]n] %'g] hUuf k|=s=?= 

11,00,000.F 

 u_ uf]&ufp+af^ ljZj ljBfno hfg] ;f=ls=g+= 7 b]lv pQ/ gS;f 

;Ldfgf;Dd lkr af^f]n] %'g] hUuf k|=s=?= 

11,00,000.F 

 #_ k|s/)f v,u df pNn]v eP afx]s k|s/)f s df pNn]v ePsf] 

lsQf %f*L ;f]af^ 300 lkm^ leqsf hUuf k|=s=?= 

9,00,000.F 

 ª_ k|s/)f s sf] k"j{sf] ;Ldfgfb]lv k"j{ gS;f ;Ldfgf;Dd k"j{ 

klZrdsf] af^f]n] %'g] hUuf k|=s=?= 

6,00,000.F 

 r_ dlfy pNn]v eP afx]s xfnsf ls=g+= 626 sf] klZrddf kg]{ af^f]n] 

%'g] bfof afofsf gS;f ;Ldfgf;Ddsf hUuf k|=s=?= 

7,00,000.F 

 %_ k|s/)f v / u df pNn]v ePsf lsQf %f*L ;f]af^ 300 lkm^ 

leqsf hUuf k|=s=?= 

7,00,000.F 

 h_ dfly pNn]v eP afx]s k|s/)f u / r, v / r sf aLrdf kg]{ 

af+sL hUufsf] k|=s=?= 

5,50,000.F 

 em_ ;f=ls=g+= 18, 19, 20, 21, 22 sf] d"naf^f]n] %'g] hUufsf] 

k|=s=?= 

8,00,000.F 

 `_ dfly k|s/)f em df kl/ ;f=ls=g+=n] ;f] af^f]n] %'g] xfnsf] ls=g+=n] 

g%'g] hUuf k|=s=?= 

5,50,000.F 

 ^_ k|s/)f ª df pNn]v eP afx]ssf ;f=ls=g+= 13, 15, 16 sf af+sL 

hUuf k|=s=?= 

5,50,000.F 

 &_ dfly pNn]v eP afxssf ;f=ls=g+= 40, 39 b]lv klZrd ;f=ls=g+= 

32, 33, 35 b]lv pQ/sf af+sL hUuf k|=s=?= 

4,50,000.F 

 *_ Kn^Lªsf hUuf k|=s=?= 2,50,000.F 

 (_ cGo af^f] %'g] hUuf k|=s=?= 2,00,000.F 

d[uf}lnof uf=lj=;= 
12   

 s_ uf]&ufp+ b]lv blIf)f d[uf}lnof ahf/ hfg] d'naf^f]n] %'g] dfly 

pNn]v eP afx]s hUufx? / x'nfsL dfu{n] %'g] hUufx? k|=s=? 

 

2,00,000.F 

 v_ dfly k|s/)fx?df pNn]v eP afx]s j*f g+= 1 b]lv 9 ;Ddsf 

Kn^Lª jf Kn^Lªsf nflu v/Lb x'g] hUufs]f k|=s=?= 

2,00,000.F 

 u_ dfly k|s/)fx?df pNn]v eP afx]s j*f g+= 1 b]lv 9 ;Ddsf 

sRrL, leqL af^f]n] %'g] hUufsf] k|=s=?= 

1,25,000.F 

 #_ dfly pNn]v eP afx]s d[uf}lnof uf=lj=;= cGtu{tsf v]tLof]Uo 

hUuf k|=s=?= 

40,000.F 

14=dw'dNnf uf=lj=;= 

dw'dNnf uf=lj=;= j*f g+= 1.s 
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1   

 s_ dw'dNnf 1s sf] gS;fsf] pQ/ tkm{ af^f]  %'g] e)*f/L rf}s b]vL 

k'j{ gS;f l;dfgf ;Ddsf hUUff  k|=s=? 

3,50,000.F 

 v_ dw'dNnf 1s cGtuf{t Knl^ªsf hUUff k|=s=? 2,50,000.F 

 u_ dfly k|s/)f -s_ df pNn]v ePsf] ;f=ls=g+=n] ;f]af^f] %'g] xfnsf] 

lsQfn] g%'g] hUuf k|=s=?= 

2,25,000.F 

 #_ dw'dNnf 1s  cGtu{t dfly pNn]v eP afx]s af^f] %'g] hUufx? 

k|=s=?= 

1,75,000.F 

dw'dNnf uf=lj=;= j*f g+= 1.v 
2   

 s_ xfnsf] ls=g+= 204 / 207 b]lv pQ/ gS;f l;dfgf;Dd pnf{jf/LY 

dw'dNnf af^f]n] %'g] hUuf k|=s=?= 

11,50,000. 

 v_ dw'dNnf 1.v cGtu{tsf ;f=ls=g+= 56 sf^ e} sfodL lsQf g+= 

723, 630 %f]*L ;f]b]lv pQ/ ls=g+= 204 / 207 %f*L blIf)f 

pnf{jf/LYdw'dNnf d'n af^f]n] %'g] hUuf k|=s=?= 

 

9,00,000.F 

 u_ ;f=ls=g+= 138 b]lv blIf)fls=g+= 51, 13, 15, 16, 50 %f*L ;f] 

k"j{ lsQf g+= 373, 366, 335 %f*L ;f] pQ/sf dfly pNn]v eP 

afx]ssf hUuf k|=s=?= 

7,00,000.F 

 #_ dflysf k|s/)fx?df pNn]v eP afx]s ls=g+= 723, 630  b]lv 

blIf)f gS;f l;dfgf;Dd pnf{jf/LYdw'dNnf ;*sn] %'g] hUuf k|=s=?= 

5,00,000.F 

 ª_ k|s/)f -u_ df kl/ ;fljs lsQfn] ;f] af^f] %'g] xfnsf] lsQfn] 

g%'g] hUuf k|=s=?= 

3,00,000.F 

 r_ lsQf g+= 78, 4, 6, 26, 20, 48 %f*L ;f] k"j{ 

pnf{jf/LYdw'dNnf ;*s klZrdsf dfly pNn]v eP afx]ssf hUufx? 

k|=s=?= 

3,50,000.F 

 %_ dfly pNn]v eP afx]ssf dw'dNnf 1.v cGtu{tsf Kn^Lªsf hUuf 

k|=s=?= 

2,50,000.F 

 h_ dfly pNn]v eP afx]ssf cGo af^f]n] %'g] hUuf k|=s=?= 1,75,000.F 

 em_ dfly pNn]v eP afx]ssf lsQf g+= 48 sf] vf]N;f] klZrd ls=g+= 

29 %f*L ;f] k"j{sf hUufx? k|=s=?= 

1,50,000.F 

 `_ dflysf k|s/)fdf k/]b]lv afx]ssf v]tLof]Uo hUuf k|=s=?= 50,000.F 

dw'dNnf 1.u 
3   

 s_ dw'dNnf 1u cGt{ut pnf{af/L dw'dNnf af^f]n] %'g] hUUFf k|=s=?= 3,50,000.F 

 v_ dfly pNn]v eP afx]ssf dw'dNnf 1u cGt{ut Knl^ªsf hUuf 

k|=s=?= 

2,50,000.F 

 u_ dfly pNn]v eP afx]ssf k|s/)f s sf af+sL hUufx? k|=s=?= 1,75,000.F 

 #_ dfly pNn]v eP afx]ssf dw'dNnf 1u cGt{ut cGo af^f] %'g] 

hUuf k|=s=? 

1,75,000.F 

dw'dNnf uf=lj=;= j*f g+= 1.ª 
4   

 s_ 1ª cGtu{t dw'dNnf tf]/Laf/L d"n ;*sn] %'g] hUuf k|=s=?= 17,00,000.F 

 v_ ls=g+= 342 sf] klZrddf kg]{ /fwfs[i)f dlGb/ nfOgsf] af^f]n] %'g] 

dfly pNn]v eP afx]ssf hUuf k|=s=?= 

12,50,000.F 

 u_ dfly pNn]v eP afx]ssf ls=g++ 226 sf] klZrddf kg]{ lkmNdxnsf] 

af^f]n] %'g] / lkmNdxnsf] af^f] klZrdsf ;Dk")F{ hUufx? k|=s=?= 

10,50,000.F 

 #_ dfly pNn]v eP afx]ssf x]Nykf]i^ nfOgsf] af^f]n] %'g] / ;f] af^f] 9,50,000.F 
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klZrdsf ;Dk")f{ hUufx? k|=s=?= 

 ª_ pNnfjf/L dw'dNnf af^f] k"j{ dw'dNnf ahf/af^ bds ahf/ hfg] af^f] 

pQ/ ls=g+=641, 356, 9 b]lv klZrd blIf)f ls=g+=638 %f*L klZrdsf hUuf 

k|=s=?= 

5,50,000. 

 r_ dfly pNn]v eP afx]s dw'dNnf 1.ª sf Knl^ªsf hUuf k|=s=?= 3,00,000.F 

 %_ dfly pNn]v eP afx]ssf ls=g+= 483, 487 %f*L ;f] pQ/ 

ls=g+=40 %f]*L ;f] klZrd, ls=g+=470, 471, 877 %f*L ;f] blIf)fsf 

hUufx? k|=s=?= 

2,50,000.F 

 h_ dfly pNn]v eP afx]s ls=g+= 448 b]lv klZrd 483, 487 

;d]t ;f] blIf)fsf hUufx? k|=s=?= 

1,50,000.F 

 em_ dfly pNn]v eP afx]ssf ls=g+=470, 471, 877 b]lv pQ/ 

ls=g+=40 %f*L  ;f] klZrd hUufx? k|=s=?= 

1,50,000.F 

 `_ dfly pNn]v eP afx]ssf 1ª cGtu{t af^f]n] %'g] hUuf k|=s=?= 1,00,000.F 

dw'dNnf uf=lj=;= j*f g+= 1.%  
5   

 s_ dw'dNnf tf]/Laf/L d"naf^f] -gS;fsf] klZrdkl§_ %'g] hUuf k|=s=?= 12,50,000.F 

 v_ dfly pNn]v eP afx]ssf ls=g+=107, 185 b]lv blIf)f ls=g+=145, 

202 ;Dd gS;fsf] &f*f] af^f]n] %'g] hUufx? k|=s=?= 

10,00,000.F 

 u_ dw'dNnf 1.% sf k|s/)f -s_ / -v_ df pNn]v eP afx]ssf 

;Dk")f{ hUufx? k|=s=? 

6,00,000.F 

dw'dNnf uf=lj=;= j*f g+= 2.v 
6   

 s_ dw'dNnf 2.v sf] gS;fsf] blIf)f tkm{sf] af^f]nfO{ %'g] hUufx? k'j{ 

b]vL klZrddf e)*f/L rf}s ;Ddsf hUUff k|=s=?= 

3,50,000.F 

 v_ dfly pNn]v eP b]lv afx]ssf dw'dNnf 2.v sf] Kn^Lªsf 

hUufx? k|=s=? 

2,75,000.F 

 u_ k|s/)f -s_ df kl/ ;f=ls=g+= n] af^f] %'g] xfnsf] lsQfn] af^f] 

g%'g] hUufx? k|=s=?= 

2,25,000.F 

 #_ dfly pNn]v eP b]lv afx]ssf dw'dNnf 2.v sf] af^f] %'g] hUuf 

k|=s=? 

1,75,000.F 

dw'dNnf uf=lj=;= j*f g+= 2.u 
7   

 s_ dw'dNnf tf]/Laf/L /lj af^f]n] %'g] hUufx? k|=s=?= 3,50,000.F 

 v_ 2.u sf Kn^Lª hUufx? k|=s=?= 2,25,000.F 

 u_ 2.u sf] cGo af^f] %'g] hUUff k|=s=? 1,75,000.F 

 #_ k|s/)f s df kl/ ls=sf x'+b} k%f*L k/]sf hUuf k|=s=? 1,00,000.F 

dw'dNnf uf=lj=;= j*f g+= 2.# 
7   

 s_ dw'dNnf tf]/Laf/L /lj af^f]n] %'g] hUufx? k|=s=?= 3,50,000.F 

 v_ 2.# sf Kn^Lª hUufx? k|=s=?= 2,25,000.F 

 u_ 2.# sf] cGo af^f] %'g] hUUff k|=s=? 1,75,000.F 

 #_ k|s/)f s df kl/ ls=sf x'+b} k%f*L k/]sf hUuf k|=s=? 1,00,000.F 

dw'dNnf uf=lj=;= j*f g+= 2.ª 
8   

 s_ dw'dNnf 2.ª cGtu{t u|fj]n af^f] %'g] hUufx? k|=s=?= 1,75,000.F 

 v_ dw'dNnf 2.ª cGtu{t Knl^ªsf hUUff k|=s=? 1,75,000.F 

 v_ dfly pNn]v eP afx]s 2.ª sf cGo af^f] %'g]] hUuf ?= 1,00,000.F 
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dw'dNnf uf=lj=;= j*f g+= 3.s, 3u, 3ª, 3r 
9   

 s_ dw'dNnf 3.s, 3u, 3ª, 3r cGtu{t Knl^ªsf hUuf k|=s=?=  2,75,000.F 

 v_ dw'dNnf 3.s, 3u, 3ª, 3r cGtu{t af^f] %'g] hUuf k|=s=?=  1,50,000.F 

dw'dNnf uf=lj=;= j*f g+= 3.v 
10   

 s_ dw'dNnf 3.v cGtu{t gS;fsf] blIf)f ;Ldfgf j:tLaf^ pQ/ gS;f 

;Ldfgf;Dd pnf{jf/L dw'dNnf ;*sn] %'g] 150 kmL^ ;Ddsf hUuf 

k|=s=?= 

4,50,000.F 

 v_ dfly pNn]v eP afx]s dw'dNnf 3.v cGtu{t Kn^Lªsf hUuf 

k|=s=?= 

2,50,000.F 

 u_ k|s/)f s df kg]{ hUuf %f*L ;f]af^ 300 kmL^ leqsf hUuf 

k|=s=?= 

1,75,000.F 

 #_ dw'dNnf 3.v cGtu{t leqL sRrL af^f]n] %'g] hUuf k|=s=?= 1,75,000.F 

 ª_ dflysf k|s/)fdf k/]b]lv afx]ssf v]tLof]Uo hUuf k|=s=?= 50,000.F 

dw'dNnf j*f g+= 5.s 
11   

 s_ dw'dNnf 5s cGt{ut Knl^ªsf hUuf k|=s=?= 2,50,000.F 

 v_ dw'dNnf 5s cGt{ut cGo af^f]n] %'g] hUuf k|=s=? 1,20,000.F 

dw'dNnf uf=lj=;= j*f g+= 5.v 
12   

 s_ dw'dNnf 5.v ;f=ls=g+= 59 ;d]t blIf)f dw'dNnf pnf{jf/L af^f]n] 

%'g] ;Dk")F{ sfodL ls=g+= x? / ;f=ls=g+= 60, 74, 71, 73 ;d]tsf 

hUuf k|=s=?= 

12,00,000.F 

 v_ dfly pNn]v eP afx]ssf 5v cGtu{t t?)frf}s b]lv klZrd hfg] 

d"n af^f]n] %'g] hUufx? k|=s=?= 

7,50,000.F 

 u_ dw'dNnf 5.v ;fljs ls=g+= 11, 12, 14, 15, 16, 35, 46, 47, 

51, 52, 55, 58, 61, 65, 66, 67, 68, 71, 73, 97 / ;f=ls=g+= 

72 ls=sf= e} sfodL ls=g+= 273 / ;f=ls=g+= 60 sf^ e} sfodL 

ls=g+= 276 b]lv pQ/ / ;f=ls=g+= 73 sf] k}gLb]lv k"j{ / blIf)fdf kg]{ 

;Dk")f{ lsQf hUufx? k|=s=?= 

5,50,000.F 

 #_ dfly pNn]v eP afx]ssf 5.v sf Kn^Lª u/]/ ljqmL x'g] hUuf 

k|=s=?= 

2,50,000.F 

 ª_ dfly pNn]v eP afx]ssf dw'dNnf 5.v cGtu{t leqL sRrL af^f]n] 

%'g] hUuf k|=s=?= 

2,25,000.F 

 r_ dfly pNn]v eP afx]ssf 5.v sf v]tLof]Uo hUuf k|=s=?= 50,000.F 

dw'dNnf uf=lj=;= j*f g+= 5.u 
13   

 s_ dw'dNnf 5.u cGtu{t ;f=ls=g+= 97 b]lv pQ/ ;f=ls=g+= 795 b]lv 

blIf)f pnf{jf/LYdw'dNnf /f]* %'g] hUuf k|=s=?= 

12,00,000.F 

 v_ k|s/)F s df pNn]v ePsf ;f=ls=g sf af¤sL hUUff tyf 

;f=ls=g= 91, 92, 94 ;d]tsf hUUffsf] k|=s=?  

9,50,000.F 

 u_ ;f=ls=g+= 37, 33 b]lv pQ/ gS;f ;Ldfgf;Dd dw'dNnf pnf{jf/L 

af^f]sf bfof+ jfof sf hUuf k|=s=?= 

8,50,000.F 

 #_ dfly pNn]v eP afx]ssf ;f=ls=g+=38 sf] vf]N;f] klZrdsf 

hUufx? k|=s=?= 

6,50,000.F 

 ª_ ;f=ls=g= 98 b]vL k'j{ ;f=ls=g= 100 / 103 ;d]t / ;f] klZrd 6,00,000.F 
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;f=sL=g= 100 ;d]t ;f] ;d]t b]vL blIf)Fsf hUuf k|=s=? 

 r_ ;f=ls=g 90 / 101 ;d]t b]lv pQ/ ;f=ls=g 102, 82, 81, 76 

;d]t b]vL klZrdsf hUuf tyf ;f=ls=g+=39 b]lv 43, ;f=ls=g+=14, 

46, 47 %f*L ;f] klZrdsf dfly pNn]v eP afx]s hUUff k|=s=? 

5,50,000.F 

 %_ k|s/)F -u_ df pNn]v eP afx]s ;f=ls=g= 33, 29 b]vL pQ/ 

;f=ls=g+= n] pnf{af/L dw'dNnf /f]*%'g] xfnsf] lsQfn] g%'g] hUuf / 

pnf{af/L dw'dNnf /f]* kZrLdsf ;Dk')F{ hUUff k|=s=?  

5,00,000.F 

 h_ dfly pNn]v eP afx]s ;f=ls=g+ 107 sf] k}gL klZrdsf ;Dk')F{ 

hUUff k|=s=? 

3,50,000.F 

 em_ dfly pNn]v eP afx]ssf 5u cGtu{tsf Knl^ªsf hUufx? 

k|=s=?= 

2,50,000.F 

 `_ dfly pNn]v eP afx]s ;f=ls=g+ 107 sf] k}gL n] %'g] k}gL k'j{sf 

hUUff k|=s=? 

1,75,000.F 

 ^_ dfly pNn]v eP afx]s dw'dNnf 5u cGtu{t cGo af^f]n] %'g] 

hUuf k|=s=?= 

1,75,000.F 

 &_ 5.u dfly pNn]v eP afx]ssf v]tLof]Uo hUuf k|=s=?= 50,000.F 

dw'dNnf uf=lj=;= j*fg+= 5.# 
14   

 s_ ;f=ls=g+= 70, 74, 76, 77 b]lv k"j{ ;f=ls=g+= 78 ;d]tsf 

/fhdfu{ %'g] hUuf k|=s=?= 

22,00,000.F 

 v_ ;f=ls=g+= 70, 74 %f*L ;f] b]lv klZrd gS;f l;dfgf;Dd 

/fhdfu{n] %'g] hUuf k|=s=?= 

19,50,000.F 

 u_ cfOtjf/] rf]s b]lv pQ/ vf];f{gLaf/L hfg]af^f] /fhdfu{ %'g] hUuf 

afx]s ;f=ls=g+= 55 -gfS;sf] k"j{klZrdsf] af^f]_ ;Dd sf hUuf 

k|=s=?= 

11,00,000. 

 #_ ;f=ls=g+= 59, 63 b]lv k"j{ /fhdfu{ %'g] lsQf %f]*L ;f] pQ/ 

;f=ls=g+= 58, 82, 84 %f]*L ;f] blIf)fsf hUufx? k|=s=?= 

10,00,000.F 

 ª_ k|s/)f s,v,u df pNn]v eP afx]s ;f=ls=g+= 59, 63 %f*L 

;f]b]lv klZrdYblIf)f ;f=ls=g+= 29 sf^ e} sfodL ls=g+= 336 b]lv 

blIf)f / ;f=ls=g+= 26 / 27 ;d]tsf /fhdfu{n] %'g] afx]ssf ;Dk")f{ 

hUuf k|=s=?= 

8,00,000.F 

 r_ ;f=ls=g+= 15, 16, 20, 21, 25, 28, 36 / ;f=ls=g+= 75 sF^ e} 

sfodL ls=g+= 200 sf] k}gLb]lv klZrd ;f=ls=g= 24 sf^ e} sfold 

lsQf g+= 2119 %fl* ;f] bIfL)Fsf hUuf k|=s=?= 

6,00,000.F 

 h_ ;f=ls=g+= 58, 82, 84 ;d]tb]lv pQ/ ;f=ls=g+= 56 ;d]tb]lv k"j{ 

39, 40 ;d]tb]lv blIf)f dfly pNn]v eP afx]ssf hUuf k|=s=?= 

8,00,000.F 

 em_ ;f=ls=g= 28 ;d]t b]vL pQ/ hfg] gS;f l;dfgf ;Dd vf];f{gL 

af/Lsf] d'naf^f]n] %'g] hUuf k|=s=? 

6,00,000.F 

 `_ k|s/)F em df pNn]v eP afx]s ;f=ls=g= 30 b]vL 35 ;Dd 

;f=ls=g= 37, 38 / ;f=ls=g= 99 ;d]tsf P/Lof leqsf hUUff k|=s=?  

3,50,000.F 

 

 

^_ ;f=ls=g+= 56 / 58 %f*L ;f] klZrd ls=g+= 1534 b]lv k"j{ 

dflysf k|s/)fdf k/]b]lv afx]ssf hUuf k|=s=?= 

3,50,000.F 

 &_ ;f=ls=g+= 7 b]lv blIf)fdf kg]{ gS;fsf] k"j{klZrd ljzfn^f]nsf] 

af^f]n] %'g] leédf/L k}gL k"j{sf hUuf k|=s=?= 

3,50,000. 

 *_ dfly k|s/)fdf gk/]sf Kn^Lªsf ;Dk")f{ hUuf k|=s=?= 2,50,000.F 

 (_ dfly k|s/)fdf pNn]v eP afx]s cGo leqL sRrL af^f]n] %'g] 

k|=s=? 

1,75,000. 

 )f_ ;f=ls=g+= 33 %fl* ;f] ;d]tb]lv klZrd ;f=ls=g++ 7 %f*L ;f]b]lv 1,75,000.F 
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k"j{ dflysf k|s/)fx?df k/]b]lv afx]ssf hUuf k|=s=?= 

 t_ dfly k|s/)fdf gk/]sf af+sL v]tLof]Uo hUufx? k|=s=?= 50,000.F 

dw'dNnf uf=lj=;= j*f g+= 5.ª 
15   

 s_ dw'dNnf 5.ª -pnf{jf/L rf}s pQ/_ ;f=ls=g+= 88, 89 ;d]tsf 

/fhdfu{ %'g] 150 lkm^ ;Ddsf hUuf k|=s=?= 

33,00,000.F 

 v_ ;f=ls=g+= 88, 89, 171 ;d]tsf k|s/)f s df k/]b]lv afx]s ;f] 

pQ/ 87, 90 ;d]t b]lv blIf)f / ;f] klZrd / ls=g+= 92 sf] 

/fhdfu{ %'g] 150 k"m^ ;Ddsf hUuf k|=s=?= 

25,00,000.F 

 u_ k|s/)f s,v df pNn]v ePsf hUuf %f*L ;f=ls=g+= 87 %f*L ;f] 

b]lv pQ/ ;f=ls=g+= 47 df kg]{ /flwsf df=lj= / ;f=ls=g+= 48 b]lv 

51 / ;f=ls=g+= 86 ;d]tsf Pl/ofleq kg]{ hUuf k|=s=?= 

17,50,000.F 

 #_ ;f=ls=g+= 91 / ;f=ls=g+= 92 sf k|s/)f -v_ df k/]b]lv afx]ssf 

hUuf k|=s=?= 

13,50,000.F 

 ª_ ;f=ls=g+= 47 df kg]{ /flwsf df=lj= pQ/ ;f=ls=g+= 2, 3, 4 

;d]tb]lv blIf)f ;f=ls=g+= 8, 9, 42 %f*L ;f]b]lv klZrdsf hUuf 

k|=s=?= 

13,50,000.F 

 r_ ;f=ls=g= 1, 11, 12 sf hUuf k|=s=? 9,00,000.F 

 %_ ;f=ls=g+= 43 sf^ e} sfodL ls=g+= 171 %f*L ;f] pQ/ ls=g+= 

161 b]lv blIf)f ;f=ls=g+= 56 / 58 %f*L ;f]b]lv klZrddf kg]{ hUuf 

k|=s=?= 

10,00,000.F 

 h_ ;f=ls=g+= 8, 9, 10, 13, 14, 15, 42, 52 b]lv 58 ;Dd, 79 

b]lv 82 ;Dd, / ;f=ls=g+= 41 sf^ e}  vfg]kfgL ejgsf] k'j{df kg]{ 

pQ/blIf)fsf] af^f] klZrd ;f=ls=g+= 41 sf hUUffx? tyf ;f=ls=g+= 

78 sf^ e} sfod ls=g+= 28, 27 %f*L ;f] klZrdsf hUufx? 

k|=s=?= 

900,000.F 

 em_ dfly k|s/)f h df k/] afx]s ;f=ls=g+=78 sf af+sL hUuf k|=s=? 5,50,000.F 

 

 

`_ dfly k|s/)Fx?df pNn]v eP afx]s ;f=ls=g+= 41 sf^ e} vfg]kfgL 

ejg k'j{df kg{] d'naf^f] k'j{sf ;f=ls=g+=41 sf ;f] af^f]nfO{ %'g] hUuf 

b]vL blIF)f, ;f=ls=g+=74 b]lv pQ/ ;f] af^f]nfO{ %'g] 300lkm^ leqsf 

hUuf k|=s=?= 

7,00,000.F 

 ^_ dfly k|s/)f -em_ df kl/ ;f=ls=g+=n] ;f] af^f] %'g] xfnsf] lsQfn] 

af^f] g%'g] k|=s=?= 

3,50,000.F 

 &_ dfly pNn]v eP afx]ssf ;f=ls=g+= 16, 17, 21, 22, 23, 31, 32 

sf] hUuf hUuf k|=s=?= 

3,50,000.F 

 *_ dfly pNn]v eP afx]ssf Knl^ªsf hUufx? k|=s=?= 3,00,000.F 

 (_ leqL slRr af^f] %'g] hUuf k|=s=? 1,75,000.F 

 )f_ dfly k|s/)fx?df pNn]v eP jfx]s ;f=ls=g+= 75 sf] k"j{pQ/ x'+b} 

j*f ;Ldfgf -pQ/tkm{sf]_ ;Ddsf hUuf k|=s=?= 

1,25,000.F 

 t_ dw'dNnf 5.ª cGtu{t kg]{ dfly k|s/)fdf k/]sfb]lv afx]ssf af+sL 

v]tLof]Uo hUuf k|=s=?= 

50,000.F 

dw'dNnf uf=lj=;= j*f g+= 5.r 
16   

 s_ pnf{jf/L rf}s klZrdpQ/ ;f=ls=g+= 91, 92 ;d]tsf /fhdfu{ %'g] 

150 lkm^ ;Ddsf hUuf k|=s=?= 

36,00,000.F 

 v_ ;f=ls=g+= 91 %f*L ;f] b]lv klZrd ;f=ls=g+= 67, 68 sf /fhdfu{ 

%'g] hUuf k|=s=?= 

30,50,000.F 

 u_ k|s/)f s df pNn]v eP afx]s pNn]lvt ;f=ls=g+=sf af+sL hUuf 27,00,000.F 
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k|=s=? 

 #_ k|s/)f v df kl/ ;f=ls=g+=n] /fhdfu{ %'g] xfnsf] lsQfn] g%'g] 

hUuf k|=s=?= 

22,00,000.F 

 ª_ ;f=ls=g+= 58, 60 b]lv blIf)f :s'n*f+*f af^f]sf bfof+ jfof+sf 

;f=ls=g+= x? x'+b} blIf)fsf] ;f=ls=g+ 66, 70 ;d]t pQ/sf ;f=ls=g+= sf 

hUuf k|=s=?= 

19,50,000.F 

 r_ ;f=ls=g+=85 b]lv blIf)f 89, 90 ;Ddsf hUufx? k|=s=? 22,00,000.F 

 %_ ;f=ls=g+= 58 / 70 %f*L ;f]b]lv k"j{ ;f=ls=g+= 85, 86, 87, 89 

%f]*L ;f]b]lv klZrd ;f=ls=g+= 79 ;d]t b]lv blIf)f dfly k|s/)fdf 

pNn]v eP afx]ssf hUuf k|=s=?= 

17,50,000.F 

 h_ k|s/)f ª df kl/ ;f=ls=g+=n] ;f] af^f] %'g] xfnsf] lsQfn] g%'g] 

hUuf k|=s=?= 

13,00,000.F 

 em_ ;f=ls=g+= 12 b]lv blIf)f ;f=ls=g+= 80 ;Dd pnf{jf/L dw'dNnf 

hfg] af^f] %'g] hUufx? k|=s=?= 

16,50,000.F 

 `_ ;f=ls=g+= 32, 34, 41, 53, 54, 55, 56 b]lv blIf)f dfly pNn]v 

eP b]lv afx]ssf hUuf k|=s=?= 

11,00,000.F 

 ^_ dfly k|s/)f em sf] klZrdl;dfgf b]lv klZrd ;f=ls=g+= 38, 28 

;Dd ;f=ls=g+=23, 22, 21, 20, 13 %f*L ;f]b]lv blIf)fsf ;f=ls=g+= 

32, 34, 41, 53, 54 %f*L ;f]sf] pQ/ klZrdsf hUuf k|=s=?= 

9,00,000.F 

 &_ t?)frf]s b]lv klZrd hfg] gS;fsf] d"naf^f] b]lv 300 lkm^ leqsf 

hUuf k|=s=?= 

8,00,000.F 

 *_ ;f=ls=g+= 23, 22, 21, 20 / 13 ;d]tb]lv pQ/ 12 %f*L ;f]b]lv 

klZrd ;f=ls=g+= 8 ;d]tsf hUuf k|=s=?= 

6,00,000.F 

 (_ ;f=ls=g+= 2,7 b]lv blIf)f ;f=ls=g+= 28 %f*L  ;f]b]lv klZrd / 

;f=ls=g+= 8 %f*L klZrd blIf)fsf hUuf k|=s=?= 

3,50,000.F 

 )f_ Knl^ªsf hUuf k|=s=?= 3,00,000.F 

 t_ leqL slRr af^f] %'g] hUuf k|=s=? 2,25,000.F 

 y_ dfly k|s/)fdf pNn]v eP afx]s 5.r sf af+sL hUuf k|=s=?= 1,25,000.F 

dw'dNnf uf=lj=;= j*f g+= 5.% 
17   

 s_ dw'dNnf 5.% cGtu{t gS;fsf] k"j{ ;Ldfgfb]lv klZrd ;Ldfgf;Dd 

/fhdfu{n] %'g] bfof+ jfof+sf hUuf k|=s=?= 

22,00,000.F 

 v_ k|s/)F s df pNn]v eP afx]s :s'n *F¤*F af^ a/ufl% rf}s 

hfg] d'n af^f]n] %'g] hUUff k|=s=? 

19,50,000.F 

 u_ k|s/)f s / v df pNn]v eP afx]s ;fljs lsQfn] ;f] af^f] %'g] 

xfnsf] lsQfn] g%'g] / ls=g+= 55 sf^ e} sfod ls=g+=726 %f*L ;f] 

pQ/sf hUuf k|=s=?= 

11,00,000.F 

 #_ k|s/)f s / v df pNn]v eP jfx]s pnf{jf/L g=kf=sf] ejg 

klZrd jf^ blIF)f emg{] d'n jf^f]n] %'g] lsTtf g+=840 / 1075 ;Dd 

jf^f]sf bfof jfofsf hUuf k|=s=?= 

12,00,000.F 

 ª_ dfly k|s/)f s,v,u df pNn]v eP jfx]s k|s/)f u sf] blIf)f 

l;dfgfsf] ljGb'jf^ blIF)f ;f=ls=g=3, 6, 29 x'b} k'j{ ;f=ls=g=55 sf^ 

e} sfold ls=g= 989, 990 b]lv pQ/ 71, 72, 73 x'b} ;f=ls=g=59, 

64, 74 ;Dd / ;f] pQ/sf #*]/L jf v]tLsf hUuf k|=s=?= 

7,00,000.F 

 r_ dfly pNn]v eP jfx]s eb|jf/L dfu{af^ blIf)f hfg] jf^f]n] %'g] 

hUuf ;f=ls=g=114, 117 ;Ddsf hUuf k|=s=?= 

8,00,000.F 

 %_ k|s/)f r df k/L ;f=ls=g=n] ;f] jf^f] %'g] xfnsf] lsTtfn] ;f] 

jf^f] g%'g] hUuf / ;f=ls=g+= 54 sf hUuf k|=s=?= 

7,00,000.F 



58 

 

 h_ ;f=ls=g=106 b]lv blIf)f ;f=ls=g=113 b]vL k'j{ ;f=ls=g=122 ;Dd 

dfly pNn]v eP jfx]ssf #*]/L jf v]tLsf hUuf k|=s=?= 

7,00,000.F 

 em_ ;f=ls=g= 119, 121 b]lv blIF)f gS;f l;dfgf ;Dd eb|df/L af^f]sf 

bfof jfofsf hUuf k|=s=?= 

6,00,000.F 

 `_ dflypNn]v eP afx]s k|s/)f em df k/L ;fljsn] ;f] %'g] xfnsf] 

lsTtfn] ;f] jf ]̂f g%'g] tyf eb|df/L dfu{ k'j{sf ;Dk')F hUuf k|=s=?= 

4,50,000.F 

 ^_ ls=g= 840, 1075 %f*L ;f] blIF)f ;f=ls=g= 86 %f*L ;f] pQ/ 

k|s/)f # sf] jf^f]n] %'g] jf^f]sf bfof jfofsf hUuf 150 lkm^ ;Dd 

k|=s=?= 

9,00,000.F 

 &_ k|s/)f ^ df kl/ ;fljsn] ;f] jf^f] %'g] xfnsf] lsTtfn] ;f] jf^f] 

g%'g] / ;f] jf^f] k'j{ ;f=ls=g= 64 b]lv blIf)f 84, 85 %f*L ;f] 

pQ/sf hUuf k|=s=?= 

6,00,000.F 

 *_ ;f=ls=g=86 ;d]t b]lv blIf)f gS;f l;dfgf;Dd k|s/)f # sf] 

d'njf^f]n] %'g] hUuf k|=s=?= 

8,00,000.F 

 (_ k|s/)f * df k/L ;fljs lsTtfn] ;f] jf^f] %'g] xfnsf] lsTtfn] ;f] 

jf^f] g%'g] / k|s/)f * sf] jf^f] k'j{ ;f=ls=g= 84, 85 ;d]t b]lv 

blIf)f ;f=ls=g=95, 96 ;Ddsf hUuf k|=s=?= 

4,50,000.F 

 )f_ ;f=ls=g=30 b]lv 33 ;Ddsf hUuf k|=s=?= 8,00,000.F 

 t_ ;f=ls=g=40, 37 b]lv blIf)f gS;f l;dfgf ;Dd efg' :s'n hfg] 

d'naf^f]n] %'g] hUuf k|=s=?= 

7,00,000.F 

 y_ ;f=ls=g=7 b]lv blIF)f ls=g+= 273 ;Dd dw'dNnf 9r / 5% sf] 

l;dfgfdf kg]{ af^f]n] %'g] hUuf k|=s=?= 

4,00,000.F 

 b_ dfly k|s/)f t / y df pNn]v eO{ ;fljs ls=g+=n] ;f]af^f] %'g] 

xfnsf] lsQfn] g%'g] tyf ls=g+=38 b]lv blIf)f ;f=ls=g+= 47, 49, 50, 

51,52, 390, 392 %f*L ;f] klZrdsf ;Dk")f{ hUufx? k|=s=?= 

3,50,000.F 

 w_ ;f=ls=g+=34, 36 b]lv blIf)f gS;f l;dfgf;Dd ls=g+= 54 %f*L ;f] 

klZrd ls=g+=395, ;f=ls=g+=53 ;d]t b]lv pQ/sf hUuf k|=s=? 

3,50,000.F 

 g_ dfly pNn]v eP jfx]s dw'dNnf 5.% cGtu{t Knl^ªsf hUufx? 

k|=s=?= 

3,00,000.F 

 k_ dfly pNn]v eP jfx]s 5% sf leqLsRrL af^f]n] %'g] hUuf k|=s= 2,75,000.F 

 km_ dw'dNnf 5.% sf ;Dk")F{ af^f] g%'g] v]tLof]Uo hUuf k|=s=?= 1,50,000.F 

dw'dNnf uf=lj=;= j*f g+= 5.h 
18   

 s_ ;f=ls=g+= 2 sf^ e} sfodL ls=g+= 213 b]lv 217 ;Dd 257, 

1002, 1003 ;f=ls=g+= sf^ e} sfodL lsQfx? jf xfn /fhdfu{ %'g] 

lsQfx?sf hUuf k|=s=?= 

24,00,000.F 

 v_ ;f=ls=g+= 11 sf^ e} xfn /fhdfu{ %'g] 150 lkm^ leqsf hUuf 

k|=s=?= 

19,50,000.F 

 u_ ;f=ls=g+= 11 sf^ e} xfn /fhdfu{ g%'g] -k|s/)f s df k/]sf 

hUufx? afx]s_ sf hUuf k|=s=?= 

13,00,000.F 

 #_ ;f=ls=g+= 2 sf^ e} 218 ;d]tb]lv blIf)f ;f=ls=g+= 2 sf^ e} 

732 b]lv klZrd 8, 9, 10 -/fhdfu{ g%'g]_ hUuf k|=s=?= 

13,00,000.F 

 ª_ ;f=ls=g= 4, 5, 6 b]vL blIf)F ;f=ls=g= 69, 76 ;Ddsf ;f=ls=g+= 

65 %f*L ;f] klZrdsf hUuf k|=s=?= 

10,00,000.F 

 r_ ;f=ls=g+= 69, 76 %fl* ;f] blIf)f ;f=ls=g+= 84 b]lv pQ/ 

;f=ls=g+= 65, 95 / 85 %f*L ;f]klZrdsf hUuf k|=s=?= 

10,00,000.F 

 %_ ;f=ls=g+= 65 b]lv blIf)f 85 ;d]tb]lv pQ/sf hUuf k|=s=?= 4,00,000.F 

 h_ ;f=ls=g+= 2 sf^ e} ls=g+= 642 b]lv klZrd blIf)f / ;f=ls=g+= 2 6,00,000.F 
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sf^ e} 810 b]lv klZrd pQ/ leq kg]{ hUuf k|=s=?= 

 em_ ;f=ls=g+= 2 sf^ e} sfodL ls=g++ 846 sf] *u/df kg]{ dfly 

pNn]v eP afx]ssf hUuf k|=s=?= 

3,00,000.F 

 `_ dw'dNnf 5.h cGtu{tsf Knl^ªsf hUuf k|=s=?= 3,00,000.F 

 ^_ dw'dNnf 5.h cGtu{tsf leqLsRrL af^f]n] %'g] hUuf k|=s=?= 1,25,000.F 

 &_ 5.h sf dfly k|s/)fdf k/]b]lv afx]ssf hUuf k|=s=?= 50,000.F 

dw'dNnf uf=lj=;= j*f g+= 5.em 
19   

 s_ dw'dNnf 5.em sf] ;f=ls=g+= 1 sf^ e} sfodL ;Dk")f{ ls=g+=x? 

k|=s=?= 

36,00,000.F 

 v_ dw'dNnf 5.em ;f=ls=g+= 75 sf^ e} sfodL ls=g+= x?n] /fhdfu{ 

%'g] k|=s=?= 

33,00,000.F 

 u_ k|s/)f s,v pNn]v ePb]lv afx]s ;f] blIf)f ;f=ls=g+= 2, 3, 4 

;d]t /  kz'klt dfu{n] %'g] tyf ;f] af^f] k"j{sf  ;Dk")f{ hUuf 

k|=s=?= 

24,00,000.F 

 #_ /fhdfu{ %'g] ls=g+= %f*L ;f]blIf)fsf b'uf{ dlGb/ pQ/ kz'klt 

dfu{n] %'g] bfof+ jfof+, :s'n*f+*f dfu{ j/uf%L rf}s;Ddsf] af^f]sf bfof+ 

jfof+, b'uf{ dlGb/ k"j{ j/uf%L rf}s pQ/sf j/uf%L rf}s blIf)f 

j/*+uf af^f] %'g] gS;f l;dfgf ;Dd af^f] bfof+ jfof+ ;d]tsf hUuf 

k|=s=?= 

24,00,000.F 

 ª_ ;f=ls=g 5 ;d]t b]vL blIF)F ;f=ls=g 13, 14 ;d]t b]vL pQ/ 

tyf k|s/)f # df pNn]v eP afx]s :s'n *f+*f rf]saf^ a/uf%L hfg] 

af^f] k"j{ / pQ/sf ;f] P/Lof leqsf hUUff k|=s=? 

18,50,000.F 

 r_ a/uf%L blIf)f gS;f l;dfgf ;Dd pnf{jf/L a/*+uf af^f] k"j{sf ;f] 

af^f]n] g%'g] ;Dk")f{ hUuf k|=s=? 

13,00,000.F 

 %_ ;f=ls=g+= 92, 95, 42, 36, 40, 39 ;d]t b]lv k"j{ O^x/f 

a/*+uf af^f] klZrdsf dfly pNn]v eP afx]ssf hUuf k|=s=?= 

11,00,000.F 

 h_ ;f=ls=g+= 91 b]lv blIf)f ;f=ls=g+=96, 97 %f*L ;f] klZrdsf 

hUuf, :s'n*f+*f af^ a/uf%L hfg] af^f] g%'g], af^f] klZrdsf hUuf 

k|=s=?= 

9,00,000.F 

 em_ ;f=ls=g+= 97 b]vL blIf)F ;f=ls=g+=95, 42, 36, 40, 39, 57 

%fl* ;f] b]vL klZrdsf hUuf k|=s=?= 

8,00,000.F 

 `_ dfly pNn]v eP b]lv afx]ssf Kn^Lªsf hUuf k|=s=?= 3,00,000.F 

 ^_ dfly pNn]v eP b]lv afx]sf leqL slRr af^f] %'g] hUuf k|=s=? 2,75,000.F 

 &_ dflysf s'g}klg k|s/)fx?df pNn]v gePsf af+sL hUuf k|=s=?= 1,75,000.F 

dw'dNnf uf=lj=;= j*f g+= 5.` 
20   

 s_ dw'dNnf 5.` cGtu{t gS;fsf] d'n af^f]n] %'g] tyf efg':s'n 

klZrdsf] d'n af^f]n] %'g] hUuf k|=s=?= 

4,50,000.F 

 v_ dfly pNNf]v eP afx]s dw'dNnf 5.` cGtu{t Kn^Lªsf hUuf 

k|=s=?= 

2,50,000.F 

 u_ dfly pNNf]v eP afx]s ;f=ls=g+= 13, 10 b]lv k"j{, ;f=ls=g+=4, 5 

b]lv pQ/ hUuf k|=s=?= 

2,50,000.F 

 #_ dfly pNn]v eP afx]s k|s/)f s df kl/ ;f=ls=g+=n] ;f]af^f] %'g] 

xfnsf] lsQfn] ;f]af^f] g%'g] hUuf tyf ;f=ls=g+= 45, 46, 60, 63, 

64, 57, 58, 36, 32, 52 / ;f] Pl/of leqsf / ;f] b]lv pQ/sf 

hUuf k|=s=?= 

1,75,000.F 
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 ª_ dfly pNNf]v eP afx]s cGo af^f]n] %'g] hUufx? k|=s=? 1,75,000.F 

 r_ dfly pNNf]v eP afx]s ;Dk")F{ v]ltof]Uo hUufx? k|=s=? 60,000.F 

dw'dNnf uf=lj=;= j*f g+= 5.^ 
21   

 s_ 5.^ sf ;f=ls=g+= 3, 5, 7, 8, 9, 11, 12, 13 -pnf{jf/L j/*+uf ;*s 

%'g] af^f] bfof+ jfof++sf_ hUuf k|=s=?= 

17,50,000.F 

 v_ k|s/)f s df kl/ ;f=ls=g+=n] ;f]af^f] %'g] xfnsf] lsQfn] g%'g] hUuf 

k|=s=? 

12,00,000.F 

 u_ ;f=ls=g+= 1 / 4 hUuf k|=s=?= 11,00,000.F 

 #_ ;f=ls=g+= 24 %f*L ;f] pQ/ gS;f l;dfgf ;Dd pnf{jf/L af^ cfdaf*L 

hfg] af^f] klZrd ;f] af^f]n] %'g] hUuf k|=s=?= 

11,00,000.F 

 ª_ k|s/)f # df kl/ ;f] af^f]n] %'g] xfnsf] lsQfn] g%'g] hUuf k|=s=?= 10,00,000.F 

 r_ ;f=ls=g+=24 b]lv blIf)f ;f=ls=g+= 26 ;Dd pnf{jf/L af^ cfdaf*L hfg] 

af^f]n] %'g] af^f] klZrdsf hUuf k|=s=?= 

10,00,000.F 

 %_ k|s/)f r df kl/ ;f] af^f]n] %'g] xfnsf] lsQfn] g%'g] hUuf k|=s=?= 9,00,000.F 

 h_ ;f=ls=g+= 26 %f*L blIf)f ;f=ls=g+= 29 ;Dd pnf{jf/Laf^ cfdjf*L hfg] 

af^f] klZrdsf ;f] af^f]n] %'g] hUuf k|=s=?= 

8,00,000.F 

 em_ k|s/)f h df kl/ ;f] af^f]n] %'g] xfnsf] lsQfn] g%'g] hUuf k|=s=?= 6,00,000.F 

 `_ pnf{jf/Laf^ cfdjf*L hfg] af^f] k"j{ ;f=ls=g+= 31 b]lv blIf)f ;f=ls=g+= 49 

;Dd ;f]af^f]n] %'g] hUuf k|=s=? 

7,00,000.F 

 ^_ ;f=ls=g+= 49 %f*L ;f] b]lv blIf)f ;f=ls=g+=54 ;Dd pnf{jf/Laf^ cfdjf*L 

hfg] af^f] b]lv 300 lkm^;Dd af^f]%'g] hUuf k|=s=? 

6,00,000.F 

 &_ k|s/)f ~f df kl/ ;f=ls=g+=n] ;f] af^f] %'g] xfnsf] lsQfn] ;f] af^f] g%'g] 

tyf 33, 34, 35, 43, 44, 47, 48 ;d]tsf hUuf k|=s=? 

3,50,000.F 

 *_ ;f=ls=g+= 54 %f*L ;f] blIf)f gS;f l;dfgf;Dd cfdjf*L hfg] af^f]n] %'g] 

af^f] k"j{sf hUuf k|=s=? 

3,50,000.F 

 (_ dfly pNNf]v eP afx]s 5^ cGtu{t Knl^ªsf hUuf k|=s=?= 3,00,000.F 

 )f_ dfly pNNf]v eP afx]s cGo af^f]n] %'g] hUufx? k|=s=? 1,25,000.F 

dw'dNnf uf=lj=;= j*f g+= 5.* 
22   

 s_ dw'dNnf 5.* ;fljs af^f]sf] ;f=ls=g+= 13 b]lv k"j{sf ;Dk")f{ 

hUufx? k|=s=?= 

9,00,000.F 

 v_ ldn*f+*f ;f=ls=g+= 13 klZrdsf eb|df/L /f]* k"j{sf ;Dk")f{ hUufx? 

k|=s=?= 

7,00,000.F 

 u_ eb|df/L /f]* klZrdsf ;Dk")f{ hUuf k|=s=?= 5,00,000.F 

 #_ dw'dNnf 5* cGtu{t dfly pNn]v eP afx]s cGo af^f]n] %'g] hUuf 

k|=s= 

2,25,000.F 

dw'dNnf uf=lj=;= j*f g+= 5.( 
23   

 s_ s_ 5.( sf] pnf{jf/L dw'dNnf d"n ;*sdf kg]{ ;Dk")f{ ;f=ls=g+= 

x?sf] hUuf k|=s=?= 

24,00,000.F 

 v_ k|s/)f s df kl/ ;f=ls=g+=n] ;f] af^f] %'g] xfnsf] lsQfn] g%'g] 

tyf cGo af^f]n] %'g] ;Dk")f{ hUuf k|=s=?= 

17,50,000.F 

 u_ k|s/)f s / v df pNn]v gePsf cGo leqL hUuf k|=s=?= 4,50,000.F 

dw'dNnf uf=lj=;= j*f g+= 5.)f 
24   

 s_ ls=g+= 142 b]lv klZrd / ls=g+= 183 b]lv k"j{sf /fhdfu{ ;+u 36,00,000.F 
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hf]l*Psf hUuf k|=s=?= 

 v_ k|s/)f s df pNn]v ePsf /fhdfu{ %'g] hUuf afx]s ;f]b]lv pQ/ 

ls=g+= 112 / 38 b]lv blIf)f dw'dNnf pnf{jf/L d"n;*s;+u hf]l*Psf 

hUuf k|=s=?= 

31,50,000.F 

 u_ k|s/)f v df pNn]v ePsf hUufb]lv pQ/ pnf{jf/LYdw'dNnf d"n 

;*s;+u hf]l*Psf hUuf k|=s=?= 

27,00,000.F 

 #_ k|s/)f v df kl/ ;f=ls=g+=n] ;f]af^f] %'g] xfnsf] lsQfn] g%'g] tyf 

ls=g+= 37 ;d]t b]lv blIf)f ls=g+ 65, 147 ;d]t b]lv pQ/sf hUuf 

k|=s=? 

24,00,000.F 

 ª_ k|s/)f u df kl/ ;f=ls=g+=n] ;f]af^f] %'g] xfnsf] lsQfn] g%'g] tyf 

;f=ls=g+= 15 ;d]t b]lv blIf)f ls=g+= 36 ;d]t b]lv pQ/sf dfly 

pNn]v eP afx]ssf cGo hUuf k|=s=? 

19,50,000.F 

 r_ dfly pNn]v eP afx]s xf^vf]nf b]lv k"j{ / klZrdsf hUuf 

k|=s=?= 

17,50,000.F 

 %_ dflysf k|s/)fx?df pNn]v gePsf cGo hUuf k|=s=?= 4,50,000.F 

dw'dNnf uf=lj=;= j*f g+= 5.t 
25   

 s_ dw'dNnf 5.t cGtu{t dx]Gb| /fhdfu{;+u hf]l*Psf hUuf k|=s=?= 36,00,000.F 

 v_ pnf{jf/L j/*+uf d"n ;*s;+u hf]l*Psf ;*ssf bfof+ jfof+sf hUuf k|=s=?= 29,00,000.F 

 u_ k|s/)f s / v df pNn]v eP afx]ssf d"n;*s k"j{ / klZrdsf 

d'n;*s ;+u ghf]l*Psf hUuf k|=s=?= 

19,50,000.F 

 #_ dfly k|s/)fx?df pNn]v ePb]lv afx]ssf cGo leqL hUuf k|=s=?= 4,50,000.F 

dw'dNnf 6v 
26   

 s_ dw'dNnf 6v cGtu{t ky/L ahf/af^ cfOtjf/] hfg] d'naf^f] / gof 

d+unjf/] hfg] d"n af^f] %'g] hUUff k|=s=? 

6,00,000.F 

 v_ dw'dNnf 6v cGtu{t  Knl^ªsf hUUff k|=s=? 2,50,000.F 

 u_ dfly k|s/)f s df pNn]v ePsf ;fljs ls=g+=n] af^f] %'g] xfnsf] 

lsQfn] g%'g] hUuf k|=s=? 

2,25,000.F 

 #_ cGo af^f] %'g] hUuf k|=s=? 1,75,000.F 

dw'dNnf 6t 
27   

 s_ dw'dNnf 6t cGtu{t ky/L ahf/af^ lqj])fLrf]s hfg] d'naf^f] %'g] 

hUUff k|=s=? 

5,00,000.F 

 v_ dw'dNnf 6t cGtu{t  Knl^ªsf hUUff k|=s=? 2,50,000.F 

 u_ dfly k|s/)f s df pNn]v ePsf ;fljs ls=g+=n] af^f] %'g] xfnsf] 

lsQfn] g%'g] hUuf k|=s=? 

2,25,000.F 

 #_ cGo af^f] %'g] hUuf k|=s=? 1,75,000.F 

dw'dNnf uf=lj=;= j*f g+= 6.# 
28   

 s_ dw'dNnf 6.# sf ;f=ls=g+= 12, 13, 14, 15, 16, 18, 19, 20, 

35, 36, 37, 38, 42, 76 ;Ddsf 300 lkm^ leqsf hUuf k|=s=?=  

5,00,000.F 

 v_ k|s/)f s df kl/ ;f=ls=g+=n] ;f] af^f] %'g] xfnsf] lsQfn] g%'g] hUuf 

k|=s=? 

3,00,000.F 

 u_ Knl^ªsf hUUff k|=s=? 2,50,000.F 

 #_ gS;fsf] cGo af^f]n] %'g] af^f] bfof+ jfof+sf hUuf k|=s=?= 1,75,000.F 

dw'dNnf uf=lj=;= j*f g+= 6.ª 



62 

 

29   

 s_ ;f=ls=g+= 1, 3, 39, 42, 60, 61, 70 sf hUuf k|=s=?= 2,50,000.F 

 v_ dw'dNnf 6ª cGtu{t  Knl^ªsf hUUff k|=s=? 2,00,000.F 

 v_ 6.ª sf cGo gS;fsf] af^f]n] %'g] hUuf k|=s=?= 1,25,000.F 

dw'dNnf uf=lj=;= j*f g+= 6.r 
30   

 s_ ;f=ls=g+= 12, 17, 18, 22, 23, 25, 97, 98, 99, 101 sf hUuf 

k|=s=?= 

2,50,000.F 

 v_ dw'dNnf 6r cGtu{t  Knl^ªsf hUUff k|=s=? 2,00,000.F 

 v_ 6.r sf] gS;fsf] af^f]n] %'g] bfof+ jfof+sf hUuf k|=s=?= 1,25,000.F 

dw'dNnf uf=lj=;= j*f g+= 6.% 
31   

 s_ dw'dNnf 6.% sf] gS;fsf] af^f]n] %'g] ls=g+= 39, 55, 56, 54, 53, 

74 ,73, 75, 76, 77, 78, 79, 80, 85, 86, 87 hUuf -af^f]sf] 

bfof+ jfof+_ k|=s=?= 

2,50,000.F 

 v_ dw'dNnf 6% cGtu{t  Knl^ªsf hUUff k|=s=? 2,00,000.F 

 v_ af+sL af^f]n] %'g] hUufx? k|=s=?= 1,25,000.F 

dw'dNnf uf=lj=;= j*f g+= 6.h 
32   

 s_ ;f=ls=g+= 1, 2, 3, 9, 26, 27, 31, 35, 36, 38, 39, 45, 46, 

50, 51, 65, 67 af^f]sf bfof+ jfof+sf hUuf k|=s=?= 

2,50,000.F 

 v_ dw'dNnf 6h cGtu{t  Knl^ªsf hUUff k|=s=? 2,00,000.F 

 v_ af+sL af^f]n] %'g] hUuf k|=s=?= 1,25,000.F 

dw'dNnf uf=lj=;= j*f g+= 6.( 
33   

 s_ ;f=ls=g+= 21, 22, 24 / sfodL ls=g+= 232 b]lv blIf)f ;f=ls=g+= 

17 sf^ e} sfodL ls=g+= 642, 583 ;Ddsf af^f]sf] bfof+ jfof+sf 

hUuf k|=s=?= 

3,50,000.F 

 v_ dw'dNnf 6( cGtu{t  Knl^ªsf hUUff k|=s=? 2,50,000.F 

 v_ afsL af^f]n] %'g] hUuf k|=s=?= 1,75,000.F 

dw'dNnf uf=lj=;= j*f g+= 6.)f 
34   

 s_ ;f=ls=g+= 10, 11, 72, 68, 85 ;d]t lqj])fLrf]saf^ af]qm]rf]s hfg] 

af^f]sf] bfof+ jfof+sf hUuf k|=s=?= 

3,50,000.F 

 v_ dfly pNn]v eP afx]s dw'dNnf 6)F cGtu{t Knl^ªsf hUUff k|=s=? 2,50,000.F 

 u_ k|s/)f s df kl/ ls=sf x'+b} k%f*L k/]sf hUuf k|=s=? 2,25,000.F 

 #_ dfly pNn]v eP afx]s cGo af^f]n] %'g] hUuf k|=s=? 1,75,000.F 

dw'dNnf uf=lj=;= j*f g+= 6.y 
35   

 s_ dw'dNnf 6.y cGtu{t lqj])fLrf]s af^ af]qm]rf]s hfg] af^f]sf] bfof+ 

jfof+sf hUuf k|=s=?= 

4,50,000.F 

 v_ dfly pNn]v eP afx]s dw'dNnf 6y cGtu{t Knl^ªsf hUUff k|=s=? 2,50,000.F 

 u_ k|s/)f s df kl/ ls=sf x'+b} k%f*L k/]sf hUuf k|=s=? 1,75,000.F 

 #_ dfly pNn]v eP afx]s cGo af^f]n] %'g] hUuf k|=s=? 1,75,000.F 

dw'dNnf uf=lj=;= j*f g+= 6.b 
36   
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 s_ ;f=ls=g+= 45, 46, 49, 50, 51, 59, 60, 61, 62, 63, 64, 66, 67, 68 

;d]tsf af^f]sf bfof+ jfof+sf hUuf k|=s=?= 
10,00,000.F 

 v_ ;f=ls=g+= 1 b]lv xg'dfg rf}s x'+b} cfOtjf/] rf}s hfg] af^f]n] %'g] hUuf k|=s=?= 8,00,000.F 

 u_ k|s/)f s df pNn]v eP afx]s ;f=ls=g+=n] ;f] af^f] %'g] xfnsf] lsQfn] af^f] g%'g] 

hUuf / ;f=ls=g+= 44, 47 b]lv 58 ;Ddsf hUuf k|=s=?= 
7,00,000.F 

 #_ k|s/)f v df pNn]v eP afx]s ;f=ls=g+=n] ;f] af^f] %'g] xfnsf] lsQfn] af^f] g%'g] 

hUuf k|=s=?= 
4,50,000.F 

 ª_ dfly pNn]v eP afx]s dw'dNnf 6b cGtu{t  Knl^ªsf hUuf k|=s=? 3,00,000.F 

 r_ dfly pNn]v eP afx]s ;f=ls=g+=13 b]lv k"j{ ;f=ls=g+= 26 ;Dd, ;f=ls=g+= 23, 31 

b]lv k"j{ ;f=ls=g+= 27, 28 ;Dd af^f]n] %'g] hUuf k|=s=?= 
3,00,000.F 

 %_ dfly pNn]v eP afx]s ;f=ls=g+=90 %f*L ;f] k"j{ / klZrdsf ;Dk")F{ hUuf k|=s=?= 2,25,000.F 

 h_ dfly pNn]v eP afx]s cGo af^f]n] %'g] hUuf k|=s=?= 1,75,000.F 

 em_ dflysf k|s/)fdf k/]b]lv afx]ssf v]tLof]Uo hUuf k|=s=?= 60,000.F 

dw'dNnf uf=lj=;= j*f g+= 6.w 
37   

 s_;f=ls=g+= 10, 25, 26, 27, 28, 30, 31, 34, 35, 36, 37 ,40, 41, 

42, 43, 57, 58, 59 sf ky/LY*fOlgof af^f]n] %'g] hUuf k|=s=?= 

14,50,000.

F 

 v_ k|s/)f s df pNn]v e} ;f=ls=g+= n] ;f] af^f] %'g] xfnsf] lsQfn] g%'g] 

hUuf k|=s=?= 

10,00,000.

F 

 u_ ;f=ls=g+=2, 3, 4, 6, 7, 8, 9, 11, 12, 15, 16, 19, 21, 22, 23, 

24, 29, 32, 33, 34, 38, 39, 44, 45, 46, 49, 50, 54, 55, 56, 

60, 61, 62, 83, 84 ;Ddsf hUuf k|=s=?= 

8,00,000.F 

 #_ ;f=ls=g+= 5, 13, 14, 17, 18, 20, 53, 63, 64, 67, 68, 70, 79, 

80, 81, 82, 85, 87, 88, 89, 90, 91, 92, 93, 94, 95  ;Ddsf 

hUuf k|=s=?= 

7,00,000.F 

 ª_ ;f=ls=g+= 47, 48, 51, 52, 65, 66, 69, 71, 72, 73, 74, 75, 76, 

77, 78 / 86 ;Ddsf d"naf^f] %'g] hUufx? k|=s=?= 

6,00,000.F 

 r_ k|s/)f ª sf d"naf^f] g%'g] cGo af+sL hUuf k|=s=?= 3,25,000.F 

 %_ dfly pNn]v eP afx]s Knl^ªsf hUUff k|=s=? 3,00,000.F 

 h_ dw'dNnf 6.w cGtu{tsf leqL sRrL af^f]n] %'g] hUuf k|=s=?= 1,75,000.F 

 em_ dfly k|s/)fdf pNn]v eP afx]ssf af+sL v]tLof]Uo hUuf k|=s=?= 70,000.F 

dw'dNnf uf=lj=;= j*f g+= 8.s 
38   

 s_ gS;fsf] pQ/ ;Ldfgfdf kg]{{ ;f=ls=g+= 33 sf] klZrddf kg]{ ls;fg 

rf}s ^f*L af^f]n] %'g] af^f]sf bfof+ jfof+ cGtu{t ;f=ls=g+= 14, 21 

;Ddsf hUuf k|=s=?= 

4,50,000.F 

 v_ ;f=ls=g+= 14, 21 %f*L ;f] blIf)f gS;f ;Ldfgf ;Dd ls;fg 

rf}sY^f+*L af^f]n] %'g] hUuf k|=s=?= 

450,000.F 

 u_ dfly pNn]v eP afx]s dw'dNnf 8.s cGtu{t Kn^Lªsf hUuf 

k|=s=?= 

2,50,000.F 

 #_ dflysf k|s/)fx?df pNn]v eP afx]s, k|s/)f s / v sf ;f=ls=g+= 

n] ;f] af^f] %'g] xfn ls=g+= n] g%'g] hUuf k|=s=?= 

2,50,000.F 

 ª_ dfly pNn]v eP afx]s k|s/)f s sf] k"j{ ;Ldfgfaf^ k"j{ ;f=ls=g+= 

35, 32, 28 ;d]t / 59 sf] k}gL klZrd ^f+*LYls;fg rf}s af^f] k"j{sf 

af+sL hUuf k|=s=?= 

2,75,000.F 

 r_ dfly pNn]v eP afx]s k|s/)f s sf] klZrd ;Ldfgfb]lv klZrd 

;f=ls=g+= 6, 10, 11, 18, 19 / 471 b]lv k"j{sf af+sL hUuf k|=s=?= 

2,25,000.F 

 %_ dfly pNn]v eP afx]s ls=g+=77 b]lv blIf)f 90 ;Dd sf hUuf 

k|s=? 

2,25,000.F 
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 h_ dfly pNn]v eP afx]ssf dw'dNnf 8.s cGtu{tsf leqL sRrL 

af^f]n] %'g] hUuf k|=s=?= 

1,75,000.F 

dw'dNnf uf=lj=;= j*f g+= 8.v, 8#, 8.ª 
39   

 s_ gS;fsf] pQ/ ;Ldfgfb]lv blIf)f gS;f ;Ldfgf;Dd ls;fg rf}s ^f*L 

af^f]n] %'g] hUuf k|=s=?= 

4,50,000.F 

 v_ dfly pNn]v eP afx]s dw'dNnf 8.v, 8.# / 8.ª cGtu{t 

Kn^Lªsf hUuf k|=s=?= 

2,50,000.F 

 u_ k|s/)f s df k/L ;f=ls=g+= n] ;f] af^f] %'g] xfnsf lsQfn] ;f] 

af^f] g%'g] hUuf k|=s=?= 

2,75,000.F 

 #_ ;f=ls=g+=32, 35 b]lv blIf)f 27, 29 ;Dd sf hUuf k|=s=? 2,25,000.F 

 ª_ dfly pNn]v eP afx]ssf dw'dNnf 8.ª cGtu{tsf leqL sRrL 

af^f]n] %'g] hUuf k|=s=?= 

1,75,000.F 

dw'dNnf uf=lj=;= j*f g+= 9.s 
40   

 s_ ;f=ls=g+= 1, 69, 70, 71, 72, 73, 74, 83, 85, 86, 87, 89 

;d]tsf /fhdfu{n] %'g] hUuf k|=s=?= 

36,00,000.F 

 v_ ;f=ls=g+= 24, 46, 45 %f*L pQ/ 90, 93, 99 %f*L klZrd 

k|s/)f s df k/] b]lv blIf)f sf ;Dk")f{ hUuf k|=s=?= 

28,00,000.F 

 u_ ;f=ls=g++ 90 b]lv blIf)f gS;f l;dfgf ;Dd ky/L *fOlgof af^f]n] 

%'g] hUuf k|s=?= 

24,00,000.F 

 #_ ;f=ls=g+= 24, 46, 45 b]lv blIf)f ;f=ls=g+= 43, 42, 41, 40 

x'+b} ;f=ls=g+= 134, 135, 136 / ;f] b]lv klZrd / pQ/sf 

;Dk")f{hUufx? k|=s=?= 

19,50,000.F 

 ª_ ;f=ls=g+= 90 b]lv blIf)f ;f=ls=g+= 129, 130, 128 %f*L pQ/ 

ky/LY*fOlgof ;*sn] g%'g] k|s/)f u df pNn]v eP afx]ssf k|=s=?= 

19,50,000.F 

 r_ ;f=ls=g+= 129, 130, 128 b]lv blIf)f ;f=ls=g+ 137 ;Dd ;f=ls=g+= 

120, 119 %f*L klZrdsf hUuf k|=s=?= 

15,00,000.F 

 %_ ;f=ls=g+= 120 b]lv pQ/ ls=g+= 114, 101 b]lv blIf)f k}gL b]lv 

k"j{sf hUuf k|=s=?= 

11,00,000.F 

 

 

h_ dflysf k|s/)fx?df pNn]v eP afx]ssf Kn^Lª eP/ ljqmL x'g] 

hUuf k|=s=?= 

3,00,000.F 

 em_ dfly k|s/)Fx?df pNn]v eP afx]s 9s sf cGo af^f] %'g] hUuf 

k|=s=?= 

3,50,000.F 

 `_ dfly k|s/)Fx?df pNn]v eP afx]s 9s sf af¤sL hUuf k|=s=?= 1,25,000.F 

dw'dNnf uf=lj=;= j*f g+= 9.v 
41   

 s_ dw'dNnf 9.v df kg]{ /fhdfu{ %'g] ;f=ls=g+= 36, 37, 49, 50 / 

/fhdfu{ %'g] /fhdfu{ blIf)fsf ls=g+= x? ;d]tsf hUuf k|=s=?= 

16,50,000.F 

 v_ k|s/)f s df kl/ ;f=ls=g+=n] ;f] /fhdfu{ %'g] xfnsf] lsQfn] g%'g] 

hUuf k|=s=? 

13,00,000.F 

 u_ ;f=ls=g+= 35 / 38 b]lv pQ/df kg]{ ls=g+= 14 b]lv blIF)fdf kg]{ 

;f=ls=g+= sf hUuf 

10,00,000.F 

 #_ ;f=ls=g+= 14 %f*L ;f]b]lv pQ/ 4 / 24 b]lv blIf)fdf kg]{ hUuf 

k|=s=?= 

7,00,000.F 

 ª_ ;f=ls=g+= 4, 14, 10 %f*L ;f] pQ/ gS;f ;Ldfgf;Ddsf hUuf 

k|=s=?= 

4,50,000.F 

 r_ dw'dNnf 9.v cGtu{tsf Kn^Lªsf hUuf k|=s=?= 3,00,000.F 



65 

 

 %_ 9v cGtu{t leqL sRrL af^f]n] %'g] hUuf k|=s= 2,25,000.F 

 h_ 9.v sf dfly k|s/)fdf k/]b]lv afx]ssf cGo ;Dk")f{ hUuf k|=s=?= 1,25,000.F 

dw'dNnf uf=lj=;= j*f g+= 9.u 
42   

 s_ dw'dNnf 9.u ;f=ls=g+= 30 sf^ e} sfodL ls=g+= 1043÷1044 

b]lv blIf)fsf hUuf tyf ;f=ls=g+= 87 b]lv 90, 132, 133, 134, 138 

b]lv 141, 146, 147, 149 b]lv 151, 157 sf] /fhdfu{ %'g] hUuf 

k|=s=?= 

24,00,000.F 

 v_ k|s/)f s df k/] afx]s pNn]lvt ls=g+=sf af+sL hUuf / ;f=ls=g+= 

91 sf hUufx? k|=s=? 

 

17,50,000.F 

 u_ ;f=ls=g+= 29, 31 b]lv 86 ;Dd yfkfrf}saf^ pQ/ hfg]] d"naf^f]n] 

%'g] hUuf k|=s=?= 

13,00,000.F 

 #_ ;f=ls=g+= 96 b]lv 110, 116 b]lv 120, 124 b]lv 128 ;Dd 

d+unjf/] rf}saf^ ;'gks'jf df=lj= hfg] af^f]n] %'g] hUuf k|s=?= 

13,00,000.F 

 ª_ ;f=ls=g+= 92 b]lv 95, 129 b]lv 131, / 135 sf hUuf k|=s=? 13,00,000.F 

 r_ ;f=ls=g+= 121 b]lv 123 ;Dd, 136, 137, 142, 143, 144 sf 

gS;fsf] k"j{df kg]{ d"naf^f] -k'/fgf] d+unjf/] ahf/ hfg] af^f]_ hUUff 

k|=s=? 

11,00,000.F 

 %_ k|s/)f u / # df k/] afx]s pNn]lvt ;f=ls=g+=sf af+sL hUuf 

tyf ;f=ls=g++ 152 b]lv 155 / 158 sf hUuf k|=s=? 

9,00,000.F 

 h_ k|s/)f r df k/] afx]s pNn]lvt ;f=ls=g+=sf af+sL hUufsf] k|=s=? 8,00,000.F 

 em_ ;f=ls=g+= 159 sf^ e} sfodL ls=g+= 862 sf] /fhdfu{ %'g] hUuf 

k|=s=? 

15,50,000.F 

 `_ ;f=ls=g+= 145 sf] /fhdfu{ %'g] hUuf / ;f=ls=g+= 862 sf af+sL 

hUuf k|=s=? 

10,00,000.F 

 ^_ ;f=ls=g+= 1, 2, 11 b]lv blIf)f 15, 23 ;Dd ;f=ls=g+= 19, 20, 

27 sf] If]q leq kg]{ hUuf k|=s=? 

7,00,000.F 

 &_ ;f=ls=g+= 159 sf^ e} sfod 863 sf af+sL hUuf k|=s=? 6,00,000.F 

 *_ ;f=ls=g+= 145 sf^ e} sfod 253 b]lv blIf)fsf hUuf k|=s=? 3,50,000.F 

 (_ ;f=ls=g+= 159 sf^ e} sfod 864 sf af+sL hUuf k|=s=? 3,50,000.F 

 )f_ dfly pNn]v eP afx]s dw'dNnf 9u cGtu{t Knl^ªsf hUuf 

k|=s=? 

3,00,000.F 

 t_ ;f=ls=g+= 112, 113, 114, 160 sf hUufx? k|=s=? 1,75,000.F 

 y_ 9u cGtu{t leqL sRrL af^f]n] %'g] hUuf k|=s= 1,75,000.F 

dw'dNnf uf=lj=;= j*f g+= 9.# 
43   

 s_ ls;fg rf}saf^ ^f+*L hfg] af^f] ls=g+= 416 b]lv pQ/ ;f=ls=g+= 

97 b]lv blIf)f af^f]sf] bfof+ jfof+ 150 km'^ ;Ddsf hUuf k|=s=?= 

10,50,000.F 

 v_ ;f=ls=g+= 97 %f*L ;f] pQ/ ;f=ls=g+= 82, 83 ;Dd ls;fg rf}s 

^f+*L af^f]n] %'g] hUuf k|=s=?= 

8,00,000.F 

 u_ ;f=ls=g+= 82, 83 %f*L ;f] pQ/ gS;f l;dfgf;Dd ls;fg rf}s 

^f+*L af^f]n] %'g] hUuf k|=s=?= 

7,00,000.F 

 #_ k|s/)f s, v df kl/ ;f=ls=g+= n] ;f] af^f] %'g] xfnsf] lsQfn] 

g%'g] hUuf k|=s=?= 

6,00,000.F 

 ª_ ;f=ls=g+= 82 %f*L ;f] klZrd k'/fgf] d+unjf/] hfg] af^f]n] %'g] 

;f=ls=g+= 88 ;Dd k"j{klZrdsf] af^f]n] %'g] ;f=ls=g+=sf hUuf k|=s=? 

4,50,000.F 

 r_ dfly k|s/)F u df pNn]v ePsf] ;f=ls=g n] ;f] af^f] %'g] xfnsf] 3,50,000.F 
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lsQfn] ;f] af^f] g%'g] hUuf k|=s=? 

 %_ ls=g+= 318 sf] k"j{df kg]{ k}gLsf] af^f]n] %'g] ls=g+= 482 %f*L ;f] 

blIf)fsf hUuf / ;f] af^f] klZrdsf ;Dk")f{ hUuf k|=s=?= 

4,50,000.F 

 h_ ;f=ls=g+= 15 ;d]t b]lv blIf)f ls=g+= 17 sf] k}gLsf] af^f] b]lv 

klZrd ;f=ls=g+= 34 ;Dd sf hUuf k|=s=?= 

3,50,000. 

 em_ ;f=ls=g+= 17 sf] k}gLsf] af^f] %'g] hUuf k|=s=?= 2,25,000. 

 `_ dfly pNn]v eP b]lv afx]s ls=g+= 470 %f*L ;f] blIf)F k}gLsf] 

af^f]n] %'g] af^f] k"j{sf hUuf k|=s=?= 

2,75,000. 

 ^_ dfly pNn]v eP afx]s Kn^Lª u/L ljqmL ul/g] hUuf k|=s=?= 2,50,000.F 

 &_ dfly pNn]v eP afx]ssf leqL sRrL af^f]n] %'g] hUuf k|=s=?= 1,00,000.F 

dw'dNnf 9ª 
44   

 s_ ls=g+= 412, 565, 450 b]lv blIf)f ls=g+= 3 sf^ e} sfod ls=g+= 

73, 74, 238, 237, 610, 725, 536, 326, 170, 173, %f*L ;f] 

klZrd ls=g+= 613, 614 %f*L pQ/ / ;f=ls=g+=1 / 13 %f*L ;f]  

k"j{sf hUuf k|=s=? 

7,00,000.F 

 v_ ;f=ls=g 3 sf^ e} sfod 73, 74 b]lv blIf)f ;f=ls=g= 14 ;d]t 

;f] pQ/ gS;fsf] af^f] klZrdsf hUuf tyf ;f=ls=g+= 1 / 13 sf] 

hUuf k|=s=? 

4,50,000.F 

 u_ dfly pNn]v eP afx]s dw'dNnf 9ª cGtu{t Knl^ªsf hUUff k|=s=? 3,00,000.F 

 #_ dfly pNn]v eP afx]s cGo af^f]n] %'g] hUuf k|=s=? 1,25,000.F 

dw'dNnf uf=lj=;= j*f g+= 9.r 
45   

 s_ ;f=ls=g+= 5, 6 sf] /fhdfu{ %'g] hUuf /  ls;fg rf}s b]lv pQ/ 

hfg] ls;fgrf}s ^f+*L af^f]n] %'g] hUuf k|=s=?=  

16,50,000.F 

 v_ ;f=ls=g+= 4, 13, 14, 22, 23, 24, 25, 26, 75 b]lv 82 ;Dd 

145, 146, 147 / ;f=ls=g+= 74 sf^ e} sfodL ls=g+= 151, 171, 

173, 368, 369, 371, 372, 375 sf /fhdfu{ %'g] / ;f=ls=g+= 25 

sf^ e} sfodL ls=g+= 149, 393, 394 sf /fhdfu{ %'g] -aqmfxf 

vf]nfsf] k'n d'lg k/]sf hUuf afx]s_ / ;f=ls=g+= 5 / 6 sf af+sL 

hUuf k|=s=?= 

 

 

 

9,00,000.F 

 u_ dfly pNn]v eP afx]s ;f=ls=g+= 7 b]lv 11 ;Ddsf hUuf / efg' 

k':tsfno klZrdsf] d"n af^f] %'g] ls=g+= 85 ;Ddsf hUuf k|=s=?= 

7,00,000.F 

 #_ dfly k|s/)f v df pNn]v eO{ ;f] k|s/)fdf gk/]sf lsTtf g+=sf 

jfsL  lsQf sf^ eO jf geO{ k%f*L k/]sf vf]nf s^fgdf k/]sf 

afx]ssf hUuf k|=s=?= 

4,00,000.F 

 ª_ k|s/)f s, v, u df k/]b]lv afx]s /fhdfu{ pQ/sf -gbL s^Fg 

If]q jfx]ssf_ af+sL hUuf k|=s=?= 

2,75,000.F 

 r_ dfly pNn]v eP jfx]s /fhdfu{ blIf)fsf ;f=ls=g+= 83 b]lv 92 

;Dd gS;fsf] k"j{df kg]{ af^f]n] %'g] hUuf k|=s=?= 

3,50,000.F 

 %_ dfly pNn]v eP afx]s dw'dNnf 9.r cGtu{tsf Kn^Lªsf hUuf 

k|=s=?= 

2,50,000.F 

 h_ k|s/)f r df kl/ ;f=ls=g+=n] ;f] af^f] %'g] xfnsf] lsQfn] g%'g] 

tyf pNn]v ePsf ;f=ls=g+=sf af+sL hUuf k|=s=? 

2,25,000.F 

 em_ ;f=ls=g= 45 b]lv blIF)f 60, 30, 29 ;d]t b]lv pQ/ 28 %f*L 

;f] klZrd pQ/sf hUufx? k|=s=?= 

1,25,000.F 

 `_ dflysf k|s/)fdf k/]b]lv afx]s dw'dNnf 9.r sf af^f]n] %'g] hUuf 

k|=s=?= 

1,75,000.F 
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 ^_ dflysf s'g}klg k|s/)fdf gk/]sf 9.r sf af+sL hUuf k|=s=?=  40,000.F 

dw'dNnf uf=lj=;= 
46 s_ dfly k|s/)F x?df pNn]v eP afx]s pnf{af/L dw'dNnf ;*sn] %'g] 

hUuf k|=s=?  

2,50,000.F 

 v_ dflysf k|s/)fx?df pNn]v eP afx]s dw'dNnf  j*f g+= 1 b]vL 

9 ;Ddsf Knl^ªsf hUuf k|=s=?= 

2,50,000.F 

 u_ dflysf k|s/)fx?df pNn]v eP afx]s dw'dNnf j*f g= 1 b]lv 9 

;Dd zfvf af^f], leqL,sRrL af^f]n] %f]Psf hUuf k|=s=?= 
75,000.F 

 #_ dflysf k|s/)fx?df pNn]v eP afx]s dw'dNnf j*f g+= 5v, 5u, 

5#, 5ª, 5r, 5%, 5em, 5`, 5*, 5(, 5)f, 5t, 6w, 9s, 9v 

afx]ssf cGo v]tLof]Uo hUuf k|=s=?= 

50,000.F 

15=/fh#f^ uf=lj=;= 

/fh#f^ uf=lj=;= j*f g+= 1.s 

1   

 s_ ;f=ls=g++= 21 b]lv blIf)f ;f=ls=g+= 27, 28, 34 x'+b} 

;f=ls=g+= 105 ;d]t b]lv pQ/ pnf{jf/L j/*+uf ;*snfO{ %'g] 

hUufx? k|=s=?= 

12,00,000.F 

 v_ ;f=ls=g+= 105 %f*L ;f]b]lv blIf)f ls=g+= 144 ;d]t b]lv 

pQ/ pnf{jf/LYj/*+uf ;*snfO{ %'g] hUufx? k|=s=?= 

8,00,000.F 

 u_ ;f=ls=g+= 58 b]lv klZrd ;f=ls=g+= 7 / 8 b]lv k"j{ tyf 

;f=ls=g+= 13 b]lv blIf)f ;f=ls=g+= 8 ;Ddsf hUufx? k|=s=?= 

6,00,000.F 

 #_ k|s/)f s df pNn]v ePsf t/ ls=sf x'+b} k%f*L k/]sf 

hUUfx? / ;f=ls=g= 12 b]lv 16 ;Ddsf hUUffx? k|=s=?= 

5,00,000.F 

 ª_ k|s/)f v df pNn]v ePsf t/ ls=sf= x'+b} k%f*L k/]sf 

hUufx? k|=s=?= 

3,50,000.F 

 r_ ;f=ls=g+= 1 b]lv blIf)f ls=g+= 88 b]lv pQ/ k"j{ / ls=g+= 

130 sf] k}gLb]lv klZrd pQ/ tyf ;f=ls=g+= 97 / 71 b]lv 

pQ/ ;d]tsf hUufx? k|=s=?= 

3,00,000.F 

 %_ dfly pNn]v eP afx]s 1s cGt{ut Knl^ªsf hUuf k|=s=? 2,50,000.F 

 h_ dfly pNn]v eP afx]s ;f=ls=g 96, 99 b]vL blIf)F ls=g= 

120, 232 b]vL pQ/ dfly pNn]v eP afx]s sf hUUff k|=s=? 

1,75,000.F 

 em_ dfly k|s/)fdf pNn]v eP afx]s cGo af^f]n] %'g]] hUufx? 

k|=s=?= 

1,50,000.F 

 `_ dfly k|s/)fdf pNn]v eP afx]s cGo v]tLof]Uo hUufx? 

k|=s=?= 

50,000.F 

/fh#f^ uf=lj=;= j*f g+= 1.v 

2   

 s_ ;f=ls=g+= 100 b]lv blIf)f ;f=ls=g+= 95 b]lv pQ/ 

pnf{jf/LYj/*+uf ;*snfO{ %'g] hUufx? k|=s=?= 

12,00,000.F 

 v_ ;f=ls=g+= 95 %f*L ;f] b]lv blIf)f ;f=ls=g+= 47 ;Dd 

pnf{jf/LYj/*+uf ;*snfO{ %'g] hUufx? k|=s=?= 

800,000.F 

 u_ ;f=ls=g+= 3 b]lv blIf)f ;f=ls=g+= 10 b]lv pQ/ tyf k|s/)f 

s df pNn]v ePsf t/ ls=sf= x'+b} kxf*L k/]sf hUufx? 

k|=s=?= 

6,00,000.F 
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 #_ k|s/)f s df k/L ls=sf= x'+b} k%f*L k/]sf hUuf k|=s=?= 6,00,000.F 

 ª_ k|s/)f v df pNn]v ePsf t/ ls=sf= x'+b} k%f*L k/]sf 

hUufx? k|=s=?= 

4,50,000.F 

 r_ dfly pNn]]v eP afx]s /fh#f^ 1.v cGtu{tsf Kn^Lªsf 

hUuf k|=s=?= 

2,50,000.F 

 %_ dfly pNn]]v eP afx]s ;f=ls=g+= 11 b]lv blIf)f 48 ;Dd, 

ls=g+= 51 sf] k}gL k"j{sf hUufx? k|=s=?= 

1,50,000.F 

 h_ dfly k|s/)fdf pNn]v eP afx]s af+sL v]tL of]Uo hUufx? k|=s=?= 50,000.F 

/fh#f^ uf=lj=;= j*f g+= 1.u 

3   

 s_ ;f=ls=g+= 1 b]lv blIf)f 73 ;Dd pnf{jf/L j/*+uf ;*s;+u 

hf]l*Psf hUufx? k|=s=?= 

7,00,000.F 

 v_ k|s/)f s df pNn]v ePsf t/ ls=sf= x'+b} k%f*L k/]sf 

hUufx k|=s=?= 

3,50,000.F 

 u_ ;f=ls=g+= 4 b]lv blIf)f ls=g+= 109 sf] k}gL b]lv klZrdsf 

hUufx? k|=s=?= 

1,75,000.F 

 #_ /fh#f^ 1.u cGtu{tsf Kn^Lªsf hUuf k|=s=?= 2,50,000.F 

 ª_ dfly k|s/)fx?df pNn]v ePsf hUufx? afx]s af+sL v]tL 

of]Uo hUufx? k|=s=?= 

45,000.F 

/fh#f^ uf=lj=;= j*f g+= 2.% 

4   

 s_ ls=g+= 91 b]lv blIf)f ;f=ls=g+= 36 / 41 ;Ddsf 

pnf{jf/LYj/*+uf ;*ssf bfof+ jfof+sf hUufx? k|=s=?= 

5,00,000.F 

 v_ k|s/)f s df pNn]v ePsf t/ ls=sf= x'+b} k%f*L k/]sf / 

Kn^Lª x'g] hUufx? k|=s=?= 

2,50,000.F 

 u_ ;f=ls=g+= 1 / ;f] b]lv k"j{sf hUufx? k|=s== 1,75,000.F 

 #_ dfly k|s/)fdf pNn]v eP afx]ssf af+sL v]tL of]Uo hUufx? 

k|=s=?= 

45,000.F 

/fh#f^ uf=lj=;= j*f g+= 2.h 

5   

 s_ ;f=ls=g+= 7, 9, 8, 20, 18, 31, 34, 36 ;d]tdf kg]{ 

pnf{jf/L j/*+uf ;*sn] %'g] hUufx? k|=s=?= 

3,00,000.F 

 v_ dfly pNn]v eP afx]s 2 h cGtu{tsf Kn^Lªsf hUuf 

k|=s=?= 

2,00,000.F 

 u_ ;f=ls=g+= 39, 40 b]lv pQ/ pnf{jf/L j/*+uf ;*sb]lv k"j{ 

;f=ls=g+= 9, 10, 11 b]lv blIf)fsf hUufx? / k|s/)f s df 

pNn]v ePsf t/ ls=sf= x'+b} k%f*L k/]sf hUufx? k|=s=?= 

1,20,000.F 

 #_ ;f=ls=g+= 2 / 6 b]lv blIf)f ;f=ls=g+= 19 %f*L ;f]b]lv 

pQ/sf hUufx? k|=s=?= 

1,20,000.F 

/fh#f^ uf=lj=;= j*f g+= 3.# 

6   

 s_ ;f=ls=g+= 2 / 3 b]lv blIf)f ;f=ls=g+= 19, 22 x'+b} blIf)fL 

gS;f ;Ldfgf;Dd pnf{jf/L j/*+uf ;*ssf bfof+ jfof+sf hUufx? 

k|=s=?= 

3,50,000.F 
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 v_ dfly pNn]v eP afx]s 3.# cGtu{tsf Kn^Lªsf hUuf 

k|=s=?= 

2,00,000.F 

 u_ k|s/)f s df pNn]v ePsf ls=sf= x'+b} k%f*L k/]sf 

hUufx? k|=s=?= 

1,20,000.F 

 

/fh#f^ uf=lj=;= j*f g+= 4.u 

7   

 s_ sfsL{ rf}s blIf)f -ls=g+= 205, 194 ;d]tb]lv blIf)f_ gS;f 

;Ldf;Ddsf hUuf k|=s=?= 

15,00,000.F 

 v_ dfly pNn]v eP afx]s sfsL{ rf}s k"j{ uf]k]Zj/ dlGb/ hfg] 

af^f] blIf)f ls=g+= 148, 153, 154 %f*L ;f] klZrd, 

pnf{jf/LYj/*+uf af^f] k"j{, pnf{jf/L j/*+uf af^f] g%'g] hUuf 

k|=s=?= 

9,00,000.F 

 u_ pnf{jf/LYj/*+uf af^f] klZrd, sfsL{ rf}saf^ du/^f]n hfg] 

af^f]n] %'g] ;f] Pl/ofsf / ;f]af^f] blIf)f ls=g+= 195, 196, 116, 

134, 135 %f*L ;f] k"j{ pnf{jf/LYj/*+uf af^f] g%'g] hUuf 

k|=s=?= 

8,50,000.F 

 #_ sfsL{ rf}s pQ/ -205, 194 %f*L_ gS;f ;Ldf;Dd -69, 6 

;Dd_ pnf{jf/L j/*+uf af^f] %'g] hUuf k|=s=?= 

10,00,000.F 

 ª_ # df k/L xfnsf] ls=g+= n] ;f]af^f] g%'g] hUuf k|=s=?= 4,50,000.F 

 r_ 148, 191 blIf)f 154, 153, 152, 150 ;Ddsf hUuf 

k|=s=?= 

4,50,000.F 

 %_ dfly pNn]v eP afx]ssf 98 blIf)f, 130 ;Dd 195, 196, 

116, 135, 134 b]lv klZrd hUuf k|=s=?= 

3,00,000.F 

 h_ ;fls=g+= 1 b]lv 5 ;Ddsf hUuf k|=s=?= 3,00,000.F 

 em_ Kn^Lªsf hUuf k|=s=?= 3,00,000.F 

 `_ dfly pNn]v eP afx]s cGo af^f] %'g] hUuf k|=s=?= 2,00,000.F 

/fh#f^ uf=lj=;= j*f g+= 4.# 

8   

 s_ ;f=ls=g+= 19, 20, 21, 22, 23 x'+b} 32, 33, 29, 34, 28, 

35 ;d]tsf pnf{jf/LYj/*+uf ;*ssf bfof+ jfof+sf hUufx? 

k|=s=?= 

5,00,000.F 

 v_ k|s/)F s df pNn]v eP afx]s ls=sf x'b} k%fl* k/]sf 

hUuf k|=s=?=  

3,25,000.F 

 u_ 4.# cGtu{tsf Kn^Lªsf hUuf k|=s=?= 3,00,000.F 

 #_ leqL af^f]n] %'g] hUufx? k|=s=?= 2,00,000.F 

/fh#f^ uf=lj=;= j*f g+= 4.( 

9   

 s_ /fh#f^ 4.( cGtu{t O^x/f j/*+uf af^f]n] %'g] ;f=ls=g+= 

43, 45, 46, 48, 51, 52 -50 ls=sf= eO{ 210_ sf xfn 

ls=g+= n] af^f] %'g] hUufx? k|=s=?= 

4,00,000.F 

 v_ dfly pNn]v eP afx]s Kn^Lªsf hUuf k|=s=?= 3,00,000.F 

 u_ s df pNn]v e} xfnsf] lsQfn] ;f]af^f] g%'g] hUuf k|=s=?= 2,25,000.F 

 #_ dfly pNn]v eP afx]s cGo af^f]n] %'g] hUuf k|=s=?= 1,75,000.F 
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/fh#f^ uf=lj=;= j*f g+= 4.t 

10   

 s_ ;f=ls=g+= 6 sf] klZrd tkm{af^ blIf)f hfg] O^x/f j/*+uf 

;*sn] %'g] xfnsf ls=g+= sf hUufx? k|=s=?= 

4,50,000.F 

 v_ k|s/)f s df pNn]v eP afx]s ;f=ls=g+= n] ;f] af^f] %'g] 

xfnsf lsQfn] ;f] af^f] g%'g] hUuf k|=s=?= 

3,00,000.F 

 u_ dfly pNn]v eP afx]s 4.t cGtu{tsf Kn^Lªsf hUuf k|=s=?= 3,00,000.F 

 #_ dfly pNn]v eP afx]s cGo af^f]n] %'g] hUuf k|=s=?= 2,00,000.F 

/fh#f^ uf=lj=;= j*f g+= 4.y 

11   

 s_ ;f=ls=g+= 1 b]lv 6 ;Dd O^x/f j/*+uf lkr af^f]n] %'g] 

hUufx? k|=s=?= 

4,00,000.F 

 v_ dfly pNn]v eP afx]s Kn^Lªsf hUuf k|=s=?= 3,25,000.F 

 u_ s df pNn]v e} xfnsf] lsQfn] ;f]af^f] g%'g] hUufx? 

k|=s=?= 

2,00,000.F 

 #_ dfly pNn]v eP afx]s cGo af^f]n] %'g] hUuf k|=s=?= 2,00,000.F 

/fh#f^ uf=lj=;= j*f g+= 6.P] 

12   

 s_ ;f=ls=g+= 12, 17, 18, 19, 23, 24, 26, 27, 29, 30 

;d]tsf pnf{jf/L j/*+uf d"n ;*sn] %'g] hUufx? k|=s=?= 

15,00,000.F 

 v_ ;f=ls=g+= 1, 2, 3, 4, 5, 8, 9 sf pnf{jf/L j/*+uf d"n 

;*sn] %'g] hUufx? k|=s=?= 

12,00,000.F 

 u_ k|s/)f s sf hUufx? ls=sf= x'+b} k%f*L k/]sf hUufx? k|=s=?= 8,00,000.F 

 #_ v df k/L xfnsf] lsQfn] ;f]af^f] g%'g] hUuf k|=s=?= 7,00,000.F 

 ª_ ;f=ls=g+=6, 7, 10, 11sf hUuf k|=s=?= 4,00,000.F 

 r_ dfly pNn]v eP afx]ssf ls=g+= 41, 133 k"j{ pnf{jf/L 

j/*+uf af^f] klZrdsf hUuf k|=s=?= 

3,50,000.F 

 %_ dfly pNn]v eP afx]s Kn^Lªsf hUuf k|=s=?= 3,00,000.F 

 h_ cGo af^f]n] %'g] hUuf k|=s=?= 2,00,000. 

/fh#f^ uf=lj=;= j*f g+= 6.s 

13   

 s_ ;f=ls=g+= 37 / 38 b]lv blIf)f 40, 43, 44 ;d]t d"n 

af^f]n] %'g] hUufx? k|=s=?= 

3,00,000.F 

 v_ dfly pNn]v eP afx]s Kn^Lªsf hUuf k|=s=?= 3,00,000.F 

 u_ s df k/L xfnsf ls=g+= n] ;f]af^f] g%'g] hUuf k|=s=?= 1,75,000.F 

/fh#f^ uf=lj=;= j*f g+= 6.u 

14   

 s_ /fh#f^ 6.u cGtu{t pnf{jf/L j/*+uf af^f]n] %'g] hUuf k|=s=?= 3,00,000.F 

 v_ dfly pNn]v eP afx]s Kn^Lªsf hUuf k|=s=?= 3,00,000.F 

 u_ k|s/)f s df k/L ;fljs lsQfn] ;f] af^f] %'g] xfnsf 

lsQfn] g%'g] hUuf k|=s=?= 

1,75,000.F 
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/fh#f^ uf=lj=;= j*f g+= 6.em 

15   

 s_ ;flsg+= 31 b]lv blIf)f gS;f ;Ldf;Ddsf pnf{jf/L j/*+uf 

af^f]n] %'g] hUuf k|=s=?= 

7,00,000.F 

 v_ ;flsg+= 31 %f*L pQ/ gS;f ;Ldf;Ddsf pnf{jf/L j/*+uf 

af^f]n] %'g] hUuf k|=s=?= 

5,00,000.F 

 u_ s,v df k/L xfnsf] lsQfn] pnf{jf/L j/*+uf af^f] g%'g] hUuf 

k|=s=?= 

3,25,000.F 

 #_ dfly pNn]v eP afx]ssf Kn^Lªsf hUuf k|=s=?= 3,00,000.F 

 ª_ dfly pNn]v eP afx]ssf cGo af^f] %'g] hUuf k|=s=?= 2,00,000.F 

/fh#f^ uf=lj=;= j*f g+= 6.` 

16   

 s_ ;f=ls=g+= 12, 14, 19, 21, 40, 55, 59 %'+b} O^x/f j/*+uf 

af^f]n] %'g] af^f] bfof+ jfof+sf hUufx? k|=s=?= 

5,00,000.F 

 v_ dfly pNn]v eP afx]ssf Kn^Lªsf hUuf k|=s=?= 3,00,000.F 

 u_ s df k/L xfnsf] lsQfn] pnf{jf/L j/*+uf af^f] g%'g] hUuf 

k|=s=?= 

2,75,000.F 

 #_ dfly pNn]v eP afx]ssf cGo af^f] %'g] hUuf k|=s=?= 2,00,000.F 

/fh#f^ uf=lj=;= j*f g+= 6.^ 

17   

 s_ ;f=ls=g+= 35 / 36 ls=sf=e} sfodL lsQfx?n] ;*s %'g] 

hUufx? k|=s=?= 

400,000.F 

 v_ dfly pNn]v eP afx]ssf Kn^Lªsf hUuf k|=s=?= 3,00,000.F 

 u_ s df k/L xfnsf] lsQfn] pnf{jf/L j/*+uf af^f] g%'g] hUuf 

k|=s=?= 

1,75,000.F 

 #_ dfly pNn]v eP afx]ssf cGo af^f] %'g] hUuf k|=s=?= 2,00,000.F 

/fh#f^ uf=lj=;= j*f g+= 6.( 
18   

 s_ ;fls=g+= 28, 30 ls=sf= e} sfod ePsf ls=g+= x? ;d]tsf O^x/f 

ahf/If]qsf pnf{jf/L j/*+uf af^f] g%'g] hUuf k|=s=?= 

12,50,000.F 

 v_ s df k/] afx]s O^x/f ahf/If]qsf hUuf k|=s=?= 8,50,000.F 

 u_ s df pNn]v eP afx]s pnf{jf/L j/*+uf af^f] %'g] hUuf 

k|=s=?= 

5,00,000.F 

 #_ dfly pNn]v eP afx]ssf Kn^Lªsf hUuf k|=s=?= 3,00,000.F 

 ª_ dfly pNn]v eP afx]s ls=g+= 172, 121 blIf)f, 130 ,196, 

233, 145, 100, 33, 486, 479, 146, 354, 356 %f*L ;f] 

k"j{sf cGo hUuf k|=s=?= 

3,00,000.F 

 r_ dfly pNn]v eP afx]ssf cGo af^f] %'g] hUuf k|=s=?= 2,00,000.F 

 

/fh#f^ uf=lj=;= j*f g+= 6.y 

19   

 s_ pnf{jf/L j/*+uf ;*sn] %'g] hUufx? k|=s=?= 3,00,000. 

/fh#f^ uf=lj=;= j*f g+= 6.b 
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 s_ pnf{jf/L j/*+uf ;*sn] %'g] hUufx? k|=s=?= 3,00,000 

/fh#f^ uf=lj=;= j*f g+= 6.g 
20   

 s_ ;flsg+= 14, 16, 20 sf] pnf{jf/L j/*+uf ;*sn] %'g] hUuf 

k|=s=?= 

15,00,000.F 

 v_ k|s/)f s df pNn]v ePsf ;f=ls=g+= n] af^f] %'g] ls=sf= x'+b} 

k%f*L k/]sf hUufx? / ;f=ls=g+=9 sf hUufx? k|=s=?= 

8,00,000.F 

 u_ ;flsg+= 65, 54, 63, 92, 93 sf hUuf k|=s=?= 5,00,000.F 

 #_ ;Flsg+= 1 k"j{, 23, 40 ;d]tb]lv klZrdsf hUuf k|=s=?= 4,00,000.F 

 ª_ Kn^Lªsf hUuf k|=s=?= 3,50,000.F 

 r_ dfly pNn]v eP afx]ssf cGo af^f] %'g] hUuf k|=s=?= 2,00,000.F 

/fh#f^ uf=lj=;= j*f g+= 6.o 
21   

 s_ ;flsg+= 24, 25, 26, 27, 28 ;d]tsf pnf{jf/L j/*+uf ;*sn] 

%'g] O^x/f ahf/If]qsf hUuf k|=s=?= 

13,00,000.F 

 v_ k|s/)f s df pNn]v ePsf ;f=ls=g+= n] af^f] %'g] ls=sf= x'+b} 

k%f*L k/]sf / O^x/f ahf/If]qsf cGo af+sL hUufx? k|=s=?= 

8,00,000.F 

 u_ dfly pNn]v eP afx]s ;f] blIf)f gS;f ;Ldf;Ddsf pnf{jf/L 

j/*+uf ;*sn] %'g] hUuf k|=s=?= 

5,00,000.F 

 #_ dfly pNn]v eP afx]ssf Kn^Lªsf hUuf k|=s=?= 3,00,000.F 

 ª_ k|s/)f u df pNn]v ePsf ;f=ls=g+= n] af^f] %'g] ls=sf= x'+b} 

k%f*L k/]sf hUufx? k|=s=?= 

4,00,000.F 

 r_ ls=g+= 106 ;d]tb]lv blIf)f, 31, 123 %f*L ;f] pQ/sf af+sL 

hUuf k|=s=?= 

2,25,000.F 

 %_ dfly pNn]v eP afx]ssf cGo af^f] %'g] hUuf k|=s=?= 2,00,000.F 

/fh#f^ uf=lj=;= j*f g+= 6./, 6j, 6z 

22   

 s_ /fh#f^ 6/ 6j / 6z cGtu{tsf Knl^ªsf hUufx? k|=s=?= 3,00,000.F 

 v_ pnf{jf/L j/*+uf ;*sn] %'g] hUufx? k|=s=?= 3,00,000.F 

 u_ k|s/)f s sf hUufx? ls=sf= x'+b} k%f*L k/]sf hUufx? 1,75,000.F 

/fh#f^ uf=lj=;= j*f g+= 6.q 

23   

 s_ /fh#f^ 6q cGtu{tsf Knl^ªsf hUufx? k|=s=?= 3,00,000.F 

 v_ ;f=ls=g+= 8 b]lv pQ/ 40, 41, 4,93, 94, 14, 18 x'+b} 
;f=ls=g+= 1 sf^ e} sfodL ls=g+= 63 ;Ddsf af^f]sf] bfof+ jfof+sf 

hUufx? k|=s=?= 

2,00,000.F 

/fh#f^ uf=lj=;= j*f g+= 7.s 

24   

 s_ ;f=ls=g+= 22, 66 b]lv pQ/ 161 ;Ddsf] O^x/f j/*+uf 

af^f]sf] bfof+ jfof+sf hUufx? k|=s=?= 

6,00,000.F 

 v_ k|s/)f s df k/L ;f=ls=g+= n] af^f] %'g] xfnsf] ls=g+=n] 

af^f] g%'g] -300 lkm^_ hUuf k|=s=?= 

3,50,000.F 

 v_ /fh#f^ 7.s cGtu{tsf Kn^Lªsf hUuf k|=s=?= 2,50,000.F 

 u_ /fh#f^ 7.s cGtu{t cGo gS;fsf] af^f] leqL af^f] %'g] 

hUufx? k|=s=?= 

1,20,000.F 
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/fh#f^ uf=lj=;= j*f g+= 7.v 

25   

 s_ ;f=ls=g+= 44 ls=sf= e} sfodL ls=g+=766 b]lv blIf)f 

pnf{jf/L j/*+uf ;*sn] %'g] bfof+ jfof+sf hUufx? k|=s=?= 

8,00,000.F 

 v_ ;f=ls=g+= 13, 14 b]lv blIf)f k|s/)f s sf] ;f=ls=g+= 766 

afx]s b]lv pQ/ pnf{jf/L j/*+uf ;*sn] %'g] bfof+ jfof+sf 

hUufx? k|=s=?= 

6,00,000.F 

 u_ k|s/)F s df pNn]v ePsf ;f=ls=g n] ;f] af^f] %'g] xfnsf] 

ls=Qf n] ;f] af^f] g%'g] hUuf k|=s=? 

4,50,000.F 

 #_ k|s/)F v df pNn]v ePsf ;f=ls=g n] ;f] af^f] %'g] 

xfnsf] ls=Qf n] ;f] af^f] g%'g] hUuf k|=s=? 

3,50,000.F 

 ª_ ;f=ls=g+= 42, 43 sf hUufx? k|=s=?= 3,50,000.F 

 r_ ;f=ls=g+= 129 b]lv blIf)fsf hUuf k|=s=?= 1,25,000.F 

 %_ Kn^Lª x'g] jf Kn^Lª u/]/ ljqmL x'g] hUufx? k|=s=?= 2,50,000.F 

 r_ dfly k|s/)fx?df pNn]v eP afx]s leqL af^f]n] %'g] hUufx? 

k|=s=?= 

1,20,000.F 

/fh#f^ uf=lj=;= j*f g+= 7.u 

26   

 s_ ;f=ls=g+= 4 / 5 ls=sf=e} sfod ePsf ls=g+= sf hUufx? k|=s=?= 7,00,000.F 

 v_ ;f=ls=g+= 5 b]lv blIf)fsf] af^f]n] %'g] af^f] bfof+ jfof+sf 

hUufx? k|=s=?= 

5,50,000.F 

 u_ ;f=ls=g+= 2 b]lv blIf)fsf] af^f]n] %'g] hUuf k|=s=?= 3,50,000.F 

 #_ Kn^Lªsf hUufx? k|=s=?= 250,000.F 

   

/fh#f^ uf=lj=;= j*f g+= 7.# 

27   

 s_ pnf{jf/L j/*+uf ;*sn] %'g] ;*ssf bfof+ jfof+sf hUufx? 

k|=s=?= 

9,00,000.F 

 v_ k|s/)f s sf] ;f=ls=g+= n] af^f] %'g] ls=sf= x'+b} k%f*L 

k/]sf hUufx? / ls=g+= 30 sf] af^f]n] %'g] hUufx? k|=s=?= 

4,00,000.F 

 u_ /fh#f^ 7.# cGut{tsf Kn^Lªsf hUuf k|=s=?= 2,50,000.F 

 #_ cGo leqL af^f]n] %'g] hUufx? k|=s=?= 1,20,000.F 

/fh#f^ uf=lj=;= j*f g+= 8.s 

28   

 s_ ;f=ls=g+= 1 / 2 ls=sf=e} sfodL ls=g+=x?sf pnf{jf/L 

j/*+uf ;*snfO{ %'g] hUufx? k|=s=?= 

6,00,000.F 

 v_ k|s/)f -s_ df k/L ;f=ls=g+= n] af^f] %'g] xfnsf] ls=g+=n] 

af^f] g%'g] -300 lkm^_ leqsf hUUffx? k|=s=? 

3,50,000. 

 u_ /fh#f^ 8.s cGut{tsf Kn^Lªsf hUuf k|=s=?= 2,25,000.F 

 #_ k|s/)f s df k/]b]lv afx]s gS;fsf] af^f]n] %'g] hUuf 

k|=s=?= 

1,20,000.F 

/fh#f^ uf=lj=;= j*f g+= 8.u 

29   

 s_ b'uf{k'/L ahf/ rf]s leqsf] ;f=ls=g+= 1 ahf/If]q eLq kg]{ 14,00,000.F 
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lkr ;*sn] %'g] ls=g+= 193, 195 b]lv blIf)f ls=g+= 446 

;Ddsf af^f]sf bfof+ jfof+sf hUufx? k|=s=?= 

 v_ k|s/)f s df k/]sf afx]s ;f=ls=g+=1ls=sf=e} b'uf{k'/L 

ahf/If]q leq kg]{ sfodL ls=g+= 99 b]lv pQ/ 195 b]lv blIf)f ;f] 

b]lv k"j{ ls=g+= 394 / 401 If]q eLqsf hUufx? k|=s=?= 

8,50,000.F 

 u_ ;f=ls=g+= 1 ls=sf= e} sfodL ls=g+= 99 b]lv blIf)f ls=g+= 

104 ;Dd sf hUufx? k|=s=?= 

5,00,000.F 

 #_ dfly pNn]v eP afx]s /fh#f^ 8.u cGut{tsf Kn^Lªsf 

hUuf k|=s=?= 

2,50,000.F 

 ª_ dfly pNn]v eP afx]s cGo af^f] %'g] hUuf k|=s=?= 1,50,000.F 

/fh#f^ uf=lj=;= 

30   

 s_ dfly k|s/)Fx?df pNn]v eP afx]s pnf{af/L a/*+uf af^f]n] 

%'g] hUuf k|=s=? 

2,25,000.F 

 v_ dflysf k|s/)fx?df pNn]v eP afx]s /fh#f^ uf=lj=;= 

cGtu{t j*f g+= 1 b]lv 9 ;Dd Kn^Lªsf hUuf k|=s=?= 

2,25,000.F 

 u_ dfly k|s/)fdf pNn]v eP afx]s /fh#f^ uf=lj=;= cgtu{t 

j*f g+= 1 b]lv 9 ;Dd sf] leqL af^f], u|fe]n af^f], cGo 

af^f]n] %'g] hUufx? k|=s=?= 

60,000.F 

 #_ /fh#f^ uf=lj=;= cGtu{t j*f g+= 1 b]lv 9 ;Ddsf af+sL 

v]tL of]Uo hUufx? k|=s=?= 

30,000.F 

/fh#f^ 1 -O^x/f_ 
31   

 s_ O^x/f 1 sf] >]:tf cGtu{t pnf{af/L a/*+uf ;*s n] %'g] 

hUuf k|=s=?  

4,50,000.F 

 v_ k|s/)f s df pNn]v eP afx]s k|s/)f s df pNn]v e} 

;f=ls=g+= n] ;f]af^f] %'g] xfnsf] ls=g+= n] g%'g] hUuf k|=s=?= 

2,70,000.F 

 u_ dfly pNn]v eP afx]s O^x/f uf=lj=; cGtu{tsf Kn^Lªsf 

hUuf k|=s=?= 

2,50,000.F 

 #_ cGo af^f]n] %'g] hUuf k|=s=? 1,20,000.F 

 ª_ afsL v]tL of]Uo hUuf k|=s=?= 50000. 

 

 

16= n]^fª uf= lj= ;= 
n]^fª uf= lj= ;= j*f g+= 1.s 

1   

 s_ n]^fª 1.s ;f=ls=g+= 7, 11, 16, 17, 20, 23, 24, 25, 

u|fe]n af^f]n] %f]Psf hUufx? k|=s=?= 

3,50,000. 

 v_ s_ n]^fª 1.s ;f= ls= g+= 26, 28, 30, 32, 34, 35, 37, 

38, 39, 41, 45, 83, 84 / ;f] j*f leqsf cGo u|fe]n af^f]n] 

%f]Psf hUufx? k|=s=?= 

2,00,000. 

 u_ k|s/)F s / v df kl/ ;f=ls=g=n] jf^f] %'g] xfn ls=g=n] jf^f] 1,50,000. 
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g%'g] hUUffx? k|=s=?= 

 #_ 1s cGtuf{t Knl^ªsf hUuf k|=s=?= 2,75,000. 

n]^fª uf= lj= ;= j*f g+= 1.u 
2   

 s_ ;f=ls=g++ 48 %f*L ;f] k"j{ 92 klZrd, 73 %f*L blIf)f, 

km*gL a'wjf/] ahf/If]qsf] af^f]n] %'g] hUuF k|=s=?= 

6,50,000. 

 v_ ;f=ls=g++ 3,6 b]lv k"j{, 48 ;d]tb]lv klZrd df]^/af^f] bfof+ 

jfof+sf hUuf k|=s=?= 

4,00,000. 

  u_ s df k/L xfnsf] ls=g++ n] af^f] g%'g] hUuf k|=s=?= 2,75,000. 

 #_ ;f=ls=g+= 73 pQ/ t's]{ hfg] af^f] bfof+ jfof+sf hUuf 

k|=s=?= 

2,25,000. 

 ª_ 1.u sf Kn^Lªsf hUuf k|=s=?= 2,75,000. 

 r_ n]^fª 1.u cGtu{t cGo af^f] %'g] hUufx? k|=s=? 1,40,000. 

n]^fª uf= lj= ;= j*f g+= 1.# 
3   

 s_ ;f=ls=g+= 1, 2, 18, 26, 27, 28, 46, 49, 51 / 95 

sf af^f]n] %'g] hUuf k|=s=?= 

3,50,000. 

 v_ s df k/L xfnsf] ls=g++ n] af^f] g%'g] hUuf k|=s=?= 1,75,000. 

 u_ n]^fª 1# sf Knl^ªsf hUUff k|=s=? 2,75,000. 

 #_ ;f=ls=g+= 40, 49 %f*L ;f] pQ/, ;f=ls=g+= 54, 55, 56, 

57, 71, 72 ;Dd gS;fsf] u|fe]n af^f] / cGo af^f]n] %'g] 

hUuf k|=s=?= 

1,40,000. 

n]^fª uf= lj= ;= j*f g+= 1.r 

4   

 s_ sdnk'/ gS;fsf] af^f]n] %'g] ;f= ls= g+= 3 b]lv 9, 17 

b]lv 22, 28, 31, 32, 33, 34, 48, 50, 52, 53, 54, 55, 

58 b]lv 64, 70, 72 b]lv 78, 85 b]lv 89, 91 ;Ddsf 

hUufx? k|=s=?= 

3,50,000. 

 v_ k|s/)F s df k/L ;f=ls=g=n] jf^F] %'g] xfnsf] 

ls=g=n]=g%'g] hUuf x? k|lt k|=s=?=  

1,75,000. 

 u_ dfly k|s/)F s df pNn]v eP afx]s Knl^ªsf hUUff 

k|=s=? 

2,75,000. 

 #_ n]^fª 1.u cGtu{t cGo af^f] %'g] hUufx? k|=s=? 1,40,000. 

n]^fª uf= lj= ;= j*f g+= 2.s 

5   

 s_ ;f= ls= g+= 21, 22, 23, 24, 25, 35, 36, 38, 39, 

40, 48, 63 b]lv k'j{ 38 ;Ddsf u|fe]n af^f]n] %'g] bfof+ 

afof+sf hUuf k|=s=?= 

6,50,000. 

 v_ k|s/)F s df kl/ ;f=ls=g= n] jf^f] %'g] xfnsf] ls=g=n] 

g%'g] hUuf hUUff k|=s=? 

3,75,000. 

 u_ dfly k|s/)F  df pNn]v eP afx]s Knl^ªsf hUUff k|=s=? 2,75,000. 

 #_ dfly k|s/)Fdf pNn]v eP afx]s u|fj]n,d'n zfvf jf^f]n] 

%'g] hUUff k|=s=? 

1,40,000. 

n]^fª uf= lj= ;= j*f g+= 2.v 
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6   

 s_ gS;fsf] af^f]n] %'g] ;f= ls= g+= 9, 18, 21, 23, 24, 

25, 43, 44, 45, 46, 49, 52, 53, 64, 66, 67, 75 b]lv 

99 ;Dd -ls=g+= 88 afx]s 104, 105, 106, 108, 109, 

110, 112, 113, 114, 119, 123, 124, 126, 127, 128, 

129, 130, 131, 139, 137, 160, 162 sf] hUufsf] d"No k|= 

s= ?= 

3,50,000. 

 v_ s df k/L xfnsf] ls=g+=n] af^f] g%'g] hUuf k|=s=?= 1,75,000. 

 u_ dfly pNn]v eP afx]ssf Knl^ªsf hUUff k|=s=? 2,75,000. 

n]^fª uf= lj= ;= j*f g+= 2.ª 

7   

 s_ n]^fª uf= lj= ;= j*f g+= 2ª ahf/If]q d'n;*s ls= g+= 

760, 974 b]lv pQ/ -la=lk= rf}s_ x'+b} pQ/ 855 ;Dd 

af^f]sf] bfof+ afof+sf hUufx? k|= s= ?= 

21,00,000. 

 v_ ls= g+= 760, 974 %f*L ;f]b]lv blIf)f ;Ldfgf ;Dd d"n 

af^f] bfof+ afof+ hUuf / lj= lk= rf}s k"j{ 1015 / 1006 

;Dd lj=lk= rf}s klZrd 631, 641 ;Dd / ls= g+= 796 

klZrd 581 / 591 ;Dd / 942, 941, 919, 920, 921, 

922, 923 ;d]tsf ahf/ Pl/of af^f] bfof+ afo+fsf hUufx? 

k|=s=?= 

15,000,00. 

 u_ 2.ª gS;fleqsf] d"naf^f] k"j{ klZrdsf] cGo af^f]x? %'g]  

-k|s/)f s, v df k/]sf afx]s_ hUufx? k|=s=?= 

13,00,000. 

 #_ n]^fª 2.ª ahf/If]q leqsf cGo af+sL hUuf k|= s= ?=  7,00,000. 

 

 

n]^fª uf= lj= ;= j*f g+= 3.s 
8   

 s_ n]^fª 3.s ;fljs 16, 17sf d"naf^f] x'b} s'df/L rf}s 

;Ddsf] lkr af^f] %'g] hUufx? k|=s=?= 

13,00,000. 

 v_ dfly pNn]v eP afx]s ;f=ls=g+=16, 17 ls=sf= e} afsL 

/x]sf cGo hUufx? k|=s=? 

11,00,000. 

 u_ ;f= ls= g+= 11, 13, 15 af^ sfodL ls= g++ x?sf hUuf 

k|= s= ?= 

6,00,000. 

 #_ dfly pNn]v ePafx]s 3s cGtuf{t Knl^ªsf hUuf k|=s=? 2,75,000. 

 ª_ gS;fsf] af^f]n] %'g] 1 b]lv 10, 12, 14, 19, 20, 22,  

23, 24, 25, 27, 28, 29, 30, 31, 32, 33, 42, 51, 59, 

61, 62 ;Ddsf] sRrL af^f]n] %'g] hUuf k|=s=?= 

300,000. 

 ª_ cGo af^f]n] %'g] hUUff k|=s=? 1,40,000. 

n]^fª uf= lj= ;= j*f g+= 3.v 

9   

 s_ gS;fsf] af^f]n] %'g] ;f= ls= g+= 41, 42, 43, 44, 54, 

55, 56, 61, 62, 63, 66, 67, 69, 71, 75, 159 ;d]tsf 

hUufx? k|=s=?= 

4,50,000. 
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 v_ dfly pNn]v eP afx]s 3v cGtuf{t Knl^ªsf hUuf k|=s=? 2,75,000. 

n]^fª uf= lj= ;= j*f g+= 3.r 

10   

 s_ k|s/)F s df pNn]v eP afx]s n]^fª 3.r sf] gS;fsf] 

af^f]n] %'g] ;f= ls= g+= 1, 7, 10, 11, 13, 14, 15, 16, 17, 

19, 20, 22, 23, 24, 25, 26 sf hUufx? k|=s=?= 

4,00,000. 

 v_ n]^fª 3.r cGt{ut Knl^ªsf hUuf k|=s=? 2,75,000. 

n]^fª uf= lj= ;= j*f g+= 3.% 
11   

 s_ ;f= ls= g+= 1, 2, 3, 6, 7, 10, 11, 12, 13, 15, 16, 

20, 21, 23 sf hUufx? k|=s=?= 

3,50,000. 

 v_ n]^fª 3.% cGt{ut Knl^ªsf hUuf k|=s=? 2,75,000. 

n]^fª uf= lj= ;= j*f g+= 4.s 

12   

 s_ n]^fª 4.s cGt{ut Knl^ªsf hUuf k|=s=? 2,75,000. 

 v_ n]^fª 4.s sf] gS;f leq kg]{ u|fe]n af^f]n] %'g] hUufx? 

k|=s=?= 

2,00,000. 

n]^fª uf= lj= ;= j*f g+= 4.v 

13   

 s_ 4.v sf] gS;fsf] blIf)f kg]{ 4.u l;dfgf ;+u hf]l*g] k'j{ 

klZrd af^f]n] %'g] hUufsf] k|=s=?= 

5,00,000. 

 v_ n]^fª 4.v cGt{ut gS;fsf] af^f] %'g] tyf Kn^Lªsf hUuf 

k|=s=? 

2,75,000. 

 u_ k|s/)f s df pNn]v e} xfnsf] ls=g+= n] af^f] g%'g] hUuf 

k|=s=?= 

3,00,000. 

 #_ 4.v cGtu{tsf cGo af^f]n] %'g] hUuf k|=s=?= 1,40,000. 

 

 

n]^fª uf= lj= ;= j*f g+= 4.u 
14   

 s_ n]^fª 4.u cGtu{t gS;fsf] pQ/df kg]{ 4.v ;+u hf]l*g] 

k"j{klZrd af^f]n] %'g] hUuf k|=s=?= 

5,00,000. 

 v_ n]^fª 4.u gS;f leq kg]{ gS;fsf] af^f]n] %f]Psf tyf 

Kn^Lªsf hUufx? k|=s=?= 

2,75,000. 

 u_ k|s/)f s df pNn]v ePsf ;f=ls=g+=n] af^f] %'g] xfnsf] 

ls=g+=n] af^f] g%'g] hUuf k|=s=? 

3,00,000. 

 #_ dfly pNn]v eP afx]ssf leqL af^f]n] %'g] hUufx? k|=s=?= 1,40,000. 

n]^fª uf= lj= ;= j*f g+= 4.# 

15   

 s_ 4# cGtu{tsf Knl^ªsf hUuf k|=s=? 2,75,000. 

 v_ dfly pNn]v eP afx]s gS;fsf] af^f]n] %'g] ;f=ls=g+= 2 

b]lv 8, 10, 11, 12, 13, 17, 18, 20 sf] hUufsf] k|=s=?= 

3,00,000. 

n]^fª uf= lj= ;= j*f g+= 5.s -xfn hf+t] uf=lj=;=_ 
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16   

 s_ 5s cGtuf{t Knl^ªsf hUuf k|=s=? 2,75,000. 

 s_ dfly pNn]v eP afx]s ;f= ls= g+= 48, 49, 50, 53 

b]lv k"j{ dbg rf]s hfg] af^f]sf] bfof+ afof+ hUufx? k|=s=?= 

2,00,000. 

n]^fª uf= lj= ;= j*f g+= 5.v 
17   

 s_ 5v cGtuf{t Knl^ªsf hUuf k|=s=? 2,75,000. 

 v_ dfly pNn]v eP afx]s ;f= ls= g+= 27 ;f b]lv k"j{ 

gS;fdf /x]sf] af^f] pQ/sf ;f= ls= g+= 35 kmf]/ e} sfodL 

ls= g+= 413 blIf)f 36 sf^ e} 312 blIf)f If]q leqsf 

hUufx? k|= s= ?= 

1,75,000. 

n]^fª uf= lj= ;= j*f g+= 5.u -xfn hf+t] uf=lj=;=_ 

18   

 s_ ;f= ls= g+= 8 b]lv 15, 24, 26, 28, 33, 45 sf 

hUufx? k|=s=?= 

3,00,000. 

 v_ ;f=ls=g+= 21, 22, 23, 29, 30, 39, 43, 45, 46, 49, 

85, 86, 87, 88, 104, 112, 113, 114 hUufx? k|=s=?= 

1,75,000. 

 u_ dfly pNn]v eP afx]s 5u cGtu{t Knl^ªsf hUuf k|=s=? 2,50,000. 

 #_ 5u cGtuf{t cGo af^f]n] %'g] hUuf k|=s=? 1,00,000. 

n]^fª uf= lj= ;= j*f g+= 5.ª 
19   

 s_ dfly pNn]v eP afx]s 5ª cGtuf{t Knl^ªsf hUuf k|=s=? 2,75,000. 

 v_5ªsf] ;f=ls=g+= 24, 25, 28, 29, 30, 38, 39, 40, 41 

sf] hUufx? k|=s=?= 

3,00,000. 

 

n]^fª uf= lj= ;= j*f g+= 5.r -xfn hf+t] uf=lj=;=_ 

20   

 s_ n]^fª 5.r sf] ;f= ls= g+= 39 b]lv 50 ;Dd -;f=ls=g+=50 

kmf]/ e} sfodL ls=g+= 149 ;d]t_ 

2,25,000. 

 v_ dfly pNn]v eP afx]s 5r cGtu{t Knl^ªsf hUuf k|=s=? 2,50,000. 

n]^fª uf= lj= ;= j*f g+= 6 Ans -xfn j]njf/L g=kf=_ 

n]^fª uf=lj=;= j*f g+= 6.s 

21   

 s_ ;f= ls= g+= 37, 38, 39, 40, 42, 52, 56, 57, 66, 67, 

68, 69, 75, 76, 77, 78, 82, 83, 84, 85, 86, 87 

;Ddsf hUufx? k|=s=?= 

2,75,000.F 

 v_ s df k/L xfnsf] ls=g++= n] af^f] g%'g] hUuf k|=s=?= 1,20,000.F 

 u_ s,v df pNn]v eP afx]s k"j{tkm{sf gS;f ;Ldfgf;Ddsf 

af+sL hUufx? k|=s=? 

100,000.F 

 #_ ;f=ls=g+= 66 %f*L pQ/klZrdsf] ;f=ls=g+= 2 ;Ddsf] u|fe]n 

af^f] %'g] hUuf k|=s=?= 

1,30,000.F 

 ª_ Kn^Lªsf hUuf k|=s=?= 2,00,000.F 

 r_ dfly pNn]v eP afx]ssf cGo af^f] %'g] hUuf k|=s=?= 100,000.F 
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n]^fª uf= lj= ;= j*f g+= 6.v 

22   

 s_ ;fls=g+= 88 b]lv pQ/ ls=g+= 74, 75, 76 x'+b} 104, 193 

gS;fsf] pQ/ ;Ldf;Dd km*fgL a'wjf/] hfg] af^f] bfof+ jfof+sf 

hUuf k|=s=?= k|=s=?= 

2,75,000.F 

 v_ s df k/L xfnsf] ls=g+= n] af^f] g%'g] hUuf k|=s=?= 1,20,000.F 

 u_ s, v df pNn]v eP afx]s ;f]b]lv k"j{sf hUuf tyf cGo 

af^f] %'g] hUuf k|=s=?= 

100,000.F 

 #_ Kn^Lªsf hUuf k|=s=?= 2,00,000.F 

 ª_ lelq zfvf tyf cGo jf^F] %'g] hUuf k|=s=?= 100,000. 

 

n]^fª uf= lj= ;= j*f g+= 7, 8, 9 -xfn pnf{jf/L g=kf=_ 

n]^fª uf= lj= ;= j*f g+= 7.s 

23   

 s_ ;f=ls=g+= 67, 70, 364 ;d]tb]lv blIf)f gS;f ;Ldfgf 

;Ddsf hUuf k|=s=?= 

3,00,000.F 

 v_ dfly pNn]v eP afx]s 7.s cGtu{tsf Kn^Lªsf hUuf k|=s=?= 2,50,000.F 

 u_ ;f=ls=g+= 66 b]lv pQ/ ;f=ls=g+= 97, 93 ;Dd ;f=ls=g+= 2, 

14, 44, 62, 67 %f*L ;f] k"j{sf hUuf tyf leqL zfvf af^f]n] 

%'g] hUuf k|=s=?= 

1,75,000.F 

n]^fª uf= lj= ;= j*f g+= 7.v 

24   

 s_ n]^fª 7.v cGtu{tsf Kn^Lªsf hUuf k|=s=?= 2,50,000.F 

 s_ n]^fª 7.v ;f=ls=g+= 4, 5, 7, 21, 31, 35 sf hUuf 

k|=s=?= 

2,50,000.F 

 u_ leqL zfvf af^f]n] %'g] hUufx? k|=s=?= 1,75,000.F 

n]^fª uf=lj=;= j*f g+= 7.u 

25   

 s_ k'/fgf] d+unjf/] ahf/sf] ;f=ls=g+= 62, 63, 65, 72 ;d]t 

k'/fgf] d+unjf/] ahf/ Pl/ofsf hUuf k|=s=?= 

8,50,000.F 

 v_ ;f=ls=g+= 21 / 58 %f]l* ;f] b]lv pQ/ ;f=ls=g+= 49 

%f]l* ;f]b]lv klZrd gS;f ;Ldfgf;Ddsf hUuf k|=s=?= 

400,000.F 

 u_ ;f=ls=g+= 21 b]lv blIf)f ls=g+= 63 %f*L ;f] klZrdsf hUuf 

tyf gS;fsf] af^f]n] %'g] hUuf k|=s=?= 

4,00,000.F 

 #_ dfly k|s/)f v,u df pNn]v ePsf hUufdWo] ;'gks'jf 

df=lj= af^ pQ/ ;fd'bfoLs jg hfg] af^f]n] %'g] hUuf k|=s=?= 

4,50,000.F 

 ª_ dfly pNn]v eP b]lv afx]s n]^fª 7.u sf Knl^ª u/]/ 

ljqmL x'g] hUufx? k|=s=?= 

3,00,000.F 

 r_ dfly pNn]v eP b]lv afx]s leqL sRrL zfvf af^f]n] %'g] 

hUuf k|=s=?= 

1,75,000.F 

n]^fª uf= lj= ;= j*f g+= 7.# 

26   

 s_ ;f=ls=g+= 39, 40, 41, 45 ;d]tsf hUufx? / Kn^Lªsf 2,50,000.F 
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hUufx? k|=s=?= 

 v_ 7.# sf leqL zfvf af^f]n] %'g] hUuf k|=s=?= 1,75,000.F 

n]^fª uf= lj= ;= j*f g+= 7.ª 
27   

 s_ ;f=ls=g+= 5, 6, 7, 9, 10 / ;f] k"j{df kg]{, pQ/ blIf)f / 

;flsg+= 37 sf] blIf)fdf kg]{ k"j{ klZrdsf] af^f]n] %'g] hUuf 

k|=s=?= 

3,50,000.F 

 v_ k|s/)f s df k/L ;fljs lsQfn] ;f]af^f] %'g] xfnsf] 

lsQfn] g%'g] hUuf k|=s=?= 

2,25,000.F 

 s_ 7.ª cGtu{tsf dfly pNn]v eP afx]ssf Knl^ªsf hUufx? 

k|=s=?= 

2,50,000.F 

 v_ 7ª cGtuf{t cGo af^f]n] %'g] hUUff k|=s=? 1,75,000.F 

n]^fª uf= lj= ;= j*f g+= 7.r 

28   

 s_ 7.r sf Kn^Lªsf hUuf k|=s=?= 2,50,000.F 

 v_ ;f=ls=g+= 9, 10, 11, 12, 13, 16 b]lv 21 ;Ddsf hUufx? 

k|=s=?= 

2,25,000.F 

 u_ dlysf k|s/)fx?df pNn]v eP afx]ssf leqL sRrL af^f]n] 

%'g] hUuf k|=s=?= 

1,75,000.F 

 

 

n]^fª uf= lj= ;= j*f g+= 8.s 
29   

 s_ ;f=ls=g+= 59, 63, 64, 66, 67, 68, 69, 78, 58, 84, 

85, 86, 88 ;d]tsf hUufx? k|=s=?= 

3,50,000.F 

 v_ dfly pNn]v eP afx]s 8.s sf Kn^Lªsf hUuf k|=s=?= 2,50,000.F 

 u_ 8.s sf dfly pNn]v eP afx]ssf leqL sRrL af^f]n] %'g] 

hUuf k|=s=?= 

1,75,000.F 

n]^fª uf= lj= ;= j*f g+= 8.v 

30   

 s_ gS;fsf] blIf)f 9.s sf] ;Ldf pQ/ ls=g+= 268 ;Dd 

d"naf^f] %'g] hUuf k|=s=?= 

5,00,000.F 

 v_ ls=g+= 268 %f*L ;f] pQ/ gS;f ;Ldf;Dd d"naf^f] %'g] 

hUuf k|=s=?= 

3,00,000.F 

 u_ Kn^Lªsf hUuf k|=s=?= 2,50,000.F 

 #_ af]n'rf]saf^ klZrd x'+b} ;'gemf]*f :s'n hfg]af^f] %'g] hUuf 

k|=s=?= 

3,00,000.F 

 ª_ 8.v sf dfly pNn]v eP afx]ssf leqL sRrL af^f]n] %'g] 

hUuf k|=s=?= 

1,75,000.F 

n]^fª uf= lj= ;= j*f g+= 9.s 

31   

 s_ ;f=ls=g+= 32, 38, 39, 49, 50, 51, 52, 53, 54,  80, 

90, 91, 100, 101, 103, 106, 107, 110, 111 ;d]t x'+b} 

5,00,000.F 
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zflGt lg=df=lj= hfg] af^f]sf] bfof+ jfof+sf hUufx? k|=s=?= 

 v_ k|s/)f s df k/L ;fljs lsQfn] ;f]af^f] %'g] xfnsf] 

lsQfn] g%'g] hUuf k|=s=?= 

3,00,000.F 

 u_ dfly pNn]v eP afx]s Kn^Lªsf hUuf k|=s=?= 2,50,000.F 

 #_ dfly pNn]v eP afx]ssf leqL sRrL af^f]n] %'g] hUuf 

k|=s=?= 

1,75,000.F 

 ª_ dfly pNn]v eP afx]s 22 b]lv blIf)f 112 ;Ddsf 

d"naf^f] g%'g] af^f]k"j{sf hUuf k|=s=?= 

1,75,000.F 

 r_ dfly pNn]v eP b]lv afx]s cGo v]tLof]Uo hUuf k|=s=?= 50,000. 

n]^fª uf= lj= ;= j*f g+= 9.v 

32   

 s_ gS;fsf] k"j{;Ldfaf^ klZrd ;f=ls=g+= 60 ;Dd ;fnjf/Lsf] 

d"naf^f] %'g], ;f=ls=g+= 67, 68, 75, 74 ;d]t cGo ;flsg+= 

sf hUuf k|=s=?= 

7,00,000.F 

 v_ ;flsg+= 698 pQ/ gS;f ;Ldf ;Dd s^x/] hfg] af^f] %'g] 

;flsg+= 107, 116, 118, 146, 147 ;d]t cGo ;flsg+= sf 

hUuf k|=s=?= 

5,00,000.F 

 u_ k|s/)f s df k/L ;fljs lsQfn] ;f]af^f] %'g] xfnsf] 

lsQfn] g%'g] hUuf k|=s=?= 

3,50,000.F 

 #_ ;flsg+= 60 %f*L ;f] pQ/klZrd ;flsg+= 8 ;Dd gnjf/L 

hfg] af^f] %'g] hUuf k|=s=?= 

3,50,000.F 

 ª_ dfly pNn]v eP afx]s Kn^Lªsf hUuf k|=s=?= 2,50,000.F 

 r_ ;flsg+= 60 %f*L ;f] pQ/ s^x/] hfg] af^f] %'g] hUuf 

k|=s=?= 

2,25,000.F 

 %_ v df k/L xfnsf] lsQfn] s^x/] hfg] af^f] g%'g] hUuf 

k|=s=?= 

2,25,000.F 

 h_ leqL sRrL zfvf af^f]n] %'g] hUuf k|=s=?= 1,75,000.F 

 em_ dfly pNn]v eP b]lv afx]s cGo v]tLof]Uo hUuf k|=s=?= 50,000. 

n]^fª uf= lj= ;= j*f g+= 9.u 

33   

 s_ ;f=ls=g+= 30 b]lv 61 ;Dd ;'gemf]*f hfg] d"naf^f] %'g] 

hUufx? k|=s=?= 

6,00,000.F 

 v_ ;f=ls=g+= 3 b]lv 29 ;Dd ;'gemf]*f hfg] -zflGt k|f=lj=_ 

d"naf^f] %'g] hUufx? k|=s=?= 

6,00,000.F 

 u_ k|s/)f s,v df k/L ;fljs lsQfn] ;f]af^f] %'g] xfnsf] 

lsQfn] g%'g] hUuf k|=s=?= 

3,50,000.F 

 #_ dfly pNn]v eP afx]s Kn^Lªsf hUuf k|=s=?= 2,50,000.F 

 ª_ dfly pNn]v eP leqL zfvf af^f]n] %'g] hUuf k|=s=?= 2,25,000.F 

 r_ dfly pNn]v eP b]lv afx]s cGo v]tLof]Uo hUuf k|=s=?= 50,000. 

n]^fª uf= lj= ;= j*f g+= 9.# 

34   

 s_ ;f=ls=g+= 31 b]lv klZrd ;f=ls=g+= 13 x'+b} ls=g+= 11 sf] 

klZrd ;Ldfgf;Dd k"j{ klZrdsf] d"n af^f]n] %f]Psf] hUufx? 

k|=s=?= 

8,00,000.F 
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 v_ k|s/)f s df k/L ;f=ls=g+= n] ;f] af^f] %'g] xfnsf lsQfn] 

g%'g] hUuf k|=s=?= 

6,00,000.F 

 u_ dflysf k|s/)fx?df pNn]v eP afx]s 9.# cGtu{t Kn^Lª 

x'g] jf Kn^Lªsf hUufx? k|=s=?= 

3,00,000.F 

 #_ dflysf k|s/)fx?df pNn]v eP afx]s 9.# cGtu{t leqL 

sRrL af^f]n] %'g] hUufx? k|=s=?= 

2,25,000.F 

 ª_ dflysf k|s/)fx?df pNn]v eP afx]s ;f=ls=g+= 1 / 24 

%f*L ;f] blIf)fsf af¤sL hUuf k|=s=?= 

1,75,000.F 

 r_ dfly pNn]v eP b]lv afx]s cGo v]tLof]Uo hUuf k|=s=?= 50,000. 

n]^fª uf= lj= ;=  

35   

 s_ n]^fªsf] >]:tf cGtu{t j*f g+= 1 b]lv 9 ;Ddsf dfly 

pNn]v eP afx]ssf Kn^Lªsf hUuf k|=s=?= 

2,00,000.F 

 v_ dflysf k|s/)fx?df pNn]v eP afx]ssf ;fljs n]^fª 

uf=lj=;= xfn pnf{jf/L gukflnsfdf kg]{ j*f g+= 7, 8, 9 sf 

leqL sRrL u|fe]n zfvf af^f]n] %'g] hUuf k|=s=?= 

100,000.F 

 u_ j*f g+= 1 b]lv 9 ;Dd n]^fª uf=lj=;= -dflysf 

k|s/)fx?df pNn]v ePafx]s_ sf leqL zfvf af^f] %'g] hUuf 

k|=s=?= 

 

75,000.F 

 #_ dfly sf k|s/)fx?df pNn]v eP afx]ssf af¤sL v]tLof]Uo 

hUuf k|=s=?= 

30,000.F 

17= x/}+rf uf=lj=;= 
x/}+rf uf=lj=;= j*f g+= 1.s 

1   

 s_ gS;fsf] klZrddf kg]{ l#gf#f^ af^f]n] %'g] ;f=ls=g+= 80, 

81, 83, 84, 85 ;d]tb]lv pQ/ 21, 22 b]lv 26 ;Dd, 28 

b]lv 34, 67, 71, 74, 77 ;d]tsf af^f] %'g] hUuf k|=s=?= 

10,00,000.F 

 v_ k|s/)f s df k/L ;f=ls=g=n] lkrjf^f] %'g] xfnsf] lsQfn] 

lkr jf^f] g%'g] hUuf k|=s=?= 

6,00,000.F 

 u_ dfly pNn]v eP afx]s 1.s cGtu{t Kn^Lé jf Kn^Lésf 

nflu vl/b x'g] hUuf k|=s=?= 

2,50,000.F 

 #_ s'dfn] ^f]n k"j{af^ wfjL ^f]n hfg] k}gLdf jg]sf u|fe]n 

jf^f]nfO{ %'g] ;fy} ;f] klZrdsf ;Dk")f{ hUuf dfly pNn]v eP 

jfx]ssf hUuf k|=s=?= 

2,00,000.F 

 ª_ s'dfn] ^f]njf^ k"j{ hfg] u|fe]njf^f] %'g] gS;f l;dfgf 

;Ddsf af^f] %'g] hUuf k|=s=?= 

1,50,000.F 

 r_ s'dfn] ^f]naf^ k"j{ hfg] u|fe]n af^f] pQ/ /fw] *f*f hfg] 

af^f] bfof+ jfof+sf hUuf k|=s=?= 

1,25,000.F 

x/}+rf uf=lj=;= j*f g+= 1.u 

2   

 s_ ;f=ls=g=24, 28 b]lv 35, 48, 49, 51, 54, 55, 56, 

57, 107 b]vL 110, 123 b]vL 130, 132 b]vL 135 ;Ddsf 

lj/f^rf}s l#gfxf#F^ lkr jf^f]n] %'g] hUuf k|=s=?= 

10,00,000.F 

 v_ k|s/)f s df pNn]v eO{ ;f=ls=g+=n] lkr af^f] %'g] / 600,000.F 
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xfnsf] ls=g+=n] af^f] g%'g] hUuf k|=s=?= 

 u_ ;f=ls=g+= 23 b]lv pQ/ gS;f ;Ldfgf;Dd l#gf#f^ 

lj/f^gu/ af^f]n] %'g] hUuf k|=s=?= 

7,00,000.F 

 #_ ;f=ls=g= 23 %f*L ;f] blIF)F gS;f l;dfgf ;Dd dfly k|s/)Fdf 

pNn]v eP jfx]s ;f=ls=g= 106 %f*L ;Dk')f{ hUuf k|=s=?= 

3,50,000.F 

 ª_ 1.u sf Kn^Lªsf hUuf k|=s=?= 2,50,000.F 

 r_ gS;fsf] blIf)faf^ pQ/ hfg] af^f] klZrd ;f=ls=g+= 106 

;d]tb]lv pQ/ ;f=ls=g+= 27 %f*L blIf)f 147, 149 b]lv 

klZrdsf hUufx? k|=s=?= 

2,25,000.F 

x/}+rf uf=lj=;= j*f g+= 2.s 

3   

 s_ gS;fsf] blIf)fsf] ;f=ls=g+= 161 b]lv klZrdpQ/ x'+b} hfg] x/}+rf 
ul%of x'nfsL dfu{n] %'g] ls=g+= 170 ;Ddsf af^f] %'g] hUuf k|=s=?= 

2,00,000.F 

x/}+rf uf=lj=;= j*f g+= 3.s 
4   

 s_ ;f=ls=g= 11, 12 b]lv blIF)f 90, 93 ;Ddsf hUufx?sf] 

lkr ;*s bf+of af+ofsf hUufx?sf] k|=s=? 

5,00,000.F 

 v_ k|s/)F s df k/L xfnsf lsQfn] g%'g] hUuf k|=s=? 2,50,000.F 

 

 u_ x/}rf 3.s cGt/ut Kn^Lé x'g] / Kn^Lésf nflu vl/b x'g] 

hUufx?sf] k|=s=? 

2,50,000.F 

x/}+rf uf=lj=;= j*f g+= 5.s 
5   

 s_ ;f=ls=g+= 60, 61 x'+b} pQ/ ;flsg+= 30 ;Ddsf] d"naf^f] %'g] 

hUuf k|=s=?= 

8,00,000.F 

 v_ ;flsg+= 30 %f*L ;f]b]lv pQ/ gS;f ;Ldf;Ddsf] d"naf^f] 

%'g] hUuf k|=s=?= 

6,00,000.F 

 u_ s df k/L xfnsf] ls=g+= n] af^f] g%'g] hUuf k|=s=?= 4,50,000.F 

 #_ v df k/L xfnsf] ls=g+= n] af^f] g%'g] hUuf k|=s=?= 3,50,000.F 

 ª_ nIdLrf}sb]lv pQ/ ls=g++ 404, 405, 406, ls=g+= 203 sf] 

287, 288 ;Ddsf hUuf k|=s=?= 

6,50,000.F 

 r_ ª df pNn]v ePsf] Pl/of %f*L ;f] pQ/ ;flsg+= 36 sf] 

sfodL ls=g+= 307 ;Ddsf] hUuf k|=s=?= 

4,00,000.F 

 %_ ;flsg+= 61 %f*L ;f] klZrd nIdLrf}s ;Dd, nIdLrf}sb]lv 

k"j{ pQ/ sfodL ls=g+= 874 %f*L ;f]blIf)f Pl/ofsf hUuf 

k|=s=?= 

5,00,000.F 

 h_ gS;fsf] k"j{df kg]{ pQ/blIf)fsf] k}gLsf] af^f]n] %'g] ;f=ls=g+= 

30 b]lv k'j{ sfodL ls=g+= 170 / 151 b]lv blIf)fsf hUuf 

k|=s=?= 

4,00,000.F 

 em_ k|s/)f h_ df pNn]v ePsf] ls=g+= b]lv pQ/ gS;f l;dfgf 

;Ddsf] k}gLsf] af^f]n] %'g] hUuf k|=s=? 

2,75,000. 

 `_ dfly k|s/)fdf pNn]v ePb]lv afx]s ;f=ls=g+= 36 / sfodL 

ls=g+= 874 %f*L pQ/ ;f=ls=g+= 10 ;Ddsf hUufx? k|=s=? 

3,50,000. 

 ^_ dfly k|s/)fdf pNn]v eP b]lv afx]s ;f=ls=g+= 10 / 64 1,20,000. 
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b]lv pQ/ gS;f l;dfgf ;Ddsf hUufx? 

 &_ dflysf pNn]v eP jfx]s 5s cGt/ut Kn^Lªsf] hUufx? 

k|=s=?= 

2,50,000.F 

x/}+rf uf=lj=;= j*f g+= 5.v 
6   

 s_ ;f=ls=g= 12, 25 b]vL 28, 32 b]vL 36, 40, 67 ;d]tsf 

/fhdfu{ %'g] hUuf k|=s=?= 

1400000. 

 v_ k|s/)f s df k/L ;f=ls=g=n] /fhdfu{ %'g] xfnsf] lsQfn] 

/fhdfu{ g%'g] hUuf / ;f]xL cGtu{t ;f=ls=g=32 sf^ e} sfod 

ls=g= 152 sf] blIf)f / ;f=ls=g= 40 sf^ e} sfod ls=g= 

355 sf] pQ/ bIfL)Fdf  kg{] hUufsf] k|=s=?=  

9,00,000. 

 u_ dfly pNn]v eP jfx]s ;fljs s;]gL 1.u xfn 5.v cGtu{t 

ls=g= 74 / 42 sf /fhdfu{ %'g] hUufsf] k|=s=?= 

8,00,000.

F 

 #_ k|s/)f u df k/L ;f=ls=g=n] /fhdfu{ %'g] xfnsf] lsQfsf] 

/fhdfu{ g%'g] hUuf cGtu{t /fhdfu{ %'g] lsQf %f*L ;j} lsQf 

-150 lkm^ leqsf_ k|=s=? 

6,00,000.F 

 ª_ # df afx]s 150 lkm^ aflx/sf hUuf k|=s=?= 2,00,000.F 

 r_ dfly pNn]v eP jfx]s ;f=ls=g=31 b]vL pQ/ gS;f 

l;dfgf;Dd lkr jf^f]sf bfof afofsf hUuf k|=s=?= 

8,00,000.

F 

 %_ k|s/)f r df k/L ;f=ls=g=n] jf^f] %'g] xfnsf] lsQfn] jf^f] 

g%'g] hUuf -150 lkm^ ;Ddsf_ k|=s=?= 

4,50,000.F 

 h_ ;f=ls=g= 9, 10, 11, 13, 14 sf hUuf k|=s=?= 7,00,000.F 

 em_ ;f=ls=g 17, 18 b]lv blIf)F ;f=ls=g=19, 24 %f*L ;f] k"j{ 

;f=ls=g= 29 %f*L ;f] pQ/sf dfly pNn]v eP jfx]s jfsL 

hUuf / ;f=ls=g= 2 b]vL blIf)f ;f=ls=g= 8 / 15 ;Dd 

k|=s=?= 

6,00,000.F 

 `_ ;f=ls=g= 40 sf^ e} sfod ls=g=355 sf] blIf)F gS;f 

l;dfgf ;Dd / ;f=ls=g= 39, 64 sf  hUuf k|=s=?= 

4,00,000.

F 

 ^_ ;flsg+= 35, 36 %f*L ;f] blIf)f 46, 48, 51, 52, 63 

;Ddsf af^f] %'g] hUuf k|=s=?= 

3,50,000.F 

 &_ ^ df k/L xfnsf] ls=g+= n] aF^f] g%'g] hUuf k|=s=?= 2,00,000.F 

 ^_ dfly pNn]v eP jfx]s  

 5.v cGtu{t jf^f] %'g] af Knl^ésf nflu v/Lb x'g] hUuf 

k|=s=?= 

2,50,000.F 

x/}+rf uf=lj=;= j*f g+= 5.# 

7   

 s_ gS;fsf] pQ/ k"j{df kg]{ af^f] k"j{ ;Ldfgf b]lv klZrd 

pQ/;Dd kg]{ af^f] %'g] hUuf k|=s=?= 

8,00,000.F 

 v_ s df k/L xfnsf] lsQfn] af^f] g%'g] hUuf k|=s=?= 6,00,000.F 

 u_ ;'s|jf/] rf]s b]v blIF)F uf]ljGbk'/ ;Ddsf] lkr jf^F] %'g] 

hUuf x? k|=s=?= 

6,00,000.F 

 #_ k|s/)F u df kl/ ;f=ls=g=n] jf^F] %'g] xfnsf] ls=g=n] jf^F] 

g%'g] hUuf k|=s=?= 

2,50,000.F 

 ª_ Kn^Lª jf Kn^Lªsf nfuL vl/b x'g] af^f] %'g] hUuf k|=s=?= 2,50,000.F 
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 r_ cGo af^f] %'g] hUuf k|=s=?= 2,00,000.F 

x/}+rf uf=lj=;= j*f g+= 5.ª 

8   

 s_ x/}rf g=kf= uf]ljGbk'/ lkknrf]s x'+b} af^f] blIf)f lkr af^f]n] 

%'g] gS;f l;dfgf;Ddsf hUuf k|=s=?= 

3,50,000.F 

 v_ k|s/)f s df pNn]v ePsf lsQf %f*L ;f] b]lv 200 lkm^ 

leqsf hUuf k|=s=?= 

1,50,000.F 

 u_ Kn^Lª jf Kn^Lªsf nfuL vl/b x'g] af^f] %'g] hUuf k|=s=?= 2,50,000.F 

x/}+rf uf=lj=;= j*f g+= 6.s 
9   

 s_ x/}rf 6s nfnleQLaf^ z'qmaf/] rf]s x'+b} a]n]k'/ rf]s;Dd 

af^f]sf] bfof+afof+sf hUuf k|=s=?= 

4,50,000.F 

 v_ k|s/)f s df pNn]v ePsf af^f] bfof+afof+sf lsQf %fl* 

;f] b]lv 200 lkm^ leqsf hUuf k|=s=?= 

3,00,000.F 

 u_ dfly pNn]v eP afx]s 6.s cGtu{t Kn^Lªsf jf Kn^Lªsf 

nflu v/Lb x'g] hUuf k|=s=?= 

2,50,000.F 

x/}+rf uf=lj=;= j*f g+= 6.v 

10   

 s_ ;f=ls=g+= 72, 96 sf hUuf k|=s=?= 7,00,000.F 

 v_ ;f=ls=g+= 97, 105, 106, 110, 111, 112 ;d]t cGo lkr 

;*s;+u hf]l*Psf hUuf k|=s=?= 

6,00,000.F 

 u_ k|s/)f v df k/L ;f=ls=g+= kn] lkr %'g] xfnsf lsQfn] 

g%'g] hUuf k|=s=?= 

3,50,000.F 

 #_ ;f=ls=g+= 1 b]lv blIf)f 3.s sf] ;Ldfgf;Dd u|fe]n af^f]sf] 

bfof+jfof+sf hUuf k|=s=?= 

2,00,000.F 

 ª_ dfly pNn]v eP afx]s 6.v cGtu{t Kn^Lªsf jf Kn^Lªsf 

nflu v/Lb x'g] hUuf k|=s=?= 

2,50,000.F 

x/}+rf uf=lj=;= j*f g+= 7.s 

11   

 s_ ;f=ls=g+= 110, 111 ;d]t cGo ;f=ls=g+= sf lj/f^rf}s 

l#gf#f^ af^f]n] %'g] hUuf k|=s=?= 

8,00,000.F 

 v_ k|s/)f s df k/L ;f=ls=g+= n]]  af^f] %'g] xfnsf] lsQfn] 

af^f] g%'g] 300 lkm^ leqsf hUuf k|=s=?= 

6,00,000.F 

 u_ dfly pNn]v eP jfx]ssf ;f=ls=g+= 4 / 125 b]lv blIf)f 

;f=ls=g+= 39, 40 ;Dd af^f]sf bfof+ jfof+sf hUuf k|=s=?= 

3,50,000.F 

 #_ x/}+rf 7.s cGtu{t Kn^Lªsf jf Kn^Lªsf nflu v/Lb x'g] 

hUuf k|=s=?= 

2,50,000.F 

x/}+rf uf=lj=;= j*f g+= 7.v 
12   

 s_ ;f=ls=g+= 81 / 82 b]lv 95, 98, 99sf] lkr ;*sn] %'g] 

hUuf k|=s=?= 

9,00,000.F 

 v_ ;f=ls=g+= 83 ;d]tb]lv blIf)f ;f=ls=g+= 105 ;Dd lkr 

;*ssf] bfof+ jfof+sf ls=g+= 101, 102, 104, 105, 147, 

148, 164, 163, 169, 187 ;d]t cGo af^f]n] %'g] hUuf 

6,00,000.F 
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k|=s=?= 

 u_ k|s/)f s df k/L ;f=ls=g+=n] lkr %'g] xfnsf] lsQfn] lkr 

g%'g] hUuf -k|s/)f s df pNn]v ePsf] lsQfaf^ 150 lkm^ 

leq kg]{_ hUuf k|=s=?= 

6,00,000.F 

 #_ lkknuf%L rf}s ls=g+= 176 b]lv pQ/ xfnsf] ls=g+= 311, 

358 sh'{gf rf}s ;Dd k"j{ tkm{sf u|fe]n af^f] %'g] hUuf ;fy} 

k|s/)F v df k/] jfx]ssf jfsL hUuf k|=s=?= 

2,50,000.F 

 ª_ hf]uLrf}/ rf}ssf] ls=g+= 115, 116 sf] klZrddf u|fe]naf^f]n] 

%'g] ls=g+= 62, 63 ;Ddsf] af^f]sf bfof+ jfof+sf hUuf k|=s=?= 

2,50,000.F 

 r_a]n]k'/ rf}saf^ s/h'gf rf}s;Ddsf af^f] %'g] hUuf k|=s=?= 4,00,000.F 

 %_ 7.v cGtu{t Kn^Lªsf jf Kn^Lªsf nflu v/Lb x'g] hUuf 

k|=s=?= 

2,50,000.F 

x/}+rf uf=lj=;= j*f g+= 8.s 

13   

 s_ ;f=ls=g+= 13, 14, 24 b]lv 45, 48 b]lv 51, 63 b]lv 

70 / 125 ;d]tsf /fhdfu{ %'g] hUuf k|=s=?= 

24,00,000.F 

 v_ k|s/)f s df pNn]v e} ;f=ls=g++ n] /fhdfu{ %'g] xfnsf] 

lsQfn] g%'g] hUuf k|=s=?= 

17,00,000.F 

 u_ dfly k|s/)fdf pNn]v eP afx]s ;f=ls=g+= 1 b]lv 12 ;Dd 

15 b]lv 23 ;Ddsf hUuf k|=s=?= 

10,50,000.F 

 #_ dfly k|s/)fx?df pNn]v eP afx]ssf /fhdfu{ blIf)fsf 

;f=ls=g+= 78, 87 ;Dd lrq]^f]n af^f] %'g] hUuf k|=s=?= 

9,00,000.F 

 ª_ k|s/)f # df k/L ;f=ls=g++ n] ;f] af^f] %'g] xfnsf] lsQfn] 

g%'g] hUuf k|=s=?= 

7,00,000.F 

 r_ ;f=ls=g+= 78, 87 %f*L ;f] blIf)f ;f=ls=g=+ 109, 110, 

114 ;Dd lrq]^f]n af^f]n] %'g] hUuf k|=s=?= 

7,00,000.F 

 %_ k|s/)F r df k/L xfnsf] lsQfn] af^f] g%'g] hUuf k|=s=?= 3,50,000.F 

 h_ ;f=ls=g+= 109, 110 %f*L ;f] blIf)f gS;f ;Ldfgf;Dd 

lrq]^f]n hfg] af^f] bfof+ jfof+sf hUuf k|=s=?= 

4,50,000.F 

 em_ ;f=ls=g+= 58, 120 %f*L 56, 149 ;d]tb]lv blIf)f 157, 

190 b]lv pQ/sf hUuf k|=s=?= 

2,50,000.F 

 `_ h df k/L xfnsf] lsQfn] af^f] g%'g] hUuf k|=s=?= 3,00,000.F 

 ^_ dfly pNn]v eP afx]s ;f=ls=g+= 96, 93 b]lv blIf)f 

;f=ls=g+= 104 blIf)fk"j{ ;Ldf;Ddsf hUuf k|=s=?= 

2,50,000.F 

 &_ dfly pNn]v eP afx]s ;f=ls=g+= 56 %f*L ;f] pQ/ / 

58,120 ;d]tb]lv pQ/sf / 47, 54 ;d]tsf hUuf k|=s=?= 

7,50,000.F 

 *_ dfly pNn]v eP afx]s x/}+rf 8.s sf Kn^Lªsf jf 

Kn^Lªsf nflu v/Lb x'g] hUuf k|=s=?= 

3,00,000.F 

x/}+rf uf=lj=;= j*f g+= 8.v 
14   

 s_ ;f=ls=g+= 2, 3, 7, 8 sf /fhdfu{ %'g] hUuf k|=s=?= 24,00,000.F 

 v_ k|s/)f s df k/L ;f=ls=g+= n] /fhdfu{ %'g] xfnsf lsQfn] 

/fhdfu{ g%'g] hUuf k|=s=?= 

17,00,000.F 

 u_ ;f=ls=g+= 4 b]lv 6, 9 b]lv 35 ;Dd / 68, 72 sf 11,50,000.F 
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hUuf k|=s=?= 

 #_ ;f=ls=g+= 67, 69, 70, 71, 74 sf lkr;*s n] %'g] 

hUuf k|=s=?= 

13,50,000.F 

 ª_ k|s/)f # df k/L ;f=ls=g+= n] lkr ;*s %'g] xfnsf] 

lsQfn] lkr g%'g] hUuf k|=s=?= 

9,00,000.F 

 r_ # / ª df k/]sf] Pl/of klZrd ;fls=g+= 37 b]lv blIf)f 

50, 57 %f*L ;f] pQ/sf hUuf k|=s=?= 

3,50,000.F 

 %_ ;flsg+= 50, 57 ;d]tb]lv blIf)f 73, 80, 84, 93 / 

gS;fsf] klZrd tkm{sf] af^f] %'g] hUuf k|=s=?= 

3,00,000.F 

 h_ Kn^Lªsf hUuf k|=s=?= 3,00,000.F 

x/}+rf uf=lj=;= j*f g+= 8.u 

15   

 s_ ;f=ls=g+= 73, 75, 76, 79 / 103 ;d]t cGo ;f=ls=g+= n] 

lkr ;*s %'g] hUuf k|=s=?= 

11,50,000.F 

 v_ k|s/)f s df k/L ;f=ls=g+= n] ;f] lkraf^f] %'g] xfnsf] 

lsQfn] lkraf^f] g%'g] hUuf -lkr %'g] lsQf afx]s 200 lkm^ 

leqsf hUuf_ k|=s=?= 

9,00,000.F 

 u_ k|s/)f s,v df k/]sf afx]ssf ;f=ls=g+= sf af+sL hUuf 

k|=s=?= 

6,00,000.F 

 #_ ;f=ls=g+= 41, 42, 44, 45 gS;fsf] pQ/af^ ;e]{ gfkLsf] 

gS;fdf xf]nL e} xfn u|fe]n af^f]n] %'g] gS;f ;Ldf ;Ddsf] 

af^f] bfof+ jfof+sf hUuf / jf^f] klZrd ;f=ls=g=9 b]lv blIf)F 

gS;f l;dfgf ;Ddsf hUuf k|=s=?= 

3,50,000.F 

 ª_ # df pNn]v ePsf] af^f] k"j{ sfodL ls=g+= 500 b]lv 

pQ/ gS;f ;Ldf;Ddsf] Pl/ofleqsf hUuf k|=s=?= 

2,50,000.F 

 r_ dfly pNn]v eP afx]s Kn^Lª jf Kn^Lªsf nfuL vl/b x'g] 

hUuf k|=s=?= 

3,00,000.F 

x/}+rf uf=lj=;= j*f g+= 9.s 

16   

 s_ x/}+rf 9.s cGtu{t ;f=ls=g+= 1, 8, 9, 30 / 31 sf 

hUuf k|=s=?= 

24,00,000.F 

 v_ ;f=ls=g+= 2 b]lv 7, 10 b]lv 13 / 36 sf hUuf k|=s=?= 18,00,000.F 

 u_ k|s/)F s,v df pNn] eO{ ;f=ls=g=n] jf^F] %'g] xfnsf] 

lsQfn] jf^F] g%'g] hUuf k|=s=?= 

 

16,00,000.F 

 

 #_ ;f=ls=g+= 14, 15, 27 b]lv 29, 32 b]lv 35, 37, 38 

;Ddsf hUuf k\=s=?= 

13,50,000.F 

 ª_ k|s/)F # df pNn] eO{ ;f=ls=g=n] jf^F] %'g] xfnsf] 

ls=g=n]=jf^f] g%'g] hUuf k|=s=?= 

11,50,000.F 

 r_ ;f=ls=g+= 16, 17 b]lv blIf)f ;f=ls=g+= 77 ;Dd d"naf^f]n] 

%'g] hUuf k|=s=?= 

11,50,000.F 

 %_ k|s/)f # df k/L ;f=ls=g+= n] ;f]af^f] %'g] xfnsf] lsQfn] 

g%'g] hUuf k|=s=?= 

7,00,000.F 

 h_ dfly k|s/)fx?df pNn]v eP afx]s ;f=ls=g+= 77 %f*L ;f] 6,00,000.F 
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k"j{ ;f=ls=g+= 78, 89, 49, 53, 54 x'+b} pQ/, dfly k|s/)fdf 

k/] afx]ssf hUuf k|=s=?= 

 em_ ;f=ls=g+= 77 %f*L ;f] blIf)f ;f=ls=g+= 110 ;Ddsf ;Dk")F{ 

;f=ls=g+= sf hUuf / ;f=ls=g+= 102 b]lv 104 ;Dd / ;f] 

Pl/of leqsf hUuf k|=s=?= 

4,50,000.F 

 `_ k|s/)f % eGbf blIf)f gS;f l;dfgf ;Dd jf^f]n] %'g] bfof 

jfofsf hUuf k|=s=?= 

3,50,000.F 

 ^_ u|fj]n jf^F]n] %'g] hUuf k|=s=?= 3,00,000. 

 &_ dfly pNn]v eP afx]s x/}+rf 9.s cGtu{t Kn^Lª jf 

Kn^Lªsf nflu v/Lb x'g] hUuf k|=s=?= 

3,00,000.F 

 *_ dfyL k|s/)fdf pNn]v eP jfx]s cGo jf¤sL hUuf k|=s=?= 75,000.F 

x/}+rf uf=lj=;= j*f g+= 9.v 

17   

 s_ x/}+rf 9.v cGtu{t ;f=ls=g+= 4, 54, 55 sf /fhdfu{ %'g] 

hUuf k|=s=?= 

31,00,000.F 

 v_ k|s/)F s df pNn]v eO{ ;f=ls=g=n] jf^F] %'g] xfnsf] 

ls=g=n] g%'g] k|=s=?= 

23,00,000. 

 

 u_ x/}+rf 9.v cGtu{t ;f=ls=g+= 3, 56, 57, 58, 59 / 63 

sf hUuf lssf=e} jf ge} /fhdfu{ %'g] hUuf k|=s=?= 

24,00,000.F 

 #_ k|s/)f u df pNn]v ePsf] ;f=ls=g+= n] /fhdfu{ %'g] 

xfnsf] lsQfn] /fhdfu{ g%'g] hUuf / ;f=ls=g+= 3 sf^ e} 

sfodL ls=g+= 85 %f*L ;f] blIf)fsf ;f=ls=g+= 3 sf hUuf 

hUuf k|=s=?= 

1850,000.F 

 ª_ dfly k|s/)fx?df pNn]v eP afx]s ;f=ls=g+= 45 / 12 

;d]tb]lv blIf)f s]/fjf/L hfg] af^f] %'g] hUuf k|=s=?= 

15,00,000.F 

 r_ k|s/)f ª df pNn]v eP afx]s ;f=ls=g+= 45 / 12 %f*L 

;f] pQ/ gS;f ;Ldfgf ;Dd s]/fjf/L hfg] af^f]n] %'g] / 

k|s/)f ª df pNn]v eP afx]s ;f]b]lv blIf)f k|s/)f ª df 

pNn]v ePsf ;f=ls=g=sf af+sL hUufsf ;fy} ;f=ls=g+= 60 b]lv 

pQ/sf dfly pNn]v eP afx]ssf af+sLhUuf k|=s=?= 

11,00,000.F 

 %_ k|s/)f r df pNn]v ePsf] ;f=ls=g+= 45 / 12 %f*L ;f] 

pQ/ ;f=ls=g+= n] s]/fjf/L hfg] af^f] %'g] xfnsf] lsQfn] g%'g] 

hUuf cGtu{t k|s/)f r df pNn]v ePsf] lsQf af^ 200 

lkm^ leqsf hUuf / ;f=ls=g+= 3 sf af+sL hUufsf] k|=s=?= 

9,00,000.F 

 h_ ;f=ls=g=3 %f*L ;f] pQ/ gS;f l;dfgf ;Ddsf ;'s'gf 

dfu{sf] d'n jf^f]n] %'g] hUuf k|=s=?= 

9,00,000.F 

 

 em_ k|s/)F h df kl/ ;fljs ls=g=n] %'g] xfnsf] ls=g=n] 

jf^F] g%'g] hUff k|=s=?= 

6,00,000.F 

 

 ~f_ dfly k|s/)F x?df pNn]v eP b]lv jfx]s ;f=ls=g=62 sf] 

hUUff k|=s=?= 

1200,000.F 

 ^_ dfly pNn]v eP afx]s s]/fjf/L hfg] af^f] klZrdsf ;Dk")f{ 

hUuf k|=s=?= 

6,00,000.F 

 &_ ls=g= 336 b]vL pQ/ ;f=ls=g= 37 b]vL blIf)F sf hUUff 6,00,000.F 
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k|=s=? 

 *_ dfly pNn]v eP afx]s s]/fjf/L hfg] af^f] k"j{sf ;Dk")f{ 

hUuf k|=s=?= 

6,00,000.F 

 (_dfyL k|s/)Fx?df pNn]v eP b]lv jfx]s u|fj]n jf^F]n] %'g] 

hUufx? hUuf k|=s=?= 

 

3,00,000.F 

 )F_ x/}+rf 9.v cGtu{t Kn^Lªsf jf Kn^Lªsf nflu v/Lb x'g] 

hUuf k|=s=?= 

3,00,000.F 

 t_ dfyL k|s/)Fx?df pNn]v eP jfx]s cGo v]tL of]Uo hUuf 

k|=s=?= 

80,000.F 

x/}+rf uf=lj=;= j*f g+= 9.u 

18   

 s_ ;f=ls=g+= 1, 12, 13, 14 sf /fhdfu{ %'g] hUuf k|=s=?= 35,00,000.F 

 v_ k|s/)f s df pNn]v eO{ ;f=ls=g+=n] /fhdfu{ %'g] xfnsf] 

ls=g+=n] /fhdfu{ g%'g] hUuf k|=s=?= 

23,00,000.F 

 u_ ;flsg+= 12, 14 %f*L blIf)f l#gf#f^ af^f]n] %'g] ;fls=g+= 

31 ;Ddsf af^f] bfof+ jfof+sf hUuf k|=s=?= 

23,00,000.F 

 #_ ;flsg+= 31 b]lv blIf)f gS;fsf] blIf)fL ;Ldf;Ddsf] 

l#gf#f^ ;*s bfof+ jfof+sf hUuf k|=s=?= 

17,00,000.F 

 ª_ ;flsg+= 2 b]lv klZrd blIf)fsf kLr af^f]n] %'g] hUuf 

k|=s=?= 

18,00,000.F 

 r_ u,#,ª df pNn]lvt af^f] %'g] afx]ssf ;fls=g+= 2 b]lv 

11, 15 b]lv 23, 26 b]lv 31 ;Ddsf] hUuf k|=s=?= 

14,50,000.F 

 %_ ;f=ls=g+= 57, 58 sf /fhdfu{ %'g] hUufsf] k|=s=?= 20,00,000.F 

 h_ % df k/L /fhdfu{ g%'g] / 55, 56 sf hUuf k|=s=?= 13,50,000.F 

 em_ ;f=ls=g+= 24, 25, 29, 32, 41 b]lv 45 ;Ddsf hUuf 

k|=s=?= 

11,00,000.F 

 `_ ;f=ls=g+= 33 b]lv 40 / 113 sf hUuf k|=s=?= 9,00,000.F 

 ^_ ;f=ls=g+= 46 b]lv 54 ;Dd 59 b]lv 74 ;Dd ;'s'gf 

SofDk; klZrddf kg]{ pQ/ blIf)fsf gS;fsf] af^f]n] %'g] hUuf 

k|=s=?= 

13,50,000.F 

 &_ k|s/)f ^ df k/L ;f=ls=g+= n] ;f]af^f] %'g] xfnsf] lsQfn] 

g%'g] hUuf k|=s=?= 

10,00,000.F 

 *_ ;f=ls=g+= 75 b]lv 98, 100 b]lv 104, 111, 112, 139, 

140, 144, 163 ;d]tsf k|s/)f h eGbf blIf)f gS;f 

;Ldfgf;Ddsf d"naF^f]n] %'g] hUuf k|=s=?= 

11,00,000.F 

 (_ k|s/)f ( df k/L ;f=ls=g+= n] ;f]af^f] %'g] xfnsf] lsQfn] 

g%'g] hUuf k|=s=?= 

8,00,000.F 

 )f_ dfly pNn]v eP afx]s k|s/)f * sf] af^f] k"j{sf ;Dk")f{ 

af+sL hUuf k|=s=?= 

6,00,000.F 

 t_ dfyL k|s/)Fx?df pNn]v eP b]lv jfx]s uf|j]n jf^F]n] %'g] 

hUufx? hUuf k|=s=?= 

3,00,000.F 

 y_ x/}+rf 9.u cGtu{t Kn^Lªsf jf Kn^Lªsf nflu v/Lb x'g] 

leqL sRrL af^f]n] %'g] hUuf k|=s=?= 

3,00,000.F 
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 b_ dfyL k|s/)Fx?df pNn]v eP jfx]s cGo v]tL of]Uo hUuf 

k|=s=?= 

80,000.F 

x/}+rf uf=lj=;= j*f g+= 9.# 

19   

 s_ ;fls=g+= 51 %f*L ;f] k"j{, 52, 86, 87, 88, 89 x'+b}, 

139 / tLaf^ ls=sf= e} sfod x'g cfPsf /fhdfu{ pQ/ 

tkm{sf hUuf k|=s=?= 

35,00,000.F 

 v_ k|s/)f s df pNn]v eO{ ;f=ls=g+=n] /fhdfu{ %'g] xfnsf] 

ls=g+=n] g%'g] pQ/tkm{sf hUuf k|=s=?= 

23,00,000.F 

 u_ ;fls=g+= 50, 51 ;d]tb]lv klZrd 15, 16, 17, 18, 49 

;d]tsf /fhdfu{ pQ/sf hUuf k|=s=?= 

31,00,000.F 

 #_ k|s/)f u df pNn]v eO{ ;f=ls=g+=n] /fhdfu{ %'g] xfnsf] 

ls=g+=n] g%'g] pQ/sf hUuf k|=s=?= 

20,00,000.F 

 ª_ ;flsg+= 86, 88 %f*L ;f] pQ/, sfodL ls=g+= 658 / 

837 b]lv blIf)f -;flsg+= 61 / 74 %f*L_ sf lqj])fL rf}s 

hfg] ;*s bfof+ jfof+sf / ;flsg+= 85, 90 ,91 sf hUuf 

k|=s=?= 

17,50,000.F 

 r_ ª df pNn]v eP afx]s ;f]b]lv pQ/ lqj])fL rf}s;Ddsf] 

bfof+ jfof+sf hUuf k|=s=?= 

13,50,000.F 

 %_ ;flsg+= 16 / 17 %f*L ;f] pQ/ lk=Pn=cf]= x'+b} cfbz{ 

rf}s hfg] kLr ;*s bfof+ jfof+sf hUuf k|=s=?= 

13,50,000.F 

 h_ ;flsg+= 1 b]lv blIf)f, 14 / 19 b]lv pQ/, 33 ;Ddsf 

Pl/of leqsf hUuf k|=s=?= 

10,00,000.F 

 em_ ;flsg+= 47, 53 b]lv pQ/, ;flsg+= 34, 35 ;Ddsf u|fe]n 

af^f] klZrdsf hUuf k|=s=?= 

13,50,000.F 

 `_ ;flsg+= 85, 87, 91 %f*L ;f] pQ/ 136, 137, 138 ;d]t 

b]lv pQ/, 94 x'+b} 99, 105, 114, 117 ;Dd ;d]tb]lv 

klZrd, ;flsg+= 60, 75 b]lv blIf)f, 35, 47 %f*L ;f]b]lv k"j{ 

Pl/ofsf dflysf k|s/)fdf pNn]v gePsf hUuf k|=s=?= 

12,50,000.F 

 ^_ ;flsg+= 60, 75, 117 %f*L ;f] pQ/ gS;fsf] k"j{ x/}+rf 

df]*af^ pQ/ hfg] u|fe]n af^f] klZrd, a'wjf/] ahf/af^ pQ/ 

hfg] u|fe]n af^f] k"j{, gS;f ;Ldf ;Ddsf hUuf k|=s=?= 

9,00,000.F 

 &_ gS;f k"j{sf] ;fls=g++ 135 b]lv pQ/ x/}+rf df]*af^ pQ/ 

hfg] u|fe]n af^f] k"j{pQ/sf] gS;f ;Ldf ;Ddsf] hUuf k|=s=?= 

8,00,000.F 

 *_ ;flsg+= 34, 35 b]lv pQ/ a'wjf/]af^ pQ/hfg] gS;fsf] 

af^f] klZrd pQ/ gS;f ;Ldf;Ddsf] hUuf k|=s=?= 

8,00,000.F 

 (_ dfyL k|s/)Fx?df pNn]v eP b]lv jfx]s jf^F]n] %'g] hUufx? 

hUuf k|=s=?= 

3,50,000.F 

 )f_dfly pNn]v eP afx]ssf Kn^Lªsf hUuf k|=s=?= 3,00,000.F 

 t_ dfyL k|s/)Fx?df pNn]v eP jfx]s cGo v]tL of]Uo hUuf 

k|=s=?= 

1,20,000.F 

x/}+rf uf=lj=;= j*f g+= 9.ª 

20   

 s_ ;fls=g+= 7, 8, 9, 10 ;d]tsf lj/f^rf}s l#gf#f^ bfof+ 15,50,000.F 



91 

 

jfo+sf hUuf k|=s=?= 

 v_ s df k/L xfnsf] ls=g+= n] af^f] g%'g] hUuf k|=s=?= 10,00,000.F 

 u_ s,v df k/] afx]s ;f]b]lv klZrd tkm{sf ;flsg+= sf 

hUufx? k|=s=?= 

7,00,000.F 

 #_ ;flsg+= 9, 10 %f*L ;f] k"j{ 44, 48 ;Dd / 20 

;d]tb]lv pQ/ gS;f ;Ldf ;Ddsf hUuf k|=s=?= 

8,00,000.F 

 ª_ ;flsg+= 153 b]lv k"j{, 178 ;Ddsf] af^f]n] %'g] hUuf 

k|=s=?= 

9,00,000.F 

 r_ ª df k/]sf %f*L ;f] pQ/sf hUuf k|=s=?= 6,00,000.F 

 %_ ;flsg+= 178 b]lv blIf)f, 176 x'+b} k"j{ blIf)f gS;f ;Ldf 

;Ddsf] af^f] bfof+ jfof+sf hUuf k|=s=?= 

3,50,000.F 

 h_ ;flsg+= 20 %f*L ;f] blIf)f 111, 120 %f*L ;f] pQ/ 15 

b]lv klZrd Pl/ofsf hUuf k|=s=?= 

3,50,000.F 

 em_ ;fls=g+= 36 b]lv blIf)f 105 ;Ddsf] pQ/YblIf)f af^f]n] 

%'g] hUuf k|=s=?= 

3,00,000.F 

 `_ k|s/)f em df k/L xfnsf] ls=g+= n] af^f] g%'g] hUuf 

k|=s=?= 

2,00,000.F 

 ^_ ;flsg+= 36, 44 %f*L ;f] k"j{ gS;fsf] k"j{sf] 178 sf] 

af^f] klZrd If]qsf hUuf k|=s=?= 

2,00,000.F 

 &_ Kn^Lªsf hUuf k|=s=?= 300,000.F 

x/}+rf uf=lj=;= j*f g+= 9.r 

21   

 s_ x/}+rf 9.r cGtu{t lj/f^rf}s l#gf#f^ af^f]nfO{ %'g] hUuf 

k|=s=?= 

11,50,000.F 

 v_ k|s/)f s df k/L ;f=ls=g++= n] ;f] af^f] %'g] xfnsf] ls=g+= 

n] g%'g] hUufsf] k|=s=?= 

7,00,000.F 

 u_ Kn^Lªsf hUuf k|=s=?=  2,50,000.F 

 #_ leqL sRrL af^f]n] %'g] hUuf k|=s=?= 2,00,000.F 

 

 

 

x/}+rf uf=lj=;= j*f g+= 9.% 
22   

 s_ x/}+rf 9.% cGtu{t ;f=ls=g+= 6 af^ pQ/ ;f=ls=g+= 1 

;Dd gS;fsf] klZrdsf] d"naf^f] %'g] hUuf k|=s=?= 

9,50,000.F 

 v_ k|s/)f s df k/L ;f=ls=g+= n] ;f] af^f] %'g] xfnsf] 

lsQfn] g%'g] hUufsf] k|=s=?= 

6,50,000.F 

 u_ dfly pNn]v eP afx]s ;f=ls=g+= 8 b]lv k"j{ ;f=ls=g+= 48 

;Ddsf hUuf k|=s=?= 

6,00,000.F 

 #_ ;f=ls=g= 9 b]lv k"j{ ;f=ls=g= 47 ;Dd gS;fsf] ljrdf 

kg{] k"j{ klZrdsf] gS;fsf] t];f]{ jf^f] pQ/sf af^f] %'g] hUuf 

k|=s=?= 

3,50,000.F 

 ª_ k|s/)f # df k/L ;f=ls=g+=n] af^f] %'g] xfnsf] ls=g+=n] 

af^f] g%'g] hUuf k|=s=? 

2,00,000. 
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 r_ dfly pNn]v eP afx]s x/}+rf 9.% cGtu{t Kn^Lªsf hUuf 

k|=s=?= 

2,50,000.F 

x/}+rf uf=lj=;= j*f g+= 9.h 

23   

 s_ gS;fsf] klZrddf kg]{ pQ/ blIf)fsf] lkraf^f] %'g] hUuf 

k|=s=?= 

9,00,000.F 

 v_ k|s/)f s df k/L ;f=ls=g+= n] lkraf^f] %'g] xfnsf] 

lsQfn] g%'g] hUuf k|=s=?= 

6,00,000.F 

 u_ dfly pNn]v eP afx]s ;f=ls=g+= 14 / ls=g+= 99 sf] 

k"j{df kg]{ af^f] klZrdsf hUuf k|=s=?= 

4,00,000.F 

 #_ x/}+rf 9.h cGtu{t Kn^Lªsf jf Kn^Lªsf nflu v/Lb x'g] 

hUuf k|=s=?= 

3,00,000.F 

 ª_ dfyL k|s/)Fx?df pNn]v eP b]lv jfx]s jf^F]n] %'g] 

hUufx? hUuf k|=s=?= 

1,50,000.F 

 r_ dfyL k|s/)Fx?df pNn]v eP jfx]s cGo v]tL of]Uo hUuf 

k|=s=?= 

80,000.F 

x/}+rf uf=lj=;= j*f g+= 9.em 

24   

 s_ gS;fsf] k"j{df kg]{ pQ/ blIf)fsf] lkraf^f] %'g] hUuf 

k|=s=?= 

9,00,000.F 

 v_ k|s/)f s df k/L ;f=ls=g+= n] lkr %'g] xfnsf] lsQfn] 

lkr g%'g] hUuf k|=s=?= 

6,00,000.F 

 u_ ;f=ls=g+= 21, 23 b]lv klZrd ;f=ls=g+= 10 %f*L ;f]k"j{ 

;f=ls=g+= 30 sf] af^f] blIf)fsf hUuf k|=s=?= 

4,00,000.F 

 #_ ;f=ls=g+= 17 ;d]tb]lv klZrd ;f=ls=g+= 10 ;d]tb]lv k"j{ 

ls=g+= 30 sf] af^f] pQ/sf hUuf k|=s=?= 

 

3,50,000.F 

 ª_ ;flsg+= 10 b]lv klZrd ;Ldf;Ddsf pQ/sf] af^f] %'g] 

hUuf k|=s=?= 

3,00,000.F 

 r_ x/}+rf 9.em cGtu{t Kn^Lªsf jf Kn^Lªsf nflu v/Lb x'g] 

hUuf k|=s=?= 

2,50,000.F 

 %_ dfyL k|s/)Fx?df pNn]v eP b]lv jfx]s jf^F]n] %'g] 

hUufx? hUuf k|=s=?= 

1,50,000.F 

 h_ dfyL k|s/)Fx?df pNn]v eP jfx]s cGo v]tL of]Uo hUuf 

k|=s=?= 

80,000. 

x/}+rf uf=lj=;= 

25   

 s_ dflysf k|s/)fx?df pNn]v eP afx]s ;fljs x/}+rf xfn 

sf]zLYx/+}rf g=kf= / j]njf/Ldf g=kf= kg]{ Kn^Lªsf hUuf 

k|=s=?= 

2,50,000.F 

 v_ dfly pNn]v eP afx]s ;fljs x/}+rf xfn sf]zL x/+}rf 

g=kf=, j]njf/L g=kf= cGtu{t leqL sRrL af^f]n] %'g] hUuf 

k|=s=?= 

1,50,000.F 

 u_ dfly pNn]v eP afx]s ;fljs x/}+rf -OGb|k'/_ xfn sf]zL 

x/+}rf g=kf, j]njf/L g=kf=df kg]{ v]tLof]Uo hUuf k|=s=?=  

70,000.F 
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 #_ dlfy pNn]v eP afx]s ;fljs x/}rf -x/}rf uf=lj=;=_ xfn 

sf]zL x/}rf cGtu{t v]tL of]Uo hUuf k|=s=?=. 

50,000.F 

18= xf]Snfjf/L uf=lj=;= 
1   

 s_ xf]Snfjf/L uf=lj=;= cGtu{t d'n af^f] / u|fe]n af^f]n] %'g] hUuf 

k|=s=?= 

1,75,000.F 

 v_ xf]Snfaf/L uf=lj=;= sf] leqL / cGo zfvf af^f] / gx/sf] 

af^f]n] %'g] hUuf k|=s=?= 

70,000.F 

 u_ xf]Snfaf/L uf=lj=;= cGtu{tsf Kn^Lªsf hUufx? k|s? 2,25,000. 

 u_ af+sL cGo v]tLof]Uo hUuf k|=s=?= 30,000.F 
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ljljw 
 

-1_ o; sfof{noaf^ kfl/t x'g] lnvtdf gu/kflnsf jf ufpkflnsfaf^ #/af^f]sf] ls^fgL 

l;kmfl/; clgjfo{ ?kdf k]z ug'{ kg]{% . 

 

-2_ :yflgo txx?af^ #/sf] l;kmfl/; ubf{ gu/kflnsfsf] xsdf kSsL #/sf] If]qkmn :Sjfo/ 

km'^df pNn]v ug'{kg]{ % . cGo sRrL #/sf] xsdf gu/kflnsf / ufpkflnsfx?n] 

#/sf] ljj/)f ;lxtsf] l;kml/;df d'No ;d]t pNn]v ug'{kg]{ % . 

 

-3_ Go"gtd d"Nof+sg sfod ug]{ l;nl;nfdf k|foh;f] ufpkflnsfx?sf] rng rNtLsf] af^f]nfO{ 

cfwf/ dfgL Go"gtd d"Nof+sg lgwf{/)f ul/Psf]df stLko gS;fdf af^f] k")f{?kdf sfod 

x'g af+sL /x]sf] x'+bf b'ljwf x'g cfPdf gfkL sfof{no / :yfgLo txsf] l;kmfl/;af^ :ki^ 

x'g] k|df)f lsgj]r ug]{ kIfn] k]zug'kg]{% . 
 

-4_ d"Nofªsg k'l:tsfsf] k|s/)Fx?df jf^F] %'g], g%'g], ;fljs ls=g+=pNn]v ug'{ kg{] cj:yfdf 

jf^f] %'g] g%'g] k|df)F / ;f=ls=g+=b]lvg] k|df)F ;d]t n]g b]g ug{] JoStLn] lnvt ;u} 

k]z ug'{ kg{]% . 
 

-5_ hUufsf] Go"gtd d"Nof+sg sfod ubf{ ;fljsdf e}/fv]sf] hUufsf] d"Nof+sg %'^ x'g 

uPsf] /x]% eg] jf d"Nof+sgdf kg'{kg]{ hUuf e"njz %' ]̂sf] /x]% eg] cf¤&f ;/x 

d"Nof+sg sfod u/L Go"gtd d"No lgwf{/)f ug{ ;lsg] % . 

 

-6_ dfly pNn]v eP adf]lhd #/ af^f]sf] l;kmfl/; rflxg] cj:yfsf] hUufdf Ps k^s 

l;kmfl/; k]z e} kfl/t ePsf] hUuf;+u ls=sf e} af+sL /x]sf] hUufnfO{ ;f]xL l;kmfl/; 

k]z ul/ 35 lbg;Dd lnvt kfl/t ug{ ;lsg]% . 

 

-7_ h'g k|of]hg v'nfO{ :yflgo txsf] l;kmfl/; k|fKt ePsf] % ;f]xL k|of]hgsf] nfuL dfq 

pQm l;kmfl/; dfGo x'g]% . 

 

-8_ :yflgo txsf] l;kmfl/;df v]tL of]Uo hUuf egL ls^fg u/L gcfPdf af^f] /x]sf] dfgL 

Go'gtd d'Nof+sg sfod ul/g]% . 

 

-9_ d"Nof+sg k'l:tsfdf pNn]v ePsf /fhdfu{, ahf/If]q jf d"naf^f]df kg]{ egL pNn]v 

ePsf]df ;f] If]qdf kg]{ gkg]{ egL ljjfb cfPsf] cj:yfdf :yfgLo tx / gfkL 

sfof{noaf^ a'emL h], h'g juL{s/)fsf] xf] ;f]xL cg';f/ ug]{ . 

-10_ lnvt kfl/t ubf{ e'nj; Go'gtd d'No eGbf #^L y}nL /fvL lnvt kfl/t ePsf] kl% 

yfxf x'g cfPdf wgL -hUuf lng]_ ;+u gk'u /fhZj c;'n ul/g]% . 

 

-11_ lnvtdf #/ gv'nfO{ kfl/taf^ kl% #/ lyof] egL dfnkf]t sfof{nodf bfjL ug{ kfOg] 

%}g . lnvtdf #/ l%kfO{ kfl/t u/]sf] &x/]df ;DalGwt kIf -wgL_ af^ #/sf] d"Nof+sg 

cg';f/sf] /fhZj cfly{s k|zf;g P]gn] tf]s]sf] yk hl/jfgf / #/ sfodsf] b:t'/ ;d]t 

c;'n u/L #/ sfod ul/g] % . 
 

-12_ :yfgLo txaf^ #/af^f] l;kmfl/; e} cfPsf]df sfof{Gjog ug]{ l;nl;nfdf pNn]v 

ePeGbf dflyNnf] :t/sf] #/ jf af^f] b]lvg cfPdf ;f]xL cg';f/ d"Nof+sg sfod ul/g] 

% . 
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-13_ d"Nof+sg sfod ubf{ ;f=ls=g+= / rnt rNtLsf af^f]sf] gfd pNn]v u/L bfof+ jfof+ 

sfod ul/Psf]df sltko k|s/)fx?df rNtLsf] af^f] gS;faf^ Plsg x'g g;Sg] cj:yfdf 

:yfgLo txaf^ s'g k|sf/sf] af^f]n] %'g] g%'g] ls^fgL l;kmfl/; n]gb]g ug]{ JolQmn] k]z 

ug'{ kg]{% . 
 

-14_ :yfgLo txx?af^ #/sf] l;kmfl/; ubf{ #/sf] ljj/)f k")f{?kdf v'nfO{ #/sf] agf]̂ sf] 

lsl;d, sf]&f, tnf, %fg', #/ sDkfp)* cflb ljj/)f pNn]v u/L d"No ;d]t v'nfO{ k]z 

ug'{kg]{% . 
 

-15_ d"Nof+sgsf] k|s/)fx?df /fhdfu{ jf af^f]n] %'g] egL pNn]v ePsf]df /fhdfu{ / af^f] 

b]vL ;fdfGotof 150 k'm^ leqsf] Pl/ofnfO{ dflgg] % . 

 

-16_ dfly k|s/)fx?df pNn]v ePsf]df ;f] jdf]lhd / pNn]v gePsf] xsdf ;fljssf] ls=g=n] jf^f] 

%'g] xfnsf] ls=g=n] jf^f] g%'g] ls=sf=x'b} k%f*L k/]sf ls=g=x? eGgfn] k|s/)F 15 df pNn]v 

ePsf] If]q jfxL/sf] ls=g=nfO{ dflgg]% . 
 

-17_ dfly ljleGg k|s/)fx?df lsQf ;d]t pNn]vu/L ;*s bfof afof tf]lsPsf lsQfx? 

jfx]s cGo lsQfn] klg ;f]xL ;*s %f]Pdf %F]Psf] ls=g+= / ls=sf= eO{ sfod ls=g= 

x?sf] klg d"Nof+sg tf]lsPsf ls=g= ;/x x'g]% .  
 

 

-18_ gS;fdf b]lvg] gx/, zfvf gx/, gx/sf] af^f] %'g] hUufnfO{ sRrL af^f] ;/x d'Nofég 

sfod ul/g] % . 

 

-19_ l;df hf]l*g] jf Kn^ ldnfg x'g] afx]s ;fdfGotof 1 /f]kgL jf 1=5 s&\&f ;Dd 

If]qkmn ePsf hUufx? vl/b ljlqm ubf{ #/af; k|of]hg &fgL af^f]n] %'g] hUufx?sf] 

df]n /fVg" kg]{ % . 

 

-20_ o; k"l:tsfdf s"g} l$ljwf kg]{ zAb e]l^Pdf To;sf] lg?k)f lg)f{o k'l:tsfaf^ ul/g]% 

. 


